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Opngnuwlukp  pymubm  wpngbubbkpp pbjws Gb  jppupwbynp
bywwnwlughtt  gnpdnibkmpyjut  hhupnud:  Lwjugnyb  npngnudutp
punnuubm Jwptdwnhjujut dnpbjubpp puquuqub B b jupnn kb

twybku nuppipll] Uhdjubghg: Uy wwwndwnny wypuhuh dnnbjukp
htwnwugnung Jwpidunhjujuwt mbumpnibbutpp bnybybu wwupptp th

bupwtu  ubnhpubph  gpjwdpny,  wbybu b Yhpuming
dwptiwnhjujub wywpwwnny: Zwdw wn pniap wkumpmbbtpp
vhuynpynud kb <<gnpdnypubph hkwnwgnuinul>>, <<oynhdwjugdwi
Ukpnnutp>>, <<npnnudubkp ppnubkpne ntumpniu>> whjwbimdbbpny:

Opnonudbikp punmubbine punhwimp Jdnpkjp Yupkh b bbphuyughty
npybu (X ’{>'a}az A) budwiupg, npuntn X -p  judujulwb
puqumpt k npp Ynynud t pmnp  hhwpun/np  npnpmubbph
puqunipnil, hul >,-ukpp judwjwulwb phtwp hwpwpbpmpynibbtp

kb, npnup Ynyynwd &b bwpuplinpbipnipiut, Ywd gbpwnuwubipnipiub
hwpwpbpmpini bhkp: Gpk X puqumipjut npbk x b y YEwnkph hwdwp

X >, ¥, wyyu wund ki, np x -p gipunuukbjh t jud bwppbnpbh b oy -
hg punn @ hupunuihoh:

Ujdd nhuwupltup pinhwinip pnph dwutrwynp nhwptpp:

w) Tthgmp X puqUmpnibp Ytppurdnp b U wyn puqunipjub Ypw

npjwd ki Ytppwynp pyny bwjpbwnpbihmpjut hwpwpkpnipiniubbp:
Uju nlypmu utinhpp Ynynud t jadpuyht pwnpnipyut fatinhp:

p) Ept X puqumpjut Jypm wpjws hwpwpbpmpinibp vhwlh
wjuhuph’ juinhph mbh (X ,>-) wnbkupp, wyw jupbnp tpwbwynipnih
muh uwjt hwpgp, pk gnmipjnmb nibh wpyn'p hpwywbwpdbp u(x)
$myghw, wjhyghuhb, np gmbjmgws x, ye X hwdwp®

u(x)>u(y) & x>y
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Upju dmbjghwt wbjubnmd ki oquuujbnimpjub  dnibljghw, huly
nbtunipjnitp, npp qpunynwd t wyny bwpgkpny®  oquuunjtwninipjub
wnkunpjnil:

q¢) Uju nhypnud, Epp oquuunjbuninipjubt pmulghwt gnnipymit nibh,
unwbnuwd tup, wynutu Ynyjws, tpunpbdw) pghp' X puqunipjut
Ut (wjwmgnyh YEwn quutinm inhpp pipymud k

rgz}(xu(x) ")

qubtnu jpunph: Uwpbdwnhjujub wiwhqh nuwuptipughg hwjwnth &
uju juunph Ywubwynp nhypkpp b mddwh Ukpnputpp: dw kY Yund Jh
pwth thnthnjuwlwh wdwmugkh Imbyghwubkph punpbdwy wpdtputp
quibknt junhpubph &b, npntn X -p hpwljwb wrwibgph hwumjws t,
Jud R"-h npuk manubynb puqunipymit:

) Uyt nbwpbpnud, bpp u(x) p n dndinpulmbh pniblghw E puy X
puqumpimup wpjwd k ny pugwhwpn wnbkupny, wyw (%) junhpp
wijuwimy i dwptdwnhiulub Spugpdwb jughp:

) () Mtughpp Ynyyoud b Juphwghnt hwpdh ubnhp, Bpk u(x) -p
$milyghntiuy b, npngqus X SC*(25,4,) puqunipyuh ypw: bpk npub
wybjmghnu! b bwb phdbpkbghw; bhwjwuwpmdbbph  wkuph
yupdwbubp b vwhdwbuwhwimdutp, wyguw wb wwimd b
oynhuw) junujwupdwb junhp:

9 bpp X puqumpmibp judwjuljwb puqumpmih £ b wnpjud
hwpwpkpmpjmutbtph phyp ytpgunjnp b, wuyw juunhpp Ynydmd k
puquubyunwljujht  oywnhdwjwgdwb junhp: EBpt jpipwpwbynip
hwpwptpnipjub hwdwp gnjnipynilt nibh oquuutwinipjuwt $niyghw,
wyw wb winjuind tu JEunpujwub oyunhdwjugdwb bnhp:

b) & Jbppwybu, uyh nhyplpmd, kpp X puqunipinibip judwywywt t
i judwjmljwb pyny hwpwpkpnipjniubtp kb tipws, huy npnonudbpp
pnniynud kb whnpnympjuwt jud Ynudpihjnh wupdwbbbtpowd, wyg
Unntijb winjwbnud kb fown, hulj nbunipyniip’ untph wbuneymt:

Unyt nuupipugmu hwihhpd winpunupdlk tbp Jipp towd pninp
wnbunipjnibipht:



ONSPUULUSUUL HUUUYUL MUEPLER
1.1: 3NRLYSPUSBEH BERUSIEUNRU
Thgnp X -p unpUuynpjwd nwpwdnipjwt tipwpwqumpenit £ b
f (x) -p wyn puquUnipjub Ypw npnoywd hpwhwbwpdp pmbyghw
f(x) $muyghwyh umwpbunid Ywinjwbbbp win M, phdp, npp
pwyjupupnud t htnbjuy tpynt wuypdwbibkph.

1. f(x)sSM,xeX

2. Swhjugwd £>0 pyh hwdwp gnmipit muh wjbyhuhp

x, € X ,np’ f(xf)>M —-E:

f (x) Sdnyghuyh unmypbdnudp X puqumpjub Jpw pwbwyynud t°
su’[() f (x): Uju nhuypnud, tpk gnympjnia muh wybiyghup XeX Ytuw,
x

np f (x°)=M , wyw M phip wijuimd kb f (x) pnillghuyp
thupufu/and Yund Wbdwgnyb wpdkp, bywbwhnud kb max f(x) b wun
XE

kU, np unypbunwdp hwuwbbjh £ jud dwpuhunuwip gnympjnib niuh:
Usti Ytubpp, npubn f(x) $niblyghwt hwubnud t hp Jbdwgnyh
wpdbphl, wjwumd Gt Jwpuhdmudh YEwbkp, U wm  YEnbph
puquUnipniip bywhwlnid Argtllg{x f (x) -ny’

Arg rgz}xf(x)={x'e X:f(x')=rr2{xf(x)}:

Ldwbwuybu f (x) Inuyghwih péahpumd Jubjwmukhp wyh m phyp,
npp puyjwpwupnud k htwnbyuy Gpot ywpdwbbbpht.
1. f(x)2m,xe X
2.8wbjugwd £>0 pyh bhundwp gnmipimb muh wjbyhuh
x,€ X ,op’ f(x,)>m-¢€:
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f(x) $muyghuyh huppuinuip X puqumpput Ypu bpwbwlynud t
in}f f (x): Uju nbupnud, bpk gnynipynit mup ujbyhup x° € X Ybw, np
XE

f(x°)=m, wou m phip wiwinut b f (x) pocbyghuh dpbpn
Ywd shoppuwgnyl wpdkp, hymbtwmymd L ml}l f(x) u wunwd b, np
XE
hudpunuwip hwuwbbih b jud dhuhunuwp gnjnpnib nbh: Wb Ytwnkpp,
npnkn  f (x) $muyghutt hwubmd bt pp tjwquqnybt wpdbpht,
wbjuwumd i Jhuhinwh Yhwkpp, b wyn YEnbph puqunipymbp
pwtwlymd Arg ml}l f (x) -ny'
XE

Argrglglf(x)z{x € X:f(x)=r2|;1f(x)}:
Zwguju oquugnpdymu k twh pnblghuyh dwpuhudnuth b dhthunuwh
punbwimp® pnibfghuyh bpuinpbunid windumbinudp:
Uwpbkdunhjuljut whwhqh nuupbpugnid vwhdwbymd t bwb jojuy
Epuupbunidf qununhwpn:
Uumd bb, np x°€ X Yhnp f(x) $mblyghuyh |njuy dwpuhdnuih
(Upuhunwth) Yhw k, Gpk qnjnipjnit mup x° Ytnh I opowljuyp wyhyku,
np popnp x € / hudwp

f(x).<_f(x°) (f(x)Zf(x°)):

Rtptup pmulyghwyh punpbiunuwdbbph JEpwpkpu) dwupbdwnhjujwut
wbwihqh  nuupbpwghg  hujnth  Jp pwbh  wpmymbphtp:
Epunptidmubtph hwuwbbjhmpjwt jpughpp jmudynud £ Quytppupuuh
hwjunh ptnptuny:

Piopkd 111 R" wwpwdnpjut thwl wvwhiwbwhwly (Yndywln)
puqUmpjub Jpw npnyywd wbphnhwwn $mbljghwb hwubmd t pp
Utdwmgny b thnppugnyt wpdtpubpht:

Zkwnlyw pnptidp oginud k qunubknt ymuyghuwyh tpunplidnudutipp:
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Plopkd 1122 Yhgmp f(x)-p D < R"whpnypnwd  npngjud
wdwlghh Pniulghw b bpk f(x) Pouyghugh kpuwpkunuih Yhnp

$mlyghuwyh D whpnyph ubkppht YEw b, wyw wn Yhund f (x)

$nmuyghwyh popnp dwubwyh wdwhgyunbbpp whwnp t hujwuwp (hbku 0-
h, wyuptipt parjwpwpyti hknbyuy hujwuwpnudutpp®

o ..
—=0,i=12,...,n:
o i n

Uy Yhpy wuwd, tpunpbidnuwh Yhnnd (Gpt uyb bkppht Yhwn E)
$mtijghuyh gpunhknp hwjwuwp t0-h:



1.2 3NRLYSHUBP MUBUTLUYUL BRUSCTUNRT

Yhpuwnuwliwt puqiuphy uighpipmd uwyb whpnypp, npuntn huanpod
kip Pmiulghwjh Epuwnpbunwdp, wvpynud £ ny puwgwhwjn wnbkupny:

Thwupykip puuujwh yupdwbwwb tpunpbdnuwh unhpp. qubt) 72
~gnpnpowluth  f(x,%,,.,X,)  Pnbyghujh Jwpuhinup Yud

dpupunulp D ¢ R" whpnypnuwd, npp  wpjwd t  hbhnlbjuy
hwyjwuwpndubph hwdwljwpgh nkupny*

& (x,,xz,...,x") =b,
8 (%.%;,...x,) =b,,

8m (% X500, X,) =D, :
Uju hujuwuwpnudutipt whqubnd b jugh Awjwuwpndbbp: Yhgmp
m<n u qumpjnth mbuh wbwhup x° € D Yhw, op*
0
= max :
f ()= max £ (x)

Ghpunpbp twh, np f(x,X,,..,X,) b g, (xlvxz’---’xn)’i =12,....m
dmuljghwkipp mbkh whpinhwwn dwubwhh wswbguibtp pun pnjnp
(nhnuwlwibibph, b x° Yoot g,,i =1,2,...,m $muyghwlbph’

(%8, 98 9, )
dx, Odx, ox,
- dx, Ox, ox,
%n 98n 9%
\Ox, Ox, ox,




juynphwtth pwugp hwjwuwp t m-h: Thgmp /11 ,ﬂz yeres ﬂm pykpp
judwjujwb hwununnibbbkp B Ywqubip wyju jubnph L(x,/l)
Lwugpuidh pmulghul’
L(x,4)= £ (x)+ 2 Ag:(x):
i=l
/11 , /1_,_ yours /1," hwunwwnniubikpp whjwbnwd L wbnpn)
tinpnjuuubbkp, Ywd  Lwgpubdh  gnpdbujhgutp:  Rhptup
yuydwiwlut tpunptidnudh ugph mddwt Luqpubidh knutwlyp:
Lwgpubidh (Lsgrange) wlmpny gnpdwihghlph bqwlnul: Thgnip npyws
Fyuydwbwuh lpuinpbumup fulbinhp qunbky
rileabxf(x) ,D={xeR":g,(x)=b,i=12,..,m},

npukn pnnp Sniblghwblpp  pujwpupmd  Eh JEpp  Goyjwd
wuywbbbpht b f(x) pmblghwb pp lpunpbuuy wpdbpht huubnud k
D wnppnyph  bLEpphh x° Ybvnmd: Uy pbypmid gqumpymb mbkb
uybwhup ﬂ,,/lz,...,ﬂm hwwnunnmbbbp, np puupbunuh x° YEwnmy
pwjuwpwpmd b hEnlyuy bunjwuwpmdbbpp '
aL(x,/l)
ox,

Wuyhuny, Lwgpuwbdh whnpny gnpdwlhgblph knwbwip payy b nwjhu
wuydwhwlwl  lpumpbdmdp  pbghpp  pbpl; ny  guydwbhwluwh
tpunpbunidp jubinphl, uwluyb L(x,/l) Snlighuyp blunndwdp:

Rhpktp wyju bquwbwyh hpdbtunjnpoudp Gpynt hnhnjuwmjwbh b UkY
Juwwh hwjuwuwpdwt phypmy: Gupwnpbkbip hwpluynp b qubl
f (x, y) $myghuyh |njwy punptidnwdp g (x, y) =0 Yuyh ntypmu:
Tthgmp |njuy tpuwnpbunuwh Ytwnp (xo,yo)—h k: SBwynphwbp nwbgh

qumphp]mL yupwbp Yytpusgh g; #0 yud g; #0 wuwypiwhikph:

=0, i=12,...,n:
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"Yhgnip (xo,yo) jEnmd g; #0: 2bwbwpwp, ny pugwhwpn
$nuyghwkph Ybpwptpjuy hwpnth poptuh hwdwduyb, Yupkh
g(xy)=0 hujuuupnufhg (x°,)°) Yhnh nplk opgwhuwypnul y -p
wpnwhwynty  npyku  pnbhghw  x-hg" Yy =¢(x),|3hr}npnu.[‘
y° =¢(x°): Stnuppkiny tnyb hwjwuwpdwb  dbp, Yuunwbwbp
unyumpynit g (x,¢(x)) =0: Ujuntinhg,

dg OJg OJg , , dg Og
—==+—=-0 =0, =—-==:
il wilr v i (N Wi

Sknumpbyny  f(x,y) Imyghwh Wby y=@(x), Yunubwubp
f (x, ¢(x ))

euthnp y° = @(x°),u (x°,)°)-4 f(x,y) $mulghuwsh tpunpbainulh
Jtw k, ntunh wyn hionmd®

df of of ,
—=0, —+—¢/=0:
& amtey? Tl

¥ (%20,

Ujuwnknhg

ax dyldx dy
bEpt wydd tpwbwmykhp®
¥ ¥%__,
ox ox dy dy
wju YEpphwjubuytu, (xo, yo) jEunuwd, junwbwhp'
o ,0g
T 2% -,
axox
o , .9
—+A—=>=0:
dy Oy

Yu® L;(x°,y°)=0, L;(x°,y°) =0:
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1.3: {Urpuspkny 2UChq

Thunwpltup vh puth ophtiwy, npnip Ywpnn ki wunpugmd wnuy
Juphwghntt hwoynud munuwbwuhpynn pbnhputph dwuhb: Payybu
qhuktip, huppnipywl bpynt’ A(xg, ¥o) & B(x,,y,) Ykwnkpp thwghinn

y(x) Ynph pjupmpimup (pk nitbh whpinhwwn wéwbgyuy) wpymd k
x

l= I\/l +y?dx pwtwdlny: ®nthnubiny y(x) 4npp Ukip Yunwbwbp
X0

Ynph tpjupmpjub wwppkp wpdkpblp, wjuhph Ynph EpYuwpnipymip
$nitlyghw t Ynphg' I =1(y(x)): Zwpnbh Mughp b quilky wpdws
A(x,¥) 1 B(x,,,) Yentpp uhughnn wyb Ynpp, nph bplwpmpyotip

wdtbwjwpdu t: Uju unhpp Yupbih b dbwytpyt; hbwnbjuy Yhpy.
Gty

min } 1+ y?dx:
yeC'[x,.x,]xo

Thuwpykp ULy wy jbnhp: thgmp thnhnjwjwb  joangpjudp
puhwlghy uhpunjunpmd wpdus ta A(%,¥0.%) b B(x,%,7)

Jhwnbkpp: ZwpYuynp bt npnpkp A Yhkwhg B Ykwn whghnn |nyuh
wnrwquiph htwnwghdp: Cun dkpdwih huyunbh. uyqpmbiph, yup
fwrwuquypp dpown swpdymud bt wdbbwwpwq hbkwnwgdny: Thgmp
(x,y,z) JEkunmud |nyuh wpwgnipniup v(x, y,z) k &wbwwwphh ds

ds
hwunywdp nyup Yuiguh ¢ =— dudwbwymu: Gpt x thnhnpjuwuubp
14

punpmukbp npybku  wwpuwdbkwp, |nyuh  npnukh  hkuwgdh
huwjwuwpnuip  Yuwpth t qhmuxpllhl( y (x) »Z (x)) -ntupny, L
dudwbwyh hwdwp junwiwbp htnljw) pubwdbp

1+ y? + 22
T=}_Wzdx;

2 V(xy.2)
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Rughpp phpynud t hbwnlywht: Zwpjundnp t qubly  wybwhup
y(x),z(x) $niuljghwkp, np 7 -t mbkbw $hnppugnyh wpdtp, pun

npnud y(x)h z(x) Imujghwbtpp whwp bt pwjwpuptu hbwnbjuy
kqpuyht wuydwlbkppt®

¥(%) = Yoo 2(%) = 2, ¥ (%) = yo2( %) = 7

Utq hwuwd yuwnduljwb nfjujbiph hwdwduyh, Juphwghnt hwsgh
wnwght  jubnhpp Yk bt Unnuynpuwbtu  850-wjwmb . p.w.
pYwiwuutpht Yhnn (thpntw, Bhuuw) pwgmbm Ynndhg: Epp
Sipnuh puquiinpp dwhwbinwd b, puquynpmipymbp wbgunwd t hp
quyuliutpht’ npph Mhquwhnbht @ gowuwnp YYhgoht: Uwuyh
guijwbwny vhwbdlyw Jjurwupl) tpyhpp, Mhquwihntp vywinwd k
Thnnh wdnuutnih: Yhonb, hwyjwpkiny hp mbtgywsdpp, hwyjuwnwphd
wquuljwubbph htwn phimd bt qwjuniuwp b h we dudwbwy htwnn
hwutmd Udphjuyh hymuhuughtt unhtpp  (wyddjwt Pnibhu): Ujunkn
wntnh phipplipubtph puquijnphg tw Uh junp hoqunwpwsdp t bnpaud
phwlytint hwdwp, vwwjbh puquynpp hwdwdwyiynud b wnwg wybpwtb
hnn, nppwlb jutnuynmjh gnyh Unppnt dte: thnnt hwdwdwyiynud
pbtupmd gnyht, wyw gmph juomg jupnd tkn dwwywybuutp b,
Uhwgutjny dpdhwmbg, uvnwbnd 2,5 dnnb tpjupnipjudp ywpwb, npny
b wigwwnnud k ojjjubinup unhhg hp hnnuunwpusdpp: Zknwquynud wyn
nwpwdpmy hhdltig Yuppugkh whwnmpinibp, nph wnwghti pugnihhh
%thnnt tp: 2hnnt ny dpuyb hbwpudpwn bp, wy bwb punn glintghy b
puquuphy yntwukp, Gpudhownubp b bjwphyubp, ujuwd Ykpghihniuhg
b Mmyhthhg winpuupdk) b Hhynh Jubph yuundnipjubp: Snpuuy
wnbkuwblmbhg hnnh junhpp Yupbjh b dbwlbkpyl) htnbyuy Yhpy.
qubt] ppwjwb wrwbgph @ U b Yhwnbkpp vhwgton hwuwnwwnmb !

Epjupmpnih mukgnn wybuhuh y(x) Ynp, np hpwljut wpwbgpny b
Ynpny uwhdwbwhwyyws wunnltph Jdwhbpbup (huth  Jdkdwgny:
Ujuyhuny, Yqubip htinbyuy juunphti’ qunly

J[y]=jy(x)dx

-12-



$niiyghntiunh ywpupunudp, kpk y(x ) -b pajwpupmud

j'\/l+ y*dx=1, y(a)=y(b)=0

yuypdwht:

Cunhwbmp nbypnul, nhgnp X -p dmulghntwy wnwpuwdnpmb t b
J (x) -p htwnbgpuuyht pniuyghntuy b, npnpdwd wyn nwpusnipjub

Ypu: Upwnkn Ynhunwpygbb dhugh C[to,tl] w C [to,tll wbkuph

$niuyghnbiw nwpwdnpynibtitp, npukn [lo,ll]-n hpwywb wnwbgph
nput hunjusd t:

dniuyghntiwjh njuy kpunpbunwh Yhwnp uvwhdwinmd bt ugbytuy,
husytu b pmuyghuyh njuy punptdmuh phypnud® x° (t ) -u J (x)
$nibyghnbuh njuy Jwpupdnudp (Uhuhunudh) fhw b, Gpl gnynipynih
niup x° (t)-[n I oppwjuyp (hudwyuwnuwujpwmb  wwpwdnipjwb

tinpuny), np ppnp X (t ) € I budwp wknh nibih

J(xo)ZJ(x), (J(x°)$](x))

wihwwuwpmpnibp:
Lk 13.1: (Lwgpubd(Lagrange)): Epk f (t)e C ['o’trl b

n(t)e C! [tO’tl]’ I](to) = O,Tl(tl) =0 wuydwbhb punjwpwpny pojap
Snrbhlghwbkph hudwp

]’f(t)n(t)dt =0,

uyu f(£)=0,1€[t,,1,]:
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Uwwgnyg Cupumpbkup, np (tudh wunnudp ujuy kb goympynit muh
TE [to,tl ] . mp f(7)#0, dwubwynpuybu f('t) >0: Unulg

piphwhpmpyoitp pwhabint fupon bip upunply, np 7 -4 [15,1,]
puqunipjul bkppht Ytwn b wih op f(7) $nblighwh wiptnphun t,
nwwh gnnipjnih nibih (‘Z'l,‘l'z) Uppwljwyp, npunkn f (t ) >0: (bpk wyu
quinh Swypuitwnmy, ophtuly 7=f, wwm f(f) $mbighuh
wbpiinhunnmpjniihg Yhtnbh, np gnynipini mh (t’, tl] Uhgwljuyp,
opubn  f(2)>0: Up nbwpnul npuybu 7 Yhw Ydbpgbbbp wyy
vhowlujph juduwjwliwb utppht fkwn): Ywnmgkup fl(t ) dnuyghute
htunljuy Ypy*

'z(t)={(t-f:)2(t—fz)2, te(5,m,)

0, e (7,7,):

Ujuyjbu junmgyws mulghwb pujwpwpnud b (kuh wujdwbbbtphb'
r)(t)e c [to,ll], Il(to)=0,7](t1)=0: 2upjh wnbkyny, np 7](1) -b
tmybupuwp qpn k (7,7, ) uhgwluyphg noupu,

}f(t)”(t)d‘=;rf(t)(‘_7x)2(l—z'2)2dz;

Uwlujh wju hunbgpup juhun pgpufwt t, pwbh np (1’,,1‘2)
vhpwjupmd upunn ppufwh t f (t ) -t Unugwd hwjuunipyniup
wwwugngnwd k1Euh wyunmup:

Ljuntup, np wju (kdh whnnudp dund & mdh dkp, Gpk 77 (t)

dmuyghuygh Ypw npykh wybtjh phun wuydwihbkp, ophtml ywhwhgkp
uhiyl npuk 7 upgh whpinhwwn wdwbgyuyutph gnjnpjnibp:

“thgnip npywsd k hnbigpujuyhtt pnitjghnbiuy’
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4
Jix)= | L(t,x.%)dt,
npukn L(t v X, X ) Pmbyghwhr  wbpinhwwnn t  npybu Gpkp
thnthnjuwlubh pmblghw, b ntbh whpinhwwn dwubwlh wswugyubtp:
Ujuwnkin X(t )-ml tywhwlws t x(t) $mblyghuyh wdwbgyuyp: J{x]
$nibyghntwjh |njuy tpunpbunudp  hbwnpmd tup C ! [to,tl]
$muyghwikph nuunud:

Yumklip, np x° (t ) poibyghwt J[x] pmblghnbuyp lpuinpbunidp fkwn
L kpk qympym b mbp € >0 , uylnyku, np’

J[x*1= Jx],

x° - x"c._ <E,
qwd’
J[x°1< J[x],

x° —x"cl <E€:

Swipptip juunhpubpnud jupnn b yuhwbeyk) twb wkih pwpdp Yuwpgh
wdwugyuybkph, jud $muyghuyh vwubwyh wdwbgyuutph gnnipjui
jud whpbnhuwnmpjub ywjdwubbp: Lwbh np wju puuptpwugnuw ytp
bwuwwwyp  Jwphwghnt  hwpth wdpnppwjwt b juhuwn
dwpbdwwnhjuijwb wnkumpmb swpunpbp st (gpwig htn Yupkh t
Swinpwhuwy, ophtmy Ywubwghwnwlywl [1] b [26] gpujwlinipiniithg),
wy] Uhuyb dSwbinpught) wju nkumpjut uyqpoibptiph b Unnnigmdutph

htw, nuwh hbknwqumd Ytbpwnpkip, np pojnp  bwinhuynn
Imyghwikpp mbkt wjbpwt wbphnhwwn  wdwiugpuiutp, nppwb
wwhwbgyh:

Ywphwghnl huwpjh wwpquenylb fubghpp: Yhuwpykup  htnbjuy
lutighpp: Gty

extr j L(r,x,%)dt,
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npnbn K ={x€ C'[t. ] x(85) = %0, x(1) =x,} :

thgmp wju putpph Mdnuip®  x (t )-11 qnmpjnth mbh: dkpgubup
Judwyuljut 7]([ )E C' [to,tl] $nyghw, npp  Suypuybnbpnud
hwjwuwp t qpnjp’ r)(to)=r](t,)=0, b juqutiup tnp Pniuyghw’
x(t)+an(t), opubn @ -t puulwbuymih thopp hpuluh phy b U
tnp $muyghwt pujupupmd t tnyb qpuyht wwpdwbbbphb, huy b
x(t) Pmuyghwt, wyuhtph x(t)+am(t)e K  Skquypkny J
dnuyghnbiwh dbg, junnwbtwbp @ -hg jupujwd pniyghwm (x(t) b
7(2) $myghwibpp Shpulums k)

J(@)= [ L(t.x+amn,5+am)de:
Swbluguws wpjuws £>0 pih hudwp x(z)+an(f) $niuyghwt
Yqunidh x(t ) Inuyghwyh € oppwljuypmid 0-ht Unwnn pujuljwbwyuth
thnpp @ -h hundwip: Lwbth np x(t) -t hpunpyty t J[x] $niblyghntiugh
Injw) tpunpbunuwh Ykw, nwunp J (a ) $niijghwt whwnp L nibikbw

Injuy tpuunptund @ =0 phypnui, htwnbwpwp @ =0 Jhwuowl
Imiyghuyh wswbgup hwjwuwp t 0-h: Udwugkind pun a-h,
Junwubwp*

7(@)laro= [ [ (65, 2)m (1) + L, 1,0, 2) (1)t =

L (R n(0)+ [ L 2 )

)

Uwubpny huunbkqpliny tpypopn gnudwpbihb, junwbiwbp®
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U}

7 (a) |a=o=j[L, (t,x,ic)—%Li(t,x,fc)]r)(t)dt+

%
+L, (t,x,5)n(2)]., —L, (t.x.%5)n()].: (13D
Ny hunbkgpujuyhtt gnuiwpbkjhuitpp bwjwuwp &b 0-h, pwbp np
7](1‘0) = T](tl) =0, htwnbwpwp'

h

J(@)lae0= I [Lx (. x,%) —%Li (s, x,ic)]r;(t)dz : (13.2)

fo
Yhpwntiny Lwqpuidh (tdp, wnwimd btup, np tpk qnympymib muhp
Jix] $miblyghntwih |nfuy tpunptinwh x(7) priblghw, wyw wyh
whtwnp t pujupuph htnlyw) nhptpkughw) hujwuwpdwip®

L, (¢, x,x) —%L,‘ (t.x,x)=0: (1.3.3)

$mulghuwsh  nhdbpkughwh  fwhmpyunip, 6 =J'(0)a
wpnwhwjnnipymbh  (J (a) $nuyghwyh  ghdbpkughwp a=0

o) wiuwimd b J[x] $mblyghntwh quphughw: U (1.3.3)
hujuwuwpnudt wuimd th  Eyépp  (Euler) bunjwuwpnid, huy

hwjuuwpdwip pajupupnn x(t ) Imbyghwtpp® Lpuwpbuuy b
Ujdd Eupwnpbbp, np Ghpwhunbqpuiughtt pmulghwb Yupuws t

tpyni’ x(¢) b y(7) Pnrbilyghwiibphg, wuhtiph J Pnibiyghniup muh
hkwnljw) nkupp’

Jix,yl= IL(t,x, y, X, y)dt:

o

Thwwpyup Juphwghnb hupyh htwnbyuy jbinhpp’

(inc)tErK J[x,y]

~-17-



K ={(x. y)eC' 1, ]xC' [1,.0].x(,) =x.x(t) =x;5(1,) = y,.¥(s) = y,}

Unphg Ytupwnptip, np  J [x, y] -h tpunptunuwip gnipjnii nilih,

(x(t) , y(t) i nppw tpunpbunwph jEwbt b U L(t, X, Y, X, y)
dnjghwt pwjupupnd t wdwbughjhmpjull pnjpp  wbbhpwdbywn
yupdwhukpht: Puyytu b twjunpy punpmy, nhgop

m (1) C [to.].m,(£) € C'[1.1,],
M (te)=m(1)=0,7,(t)=,(1,)=0
judwjuub  pmbyghwmbbp b, &4,%,-p pwjujubwyuh hnpp
hpuljut pytp: dnLuyghwupht wnutip wg'
x(t)+am, (1), y(t)+am,(t). U phowplybup’

J(e.a,) =IL(t,x+a,r/,,y+a2772,5c+a,ﬁ,,y+azr)2)dt

lo

Uju phypnud unybybku J (a,,az) $niujghwjh bpunpbunuwip whwp t
pujwpwuph Epunplynuwph gnympjuh withpwdbyn yupdwivhb'

aJ
aa s

=0
aJ

— =0:
oa, I‘Z;i%

Quuttp J (a,,az) dnibighuyh vwubwyh whgymiutpp punn & b @ -h:
Upmynitipnud junwbwbp®

d ..
a,-o I[ (t.xy.%y —-;i—;Lj(t,x,y,x,y)]r],(t)dt=O,

la,=o f[ y (65,7, %, )-%L (t.x,y,%y )]”z() =0:

to
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Ujuuntinhg, jhpunkiny Lwgpubdh kdp, junwbwbp®
L (t.xy.x y)—%Lj (t.x,y,%,)=0,
..y d ..
L,(t,x,y,%7) —ZL,. (t.x,y,%,y)=0:

bpt bupwhbwnbqpuyuyht L  pmilghwbt juwpdwd t 7  hwun
x(1),%,(1),...x,(t) $muyghwbphg, unwbnul bbp hbulbjuyg
whpwdton yuydwmbubkpp®

L, ——‘-i—L., =0,i=12,...,n:
i dt X

Bupwhbunbgpujuyht L Imbyghwt Yjupnn bt juwpdws (hbl bwb
pupdp Yupgh wdwuguukphg: NMuwpgmpjub hudwp ghuwpythp
htunbjwy jainhpp® qunily

extr J [x] = extr j L(t,x,%%)ds,
tpt K ={x€ C* (1o, ].x(tg) = x5, x(t,) = %% (15) =x2,i¢(t,)=x3} :
Unphg, bupumpbnd, np  x(f) $mbyghwt J[x] Pmuyghntiuyh
tpunpbunudph - b k. vwubp  ws’ x(t) + aﬂ(t), npunkn
Tl(t)e C? [tO'tl] tinphg  judwjuliwh t b pujwpupmy b Lqpuyht

ﬂ(to) = r;(tl ) = r)(to) = f](tl ) =0 wuwplwbbbkpht, @ -u 0-hi Unwnn phy
k: Sknunpny $mulyghnbiwh vk, junwbmbp*

J(a)=jL(t,x+ar),i+ar),x+alr)l,x+ar'j)dt:
to

Uju $niajghwyh wdwmigyuyp 0 fnmud punn @ -h hwjuwuwp t°
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Jl(a)la=o=

=][Lx (8,25, %)n () + L, (t,x,%, %) 7 (£) + L, (¢, x, X, ¥) 5j(¢) | dt =

= i[L, (t,x,ic,)c')r)(t)+L,.(t,x,i,5é)r'](t)]dt+}l,¥ (t,x,%,%)7(t)dt =

o

=]L[L,(t,x,x,x)—%Li(t,x,x,i)] (t)dt+f L, (t,x,x,%)7j(t)dt :

t ‘o

tpynt wbqud Ywubpny htunkgpbiny pypnpy gmudwpbiht, vwnwbnwd
kup'

]lﬁ(t,x,ic,i)ﬁ(t)dt =-%Li(t,x,i,jc')f](t)|: _

o

—L, (t,x,%,%)n( r+-[dt2 L (t,x,x,%)n(t)d::

Upuwhuny, puthap 7(,) =7(8) =7(t) =71() =0, nuwp’

4

d d’
J(@)|,..= || L (t.x, %, %) ——L,(t,x,%,%)+—L,(t,x,%,%) |n(t)dt
(@)l | 00 28) 1 0 28)+ 501 (15500
Ujuntnhg, oquujtiny ULwgpubdh (tuhg, uwnwbmd bthp Eptph
hwyjwuwpnudp kpypnpn jupgh wdwigyuyny jpunph hwdwp®

2

Lx(t,x,x,i)—%Lj(t,x,)t,jr')+;i L, (1.x,%%)=0:

2

Cunhwimp ghypnud, kpt L Imtyghwt Yupaws k vhugh 7 -pn Yupgh
wdwlgyuibtphg, Ejkph pubwdlbip Ypnpmuh

n dk
g(‘lk )?Lxm =0
wkupp:
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Pgnybphdlanphy  Jubnhp: thwwpykup  htnbjw)  unhpp:  Fnnp
x(t )E C' [tovtl] ynptph puqunipjut Uk, npntp vhughmu th (to,xo)
b (tl X5 ) Ytwtpp b npnig hundwp wpyws £

][x]=}l~,(t,x,i:)dt

b

Sn1tlyghntiuh wpdbpp, quitity wyt x(¢) $muyghwh, nph nhypnud

J[,_\f]=]L(t,x,5c)dt

‘o

Pmuyghntiuyp juunwbw tpuwnpbduy wpdbp: Ujuyhuh juunhpubpp
wijwinwd &b pgnylphdtunphpy “h yuwuhy® %hnpn  pwugnihnu
Smbyghwbkph wbpinhwunnpub b wdwbghjhmpjub Ytpwpkpjuy
wihpwdton yuydwbubtph nhypmd wju jpunhpp pipynud £ Juphwghnt
hwoyh wuwpqugnyb jinphi htnlyu) pnptdh oginmpyundp:

Plopkd 131: Epk qympymb nbhp hqnybphdbuinphly plpph x(t)
mémd b bpk x(t)-b J[x]| pmbgghntunh punpbdugp st ungw

qrnupynch nibp uybuypup A hwuwnunamd, np x(t ) -b

J°[x]=]H(t,x,5c)dt

to

Snibyghnbiuyh lpunpbduyb b, npnkn H = L+ AL :

Poygh Jubighp: Lujanpy poynp pihpbkpoud Bupunpdoud tp, np x ()
Pnuijghwtt  wdpuwgud Lt dSwjpwibunbpmd’ x (t ) dnuyghwyh
wpdtphtpp [to,tI] huunjwsh dSugpujtnbpnd whiwybtu npjud tu:

Udd nhuwplkip  wwpqugnyb utnhpp, hwbbing wyy wwylwbp,
wjuhliph’ qualily
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extr] [x] = exerL(t,x, X)dt
fo
pD|NQ x(t )G C! [to,t,] dniyghwitiph puqunipjutb Ypu: Uju jainhpp
Ywiwbkup wquun &qpépny jbppp: Unphg w wuny X (t) -pt’
x(t)+ an(t), opun neC toot,] Yuuwywywb £ b wdwhgkyny
J (a ) -1, junnwbwbp (1.3.1) wprnwhwpampnbp’

I

J(@)lpe0= J'[Lx (t,x,,\'t)—%L* (t,x,fr)]r;(t)dt+

+L, (t,x,%)7(#) |, —L, (8. %, %)7(2)].o,,:

Uwluyh wjuwntn, h wvwppbipmpmb wwpqugnyb juunph, skbp
wwhwlgk), np ﬂ(to)=0,7)(tl) =0: Uyuhwyn t, op bkpk x(t)-h
tpunptidw) & wquu tqplpny jubppnud, wyw wjb punptduy L twb
wdpugywd duyptpny punpnud b, hbnbwpwp'

L, (z.x,x)-%L,.(;,x,x)=o=>'j[L,(z,x,x)-%L,. (t,x,i)]r)(t)dt=0

by, pubh np 77(%) -t & 7(4,) -p Vhjwbghg whiwe Yunfuyumljmb pybp
kb, nunh vnwmimd Elp Epym |pwugnighy Eqpuyghtt wuplwb

L, (t,x%)|,=0,
L (t,x,x)|.=0:

=4

Npny phypbpmd wwhwbgynd k' phunwpyl; bwb hkunbyjuy wbuph
dnulyghntiwy btip®

Tx]= [ Ltx, )+ 0 (x(10)) +¥ (x(8)),

fo
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npunkn ¢(x) il Y (x) - whpinhwin wdwgkih muyghwmutp ku b
J [x] pniuyghniuh tpuwnpbunuip thwnpymd £ C'[#,,1,] puwqunipjut
Jpu: Uju wbupny wnpjwd hbunhpt wijwumd b Fmgh fbnhp
Yplukny Ypp pipywd pnjnp nuunnnipynibkpp, J’(a)- hwdwp
Junwbwhp®

) o= I[ t,x,%) ——L . (t.x, x)]r;(t)dHL (x.2)n(e)]., -
=L, (1,2, 2)1(t) |, +@, (x(1))7(15) + ¥, (x(1,))m(1,) =0:

Ujuntn unphg, pwbh np x(t) -t tpunpbduy t, wwyw hnbtqpuyp
hunjwuwp t 0-h b bwjunpy wprwhwjnnipjnibp pugnibnud | hkwnbyuy
wnkupp’

P(@)s= 6170 ey L A0 +
+@, (x(1)) (%) + v, (x(1,)) m(2,) =0
Jud

(=L (1221, +0, (x()))n (1) +(L, (. x.5) |, +w, (x(1)))n (1) = 0:

Zwpih wobbnd, np 7(%).7(f,) wpdbpubpp Yuuuwwhub kb,
unubmd khp Fnjgh unph kqpuyhtt yuypdwbukpp®

L; (t,x,i) |:°= P, (x(tl))’
=L (t,x.x)], =, (x(s )):
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OARANRSPY ULULPQP ZPUNPLRLED
2.1 2pU0USUL UIRUTUARULES, ULRUSELPAROSUY RENIET

Uju wwpugpudpnuwd phpjwd bt nomghly wbwihgh hpdbwyub
hwuljugmpymuukpp bt wpymbpbtpp, npnup  hhnwquynud
wwhwigytjnt b oyupdwugdwt pubnhpbkph  htwnwqnudwub
plpwugpnud:

Tthgmp R"-p 7 -ywhwbh WYhpkujwb wwpwdmpymut b Zhokghtp,
np R*-nud X=(%,%,,...,X,) Jkyunph topup vwhdwtynu b hbnbjug

Ytpy' |x|| Zx bpllm‘x=(x1’x'z"“’xn) L y=(yl,y2,...,yn)

i=1

yEjwnphtph (x, y) ujupup wpununpup vwhdwbynud b wjuybue®

(x, .y) = Zx‘ Y huy p(x, y) htpwynpnipjnip®
i=l

S 2
p(xy)=x=yl= 2 (- )
i=1
Uuwhiwimd 2.1.1: X CR" puqunpmip wijwimd bb aomghl
puqunipnil, pk hp gubljwgud kpyn' X b x° Ynbph htan Utuntn
wyb yupnibwynud t bwb
x=ax'+(1-a)x” (2.1.1)
wnkuph pninp Ytwnbpp, nputn 0<a <1:
Epypwyunhnptt nu bywhwynud t, np hp gmbjugus tpyne YEnkph htn
Utjntn uyb yupmbwlynmd k bwb wyn jhabkpp vhwughng hwngwsdp: R*
-nuf hthg (2.1.1) bujuwuwpdwbp pwjwpwpnn pnppp x  Yhnbph
puqUmpmbb th wijwbnwd X ux’ Yhunbpp vhwgunn hwwngus:

Ninmghly puqumpjub ophtwyubp Eb' gnitnp, nunnubyymbp, nunpnp,
hwppmpjmup, R" wwpwdnipjub gpuljwh ojwwtinp (R]) b uyphe
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Pjuphttp  momghy  puqumpymbbkph  Jdh puwbh  wupq
hwunmpmuubp:

2.1: Ninmghy puqunipymbukph hwwnnudt ninmghy t:

Ugugnyg. “hgmp X =X,1X,. npubn X;-t m X,-p ninmghy
puqumpymblutp th: dhpgutup tpym judwjufwt x; b x, jintp X
hg: Rmbh np X C X, X CX,, wyu guwhjugus QE [0,1] pyh
hudwp ax, +(1-a)x, € X, ax, +(1-a)x, € X,, htwbhwpwp, tub"
ax,+(l-a)x,€ X: unyh bnuwbwyny wpu winnuwip Ywpkh t
nupwdl] gwujugwd pyny nnmghl puqumpymuubph hwwndwb
hwdwp:

22: Mwmghy X puqumpjut Jjudwuljwu yJippwynp pyny
x,x%,..., x* yenbkph®

xzzj:agf

memghly qéuyhl ynuphbwghwbbpp vjunjumbmd th X -hb
guujugud

k
@ 20, i=1,...k, D a =1

i=1

qonpdwljhgutph hwdwp:

Uyugnyg  Uwugmgklp htnmyghuph bqubwyng puwn Yhwnkph
pwbwyh' k pyp: k=2 phypnud Ubkp winmuip hwdpbljbnd t
nunghy puquUmipjubl vwhdwmbdwb htwn: Ujdd Ghpunpbbp, np X

puqUmpub k—1 pyny gwhljwgws Ytwnbkph nwmghly gdughb
Youphbwghwt ywujwimd b wy puqumpjuip: Yhwvwpykbp X

puqumpywt k hun X', x%,...,x* ", %* Yhunbpp b nputg nplt ninmghy
gduyhli YnUphiughw

k k
x=Y ax, 20,a,20,.2,20, Y a=I:

i=l i=1
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bpt @, =1, wyw @ =0, 1<i<k-1t x=x"€ X Ujdu, nhgmp

k-1
o, <1: U ntypnud 1-a, = Za,. > 0: Lkphuymgukp x -p hkwnbyuy
i=1

wnbupny’

Eog \
x=(l—a,‘);l_;zk X' +ax
a,/l1-a,, i=1,2,..,k—1 pytpp ny puguuwluh kb b npuig
qnuiwipp hwjwuwp k 1-h°
k-1 k-1

> % __1 Za':l—la (1-a,)=1:

ml-o l-a, 5 "

k-1
Zbwnbwpup, x' =
,Z,,: -,

DS S o JEwntph niemghl gduyht Yndphimghw b bugniyghuygh
bipunpmpjuh  hudwduyt® YeX, puyg  wyn phypnud’
x=(1-a)xX+x" Yhnp X puqumpub kpynt Yeunbph ninmghy
gduyht Ynuphtughw t b, htnbwpwp, x€ X

i

x' wpnwhupnmpmip X puqUnipjul

23. Hhgnp X;-p b X, -p juduwjulwb ninmghl puqumpynibbp b
Ujn ntypmd ninnighy ktwb X, + X, puqunipjnitip, npunkn’

X +X,={xix=x+2 e X e Xz}:

Uymgnyg Yhgnp' x,X € X = X, + X, : Cunn vwhdwbvwl, gnynipjnit
mbth  wiyhuh X, X'€X, t x’,X*’€ X, \Ytwbp, np
x=x'+x*, X=X +X: dkpgkbp Yuniuyului @€ [0,1] u yuqutip
ax+(1-a)x : Mmukup*
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ax+(1—a)f=a(x' +x2)+(1—a)(f' +XY) =
=ax +(1-a)x +ax* +(1-a)x*:

fuwth np X, b X, puqUumpnibtbtpp thpunpyk] kb ninnighy, wuyw'
ax' +(1-a)x'€ X,, ax’ +(1-a)x* € X,, hkwbwpup b

ax+(l-a)x€ X=X +X,:
2.4. 1bnmghy X puquUmpjub X thujnudp momghy k:

wgwgnyg “Yhgmp X,y€ X. Ujn phypmd gnimpjmiih mukh X
puqumpjub  Yhnbkph bpym {x"' },{ym} hwenppujutnmpjntiikp,
npniip gniquihuninud b hudwywwnwupwbwpup x by Yhknbppl:
Qdujht pnitiyghugh whpinhunnmpymithg htnbm k ax™ +(1—a) y"

Ytunbkph hwgnprujwimpniip Yqniquihinh ax+(1—a)y Ykwnpt
gubjugud a@E [0, 1] nbypmu: Lwbh np jmpuwpwbymp m =1,2,...
hudup 0x" +(1-@)y"  Ywp guuuied b X -ht, wyw
ax +(1 - a) Y Ytunp tmybgbu juunuth X -pb:

Zwonpn, btpym  hwnynpmbutph  wuywgmgnuip panumd  Ghp
puptpgnnhl:

25. Miomghy X puqumpjut tkppht Yhwnbkph X ® puqumpinitip
nmunmghl k:

26. Minmghy X puqumpub x° ubkppht Ykwnhg nnipu byng
guljugwd fwrwquyph Ypw ju wikbwgunnp Ukl kgpuyhtt Yhwn:

Uwhdwtmd 2.1.2: X puqumpjwb memghy punuie th wijwbnud
wjn  puqUmpnibp  wwpmbwlng C (X ) vhthdw] numghy
puqumpjnbp, wjuhtiph mrmghy pwqumpinit, npu phyjwd £ X
puqunipjmbip ywpnmbwynn guijugws wy nnnighy pauqunipjub dke:
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Ujuhuyun £, np memghy punubpp hwdpujunud £ X puqunipynilp
wupnibwlnn ponp ninmghy puqunipnibitiph hwwndwb htn: Uuluyb
puqUnipjub nrnighy punubpp Jupkih £ unwbwg bwb wy Epy:

2.7. Ny nunnwpy X puqimpub memghy punuupp hwdpbunud k
wyn  puqUmpjub Ytwntph pnppp hbwpuynp ninmghy gdwyhb
Ynuphtiwghwubph puqunipjmi htwn:

Uwwgnyg #wbh np C (X )-[_1 nnmghy kb wwpmbwynud £t X
puquUnipjwb  pnpp hwbpp, wyw ywupmbwynd t Gwb  wyy
puqumpjmtt  Ykwnbkph ponp htwpuynp ninmghl  gduyhl
Yndphtwghwubpp: Uynwu Ynnuhg, X pwqumpjub  Yhwkph ponp
htwpuynp  mmghy  gdwphtt  Yndphtwghwiukph pwqunipjnilp
nunmghy b (pwth np, hiyytu hkown t wilhpwjwunpkl unmghk, X
puqUmpjut  YEwnbtph memghy gdughti  Yndphtwghwubtph mnmghl
gdugyht  Yndphimghwt unyuwybtu wyn Ytwnbkph nwnghy gqdwyhl

Ynuphtiwghw b) b wywpntbwymd £ X -p, hbnbwpwpu C (X ) -n
Zwgnpn phnpbup poy) k nwjhu &2qpunk) wju wpgynibpp:

Plapkd 211 Ny nuawpy X CR" puqunipjub C ( X ) nwnmghly
punubph jmpupwbynip YEn jupkh b bbpjujugut; X puqunipjub
ny wyli, pwb 72+ 1 Ykwnbph ninmghy gduyyht Ynuphtiwghwyh wkupny:

k+1

Uwwgayg Yhgnip XGC ) Zax,kZIH'l,x,.E X,a >0,

i=1
k+1

=1..,k+], zl:q =1: Ypnwpbbp X =X, X — X, 500 X — Xy
JLYwnpukpp: fgt-nhb op k>n, wyw wu JEyunpukpp gduyunpkh
Yujyuwy kb R"-nud, wyuhtiph gnmpymt mtku B, B,.... G, i B>0
i=l
wjthup hpwlwb pytp, np

B —x,))+ By(x, — %) +...t B, (x, — x,,,) =0:
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bpt tpwbwyttp B, = Zﬂn wopw'

i=1

k+1

Zﬂ,.x,.=0

i=1
Yhwuptbp ¥ =a; — 45, pibpp, npwbn 4 -4 npngymd b bbby
hwjuwuwpnpjnihg

1Bl

M siskng a

Zbow t wikuliky, np wju ntwpnud popop i =1,2,...,k +1 hudwp %, 20 u
¥, =0: Pughuyy’

k+1 k+1 k+l1 k+1 k+]

Y1 =2 -m)=Ya-u) f=3.0=1

k+1 k+1 k+1 k+1

Zyx —Zax ,uZ,Bx Zax x:
i=1 i=1

Ujuyhuny unnwbmd Gup, np x -p bbpYuyugdnud £ ny wybjh, pub k
wuwppkph  munmghly  gdught  Ynuphtwghuyh  wkupny (7, =0):
Cwpnibwuljtjny wyu gnpdplipugp, h Yipgn x Ytwh wbpjuyugdwb Jky
Jutw 7+1 wwpp:

Uwhdwbmy 2.1.3: K CR" puqumpiniip, npp gubjugws x’, x“ € K
Ytwkph htwn Ukhunkn wuwpnibhwlnud k bl
x=ax'+ fx", 20, f20 ponp Yhnbpp, Yosmd t nnnighly ok

Minmghy Ynbtp nomghy puqumppnih b, gwmbjugws x€ K, =0
hunfwp @x€ K, htwbhwpwp guhljumgus ninnighy §nb wupnibmynud &
uljqpbimljtiwnp:
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Uwhdwtmd 214 Swijugws X CR" puqimpjui hwdup wyy
puqumpjniip wwpmbwynn vhuhdw) K(X) nmemghl §nbp Ynyynud t
X puqinipjub jpbhwlwh punuip:

buyytu b momghl] punuuph nbypmd, Yuphkh t gnyg wwy, op
ynbwjub punuipp hwdpbjumd t X pwqumpjut Yhwnbph ponp

k
htwpwynp ny pwgwuwlwb gduyht x= Za,.x,. , .20, i=1..k
i=1

Ynuphtiwghwutph puqunipjutt htw:

Uwhdwtmy 2.15: Qiomghy K Ynuh hwdwp K bwfuymé §nk b
wbjwinud htnbjuy puqunpjniup*

K ={a€ R" <a,x><0 pojnp x€ K hunfunp }:
28. K’ puqunipjnitip thwl ninmghl Ynb k:

Uywgnyg ‘Ll gnyg wwbp K'-h nwnighymppitp:  Yhgnp®
ad, ek, ae(0,1), xe K Ujn nhypnud”

((aa/+(1—a)a’),x> =a(d,x)+(1-a)(,x)<0, hbwbupup’

aa’+Pa"€ K° Udd  epgutip K° ynup o, @,..ak,..

Jtjwnputph  hwegnppujwbmpmt, npp qmquipund k£ @ -p°
,l‘ima’ =@: 8nyg wwulbp, op a€ K bpnp, pwbh np @' € K, wyu
—poo

<a" ,x)SO, k=12,.: Uugitiny wju wbhwjwuwpnpjub ke

uwhdwbh b oqujkny ujwjwp wpuumpjuih wbpinhwwnnpeiniihg,
unubnud klp' (a,x) <0:

Uwhdwbmu 2.1.6: ve R" jbwnp ypnbighw X C R" puqunmpjub ypw
wijubnud Ehunbh pe X Yhwp, nph hunfwp

lp-sl=inge—]= o0, )

P, X)-pubjuunud kb v YEnh hinudnpmpimbt X puqunipjnibihg:
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29. Swbljugwd X nmnomghy thwy puqunipjubt b ve R, vE X
hunfwp gnympjnit mbh v Yewh dhwy p wypnbjghw X puqunipjub
ypu:

Uwwgnyg “thgmp x°-u X puqumpjub nphk jn & Lywmbwykup B -
ny ||v—x°|| ownujhnny b v YEuwpnung thwy gmibnp: Wn nhypnid
BNX pwqimpmbp thuwl b uvwhiwbwhwy puqumpmb t b

inf |v—x| = inf [v-x|: 2wt np [[v—x] portyghwh wiptnhwn ¢

(punn x-h), wyw wyt Yhwubl hp uwnpht &qphwntqpht, wyuptph,

uypnbkighw gnynipjnih nih:

8nyg wnuwbp, np kptk X -p mmghl t, wyw wpntyghwh vhwyhb k:

bpnp, nhgmp gnjmpjmib mukb wybwhup tpym p’, p“€ X Ykwnkp, np
/ ” - , "

Ip —v||=||p -—v||=p(v,X); Lywlwykp' p"=

ptp
2
X -pninmghYy b, wyw p®e X : Hhwnwpykbp

: Lwth np

pp" =" vI=lv-4p -1 P =ldv-1p)+4v-1pT=

i=l

1 2 ». = ’ I 4
=§||(V'P )+(v-p°) =%\/Z(V. -p +v,-p/) = 2.12)

=1Ji(vl _p}’)z +22(V' "Pi’)(V; —p,-')"'i(v,- _P,’)z

2 i=1 i=1 i=l

Ynsh-Pnilyjumlnduynt buyunth wihujwuwpmpjut hwdwduyb (nku,
opptuy [20])°

> V- b)), - p) < Ji(v; -p)) x\/i(v.. —p'R. @13)

i=] i=1 i=l

pun npnud hwjwuwpnipynit Jupnn b (hub) wyb, b dhuyh wyt ghypmad,
tpp (V-p) b (V—p) \ykyunpubpp hunfbiunwlwh kb, wjuhbph
gnmpmb mbkh wbyhuh @ U B pytp, aZ+p4*>0, op
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a(V—p’) +ﬂ(V—p’) =O: bph a+ ﬂ =0, wuywu mlumhnl-lg
Yunwbwhbp, np V, —p,.' =V, —pi', i=12,..,n, wuhbpt' p’'=p”

hugp hwljwunmd k Ukp tbpunpnipjubp: Uynw Ynnihg tpk a2+ S 20,
wyw pudwbkiny wju hujwuwpmdp @ + £ -h Ypw, junwbwbp

a o ﬂ
a+,3(v p)+a+ﬂ

a , ﬂ ”
V- + =0,

(a+ﬂp a+ﬂp]
o v=—2_p+ L
wyupbp a+ﬂp a+pf

tupwnpyk) kniemghy, p’, p’e X L vg X

(v-p)=0,

P opt wbhtwp b pubqh X -p

Ujuyghuny, (2.1.3) wthujwuwpmpnmbp jpun wmbhwjwuwpmpimb k:
Stnunpkiny wyt (2.1.2)-h kg, junnmbwmp*

- 1 - ’2 - a2 = P ~ ”
PV < W - +2 2w -V x> -p Y+ D, -p") =

1=l (]

1 = ‘2 C ,a ,

1 : ‘' < . 1, 1,
=“( Z(V,'P,) +JZ(V,“P, ) J=—P(P.V)+—p(p,v):
2 (L) -] 2 2

Ujuptiph utnugwmtp, np p“e X Yhwp wbjh unun k v -pby, pwb p’ b p°
ypntighwikpp: Unugyué hujuum pinibp wyyugnignud E wugnudp:
Plnpkd 2.1.2 (Ulipunnkipmpywl pbopkd): YThgmp X -p thwl nmnmghly
puqUumpmbu t, VER,v&¢X Un npbypnd qnuipmb muh
<a,x>=c¢ hhytphwppmpmtbt wjbwhup, np <a,v> > c¢ b
<a,x> < ¢ pninp X€ X Ykwnkph hudwp:
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Uywgnyg. v Ytwnh ypnbighwb X puqumpjub ypw bywbwykbp p -
ny b nhwnwuplkip

2 n
o) =[x =2 (x-v)’
i=l
$nibyghwi:  Ujn niypoud inf @(x) = @(p): Shpukbp nput x€ X u

nhnuplykip x(@) =ax+ (1-a)p,0 < a <1 Yhwnbpp:

Lwbh np X -p momghl £, wyw x(a) -t unljuwbnuwl t X -hu poinp
0<a <1 hudwp b, pubth np p -u v -h ypnbkghwt t, wyw

o(x(a)) 2 ¢(p) = @(x(0)):
Zkwbhwpwnp,

0 (x(0) = lim ZH=2EOD 5 o,

—)

Ubwhgtp @ - '

’

o (x(@)) = (i(x,. @) —v,.)’) =23 (@) -v)x(@):
i=1

i=1
2ubhnp %, (@) = (x, - p,), %,(0) = p,, mum
@, (x(@)) =2 (x,(@)-v,)(x,— p,),
i=l
?(x@) |, =2D.(p,=v)x-p):
i=1
Ujuhtpt*
Z(pi —v,.)(x, - p.) 20,

i=1

Jud*
> (pi-v)x -2, pi(p,—v,) 20: (2.1.4)
i=1 i=1
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fLwih np p b v jtntpp Phpuwd b b uhnjwd skb x -hg, jupnn Lup
pwtmlyty

a =v, —p,.,i=1,2,...,n, c= ZP,(V,- —P,-).
i=l

u (2.1.4) wbhhwjwuwpnipjniup Ypungnibh hkwnbjwy nkupp®

n
Za,.x,. <¢, jud <a,x><c:
i=1
Lwbhnp ve X , muwnh
a=v—-p=#0:

Ujnuu Ynnuhg
<ayv>-c=» (v,—-p,— 2. p,(v;—p)=D.(v,—p)’ >0:
i=l i=l i=l
Ujuhipl’ < a,v> > c¢: Uuyhuny, pinpbidb wywmgnigus t:
Uwhdwbnwl 2.1.7: <a,x>=c¢ hhybkphuppmpmbp Ynymd L

htbpuyht hpykphwppnipimt X puqimpjub hwdwp b€ X tLqpuyht
Y, bpk gmijugws x€ X hudwp <a,x><c h<a,b>=c:

Zkpu t nkulil), np plnpbd 2.1.2-h wywgmgdwh phpwgpmu junnigud
hhytphwppnipinip hkbpuyhi k p Yhwnmd:

Tdwp sk wmywgnigly hwbyjuy whnmadp:

Plnpkd 2.1.3: X momghy puqumpjut gubjugud tqpuyht Yhwnmd
gnjnipjnit ntbh X -h hbpwjht hhytphwppmpini:

Unuilg wyyugmguwh bbpjuyughip whgwunbjhmpjut ptnptdh dh
pwuh wy dbwytpynuwiukp, npnup pujwywbht hwdwpj kb
oquwugnpdynud:

Plnplu 2.1.4: Ythgnmp X -p momghl) hwl puqumpynit tu v Yl sh
yuunjuwinud X -hit Uy pbypmd gnmipymbh mbh <a,x>=c¢
bhytphwppnipymb, wjbybu, np <a,v>=c b <a,x> >c pnnp
x€ X hudwp:
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Plnpkd 2.1.5: Yhgmp X -p b Y -p niomghly puqumpymibtp i b X -p
sh hwunymud Y -h ukppht Yhwnbkph puwqumpjut htwn: Ujp ghypnud
gnmpymu mbh <a,x>=c¢ hhybphwppmpmb, wjbiybku, np

<a,x><c pninp X€E X hW<a,y>>c ponp y€ ¥ hudwp:

Plapkd 2.1.6: Minmghl Yntuh gmbjwugwsd hkupuwyht hhykphwppnipniu
wlgumy £ ujqphmytnny:

Uywgnyg  Yhgmp <a,x>=c¢ hhytphwppmpmbp K Ynuh
htupuyhtt hhykphwppmpimt £ b€ K Yhwnmd, wjuhtph gujugus
x€ K hunfwp’ (a, x)Sc,(a,b) =c: Yhuwpyup Ab Ykwp, npunbn
A 20: fiomghy Ynuh vwhiwbiwb hudwduwh' Ab€ K, hbwnbwpup,
(a,ﬂb) <c: fubh op (a,ﬂb) = l(a,b):ﬂc, wyu Ac<c
wihwjwuwpmpiup pujwpupdmd t gubjugwd 420 hwdwp:
Ujuwntinhg' (l - l)c <0: A=0 pbypmd uwnwbnud thp ¢ 20, huy
A=2 nphypnud' ¢<0: Ujughuny, ¢=0 U hkupwhi hhybkp
hwppnipjut hwjwuwpnudp vnwimd bt htknbyjwy nkupp' (a,x)=0,
uguplph 0 YEwp yunljwbmd t wyn hwppnipjutp:

Ptnpkd 2.1.7: Yhgmp X —p munmghy puqumpmtb bt R"-nud, npp sh
wupnibwlmd R} puqumpjut  ukppht Ykwbpp, wjuhtpt sh

yupnibwynud JEunnputp, npnug pnpnp pununphsibpp gpujut Go:
Uyn nphypnud gojnipjmtt muh ulqpbwjtviny wbghnn< a,x >=0

hhykphwppmpniy, npb whpwinmyd ' X puqumpmitp R; -hg:
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2.2. QOUBPL TWUUUUr NRPENRLLESP 20UTYUrEr
Uwhdwbnud 2.2.1: X momghy puqUmpjut x Yhwnp whjwbnud Gb
Suypw b, ipk gnynipymb ymukh wybwhuh wuppkp x°, x“€ X Yhwnkp,
xX+x

2
Uuhdwimd 222: X puqumpmbb wbjwbmd b nswemighl

puwquubhun, ipt uyt Yippunynp pyny YEwnkph ninmghl punubp t:
Plopkd 2.2.1: Minmghy pmquuihunp Yndyulun t:

Uwwgnyg "Thgnip X puqumpnibp x,x.,xt hntkph nunmghly
punubpl t: Ykpghtup judwjujub { x,,,} hwgnppujutimpymt X -hg

np x=

b gnyg wwbp, np wju hwenppuwjwbmpnithg Yupkh t punplg
kbpwhwgnppujwinipmb, npp qniquihuimd b nput X € X Yhunh:
fuwthnp x, € X guwhljwugwd m-h hudwp (m =1,2,...,) , wmyu
k k
x, =Y. mx , a(me(0,1], > a,(m)=1:

i=l i=1
o, (m),m=1,2,... hwgnpnuljwinipnitp uvwhdwbwhwy t, hknbwpwp
nputhg Yupbjh b phwupk] gqoiquitn  g;(m;) btupwhwgnppu
Yubnpmb: @,(m,;) bwgnprpuljubnipnitp tnybybu yvwhdwbwuhuy
t, htwnbwpwp npuihg bu Yupkh b phwnplk] qmqudtn @, (m,;)

tipwhwenppujwbinipimtb: Twpmbwhbing wju gqnpdphpugp k
whqud Juurnwbwbp qoiquitn a(my).i=12,...k

hwgnppujwbmpjnitibbp: Vowbwlbp lime,(my)=¢;, i=1,2,....k
J—ree

k k
Ujihupn & np @20, D @ =1: Upwhuny D @ (m,)x
i=1

i=]

hwonpnuijutimpynibp gniqudtn t b
k k
% =lim @ (m,)x' =Y ax'€X:

i=1 i=l
Pnpvh wyyugnigyws t:
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Unwig wyjwgnigdwh ppkup hkwnbyw) wpynibpp (nku, ophtiwy, [5)):

Plopky 222 (Yphyh, Uhpdwh): Swhiwgwé ny punmupl §ndywin
mpmghly puquoipymb R -md mbh Suypwhbnip b pp  pnmnp
suypwlbunkph mnmghl punubph b

Uwhdwbmd 2.2.3: Miemghy K Ynup Ynynud b puquwlipuin §nb, tpt

ujlt hundpujumd bt hp Ytppwynp pyny Ytwnkph Yntwljub punubph
htwn:

Unwig wuywgmgdwh phkpkip twbk htwnlyjwy hbwnthnhy wlibbpl
thwuwp:
Plapkd 2.2.3: Fmquubhuwn Ynbp hwy k:

Uwhdwtmy 2.2.4: x€ R", x #0 Ytunpp Ynyoud & sugpuypl, bpt wy
1,1,

thwuwnhg, np X = Ex +—2—x x',x"¢ K htumbhnwd L nop

x'=Ax,x"=pux npht A 20,4 20 hudwp:

Uwhdwtmy 2.25: K Ynbp wijuwbmd b wap §nd, tpk x€ K L
—~x€ K wwydwbukphg hkwnbunud &, np x=0:

Unip Ynubph hudwp Yupbih &t wywugmgl) hbnbyjw) ptnpbtdp (nbu,
ophliuly, [5)):
Plopkd 224 Ump puquuuhun Ynbp hp duypuyht YEyunphbph
Jtkppunynp puqunipjul nhiwjwt punubph t:
Ujdd nhinuplytup gdwyhtt wmthwjwuwpmpjnibutph hwdwlwpqtp®

a,x +a,x, +..+a,x, <b

a,x +ayx,+..+a,x,<b,

(.2.1)

a,x+a,x+..+a,x <b,:
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bpt qnpdwlhgikph dunnphgp bywbwyttp A -ny, b-ny* (b,b,,....b,)
ynibp, wyw wju hwdwfupgp hwdwenn jupkh b qpl htnlyuy
Yhpyy'

Ax<b, (2.2.2)

npukn x=(xl,x2,...,xn): Ept A Juwwphgh i-tppnpy wingp
tywbwlkbp @;-ny, wywm (2.2.1) hwdwlwpgp Yupkh £ ibphujughty
bwl htwnbyw) nbkupny*

a,x)<b,i=12,...m: 2.2.3)
(a,x)<b,

(2.2.1) hundwjuipgh pnpnp (Mudnulubph puqunipymbp Lywhwytbp X -
ny, wyuhbiph® X ={x€ R": Ax Sb] :

Plnpbkd 225 X = {xe R":Ax < b] puqumpinibp (Epk punnwply &)
ninmighly hwl) puqumpni b

Ugmgnyg Yhgmp x’,x"e X Yuqubbp ax’+ (1-a)x” = x, npunbn
ae (0,1): Yuunwbwbp' Ax= an'+(1—a)Ax’S ab+(l—a)b =b:

Upjuyhuny, X -p mnmghlj b Quimpjmbp gnyg wwnt hwdwp
Jipghtip X  puqumpjut  Yhwnbtph judwjuliuwb gqniqudkn

x*,k=12,... bhugnpyuljwbnpmb’ me" =X: fwbh np Ax
~)oo

Pnbijghwtt whplphwwn k. wwyw  Ax*<h,  k=1,2,..

whhwjuwuwpmpjub ke whghkiny vwhdwbh, junwiubp AX < b:

Zkpw & nbubky, np kpt x° € X Yhwnh hwdwp (2.2.3) hudwljwpgh pnnp

wihwjwuwpmpnibbkpp jupun Bb <ai ,xo) <b,i=12,..,m, wyu

wy Yhwnp X puqumpjut  bkppht Ykwn t: bpnp, pwbh np
whhunjwuwpmpmbtbph phyp Ykpgunnp b, wwyw Yupbh b bl
wjbwhuh £€>0, np tpt 6=(4,,6,,...,4,) Jtyunph kpfwpnipnip

tjhmpp k€  -hg IIJI <€, wyw pujwpupymd th
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(a, X+ 5) <b,i=12,.,m whhuwuwpmpbukpp, wjuhlph
x° + 4 Ykwnp tmjbybu yuunuwbind b X -ht:

Unwbdtwhh hEwnwppppmpimb b kpjujuginud X puqunipjut
sSugpujbntpp: Uyttph k np dSugypuljbnp sh jupnn (hut) bkppht Yl
bpnp, gulbfugws x° tubppht Ykw Ywpkh bt ubpluyughly
X = l/2(x° +5)+l/2(xo —9J) ubupny, npunkbn PL+6,x°-be X,
npp hwjuwunuwd £ duypuljtnh vwhdwbdwip: Ujuuyhuny, dujpuljtinp
Jupnn bt jhulp X puqumipjuib dhuyt Eqpuyht i b, hknbwpwp,
dSuyjpwitntipp hwpluynp t thinapl]  (2.2.3) hwdwwupgh uybiyhup
|nwsnuwiabph utig, npnlg hwdwp wyn hudwlupgh
wbhujuuwpnipjnibiiphg wetuqt Jkyp hwjwuwpmpmb & Uy
hwbiquiwlpp hwhqtgunud t htnbjw) vwhdwbidwp:

Uwhdwbmd 226: x°€ X bqpujpt Yhwh fpps Yubuikip (2.2.3)
hudwljwpgh uybt pninp hwjwuwpmpymbutph puqunipjnitp, npnig
pajupupnd £ uyn  Ytwp, wjuhtph ugt  popop (a‘..x°)=b‘.
bhytphwppmpymbutph  puqumpjniip, bppnbg  bhwndwip  wjh
wuunjuwbnud £ Lowbwykhp® 7 (xo) = {i : (a,.,x°> = b‘.} :

Uju phypnud x°€ X  bkqpuypt Yhwnh hudwp (2.2.3) hwdwlwupgp

Ypunnih hiwnlyw) nkupp*
(a.x)=b, i€ I(x); (a,x)<b, i¢ I(x°):

A -m| Wubwltlp A uvwwnphgh i€ I1(x°) wnnbphg punyugud
dwwnphgp: Zbnlywy phopidbh wdpnpgmpjudp pimpwgpmud £ X
puqUmpjut Swjpwltntpp: Fnpivh wwywgnygp Yupbkih t qubk,
ophtwy, [5]-nud:

Plopby 226: x°e X jtup hwhpppwlimd bt X pugqunippub
Suypwlhbn uyb, b Jpuyh wyb plbypmd, Epk A, Junnphgh nwigp
hunjurwwp b n -}

Lwlh np, pun wyu phnptivh, X puqunipjub jipupwbynip Sujpultn
udpnnonmpjudp  pinpnpynid kA Jdwwphgh  puwnwlniuwght
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stpuutpwd kipunfunnphgny, huy wynyhuh thpwdunaphguph phyp
ytpgwynp k wujw npyku htnbwip uvnwbmd tup hkwnbjw) Yuwplnp

wunnudp:

Plopkd22.7 X pwqumppub suypuybunkph phyp yEpour/np &
Plopkd 22.8: Epk ny puunupl X = {xG R":Ax< b} puqunipnibp
vwhdwbwrul & wuyw uylh momghly puquwbpun &

@Ptoptvh  yungnudp  htwnbowd £t mnmghl  puwquuhunh 222
uwhdwnulhg b 2.2.2 pbnphhg:

&hown Euwb hwjwrwy winnuip.

Plapku 22.9: R" -mud gubljwgué hwl nipmighly puqunuypynil jupkp ¢
bEpluywghly npyku gduyhlt whhwyjwuwpnmpymbbbph npbk (iJkppuninp
Juwd winjipg) hwdwlwpgh jmémubbph puqunipinib:

Zudwidwunpkb upbih Eweyyugngk) hbnbyw; winnudp:

Plopkd 22100 K ={x€ R" : Ax SO} puqunipnibp  nunmighly
puquuwlihun §nb k

duyht whhwjwuwpmpniiutiph  hwdwwpgkp  nuumdbwuepptjhu
Utd ntp t pwunnud Swpfuwpp jEdp: Spujubimpyut Uk oqunuugnpd
ynmud kb wyn (Edh mwppbp AbwlEpymutbp:

PEnpkd 2.2.11: Npykugh Ax <0, <C, x) >0 whhunjwuwpmpynibibph

hwdwlwpgp bkl jmémd, whhpwdbyn b punJupup, np ATy =c
huwdwluwpgp smbklhw ns puguuwljwlh jniénid:

Ugwgnyg Ubhpwdbrnnipinilp: Yhgmp gqnmipinit nibh wjbwhuh
yeR™,np ATy =c, y>0: U nkwypmu,

(c.x)= <Ary,x> =(Ax,y):

Zbnbhwpwp, ipk Ax <0, wyw <C, x) <0:
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FPunjupupnipyniip: Bhpwnpkup, np ATy =¢ hwdwlupgp ymbh ny
pugwuwfwl mému: Thuwphkip A Jwwphgh a,, i=1,2,...m
Jtjunp-wninntph K Yntwljub punubpp:

UYntwljwl punuwbpp wupmbwynmd t ¢, i =1,2,...,m Yhunbph ponp

ny puguuwlwhb gduwyht Yniphtiwghwutpp, wjuyhuny ¢ Ykjunpp sh
wwnfwind K Ynuht (wy Ykpy Yndphtwghuwgh gnpdwihgutpp
jhwtnhuwbuyhb ATy =¢ bhudwlwupgh ny puwguwuwlwb mdnudp):
Ubgwwnbjhmpjut 2.1.2 pinptuh hwdwdw)h gnjnmpymu niuh hkupuyht
hhykphwppnipjnih, npb whpwnmd £ ¢ Yewp K Ynuhg: Lubh np
nmunnighly Ynuh pninp htipughtt hhykphwppmipymubtpp whghmd kb
ujqpuwljviny  (nbku, pboptd 2.16), wyw wny hwppmpjub

hujwuwpnulp Ymbtiwm (x,a)=0 wkupp: Wuhbpl, gnmipjnmbi nitbh

x* = (%%, %, ) {tywnp, nph ponp punwnphybbpp Uhwduniwbuy 0
sku 4, pmthnp K Ynbp hwl k (nbu, pinpkd 2.2.3)

<x°,c) >0, (x“,a)SO,ae K:
fuwth np @, i=L2,..,m Ytkwukpp wuujwimd kb K Ynbhy,

Juunwbwbp’

< ,a,) Za,jx <0,i=12,..,m; <x°,c>>0,
Ujuhtiph® x°-u Ax < 0, (€,x)>0 bunfwlupgh jnudnud k:
Npytu htinhwbp pipkup dwpfuwsoh (L bu kpynt Abwykpyndutp:

Pinpty 2212: Stqh mup hbwnbjw wyphnpubpp Yud ATy>c
hudwljwpgp ntbh ny puguuwljub pudomud, jud ny puguuwub pudmd
mbh Ax<0, (c, x) >0 hwdwlwpgp:

Plopky 22.13: Stnh mbh htnlyw) wypbwvpwbpp’ jud Ax<b
hundwlwpgp nbh ny puguuwmub jpudmud, jud ny puguuww pnidmud

mup ATy >0, (b, y) <0 hwdwyupgp:
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2.3 NRMIRSHY EY NQUULS SNRLYSPULELS

Uwhdwbnwd 2.3.1: Niemghy X puqimpjub Ypw npnpjuwd  f(x)
hpwljwbwpdtp Pniuyghwt whjwinud th memghl, tpk gutjwugud
bpynt' x, ye X Ykwbph b @€ (0,1) hufwp wbnh muh

f(ax+(1-a)y)saf(x)+(1-a) f(y):

f(x) PImuyghwt whjwimd tu gnguynp, tptk - £(x) Imulghwb
munnighy k, wyuhtipl’

flax+(1-a)y)2af(x)+(1-a) f(y)

gubugws xye X 4 a€[01] budwp: bpk wyu

wihwjwuwpnipjnibitpp juhun  wihwjwuwpmpymbbip &b, wyw
$nbyghwiitipt wijuinud &b hwdwwyuwinwupwbwpwn juhun niemghy

1 juphuwn gnqunp:
Loklip, np gduyhtt pnijghwb vhwdwdwbwl b nunmighl t b gnquuynp:

Ffkpkip  mmmghy b qnquyjnp  pmblyghwhbkph  dp  pwbh
hwunlmpymulbp:

2231. X mpmghly puqumpjub Ypw npnpjuwd guwbljugwd £(x)
nwnnighly (gnquuynp) pnitijghwgh b ¢ hpwlwh pyjh hunfwp
Y={xe X: f(9<c}, (Y={xe X: f(2c})

puqunipymup memghly puqumpjnit

Uju winnuép widhgwlwbnptt htwtmd bt numghl pmyghuyh
vwhdwnwhg:

2.232. (Bkbupbp whhujwuwpmpnilip) Gpt  f(x) -p memghy t
(gnquynp ) X momghy puqunipjub Ypw, wyw gubjugus x,€ X

k
YEwbph b @, 20, i=1,2,...,k; Za, =1 pytph hwdwp

=1
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Uju  wibhwjuwuwpmpymibbtpp  hkpnmpjudp  wywgmgynud  tu
dwpbdwnhjujub hunmyghwjh knubwyny:

2knlyuy pinpivh wwwgnygp fupth bt qubl] Jwpbdwwnhjulub
wbwjhqh nuuwgppkpmd:

Plopkd 2.3.1. Yhgmp f(x)-p mnmghy (gnquninp) k X € R mnmighy
puquUnipjub Ypu: Uy gypmd  f(x) -p wbpinhwwn £t X puqumpjut
pnpnp bkppht Ytwnbpnud b wyn fEnbkpnd mbh  wpwynnujub U
Awhpuynnijut  wdwbgukp, npnbp pwyjwpuwpnud tu  hhnbjuy

whhwjwuwpnpjubp’ f_'(x)Sf,:(x) ( f_'(x)Zf,'(x)):

Plnpld 2.3.2. Yhgmp f(x)-p momghy (gnqunp) t X mnmghy
puqunpjub ypuw: Uy ghypmd  f(x) $muyghuyh |njuy vphunwip
b ginpun Uhthunud t (Injju Jwpupunidp twb qinpwy dwpupdnud L):
huwn ninmghljmpjut jud gnquynpnipjut nhypnud uyh vhwlh k:

Uwywgnyg. Npnywhhnipjubt hudwp thpunpkip, np f(x) -p gnqujnp

E Yhgnp x'€ X Pmulyghuyh njw) dwpuhinuwlhp Ybwn b, wyupbph
qnupma mbh I € X, x° € I pppwluyp, np gmbljugws x€ I hwdwp

f(x')Zf(x):

bupunpbup, np x" € X Yhwp qunpw; dwpuhunuh Y sk Uy
nbypnud whwnp £ goympynit nitkbw wyiyhup x” € X , nph hwdwp

f(x')>f(x'):

bpguktp @€ (0,1) b juquttp x=ax +(1-@)x’ yndphtughwb:
fwbhnp X -pninmghy L, wyu x€ X U

f(x)zaf(x)+(1-a)f(¥)>af (x")+(1-a) f(x)= f(x):
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Uju wbhwywuwpmpmbp hwiwunwd k bpwh, np x -p nluy
dwpupunuwh Yt b, pwbh np pujuljwbwywh 1-ht Unnhly o -ubph
hundwp x -p jyuwwnwuh I oppwljuyphti:

Ptopldl 2.3.3. Yhgnp f(x)-p momghy b (gaquuinp b) hpwljub

wnwbgph nput 7 vhgwuypmu b wdwbghkih t wyn dhpwluyph npht «
Ytwnnud: Uy nhypnud, gmbjugws vE I hunfwp

F)v-u)<f()=-f(), (fW)(v-u)2f(v)-F(u):

Uywgnyg  fwbh np  f(x)-p bbpunpl) kup niomghl, wwyw
gulljugud € [0, 1] hwdwp®

f(u+a(v—u)).<_f(u)+a|:f(v)—f(u)],
f(u+a(v—u))—f(u)$a[f(v)—f(u)]'
(v—u)[f(u+a(v—u))—f(u)]

a(v-u)

<f(v)-£(u):

2qukgubiny @ - 0-h b hwpjh webknyg, np f(x) -p wdbwlghkh £ «
jEwnnud, junnwbwbp pnpbivh wunmup:

Plnpbd 2.3.4 Thgmp f(x)-p mnomghy t hpwlwb wowbgph nput 7
uhpwljuypnud, r,s,t€ I b r <s<t:Ujy nghypmu wiknh niukb hkwnbjuy
wbhwjwuwpmpmbbbtpp*

fs)=f(r)  £(1)-

s=r - -
Uywgnyg Oqunytiny
t—s §s-r t—s S—r
l=——+—— s=——r+—¢
t—-r t-r t-r t—r

unyunipymutiiphg, Junwbwhp*



&<+ Lr@:
t—r r

{—
NMwhwbgynn wbhwjwuwpnmpmbbkpp unwgynud &t wjuwntnhg ny
pwpr dhwhnlumpjniiibph dhengny:

Utkq bwpyuynp Yihuh bwb pinptd 2.3.3-h pinhwbpwgnudp R” -h pu:
Fhpkup wyn phnpivh wpwig wywgngdwb:

Ptopld 2.35. Yhgmp f(x)-p momghy b (gnqunjnp t) R*-h Jpw b
nibh whpinhwwn dwubtwh wswbgpuiubp: Uy pkypoud popnp #,v€ R”
hudwp*

(Vf(u),v—u)Sf(v)—f(u), ((Vf(u),v—u)Zf(v)—f(u)),

o of )
axl’ax,""’ax '

npntn’ Vf =[
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OASUYESNRE8UL SECUNRESNRL

Opnonulbukp  pungmbbkne  pbighputpp  hhdbwjwbnd  gopd  nbkb
poyjmuptih npopmudbtph puqumpmbbbtph b wyy puqumpnihbkph
Ypw wpjwd Lwppbwpthmpjut  hwpwpbpmpmuutph  hbw:
Luwjupbwnpthnpjwt  hwpwpkpmpymubbph ghnwpynudp juopjws
uylh  hwbqudwbph htw, np 2w Yhpuempmbbutpmd npnpnud
plunmtnnb h h&wlh sk pubwljuwubu hwpyt) jud quwhunnt) wyt Gpp,
npht Yhwhqkghh wju ud wyt npngnuwdp: Uwljuyb tw hwdwpju dhpn
Yupnn £ npng (wwpunwnhp st pagnp) Gpkph qougtph hwdwp bok), ph
wyn tpym Gptphg hupp npt b Gwjpbupmd: Oguunjbnmpjub
nbtunpjmbp hnpdnd t yuwnwujuwit) wyt hwpght, pk htwpundnp t
wprynp, hpdinjtiny Jhuyt wighwugpwd hwibdwmnmpinibutph Jpu,
hudtdwunynn  npngnudutpht  Jtpwugpl; wjbyhuh  pwbwlwlwb
qhwhwwnwlwbitp, np twjuptnpbh npopdwbp hudwwyuwnwupjiwih
wybih kS quuwhwwnwljub:

Ogunujtunnipjuh mkunipjub pinhwbnp juinhpp Yupbih b dbwlbpuy by
htwlyuy Ytpw: thgmp wpjwd b npnpnudubp phgnitme jutnhp'
<X , t) , nputn X -p udwyuliwb puqunpmb t, npb wijuwimd kb
wunnwhnyplblph puqunipym b, >-p nput phiwp hwpwpbpmpnib £ X

-h Ypu: Chpmijwd t  bupwnpl), np wyn  hwpwpbpmpniip
pujupupnud b pny gduyhtl jupquynpudmpjutt hwpwpbpmpjub
wuplwbbbppl: Zwdwj wykh bwpdwp t jhinwd ghuwpylp Eplo
hwpwpbpmpymubbkp® > -juhun twjuptinpt hopyni b ~-

hudwpdipmipmi: Uygkh uwnnyq. nhgmp wpjws L (X "> ~>

hudwhwpg, nputn X -p judwywujwb puqimpmbt E  huy
hwpwpbpmpynibibtpp pujupupmd kb htwnbyjw) wpuhndbbkppt

> Swhjugwd btpyn' xe X, ye X wwwwhmyphtph hwdwp
wtnh nibh hbnbjw kpkp winnudbbphg dtyp® x> y, y> x, x~ y,

> x~ x gmbjugwd x€ X hwdwp,

> Epk x~ y ,wyuw y~ x,

> Bpk x~y b y~z,wmyw x-~ z,
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> Bpk x>y b y>Z,muym x>2,
> Bpk x>y b y~z,mym x>2,

Ujdd wbgukp  oquutmpjut  wkumpjub hhubhwljwt

Jtnppt’ yunmgk; wjbwhuh  w: X 5 R Pmuyghw, npyhkugh
guuljugwd x€ X,y€e X wwunwhnyputph hwdwp*

u(x)>u(y), (3.1.1)

wjb b Jpuyb wyt ghypmud, pp x> y: Ujuyhuh pmbyghwbkph
wijuinul tu ogqunuryfbinmpyul pniblghwbbp: Ywmh oquunjtinnipjuu
Pnuyghwitph junmguwh  wwppkp  Unnbgnudutp:  Ujunkn
Ynhwnwplgh dhuyt hunjuwbwjwiwght dnnbkgnudp: Cinhwbinip phypnud
npnonudutpp Yupnp Gbh pupmigdl] winpnompjut  wuydwbbbpnud,
wjuhph’ npngnudp Yupnn b hwbqtguk) h pwuh Giptph, pln npmud,
npnonud pupmibbijhu hwpnbh 3k, pt Gpkphg npp hpwjwbwbw: Uju
hwbquiwipp  hwpjunpnud £t ghunwpll  wjuybu  Ynyjud
" pdwlwpnunkp” Gughtbp dnpdw) uwhdwbnudubphb:

thgmp npbt npnonud upnn b hwiqlguk) tpym® x by bGptph,
hudwywunuwuppwbwpwp, p b (1- p ) hwjubwjuwinpmmubtpny: Uju
nhypnuwl npnpdwt Gpp Ynypynwd bt pdwdwpnun b bpwbwipymd k
px+(1- p)y: Um hwmipwhwyjuijwt wpunwhuwjnnipnib sk, wy vhuyh
yujlwbiwjwt tpwbuynudh b uyt pwth, np p hujubujwinipjudp
Yyupnnp t  hwbnbiu quy x wuawhnypp, hul (1-p)
hujwbwjwimpjudp’ y wywwuwhnypp: Wwbwybu Yupth
uwhdwbl] Jh&wwpwuntp tpkp b wdkh Gpkpny: Bhpwunpymd t, np
yh&wjwpwuntpp inybybtu ywwnwhnyphbp b, hkwbwpwp Yupnn G
thuly yh&wjwhiwnbp, nnbg Lipipp  Yhéwwuwntp G Pugh ugy
wwhwigkp, np gwbjwugws x,y,ze X b p,q€ [0, 1] bhunfup
{h&wjwuntpp pujupupt htnbjw) wpuhndbbpht®

w1 px+(1-p)x=x,
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w2 px+(1-p)y=(1-p)y+px,
u.3. px+(1—p)|:qy+(l—q)z:|= px+(1-p)gy+(1-p)(1-g)z:

Ydwp st wbkubk, np wyu wpuhndubpp pny; Eb vwhu Juply
Jhdwwpuwntph htw wybyby, hbyybu unynpujwb hwbpuwhwyyuljwi
wpunwhwjinmpjut hbwn:

Lwih np Eipunpynud t, np Jhdwjuwhmunbpp tnyybu wyuwnwhnyphbp
kb, wwyw bwjpbwpbhmpuwt  hwpwpbpmpymbbutpp  jupbh t
wnupudt) bwb Jh&wjupwntph ypw’

U.4. bpk x ~ z , myw gubjuguws YE X, p€E [0, l] hwdwp*
px+(1-p)y~pz+(1-p)y
U.5. bpt x> 2 , wyw guwbjugus y€ X, p€ [0, 1] bunfup®

px+(1-p)y> pz+(1-p)y:

fugh wju  wpuhmftbphg, Ykbpunpbip, np  Yh&whwhwunbph
puqUnipmip pujwpupnd b twb, wnubtu Ynyjus, “phymppub”
wpuhnuhl:

W6. Thgmp x> y>2z: Uu nhypnud gnympnit mbh wjbwhup

pe[0.1] .np
y~px+(1-p)z:
X puqUmpjubt  wwpptphg  Yjuquywd poppp htwpwynp
Jhdwywpuntph puqumpmbp bywbwykbp X -ny: Ujuhwpn t, np
X 2 X : Unynpwpwp Yhpunmpnitbbbpoud thpugpynud b, np X -p -
suhwbh WY hnbuywh nwpuwdmpjuh bhpupuqunpmb ' X CR* u
wyjn nhypnd X puqunipiniip Jupkjh t ywuljbkpughby npytu X -h
nwnnighlj punutp:
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[bf3116pk p,>p, b x>y ,myu
px+(1-p)y > p,x+(1-p,) y:

Uywgnyg: #wuh np p, > p,, wyu 0< p, - p, <1-p,: Oquntyny
U.1 wpuhnihg b

PP, 1-p, =1
l1-p, 1-p,
unyunpyniihg, uwnwbiwbp, np
- 1-
|20 ) y+ Py y=
1-p, 1-p,

y:

Cuwn U.3 wpuhnuh®

P~ P, x+l_P1 y]:

p,x+(1—p.)y=p1x+(1—pz)( i X1,
2 2

Zkwnbwpwp, U.5 wpuhnuhg *
px+(1-p)y > px+(1-p,)y:
Zbunlalp. U.6 wpuhnuny npngyny p -b vhulu tu pe (0,1):

Ujdd wlgukbp oquuytinnmpjut pmublghwutph goympjut jubnphb:
futh np  wibjugbbn]  Jhdwhwjuwnkpp  Ukbp  plyuybitghtp
npnonulutph  puqUnipjmbp, www hwpluynp kt  npngk;  bwb
yhdwjwuwntph oguuutinnmpnibp: Lwbh np Yhdwjwhwmnh Lpp
yunwhwliwb t, wyw Jhdwjupwunh ogunuytunnipimbp phwljwb k
uwhdwbbk] npybku oquutumpjut Jwpbkdwwnhjujwb  uywuumd,
ujuhbpl*

u(px+(1-p)y) = pu(x)+(1- p)u(y): (3.1.2)

Plopbd 311 “YHhgmp X puqimpmitp (hoght Yupqunpjuy t
bwlupbwnpijhmpjwt  hwpwpbpmpmuutpny  (puwjuwpupmd k4.1
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wpuhndutpht) b Jh&whwpwnbpp  pujuwpwpmd  Eh W1-U6
wpuhndutpht: Uy phypmd gnmpjmb mbh wjbwhuh «: X >R
$nttilghw, np guijugus x,y€ X u p€(0,1) hurdwp®

Lu(x)>u(y)e x>y,
2. u( px+(1-p)y) = pu(x)+(1- p)u(y):

Pwugh wyn, U (x ) Iniyghwti vhwyb k nppuljub gdughti Ahwhnjunipjut
Lounipjudp, wjuhtpl’  jnipupubymp  wy v(x) ogqunnuyiwnimpjut

$niuyghugh hwidwp Yquifkh wyjiyghuh a>0 u b ppwlwh pybp, np
v(x) =au(x)+b:

Uwwgnyg: dbpghkbp Epym judujwbwb' e, e, € X, wjuuhuhp, np
e, ~¢€: bUpt wnuhuhp gqnmpmb ymukh, wuhtph ponp
yuwnuwhnypbbpp hwdwpdtp tb, wuyw Yytpgutup u (x) =0:

Ujdu, nhgnip x€ X -p Yuiuwjulub yunnwhnyp b Lubh np X
thnyhtt jwpquiynpjuy b, nunh hwpunnp b htwnbywy hhug ntuptpp®
1) x>e¢,2) x~¢,3) g >x>¢,4) X~¢€, 5) € > x: Uju ntypkphg
mpupwbyniph hwdwp jurmgkup oginubnnipjut $niblyghub

1. x> ¢ > €,: Uyu nlypnud, punn W.6 wpuhnuh, gnjnipjnih ntbh

PE (0’1) wjbybu,np € ~ Px+(l_ P) €,: Ykpgukup’ u(x) =i :
p

2. x ~ e, : Uju niypmud Jlipghtlp u(x) =1:

3. €, > x > €,: Uju nypnud, puwn U.6 wpuhnuh, gnjnipjntt nibh
P€(0,1) wjtgbu, np x ~ pe; +(1- p)e,: pghbtp* u(x)=p:

4. x ~ ¢, : Uju ntypnmud Ytpguktp # (x) =0:
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5. ¢, > €, > X: Uyu nypnud, puwnn U.6 wpuhnuh, gnjnipnit niuh

p€ (0.1) wjtugtu, np €, ~ pe, +(1- p)x: Thpgubup® #(x) =L1:
p—

Ujuyhuny, # (x ) $nibjghwbt npnokghip ponp x€ X hwdwp:
Uywgmgtup, np uyh pujupupmd £ 3.1.1) b (3.1.2) wwpdwbbbpht:
Thgmp X, yEX, x>y: Uju wuwwwhnyphbphg jnipupwbymph
hwdwp Yupnny £t wbknh mbkbw) 1-5 phypkphg dtyp: ZEwnbwpwp,
ptinptiut wdpnnenipjudp wywgnigkint hunfwp hwplunjnp t nhnwplly
pninp 25 ptwypkpp: Ukp  ptnpbup juwwwugmgbbp vhugt JhY
€, > x>y > €, nkyph hudunp:
Yhgmp  x~pe+(1-ple,  y~qe+(1-q)e,,  wyuhtpu’
u(x) =p, u(y) =q: bpt p>q,wuyw, pun LU 3.1.1-h

x~ pe,+(1-p)e, - ge +(1-q)e ~ -
B hwjwnulyp, tiptk p<q , myuw®

y~qe,+(1-q)e, - pe, +(1-p)e, ~ x:
Ujdd gnyg vwmbp « (x) Iniyghwyh gdwyhti jhubjp: dpgukbp nphk
s€(0,1) u juquttp sx+(1-5)y Yh&wywhmnp.

sx+(1-5)y ~ s[ pe,+(1-p)e, |+ (1-5)[ 9, +(1-q) e, |:
Oqunjtjny U.3 wpuhnihg, juunwbwbp'
sx+(1-s)y ~ [sp +(1—s)q:|el +[s(1— p)+(1—s)(1—q):|e0 :

By, pwbh np ponp wwwnwhnyphtpp hudwywwnwupwinuwd b 3-py
nwyphl, wyw’

u(sx+(1-s)y)=sp+(1-5)q = su(x)+(1-5)u(y):
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Ujdd gnyg tnuip oqunuiinmpjub niayghwyh dhwnpynip: Yhgmp,
pugh Jurmgyuwsd u(x) Pmuyghwyhg, gnmipimb mbh bwb JbY wy’
v(x) $mibyghw, npp tnytybu pwjwpwpnud k 3.1.1) b (3.1.2)
wyuydwbubkpht: Uy  phypnud, pwuh np bGupwnpyk L np
x ~ pe, +(1- p) ey, wyu’

v(x)=v(pe +(1-p)e ) pv(e)+(1-p)v(e)=
p(v(e)-v(e))+v(e):

fwlh np v(e, ),V(eo ) -tipp  wpuwd 3ku x-hg, bpwbwmlkup
v(e)-v(e)=a.v(e)=b (a>0 puth np v(g)>v(g) ) b
hwsyh wpbbkny, np p=u (x) » JEipetwjwbwybu junwbiwmup®

v(x)=au(x)+b:
Shntuwghunmpmiunud  ogunujtnmpjutt  muyghwtt Yhpunmd t
wyjpubpbbph hwjwpwdnmutph qghwhwndwt hwdwp: Ghpunpymud t,
np onjuynud Ukphw kb 2 wnbkuwhh wypwbplbkp U Gpk X -ny
hpwbwlkbp i - pn wbuwyh wypwbph pwbwyp, wyw hwjwpwdnih 7 -
swhwbh  Jijunp  E x= (x,,xz,...,x,, )E R": Uju  ghypnud
wyuwnwhnypbtph  puquUnipjniup n-ywhwth Ky hptuyyub
nwpwdnipjub  Eipwpwqumpmt t' X CR", huy X p wpy
puqumpjul momghy punwipp: Fhwljwb ywhwbeubphg vkl wyh k,
np  oquutknmpjub u(x,,‘xz,...,x,,) dmuyghwmt (huh  stjwuqnn

$mtilyghw (X2 y o u(x)2u(y)): Pugh wyn, hwswu bupunpymad k,
np wjbh wbpinhun t, mbh wbpinhwn Jwubwlyh wdwbgyuybtp:
Uwubwlh g—:‘ wdwbgubtpp wijwumd kb $hfumpy Ywd wppup
qlbbp
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Uunmud b, np § —p wypubpp thpwlw & Ejwdunp bjwquwb
2

o‘u
opktph, Lpk’ el <0:

Uumu kb, np i —pn wypubpp ¢hnpruphbbght j -pn wypubpny,
2
Ju <0:
dx,0x;

e  Uunud kb, np i —pn b j -pn wypwbpbbpp ;pwgnighs tu dhuhwhg
bljunndundp, tptk*

tpt*

o’u _ ’u >0
oxdx; Oxox,

LS}

e  Uunud kb, np nplt, ophtauly, » -py wupwbpp whowwnlih &
Eptk  gqnmipymit mbtbt  wybyhup v(xl,x2,..., n_,) b ¢(xn)
$nuyghmbitip, np*

u(x, %%, ) =v(2%,%,,.... %, )+ @(x,)

e Ujb phuypbpnud, tpp ¢( x,,) Imyghwti gduyhts k, wumd th, np
wyn wwpwbpp géuybnpkl hnprubgbih
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UlUetUUsSruuyuUL oruernru
4.1 YNhL-PUYErP PENIEU

Unwghti pmduih 1.2 hnumd nhnwplyty b wujdwbwlwbh tpunptdnuh
juunhpp, npp Yupkih b jpgwn bkpljuyugut) hknbjuy nbupny

max f(x),
X ={xeR":¢,(0=0,j=12,.,m},

Ujuntn bwb phpyl; £t wyju jipph pmddwb Lwgpubdh bEnwbwlyp:
Uwfuyt 2w Yhpwrmpymubtpnud, ophtmy dudwbwyulhg
wnbntuwghnmpjut wwn  jbnhpbkpmd, uwhdwbunhwynudutpp
Juwpon kb wpwd (hul ny dhuyb  hwjwuwpnudubph, wy  bwb
wihwjwuwpnpiniubtph nkupny: Fwugh wyn, pnibyghwmbtpp Yupnn ku
spajupupl) . wupdwbbtpht, npnp wwhwbeynud Eb Lwugpwudh
Utpnnh Yhpwpyuwb dudwbwy (ophtwy sjhukh nhdtpkughih):
TYhwwpytup htwnlbywy jtnhpp, npb wijwinul ki dwpbdwwnhfufub
dpwgpuwb pighwbnip utighp.

f(x) = max

g(x)20, i=12,..,m 4.1.1)

XEACKR
Uju punpnud. f(x) Pmbyghut mbijwbind b buyunnujuyh nruyghw,
huy g,(x)20, i=12,..,m wihwjwuwpmpmbibpt whjwind ku
Juunph vwhdwbiwhwynulbtp:

G={xe ACR":g,(x)20,i=12,..,m}
puqunipniil wiuwbnd &b poyjwwnpkih  puqunipimb: Munhpt
wijuwund ki poyjwnpljh, tpk poyjunpbh puqunipnibp puwnupy

st (wyupuph wbhunwuwpmpmubtph hwdwjupgp hwdwwnbnth t A -
nud): Manhpt wijwimd kb vwhdwbuhwy, tptk f(x) Imuyghwb

uwhdwbwihwy t Ykpthg G puqunipjut Jpu:
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bhupyk, (4.1.1) pugph mddwb JEpwpbppuy Ywpbjh b junubk) dhugb wyb
ntypnud, Gpp hunhpp pmyuwpkih b uwhdwbuhul: Uwufugb
hpwywb junpptbkp mdkjhu’ bwjunpnp wuhpwdton wuydwhbbph
unngnuip pipnuwd £ pupnmpynibbtph, b hbwpunjnp £ Jphwyb pbinph
|nubdurh pipwgpnud:

Uwpbdwnhjulijwt Spugpiwb (4.1.1) hunpp bhudwp Yupmgkbp
hwnlyuy pniuljghwh, npp hwdwh wiwimd kb Lwqubdh $nibyghw’

L) = F(D)+ Ag,(0), w12)

i=l
nputy A=A, 4,,...4 )4 20,i=12,...m: L(x,A) $nitijghwjh
punfpuljtun yuijwiktp  (x°,A°) qnygp, nputn x°€ A, A€ R,",
tpt popnp x€ A, A€ R hudwp wbknh mbh  hbwnbjuw; YpYuwyh
wihwjwuwpmpntbp *

L(x,A°)SL(xX*, A°)SL(x°, A ): (4.13)

Zkwbuy ptnpbdp wpnwhuyunud £ (4.1.1) jpnph mddwb b L(x, A)
Pnrtighuyh puipujbinh gnynipjub uiyp:

Plopkd 4.1.1 (Ymb-Pwpkph (Kuhn-Tucker): Epk qumpmb nibh
L(x,A) pmblghugp (x°,A°) punipwiltun, wuyw goympinih nubh (4.1.1)
Jubgph jniémud;, plng opnud uyy pmidmdp x° -0 &

Yhgmp poynp [ (%), 8,(%), (i =1,2...,m), Ppmiblghwbbpp gaquuinp &,
A pwqumpinilip ninmighly kb goymipmmil mbph x" € A fbw, uylbypupb,
op g,(x’)>0,(i=1,2....m) (Uikpppp wuplwb): Ui pbypmd, bpk
(411) pbphpt mbp ménm, wuyw L(x,A) Pnbhghwl nibp
puwdpwlbun:

Uywgnyg: Lwjn wuywugnmgbhp ptnpivh wnweht Jwup: Yhgmp
(xo,ﬂo) qnuyqp L(x,A) Imbyghuyh pundpmljbunb t, wyupbipt® pnjnp
x €A U A€ R] Jtyunpukph hwiwp puwjwpwpymd b (4.1.3)
wbhujwuwpmpjnibp, wyjuhbph'
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FO)+D A0S fOx)+ D A8, S FG)+) A48, (x°): (414
Uju Yplhwlh whhwyjwuwpnpjut wg dwuhg unnubmud kup, np pninp
A€ R hudwp

m m
> A%8,(") <D A8, (x°): (4.15)
i=1 i=1
tpk nplt g, hundwp wknh  mubbwp g, (x)<0
wbhwjwuwpmpjnmbp, wyw, pwbh np  (4.1.5) wthwjwuwpmpmbp
pujuwpupynud t pninp A€ R hundwp, phnpbing  pujulwbwywih
ks &l]mph]_b t  (415) wthujwuwpnipjmbt wy Jdwup nupdby
guwlljugwd swthny thopp: Uju  hwljwumpymuhg htnbnwd k£, np pojnp
i=1,2...,m hudwp g,(x°)20, ujuphiph x°-t (4.1.1) Nbyph
poyjuupkih Yhn L

Ujdd nhunwpytbp (4.1.4) wbhwjwuwpmpjubt bpyme  dwypbph
whnudbtpp*

fO)+3 A8, F00)+3 Ag,):

Uju whhwjwuwpnipjnibp wbnh mbh ponp x € A U A€ R, wyy
pUynud 4 =0 hunfup'

F@+3 8@ < f():

i=1
Fninp  poyjwuplih x Yhnbph  hudwp g,(x)20,i=1,2,...,m, u
m
hwoyh wnbkjny, np A°€ R™, muktp, np Zﬂiogi (%) 20: Zbwbhwpup,
il

ponp poyjunapkih x Yewnbph hwdwp®

-56—



f@<FQ), xeG,
uuhtipti’ x° -t (4.1.1) jutipph |nubnudt E:
Ujdd wyywgmghbip plinptath kpypnpn dwup: Thgnp'
fO)=max f(x), G={xe ACR":£,(x)20, i=12,.,m}:

Lowbwlbp  g,(x)=f(x)—f(x°) U nghwuwpykip  hbwnbju
puqumpymibp’
E={y =(Ygs Yyser ¥ JER™ : Ix€ A: y, < g,(x), i=0,l,2,...,m;}:
8nyg wwbp, np E puqUmpmniip ninmghy puqunipymb b Yhgmp
y,y' € E,ae (0,1): E puqumpjut vwhiwinivhg htwnbnud k op
qmnipymb mukt x’,x"€ X ujhwhuhp, np Y'< g (x'), y'<g (x'):
Vowbwhttp y*=ay +(1-a@)y” U Jbyunph i-py puqunphsh
hudwp junwbubp®

yi=ay/+(1-a) y/<ag, (¥)+(1-a) g (x):
fwbh np ponp g;(x),i =0,1,2,....m Pmuyghwubkpp Lupunpyl; tu
qoquijnp pmblyghwbikp, wyyw®

ag, (X)+(1-a)g, (x") < g (ax' +(1-a)x’):
A puqUmpmbp nuomghy b, htwnbwpwp’ ax'+(1—a) €A, u
wjunknhg htwumd k,np y"€ E:
fwbh np x°-u (4.1.1) unph |mdnudb k, wyw popnp poypunpkih
X€EG Ybtwbkph hunfwp' g,(x) <0: Upuhuph E puqumpmbp sh
Yupon wwpmbwlly ny pugwuwyub JEhwnnphp, pugh gmgk thuyl 0
Ykwnhg, htwnbwpwp sh hwnnd R™ ppulwb ojwnwinh tkppht

YEwntph puqumpjut htw: Minmghy puqunipymbbtph
wbpwntjhmpjwt  Jtipwpkpjuy pnptivhg (wbku p.2.1.7) E
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puqumpiniup jupkh b wbhpwwnly R:'” -hg hhytphwppnipjudp, npt
wighnud Lt uljqpbwlybnny: Ubwjhuhynpbt uw tpwbwymd t, np
qumpmbt  mukh  wbwhup (44,4, )=4 pykp, opnbp
vhwdwdwbwmy 0 sk, np

<A,z>20, zeRM™, (4.1.6)
<A,z2><0, z€E 4.1.7)

(4.1.6) wuhujwuwpmpnibip wknh muh poppp ny pugwuwljwb
ytyunputph, wy pynwd bwl Jdhunnp YE{wnputph hwdwnp,,
wjupliph’

e' =(1,0,0,...,0),
e’ =(0,1,0,...,0),

e™ =(0,0,0,...,1)
Jtjwnputph hwdwp:
Stnunptiny (4.1.6) wbhwjwuwpmpjut Yk, junnwmbiwup
<Ae>=A1,20,i=12,.,m+1:

Ujnw Ynnuhg, gubugud x€ A hwdwp (g,(x), g,(x)...., 8,,(x))

Jijunpp yuwujwbnd £t E  puqUmpjubp:  Stqunpking (4.1.7)
wbhwjwuwpmpjub b, vnwunud kup*

ii,g.- x) <0,
i=0
wjuhlpl’
A(f(X) - F(°N+D A8, (x)<0, x€ A:

i=l
bpt 'Qo =0, wyw wju wihwjwuwpnipinibp Y kpudyh
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i,i,g,.(x)so , XEA:

i=l

Uwjuybh nw hwlwunud t Ujppph wwpdwbhbh, pun nph gnympimb
muh x" € A, nph hudwp g,.(x‘) >0,i=1,2,...,m : Uuyhuny, 30 >0:

A
Pudwbbip wihwjwuwpmpmip Ay-h Ypu b bywhwlbip 270 =I: ,

i=1,2,...,m: Yunuwbhwubp
f(x*) = f(x)+i4°g,.(x) =L(x,A%), x€ A: (4.1.8)
i=1
fwbhop g,(x°)20, i=1,2,..,m ,nwwnhpopnp A€ RT hudwp
FOSFO)+ ii.g,-(x°) =L(x",A):
i=1
Usdd, tpt (4.1.8) wbhujwuwpmpjui uky wbnuppkup x=x°,
junwbwup®
FO0)+3 28,6 < £ 419
i=l

Uunbnhg, puth np  A°20,g,(x°)20, i=1,2,...m, ny
puguuwlub bb, hwnbnud &, np

i;{?ogi(xo) =0

i=]

L(x*,A% = f(x°)+i/17°g,.(x°) = f(x°) (4.1.10)
i=]

Uhwughtiny (4.1.8), (4.19) u (41100 wbhwjwuwupmpmbbtpp,
unnwbnud kup*
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L(x,A°) S L(x°, A°) S (x°, A),

pnnp A€ R, x€ A Ytwnkph hundwp:

+

Lpkp, np dwpbkdwwnhjuluh Spwgpiwt vhuihdwjwgdwb jubnpmal,
uyuhtiph

f(x) > min

gi(x) 207 i= 1,2,...,m

x€ ACR"

wnbkup mbkgnn Nippowd ptoptup  wWuydwbubpmd  bywwnwlughb
dntyghwh  gnquunpmpjub  wwhwbgp  thojwphiynd -k
nunmighinipjwt wwhwbeny, huy (4.1.3) wmthwjwuwpmpjniup’
L(x,A°) 2 L(x*,A°) > L(x°,A )
wbhunjwuwpnipjudp:
Unith-Pwptph phopkdp wn wwpq wbkup tE unwimd  guwght
Jntnhpubkpmuy, wyupbph, tpp f(x), &(x),i=12,...m $muyghuukpp
qduyht Eu: Akptup wyn plnpbdt wpwhg wywgmgudwb:

Pilnpkd 4.1.2 Npuyikuqh Ywptdwwnhjuljwh Spugpumb gduyht uinpnud
gnmpjnb nukbtw jmdnuwd, whhpwdbow kb pudupup, np gojnipymt
ntbkbw L(x,4) Imulghuyh pudpmljtin:



4.2. QUUBPL OrurnNru
Qdujht dpwgpiwb jbnhpp dwpbdwwnhjwlwb dpwugpdwt jubigph
dwubunjnp nlwph &, tpp ponp f(x), g,(x), j =1,...,n Pmuyghwikpp

gduyhti $niiljghwtp kb: Upu binhpp yyundwwbnpth pipminws t
duwljkpuky hbnbyuy Ypy*

ZCX — max,
Jj=1

<Za,lx <b,i=1,..,m, 4.2.1)

J=1

Lowbwykup *
c=(¢,C,,.0C,), b=(b,b,,...b,), A ={a.-,-}.}=l"l

i=l.m

Uju bpwbwlnidbitpny (4.2.1) jpunhpp Yupkih £ qp hwdwenwn nbupny®
(€, x) — max,
Ax<b, 4.2.1)
x20

Zwpy k ok}, np jiunph wju wbupp wikbwpbnhwbnipp 3k, pubh np
Jupnn b wwhwbgyl] Jvhbhduyught) bwywwnwlught  $niulyghub,
uwhdwbwhwlynmubbpp Jupnn b |hut hwjwuwpmpnibbbph ntupny,

hulj hnpnjwluwbbbph ypw Gupon £ onplws  yhtb  bpwbh
uwhiwbuhwymd: Uwlfugt  (c,x) $oiblghujh  uhthdwjugnuip

hunfwpdtp t puguwuwjub -(c,x) $niujghuyh  dwpupdwjugdubp,

hunjwuwpmpnibp Yupkjh k thnjuwphuly kpYynL
wbhujwuwpmpjnibibtpny, huy towbh uvwhdwbuwhwymd ynibkgnn
thnohnjowfubp  juplh ukpjuymghl;  tpym gpujwb
tohnjuwywbtkph  wwppbpmppuodp: Uyn nbupny  wpjws  ubnhpp
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punmijwd t whjwk) gduyht Spwgpuwt pinhwinp jud vnwbnupn
hutinfp:

Qduyht dpwgpuwh jubinhpukph Ywpunpugnyb hwwnynipnibbkphg &
wynutu Ynyjwd tpjulhnippibp:

Splwd (4.2.1) fuwd (4.1.1)° vnwbnupn jinph hwdwp vwhdwbbip
tpYulh pughp hbnbyjw nkupny’

ibiyi — min,

i=1

$Day2c;, j=12,...n, (42.2)

i=l

y,20,i=12,...m

\

jwl, hunfunnn nbupny'
(b, y) — min,
ATy>c, (4.2.2°
y20.

Yupbjh t gnyg wwy, np hp htppht (4.2.1)° Mbnhpp (4.2.2)° juunph

hwuwp tpyuhh punhp E Ppop, phpkiny (4.2.2)° tnhpp (4.2.1)° jtgph
wnbkuph, junwbwip

—(b, y) — max,
-ATy<—c,
y20:

Uyu jatinph hundwp juqutbp tpluwyh jutnghpp®
-(c, x) — min,
-Ax2-b,
x20:
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Ujuhwpn t, np wyu jubnhpp bwdpufimd k (4.2.1)* punph hbwn:
Ujuwhuny Yupbjh b Juouk) bpjubh jbnhpbtph qoygkph dwuhb,
stipbind, bt pb bplwyh fatnbp E

Ujdd phiptup vh pwh hwnympymbutp, npnbtp wprnwhwjnmd bu

kpjuwyh jbnhpubph thnjujuyudnipimbp: (4.2.1) b (4.2.2) hbnhputph
poyjuunpbh paqUmpmbbtpp bywbwltbp hudwywunwupwiwpwp

X,-nu X,-n{°
X, ={xe R} : Ax<b},

X, ={ye R" :Aryzc}:
LEd 4.2.1: Bwbjugus x€ X, y€ X, hundwp
(c.x)<(b,y): (423)

Ugwgnyg: futhnp X€ X, y€ X, myu’

<C’x) = ancij < i(iau)’t)xj = i(zn)aax;)y.- s ib,.y,. = (b’ y):

j=1 j=1 =l =1 j=1 i=1

L&u 4.2.2 ©pt tphulh unhputphg npht typ poyymunptih k wyw
Uniu jutighpp  vwhdwbwhualy t:

Ugugnyg: Yhgmp (4.2.1) hunhpp poyjunnpbih b wjuhtiph gnjnipynth
mbh nput x'€ X,: Uyy ptupmd  popnp Y€ X, hudwp  (4.2.3)
wbhwjwuwpmpjnithg Yhtwbh, np

(b, y) 2 (c,x’) ’

wuptpt,  (b,y)  Pnibyghwt  uwhiwbwpwy b ubpplhg:

Zudwidwbinpkh, tph (4.2.2) punhpp poyuwpkh £ wyw (c,x)
Imuyghwuts vwhdwbwthwy t Ytplhg:
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Liaf 423 ©pk qnmpmb mbkh wiyghuhx’€ X,, y’€ X,, np
(c,x°)=(b,y’), wuym x°-t (42.1) Jutnph, buy Y"-u (42.2) Mtmph
nudnudubph Bl

Uwwgnyg: (4.2.3) wihw]wuwpnpotihg htwnbnd b, np poinp X€ X
hwdwp

(c,x) S(b,y°) = (c,xo),

wjuhiph x°-u (4.2.1) jpunph (oSt E: Unyb knubwyny gnyg t
wnpynuwl, np y° -t (4.2.2) punph nudmudl E:

Lk/ 6.4 Gpt tpyulh jbnhputph qoyghg npbk UbYp poyjuwnpbih sk,
wyjuw Ujnru tinhpp whuwhdwbunhuly k:

Uwwmgnyg: Yhgnp (4.2.1) punhpp poypuwnplih sk tw hpwbwymd t, np
Ax £b,x 20 wihujuwuwpmpmbitph hwdwjupqp wihudwnbnbkih

L Cuwn plinpid 2213 (Swpluwoh (kdh wwppbpul) wyn nhypmu ny
puguuwjub jnudnwd mbh htwnbju) hadwljwupgp®

A"y20,(b,y)<0 (4.2.6)

“Yhgnip, (4.2.2) unhpp poyjuwpkih £ b y0 € X,: Yuqukup htwnbjuy

Jtyunpp' Y=y’ +@y, npubn y-p  (426) hudwhupgh ny
puguuwlwb mému t, pulj @ -b npujwt phy k: Mupq Lk op

ATy =ATy +aA"y >¢

gulijugwd @ npuljub pyh hwdwp, wyjuhbplh, yeXx 2 Unuwu §nnuhg
(b.y')=(b.y*)+a(b.¥):

Ujughuny, @ -h wldwbp qmgpupwg, bwyuwnwluyhtt $nibyghuyh

windtpp Jupkjh k nupduk) gmijugud ywihny thopp: Zknbwpwnp, (4.2.2)
lunhpp wivwhdwbuwihwy b Nwunp, bpt (4.2.1) punhpp poypunptih
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sk, wyyw jud (4.2.2) punhpp poyuwnptih sk Yud, Epk poyjwnpbh t,
wyw whvwhdwiranhwy t:

422 u 424 tdtphg htwunw k np qduyhti dpwqpuwb kpyuwlyh
jubinhputphg Ukyp pnypunpbh kb vwhdwbwhwy ugh, b dhuyb wyh
ntypmud, kpp pmyjuwptih t b vwhdwbuhwy hp Epjuyh fbighpp:
Zwgnpn, hwunimpmup tnybuybu gmyg t nmuhu tpljuwyh pbnhpubpp
ubpun juwwdnipjniip:

Plnpld 42.1: Gpt qduyhti dSpwgpuub kpywyh jinhptikphg Uk muh
[nwnud, wyw Ujniu jounhpp tnybyjtu muh médnud:

Uwywgnyg: 3suht spugpiwh tpjuyh bnhpbtph budwp Yuqutip
Lwqpwbdh Pmuyghwubkpp puwn (4.1.2) putwdhh*

z1(x,,1)=ﬁ:c +Z,1(b Za,”
L,(y.p)= —Zb i+ Zﬂ,(Za,,y.

i=l i=l

fubh np x=(X,%,..%,)20 u p=(4,4,..4,)20, huyyku

bl Y=Y Y ¥n)20 . A=(4An4,)20

thnhnjuwwibtkpp phbnyh ywhnpujwimpub o b pujwpupmd kb
bnyt ny pugwuwljwb (huEtm wwpfwbht, wwyw, Z-h thnjewpkb

(kpglikyny x -p hul A-h tnpuwpkl’ y-p, junwbubp

L(x,y)= z":cjxj +iy,(b,. —Zn:a‘.jxj), =

Jj=l

chx +Zb,y sziau)’p

j=1 i=l j=1

L,(y,x)= —ib,.y,. + ixj(iayy, —¢;)=

i= j=1 i=1

—Zb‘y, +ZZx,a Y- ijc

il i=1 j=l
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Uyuptpt®
L (% y)=-L,(yx):

Zkwnbhwpup, tpk Up bgph Lwgpubdh pmuyghwb mup pwdpwyjtn,
wyu Ujnrup boytybu muh pudpuytn: Uumd k jhpuntk) plinptd 4.1.1-

R
Lt/ 425 bpk (x°, %) -1
Ax<b,A" >2¢,x20,y>0, 4.2.7)

(c, x) 2 (b, y) (4.2.8)

hudwliwpgh |nbmub b, wuyw x°-t (421) puy Y -u' (422)
Juunhputph nudmdutiph e

Uwmgnyg: RPwvh np x°-b U y° -0 pujwpupnud th (4.2.7)
wbhwywuwpnipjoitibpht, wyw x° € X,, y°€ X,: Zbwbwpup, puwn
(4.2.3) wthunjwuwpmpjuhb *

<c,x°) S(b, y°):

(4.2.8) wihunjwuwpnipjutb htn dtljuntn uvnwunud Gup, np

(e =(o.5°)
Yhpwrtiny (Ed 4.2.3 —p, vnubinud kup (Euh wunmaup:

Plopkd 422 bpht qduwyhti dpwgpuwb (42.1) b (4.2.2) bpYuyh
Jutnhpubph qouyghg jnipwpwbynipp poyjunapkih b, wupw tpymub b
mbbku jmdnuwd, pp npmud jbnhpbutph tyunnwluyhtt mblghwbiph
tpunpbiduy wpdtputipp hwjwuwp bu:

Uwwgnyg: Lwlunpn (kdhg htnbnd k, np plnptidp wuywgmghim
hudwp pujwpup b wuugmgty, np (4.2.7), (4.2.8) hwdwlupgp niuh
dnud: Uy wihujwuwpmpjnmbbtph hudwlupgp Jupkh b gply
dwnnphguyhb bupny’



0 -AT <l -c x20, y20: (4.2.9)

Tthgnip ptnptivh winnudp &how sk b (4.2.9) hwdwlwpgp msmud ynibh:
Uy ptypnud, punn plnpbd 2.2.13 (dSwplwy) pdnud whwp t nibkbw

hkwnlywj hwdwlwpgp*

AT 0 Y
( C) w|20, (4.2.10)

0 -A b
u

(v,b)—(w,c><0, v20,w20,u20:

Ujuntin v-b m-yunhwbh Jkjunp &, w-tu 7 4ywhwih t, huy #-b phy
k: (4.2.10) hwdwlupgp Yupbjh k gpby hbnbyuyg epy®

ATv—uc20,~Aw+ub20,(v,b)—(w,c) <0, 4.2.11)
v20,w20,u20:
8nyg nwbp, np wju hwiwlwpgp jmudmud ynbh (wthundwunbntih b):
Thgmp x€ X, b y€ X, pnyjuwptih JEjunpbtp bu: Uyg nhypmad

(b,v)2(Ax,v)= <Arv, x) 2u(c,x),
(wic) < (w AT ) (Aw,y)<u(b,y),

(v,b) 2 u(c,x), (w,c) < u(y,b) :

Unwght wbhwyjwuwpnmpjniihg hwitny tpypnpnp, unwbnd Gup*

0> (b, v) —(c, w) > u((c, x) -(b, y) ,

ujupbpl’
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npunknhg u>0:
Vowbwlkbp' v = "u b w= % (4.2.11) wihwjwuwpmpnbbikphg
unwbmd kup*

Uwnugwtp, np v -u (4.2.2) pugph pudnudt t, hulj w-u (4.2.1) unph
inudnuwdt £ Uwljuyh JEpghth wbhwjwuwpnipiniip hmwunud k(& 1-h

Ujuyhuny, unnugwd hwjuwumpimbp wywugmgnud t, np (4.2.7)-b m
(4.2.8)-p hundwntintjh t b, pun (kU 4.2.4-h Gpym jnhpt § mbkh
|nudILd:

Qdwyht dpuigpiwt punph mwdwb gnympjut Ywuht Yupkh b junuty
vhuyhh gt nhypmd, tpp junhpp vwhdwbwihwy t b poyuwwnpbh:
Luwjunpn ptnptdhg htnbmd E, np wyp wuydwbbkpp twb pujupup
yudwbubp kb

Plnpld 423 Nputugh gdwjht Spugpiwb juunhpp mubbw pdmy,
wuhpwdtipnn t U pujwpwp, np pbnhpp thth uwhdwbunhwl b
pnyjwnpbh:

Uuywugayg: Uuhpudtynmpnibp wijthuyn b fujupupmpnibp gnyg
wnwnt hudwp phunwpyblp gdughtt dpwgpdwb punhwbunip (4.2.1)
Jutihpp: Bpk bpjulh (4.2.2) pinhpp (hth ny poyjunpkih, wyw (4.2.1)
lunhpp puwn (bJ 4.2.5-h Yihth whuwhdwbuhwl: Ujuuhuny Gpluih
junhpukpp Gpymub b poyuwptih G, b, pun bwjunpn ptoptdh,
(4.2.1) punhpp nibh pudnud:
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43 ormvayver

Ophbwl 4.3.1: Ythgmp nput dinbwpympimb jupnn bt wpwnwnpk) 7
wbuwyh wypwbputp: Uy wbuwjwbht  wpunwnpbine  hwdwp
oqunugnnpdynw! ki m wbuwlh yympbp Jud dhengubp: Lowbwykup
a;-n] j-pp wbkuwhh wpnwnpubph by vhunnpowl i-pn Wniph
wupnbwympmbp, huy H-ny wn Wniph wipnne pwhwyp: ¢ -y
( j=1 2,...,n). bpwbwlkp j -pp  wpuwnpubph  Jdhuninphg
unwugynn Ejuununp: Bphk  dAkntwplympyniup npnh  j-pn
wpununpubphg wpununpl) x; pwbwy, www bpw plunhwbnp

Ejudmuunp  Yjwuqup Zc ;% ; qonulwp: (x,,xz,..., X, ) JEyunpp
j=1

wpununpbim hwdwp j -pn nph Swjuup Yuquh Za,.jx it

j=l
Iynud t htwnbw; punhpp' oquuugnpdkiny btnwé  wwpwpukpp,
wpwnunplk) wybyhuh (xl,xz,...,xn) ytyuinp, np pinhwimp Ejwdnunp
1htuh dwpuhduy: Ujuyhuny, dkbp quihu kup htwnlyw unph*

(Z“:cjxj —) max,
Jj=1

<Za,.jx15b,., i=L2,.,m

Jj=1
x20:

.

Ophluly 4.3.2:. Spwhuynpinuyhl jplinhp: Yhgop npht dAknbwpynipnih
hp wpuriungpubpp wwhbkuwnwynpt) £ m hwn yuhbunubpmd b wyhnp
E wu wowph 2 hwwn jwbmpbtp: Uty Jhwynp wpuiumpubph
unbtnuinjudwh Swjukpp i -pg ywhbunhg j-pg wbmp  bwbwytup
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Cy»

wupnibwyopinitp A -t huy j-pp owbmph wwhwbewpyp B,
hwpYunjnp t npngty i -pn wwhbuwnhg j -pn jwbnp nkquihnjugan
wpnwnpubph X, pwbwhbbkpp: Sknunhnjudwb pinhwbnip Swhubpp

(i=1,2,..,m; j=12,.,n): hgmp i-pn  wwhbuwh

Juquoud &b Z Zc,.jx,.. ,» huy vwhiwbuhwynmdbbpp npnoymd kh
=1 j=1

wuwhtuwntph wwowpttpny b pwimphbph ywhwigwpyny: Ujuuhuny

unwund ki gdught Spugpuwhb htvnbwy jighpp'

-
m

Z icﬁxﬁ — min,

i=l  j=1

m

> x;2B;, j=12,..n

9 =l

Zn:x. <A, i=12,..m

J=1
(x20:

Ulbhwpn & op jbnbpp poypnapblh bodhut YA 2 ) B,

i=1 j=1
wyujdwbukpmu:
Ophtwy 43.3: Cpohly Juwdwowlubp fubnhp:  thgmp  2pghy

Jufwnrwjubp wtwp t wghhh 2 hwwn punupbbp, punp npoud
jnpupwbyymp punuph wygkimud k Ukl whqud: i -pn punuphg j-py

punup wknunpim Swjubpp tywhwykip ¢;-nf: Ywlwrwywbh

jmpupuibyoip kppoinh  Yupbkih b Ubplujwmghly npyku  Jh
utnuihnjumpinit 7 pYkphg’

[l 2 n)
p=. . . |-
L i l,

Ujn kppounnt dwuubipp jluqukh’
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C, =¢, +C¢, +...+Cl_

Owuwnnpkh uw Yniphtwwnnphy pughp b bpk bywbwykup P -ng n
Ltdkuwnbbkphg popp  wbknuihnjumpmibutph  puqumpiniup  (nph
hqnpnipymup 7!-b), wuyw junwbwbp htwnbyjw) ughpp

max ¢
pep P

Uju juinpht uptkjh £ ynnbbw) bwb wy nkuwulynibhg: Lkipdnistup
x; hopnpuyuwittp (i=1,2,..,n j=12,..,n), npnbp hwjuwuwp

kb 1-h, bptk Juwlwnwlwbp i-pn punuphg gumd £ j -pn punup, b 0
wy] nhwpmd: Lwbh np jwdwrwwbp jmpupwbynip punqup dntnud b
noipu t quibu Ukl whqud, wyw x; -tpp yhwnp & pajwpwuptb htnbjuy
yupdwmubtpp'

dx;=1 j=12,..,n,
i=|

Y x; =1, i=12,.,n:
J=1
Uju  wupdwhbbkpht pwjwpwpnn Gppmungmt  pinhwimp  dwhaup
hunjwuwp Y hth
2 D
=1 j=l

Ujuyjhuny unnwbnud up htnbjuy junhpp'

( n n

Yx,=1,i=12,..,n,

npp pwbuwnpuught pbnph dwubwynp gtyph t:
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44 [NROUTL BALVUYLE: UPUILERU - UtRN}
Ujdd ntubkbp, pk hyytu Yupbjh b quuk) gduyht dpugpuwb jutigph
|nwdnudp: thgnip nipywsd k gduht Spugpuiwmt pinhwbmp pinhpp®

Zcx — max,

<Zax <b, i=12,.,m (4.4.1)

(d ]

xZO

\

Spyws  uwhdwbunhwlymdbbphg jnipuwpwbympp npngnd t R°
nwpwdnipjubl Uh  jhuwnwpwdmpmb, htwnbwpup penyjunpbih
puqUmpmip  Jhuwmnwpwdmpmubbph  hwwunud k' Lwuh  np
Lhuwwnwpwdnmpinbp niemghy puqumpmt b, wyw poygjunpkih
puqunipjmup hpkihg ubpjujyughmd b ninmghy puqunipmib: Ujg
puquUnipjmip bywhwlkip X -ny, wjuhtph’

X={xeRf:Zaqxj <b,i= 1,2,...,m},
i

huy X puqunipjut dwjpwltnbph puqunipmbp’ X ° -ny:

Plnpld 441 bptk (44.1) hiunhpp pnypuwupkh t b uvwhdwbuhwy,
wwuw bywwnwlught pmulhghwb hwuind t hp bpunpbduwy wpdpubpht
X puqunipjub Swjpuijtnbpod:

Ugwgnyg: P#wbh np Nbnhpp Ghpunpll) b poywwpbh b
uwhdwbwthwly, wyw, pun 4.2.3 ptnpkuvh, gnmpnih mbh wyy juunph
x’e X |mbdnuip: Yhgmp X -p vwhiwbunhwly puquinmpmib bt Uju
ntypnwd, pun 2.2.2, 2.2.7 b 2.2.8 ptopbdukph, x° € X Ykwp Jupkh &
ukphuyugt; X puqunipjub Ykpguninp pyny dwypuljnbph ninnghy
qdught Ynuphtiughuyh wnbkupny*
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k k
=Y A, xex®, A>0) A=1 i=12,.,k:

i=1 i=1
Cun GLhpunpmpjul, <c,x°)2<c,xi). i=12,...,k ©Gpk wpu

wbhujwuwpmpnmubbphg wobjuqb Jtjp (hth  jupun, wyw
Junuwbwip hwjwunipymb’

(e)=(e T )=3A(ox) < Tafer) (o).

i=1 i=l

Zknbwpwp® (c,xo) =<C,xi), i=1,2,...,k , ujuhpl’

xga}(x(c,x)=r£§.§<c,x):

Ujdd nhvnwpyttp wyb ntypp, tpp X -p vwhiwbunhwl puqunipinih sk:

Thgmp L= {x& R :Zx,. = a} hhytphwppnipjniib wjbwhuht £, np

x¢L u x°€ XNP, npuby P={x€R":Zx,.Sa} (wynughup

il
n
hhybkphwppmpjnib gnympynit nh, pajujwt t Yipguky a > Zx? ):
i=1
Lwbh np X=XNP puqUmpmip uwhdwbwhwy bt ( wyy
puqunipjwb Yhnbkpp pwjwpupnud b OSle. <a wuplwbph ),
i=l
wwuw, hiyytu b twhnpy ghypnd, x°-b upkh b bkpiuyughty X
Puqumpjub  Jkpguninp  pyny Sduypwlhbtwnbph niemghl  gduyhl
Ynuphimghwjh wtupny*

k k
=DA%, X e X A>0D A=, i=1,2,. .k

i=l i=1
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Ujuwnkn pnjnp X,i=12,..k Suypulkwntpp skb yupnn yuunjwubty L
-pt,  uwpuwuybu Yuowbwbp' x°€ L, hbyp  hwjuwunud  E Jbp
bbpunpmpjutp a pyh Ykpuwpkpuy: Zknbwpwp, webduqb vky X'
Suypwltwnh huwdwp x'e X° U, pywbu b Ykpunud, Yunwhwhbp, np

(c,xo) =<c,xi) N rga%(c,x) =r22;§(c,x):

Uyuyhuny, jughpp jnudtint hwdwp hwpluynp b qutit) pnyjunnpkih
puqUmpjub pnjnp dujpuykntpp, hwyl) tyunwuhtt niulyghwih
wipdtipp wyn, Ynbpnud b quntik) punptidug wpdtpp:

Uhuuj ipu-dtipnnh tnipjnibip juywimd t hbnbwynud: Lwju gutmud Ghp
pnyjuunpkih  puqunmpjut npuk ququp b uvnnignmd wyn ququipht Yhg
poinp ququphbpp: Gphk wyn  ququpltphg npht JEymd $miblyghwsh
wpdtpp wykih Ukd k, wuyu nknuhnjuynud Gip wyn ququip b uwnimignud
npu pninp jhg ququpbtpp: Upu wpngbup swpnibwyymd t wybpwb
dudwbwl, uvhiyh hwubkbup Jvh ququph, npuntn bywwnwljwght
$milyghwjh wpdtpp wytih pwpdp k pwh ponp Yhg ququpbbpnud:
fwih np gduyht pmbyghuyh |njuy  tpuwnptdnudp bwb  gnpuy
tpunpbumd E, wuyw ymdnudp Yihuh htbg wyn ququpnid: @nyjuwnpkjh
puqunipjult ququplkph phyp Ykpguninp b htwnbwpwp wju ypngkup
Yujwpuh yEpgwiynp pyny puyjpnud:

Ujdd  wbgtktp uhduyjbpu-dtpnnh  $npdwy  bjwpwugpnipjubnp:
Thuwplktp vwhdwbwhwlnufutph hinbjw) hwdwlijwpgp®

Zax <b,i=12,..m
Jj=1

x,20,x,20,..,x, 20:

dbpghtiu hundwpdtp t htwnbyuy hunfwljupght'

Za..x. +u =b,i=12,..,m

vy 4 U

x20,x,20,...,x, 20; u, 20,u, 20,..u,20:
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jud®

Zaﬁxj -b=u, i=12,...m

x,20,x, 20,...,x, 20; u, 20,u, 20,..u, 20:

U hudwlwpgnud x; b %; thopgnjpwliwbikpp podupupnud kb
vptinyb wuydwbbpht: Ujughuny, vnwbimd kup m hunn gduypt
hujuuupmd 7+m ny puguuwjuwt hmhnjpwjuibbpng: Ywqukup
uynujbu Ynywd uhduy bpu-wnnruwyp’

X, X x| 1

q, G a,|-b |=y
aml am2 am _bm = _um
¢ ¢ ... ¢ | 0| =w

Ujunbn &, i=12,.,m t(njpnjwjwbikpp wpnwhwpnjws b
x;, j=L2,.,n (mpnjwfmbbbpny:  Uwluyb, btptk Jdwwnphgp

Epuwutmjwd £, wyw gwbjugwd m hnhnjwfwbutpp Yupkh t
wpunnuwhuwpnb) dbugws 2 thnthnhwljubbbph vhengny:
"thgnip wn, Uhgngny utngl) kup htnbjwy wngynmuwyp’

/4 4 4
x5 x . . x, 1

’ ’ / ’ ’
a4, a, a, | -b | =-u

’ ’ ’ - bl _— ’
aml am2 am m | T Tl
6  c | 6| =w




Uyuntin qtpght we wwh pojnp (Puigh gnigh Ypghtihg) b bkpphli innh
(pugh qmigh Ykpghthg) pninp pyYkpp ny npuijub kb: Uy ghypnud wyu
wpynuuwljp  wuyhu  t jubgph |nwsnudp:  Ppnp, Gtpk  pnpnp
x;, j=L2,..,n (opnjwfuikpp bhwuwuwpkgubup 0-h, wuw
jnipupwbijnip u,.' -p hwjuwuwp Yhth bhudwywunwuhwb b‘.' -h.
htwbwpwp juunuwbw ny puguuwlwb wpdbp b wn Ytwp Ypunpnph
poyjunpl)h puqinipjut vh ququp: Ppnp, pwth np x;., Jj=1L2,..,n;

y, i=12,.,m hnpnjuwywbbkphg jnipuwpwiynmph 0 wpdbpp
hudwywwnwujwtmd tuh  hhykphwppnipjub hwjwuwpdwbp R"-
nd, wyw n hwwnh vhwdudwbwly 0 jhukp  hwdwpdip t n
hhytphwppnipjnibbtph hwndwb, wjuhtph iuwhu t vh Yean R -nud:
Ept vbwgwd hnhnjuwljwibbpp ny puguuwlumb th, wywm wyn Yhwop
poyjmupkih Yiwn k&Y, pwibh np wn Yiup vnmgymd t pnyjunpbih
puqunipymup vwhdwbuhwyny bhytphwppnipniuutph hwwnnudhg,

wyw wjh poyjuwwnpkh puqunipjut ququp t: fwugh npuihg, puth np
ponp ¢, i=L2,..,n pitpp 0y gpujwb  bh, wyw

n
x;. =0, j=12,....,n ntypmu Zc;.x; yuwunwlujht  $niulyghwb
i=1

Juunwbw dwpuhdwy wpstp:
Fpktp uhduybpu-utpnnh wignphpup hputwjwl puybtpp wnrwbg
wyugmgdwl:
1-ht puyy: Yhgmp —b, - wg ujwl wlkbwihnpp npuijwl phyiu & A
dwwphgh k -pn winnmud YEpgubp Judwjmyut ay, puguwuwyuwh phy
(kpt wynuhuh phy sjuw, wyw plnhpp poyunapbjh gk): Ungu poinp
. b
i 2k hwidwp, npnbig hunfwp ——— -i pwguwuwlwh k, Ykpghbkup wyh

a.

Yo

p-b, nph budwp wm hwpwpbpmpmoitp wikbwdbst t: a . -u
dbwhnjumpjwt htbpught wwppb t' 4, wnnh hunjwuwpnidhg X, -b
wpnwhuwjuynud  k dtwgwd thnhnjuwlfwbubph Jvhengny
tnjwphind b %, thnthnowlwiht:
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Ljjup 4.4.1

2-py puyy: thgmp ¢, -u Ypght winnh guwbjwgwd npuljwb wupp k:
b

Pnnp i-tph  hwdwp, npnbg hwdwp ——=-b puguuwlwh t (kpk
a,

iio

wynuhuhp sjwl, wyw inhpp vwhdwbutwy st) Jepgubp wyb g -u,

nph hufwp wyy hwpwpkpmpiniip wibbwdkst t: &Y tnphg § wnnh

hujwuwpnuthg x, -o wpnwhuwynbip dintu hnpnjwjwbbbpny:

Ophbuly 4.4.1: Yhwwplkip htwnbyuy oppimyp.

(x, + x, > max

3x +2x, <6,

X +2x, 22,

-x,+x, <1,

(%, %, 20.

fwih np wju junph hnpnjiwfwbbtpp ptnpudkip Epynweb b, wyw
ujt Jupbh kol bwb gpudhynptb: YUnnpphtwnught hwppntpjub

Jpw whghmghkp 3x,+2x,=6, x+2x,=2 W -x+x =1
nunhnutpp b qubkbp igph poyjunpbjh puqunipinitp: Sdwqph Ypw
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ujh gdwbipqwd whpnyph b Lywwnulfuht Pnibghwb hp wpuhiuy
wpdtpp pinnibnud £ pnyjunptjh puqumpyub A, B,C ququpukphg

nplk Ubynud: Zunbdwunbiny A (0, l) B (% . %) ;C ( 2, O)
ququpbtpmd tywwnwlwhb pmuyghwh wpdbpubpp, Yunwbwip
oyunhdw; mdnufp B ququpmd’ xlo = y,xg = % »  phuy
bywunwlught $ncbijghwyh dwpuhdwy wpdtpp® l%

Ujdd bunyt juinhpp imdkbp uhduybtpu-tnubwyny: Ywqukup tnph
uhdyjipu wnnuuwyp’

Uju wpnuuwymd npyku hkbpught wnwpp pbwpkbp wuwnnuhynyg
uqwdp, wjuhtiph wnbnkpny ¢injubup X, -p b % -p: PYwpwbwlwb
gqnpénnmpjnibukphg htivin junwbwbp hkwnbyjuw; wnnuwyp’

x uy |1
5 2|4|=-y
-3 2|10 |=—u
-1 1 |-1|=-x
2 -1|1 w

Uju wpjnuuwlyp wpnkb viwhu b poyjunpbih o, pwuh np kppnpn
ynibwyh pninp uvwpptpp nynpulwb th: Lkpghtt wnnud nubkbp Uy
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npujwb phy' 2 phyh k Npwbu dbunhnjumpjut wwpp wybup k
ptwpkip wuwnnubhony tgwdp: Unp wpnuuwyp Ynrbkbw hbwnbyuy
nkupp’

7R 1
- -4 =-
75|~ | =
A 176 | =
3 -9 =-
A e
- - 13
% NP
Unugjud wmjniuwlp nnwihu k jpugph jpnidnuwdp: bpnp, wyuwntn Gppnpn
ynmbwyp b Jkpght winqp ny npulwu kh: epgukng %, =0, u; =0

Juinuwbwbp xlo =4 50 xy = 9 5 bw= 1% Uju jnwdnudp, hhwpyt,
hunfpuyumd £ gpudhlnptb uvnugwd jmddwb hkw:

R XX |F
H
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4.5.2pUYCES Oraernru

Thuljptin Spugpuwi nkunipjniip nuunfbwuhpmd k
Uupbdwwnhjulul dpwgpiwt punhwbmp fbnph wb Jwubwynp
ntuptpp, bpp thnpnjowfuibtph b dwup, jud poinpp, jupnn Bb
plnmub; vhuyt Jkpguninp pyny wpdbptp: Upwhuh dnpljubp
wnuwewbmu kb wwpplp phwqujunbbpnud, kpp, ophtiwy, uwnwgyny
jdnuip whwp bt wpnwhwpmlh wdpnne pytpny' wdpnneownpdbp
Spwgpmud:  Uynwhuh patmpph ophtwy t twb bwjunpp  pwdinud
nhvnwpyus tpwbwlynuwfubph punhpp: Udpnnpwpdbp  Spugpuuib
lunhpubph nidwb pyugu wibkbwwywpq kqubwyp® Yinpugnudp,
hw&wju phipnud k owynpuwy pmdnivhg wn htinnt wpynibputph: Uw
wuwn&wrep, np ghuljpbn Spugpnudp dbunnpyl) t npybtu wnwudhb
nkunipnih:

Yhpwpnipymubbph wbkuwbynmbhg swwn juplnp nuu kb juqumd
qduyht Spugpuwt wdpnnowpdtp juinhputpp: thgnp wpyws b gduyht
dSpwgpuwtb 4.2.1 punhp’

ZCX — max,

<Zax <b,i=1,..,m,

Gy

x; 20,j=1,..,n

\

Cup npnwd wwhwigymd t, np thnpnjupwfwbbtpp pugniutb Jhugh
unfpnng wpdtipbbp: Lowmbwlkbp G°-ny

—{xe R} : Zauxj <b,i= .,m,}
Jj=1

puqUnipjut  pnjnp widpnng  pununphsibpny  Jkljnnplkph
puqumpimbp b C (Gc ) -n| G° puqunipjub ninmghY punubpp: Lubh

np gdughti dpwgpuwl fubnhputph dnuwip ny Jh ulqporbpuyht
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ndqupmpmb  sh wupmbwymd, nuwnh bhwlwj wdpnnewpdtp
jutnhputph  mdnmuwip phpynd b gduyhtt dpwgpuwb  juunhpubph
|mSUwmbp:

Plnpld 4.5.1: ¥d5ujht Spugpimb wdpnnewpdtp juinhpbbph |mdnudp
hudpuyamd

(c,x) = icjxj — max,
j=1
X€ C(G‘) :

qdbughti Spugpuiwl jutinph (mddwb hkn:

Uwywgnygth wivhgwjwinpkt  hkunbmd t nemghy pwnuuph
uwhdwimuhg b 4.4.1 ptnptvhg: Npny dwubwynp nbuyptpnud wyu
ptnpliup pnj; £ wnwhu whlhpwytu vnwbuy wdpnnowpdbp funph
insnudp jnuskiny gduyht dpwgpuwtb pinhp: Unwlig wywgnygh (nku
(13]) ptiptbp Uky ophtwly:

Plopkd 45.2: 8whjugws wipnng A uB; qnpswhhgubph ntupmd
43.2 wvpwbuynpuught jingph mdnmudp wdpnnowpdtp bt whljwje
tyuwinwluht $mblyghuyh qnpdwlhgubiphg:

Cinhwimp npbuypmud 4.5.1 ptnptdp wiunnuwip pujwd E gqdwht
Spugpuiwb wupnnpwndp Ntnhpukph imsdwh pyuwyht wignphputph
pujuijwbwymh Ut fpadph' wmubu Yayjws §wbnbun/np hunnnypbiph
hhupmud:  Mipywgdnpth  Gjwpwgpbp Ywinbwynp hunanyputph
Enubwlp:

Tthgnip npyuws k
(€, x) — max
{x eG:
qbuyhti Spwigpuwh wdpnngwipdtp junhpp b ghgmp

{(ax)amax

x€G:
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gdught  dpwgpUwb  ubnph  mdnuwdp'  x°- wupnnowpdbp sk
Yuwunbwynp hwunnyp jubjwbbbp

ol 1
2. 4%, <b
Jj=1
wbhujwuwpmpmbp, bpt wb  puwjwpupnd t hhwlyuy

yupfwbbbkph'
1).) alx) > b,
j=l

2)G* g{xe R Z":a}xj Sb'}:

Yuintwynp hunnypp wytjugynud t juinph vwhdwbwhwynufubphb
b inwynud | gduyht Spwgpuwb unp juinhp’

(€, x) — max

X€ Gﬂ{xe R": Za}xj Sb'}
j=1

bpt wju junph nwdnuip tnphg wdpnnewpdtp sk, wyw Yurnigymd k
tnp jwinbunjnp hunnnyp b jndynwd hwgnpr jinhpp: Uju gnpdpupwgp
oupmbwlynud t dhbsh wdpnnowpdlp jmdnud unwbwyp: Lkpjuynudu
gnjnipjnitt nthtignn pyught wgnphputpp pnyy kb nwjhu nwppujub
qnpdnnnipynibbkiph  Uhgngny ykpguninp  pyny puyikpny  |nudly
wfpnngwpdtp nhpbbpp:

Yhwunwpltbp ghuyptn pinhpbbkph bu Gy Equbwl, npp Ynyymud k
dinunkph b kgpkph bnwluwf: Yhgmp wpjwsd k nhuypbun jinhp®

£ (x) > max
x€eGCR

npukn G puqunipnitip Yhppundnp t: Ghpunphip, np Ukup Yupnn kup
nput  bqwbwyn] quwhunl; f (x) dmuyghuh wpdkpp G
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puqUmpjut ypw, ujuhbpt qubl; wuwhuh @ (G) qghwhunwljub
(kqp), np
f(x) < a(G),xG G:

bptk wydd jupnnuiwip quuk] wyuyhuh x°€ G, np f (xo) =a(G).
wyw x°-u Ukp pugph ndnwdt E Bpt ny, wuyw wpnhnd kup G
puqunipjnihip G,l ,G;,...,GL puqunipjmbbtph (Lniuquninpmud Ghp
Nughpp) U qwhwunnd  f (x) pmiyghwtt G| ,G;,...,G,L
puquUnipimibubph  Jpu: Uwnwbmd Gbhp unp  qhwhwunwjwbbbp®
a(Gl'),a(G;),...,a(G; ): fwbh np G,-l C G, wyuw upkjh b uguuk),
1 . . . 1) = 1).
np @(G!)<a(G).i=12,..k: Yhgup 2(G,) %a(q). bpk

uydd jupnnubwbp qubl] wbyhup x’e G,; ,op f (x° ) = a(G,i ) ,

wyw  x° -t Ubp unpp jnusnudl k, wjjuwybu wju gnpdpupwugp wyhup
owpnibult) Uptyl pinph inudnudp qunbakyp:
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FUQUUTLVNIUSUYUSPL ONMSPUULUSNRU
5.1. MURUBPU CULSNRPSUY, SEUNRPENIL

buyyu oYty bt ubkpwdmpniund, judpuyhtt phwpnpjut  juunhpp
npnonulbbp punmibbkym pinhwinip ungph uwb dwubwynp ntyph k, Gpp
husytu npnpnuwlubph puqunipnibp, wjbybtu i Gwjupbnpbhnpub
hwpwptipmpymuutph phyp yYbppwynp btu: ~dpwyht phwpnipub
hunhpp  uptih t  ubkpluywmghly htwunlyw;  dnpkh  wnbupny’
(Xomume0=,),  npabn’ X={x.5.x},  buy
btwjuptunpijhmpjub  hwpwpbpmpimbbtpp  bipunpynud  Bb ey
Jupquynpjudnpnitbtp X puqunipjut Jpu:

Unwghti whquu wju juinhpp ghuwpyyl) t Eonnih (Arrow) Ynnuhg
npwku npbt  phunjpunuiwt  Gpypp  puwnpujub  hwdwlwupgh
dwptdwwnhjujwh dnpkp: 2uuywd ykpp tpgwd Unphjp gwn wybih
punhwinp k, vwljuyb Jktp juywbuwbtip Ennnith dnuinkgnmudbtpp b
Alhwykpynudubpp:

Opngnuwiibph  puqumpput X, =1,2,...,m wwppbpp whywikip
plylwénm bkp, huy hwjuptnplihnmpjub >J=L2,..,n
hwpwpbpmpmbbbpp' whhwwnwluwl Jupshpblp: unhpp gpynud k
htwnbjw) YEpu: Mbkup m phluwdm b 7 plwpny: Ciwnpnnubkphg
jnipupwbyympp wpnwhwjinmd k' hp Jupshpp  phljuwdmiubph
YEpwpbpjuy' wpymbpnud unwbinud Bup 7 hwn bwjupbwnpbjhniejub
hwpwpbpmpimb m ptjuwdmibbkph Ytpwpkpuy;: Uyn wihuwnwljub
Jupshputph bhhuwt Ypw hwplunnp t npnjk, pk huywhupht k
pwvpnnbtph hwjwpwlwt Yupsdhpp: Puuwninplt pinhpp htunbjuygh
Junmgl] wpnwyuwnltpnud, npp X puqimpjub Jpu wihunwjwh
Jupqunpjudmpymbutiph  gwuljugud {>— j }: huwdwlupght
hudwyuwunuupjpwimpjuwt kg Ynbh kY jupqunpjudmpmu’ >

Judpughtt updhp: Uy wpunwywwkpnuip wijuinud ki puunpuub

juintunpmpmb, jud, pnhwtmp nbwypmd, prfpuypl plinpnippub
Juwbnlr Ennmbu wnwwpll; b hhtg Jdhupdw; wwpdwbbbp, npnbg

Ubppupntinquijwl wunbpugmuubpny whwp t pudwpwph wpyup
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ptnpujub juwbnbunpmipmip phunjpuunwljwb Gpyphbpmd: Uy
yuydwbbbpp wijuimd tu Epnmih wpupndutph hwdwlupg: Ypwbp
k'

1). Uhwpdbpnipjulb wpupniuffnipughty punpnipjut jwuntp
Upwpdbpnptb npnpywsd t pojnp htwpunynp wthwwnwlwb Ywpshpukph

{>- f }l hwdwlwpgtph hwdwp:

2).Unbinnmnbnipypull wpupnd: Gpt wihuwwnwlwt Ywpshpukph npuk
{>— i }l hudwlupgh b x, ye X phihwdnmubkph qnygh hudwp judpuyht
phnpmpjwt jubnth hwdwduyh x>y, wyw bpt withwnwljwb
Yupshpukpp thnjugkh  wjbybu, np x-p wwpnbwyng qnyqbph
Jipwpbpjuy yupshpubpp thnpbb dhugh b ognun x -h, hul dbwgud
yuunbhphbipp yhnfukl, wuyw Yubntp tnphg Yhubqbglh' x> y:

3). Ubjwpumpm b squwujwé wypbnpwlipbbphg: Tpt wihunwuljub
Yupshpitph kpym  hwdwluwpgipmd  X°c X phyuwsmubph
tupwpuqumipjubl Ytpwpkpjuy pninp Yupshputpp bhwdpbjumd kb,
wuw whwp k hwdpuljbkt twb jpdpught upshpltpp:

4). Fobunybinmpyuil wpglip: Inmipmit ynibh wybwhuh j, ptwpnn, np
guijuwgud x,y€ X qnuygh hudwp x>, y -hghtwnlh® x> y:

5). Mewnmpyul plphojuwbnipinii: Smhjmgms x,ye X qnuygh hundwp,
tptk Ywinth huwdwduyh' x >y, wyw gnympjnit nith webjwuqb Jky*
Jo ptnnpnn, wybgbu, np* x>, y:

Ernnth  hujynth  wwpwnnpup juywimd t bpwinwd, np wju
wpuhnuubpp  wbhudwwnbtnth &' guwbiugws YJuinb, npp
pajupupnid k' wnwphth  kpkp wpupndbbph, phipod E Yud

pruwybwnmpjub, Yud hbpuhojuwtnipjwb Ynpunh: Fhpkup wyy
wpryniuph wpwbg wuyywgnigdwb:

Plopkd 5.1.1 Inmpmb ynitbh juinb, npp pudupupmd t 1)-5)
wpuhnuukph hudwljwupght, kpt n22,m 2 3:
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Cuwnpuljub jwinbbhtphg witiwown Yhpurinnp yEdwdwubmpjub
Jubntb & Uybh Jupbih b dbwlbpyl; hbnbjw; §Epy: Yudwjwuljub
x,y€ X qnuygh hunfwp hpwbwykup

n, =|{j:x>-j y}l, n, =|{j:y>—1 x}l, n, =|{j:x~j y}l:
Ubkdudwubinipjub juwinbp jabwybpyydh wjugbu' x> y wyb, b dhwyh
ugh phwpnud, kpk® n, >n : Zkpwn b wbkublk), np ddunfwubnipjub
Jutntp sh pajuwpupmd Eonnih hkug wnwghtt wpuhnuht: thwnwpykup
htwnlyuy ophtiwyp’

x>y~ 2,

Y 2, X

Iy Xy
Cuwn Ubdwdwuunipjub jwuunth, JUklip Juunwbwbp
X>y, ¥y>2, 2> x, uguhtiph ny wpwighnhy hwpwpbkpnipjnib:

Ubkdwdwmutnipjwbh  {wbnbp (hmjptt bjwpugpynud t  wpuhndubph
htwnlyuy hudwyupgny*

U 1: Ywbnbp Jvhwpdtpnptt npnpywd bt phjuiwdnibbph guujugus
x,y€ X qnuygh hunfwp:

U 2: Ywbinbp jwjujws sk phljuusmbtph winjuwbmdutphg:

U 3: Ywbinbp juwhjwsd sk pvnpnnutph wijwbnwfutphg:

U 4: bpk npuk x,ye X qnygh hwdwp Yubnbp npnpt L, np x~y L
plwnpnnubphg UkYp hnjuky & hp Yupdhpl b ognun x -h, wuyyw Yubnbp
wybtwp tnpnoh,np x> y:

Plnpld 5.1.2 Uhwy Ywunbp, npp pujwpupnud t ypp pipjud 4
wpuhnp' ddwdwubnipjub juinbl t:

Uywgnyg:  2kon t unmgh), np  dbdwdwubnipjub  Jubnbp
pujupupmy k wju wpuhndubpht: 8nyg wnwbp, np wyt vhwyb b
dtpgukbp jundwjulwmt x, y€ X qnuygq: Lwuh np Jubnbp juhjwd st

phwpnnbkph wiwbnulbbphg, wwyw Yupnn b Yupedwd (hbkp dhugh
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npubg pwbwihg, wyuhbpb'n,n,,n,  pYtphg: hgmp hby-np

Yywpshpukph {>— j }: hunfwluipgh phwpnud® 7, = n : Uy pujpnud, pun
2 wpuhnuh jutnbp whwnp t wugh, np x ~ y: Ujdd, kpt npluk puwpnn
tinjuh hp Jupdhpt h ognun x-h, junwbwbp® 27, >n, b pun 4
wpuhnuh, Ywbnbp wkwp t npnph, np x>y: Uwnwimd Ghp
UEdwdwulimpjub jwinbp:

Thunwpytbp Jh Yubnb by, npp puyh  Yhpwenmpymubkp nmbh

thnpdwghinnujut  qhwhunnwljwbubph  wbkumpmibnud, uwynpuh
phuqujunnud b wyjb: Yw Ynuyknh (Coplan)juwbnbl E

thgmp wpjws b Jupdhpukph npht {>-j }: hudwljwpg: Swbljugus
x€ X wpwbwlkip*

aj(x)=|{ye X:x> y}l,

B, (x) =|{ye X:y»- x}l
b juqutup ogurnuyininipjut pnibijghw’

u() =3 (@, (- B,():

Cun Yny Einh Yutnbh®

x>y u(x)>u(x):
Uju Yubnbtp, b wwppbipmpmt Jbdudwuumpyumt Yuunbh Jdhown
hwibgkgimd k wpwbqhwnpy jpudnudbubph, wwlfuyb sh pujwpupmd
Ennnh U5 wpuhnuphi:
hpujhi  pbwipmpjub  wnbkumpmbp hwdwpj  oquuugnpdynud t
hnpduwghnwlwl ghwbhuwmnwlwbbbph nkunippuol ypgwbhujbbpnud: Ujh
nbypkpmud, kpp ndjwp k &qphun ghwhwunwlwb wuy wju jud wyh
npnadwbp, Yuquiynud bt wndjw] pluquyuneh  Ywubwqbunbbph®
thnpdwgbnbbph junwlp, npniighg jnpwpwbymipb wprnwbhwyjnmd k hp
YJupshpp b uyn Yupshpubph hhdwb Ypw pipminmd t Ybpphwlwmb
npngnud:
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5.2.{CysSNrayuy ONShUULUSNrU

qtjunpujwh oywuphduwjugiwh wnbkumpmbp numdbwuhpmd t
npngnuwiibp  pymbbe  JUnnphh wybh Jwubwygnp  pbwypp,  bpp
bwjpbwupbjhmpjwbt  hwpwpipmpymbbtph phyp ytppuwynp kE L
jupupwiymph hwdwp gnmpnitt mbh  hudwywunwupwb

oquuytwnnipjuh dnibyghu: Ujuyhuny, YEjuinpujuh
oyuhdwjmgdwlt JUnpkip Yupkh b phuwpyl; hbnbjuw) wnbkupny
M =<X ,u,(x),uz(x),...,un(x)). npunkn X p Judwjujwh
puqumpib t, huy %(x),i=12,..,n $muyghwutpp’ X -h Ypw
npnpywd hpujwbwpdp $mbyghwbkp bh: 2wpluynp bt qubly X
puquUnipjmti YEw, npt puy-np hdwuwninyg dwpuhdujugbmd t poynp
u,(x),i=12,...,n $muyghwibpp vhududwbuly:

Ywhjwd wyi pwbhg, pk hby phwqujurbkph b Ybpwpbpnud
Ytyunnpuljub owynhiwjmgdwh jutinhpp b hty jpugnighy hudnpiwghw
Yu wyy pbnph Ykpwpbpywy, hbgph (wjwgnyt npngnudp Yupbih t
thunpk] pun  oyupduynipjmbh  wwppp ulqpnibiputiph:  Ujuunkn

Ynhwnwplyytb hwpnth uyqpoibputphg vh pmthup: Udkbwpunhwinp b
Yhpwunynn ulqpmibipiiphg b Nwpbwnnh (Pareto) owwhdwnipjul
ulqpnihipp:
Uwhdwbmf 5.2.1: x°€ X Ybhwnb whjuwimd tb Qwpbun-ogupduy,
bpk gnjnipynit smbp wjwhuh x€ X, np #,(x) 24,(x°), i=1,2,...,n,
pun npnud wyn wihwjwuwpmpynibitiphg wetjwuqt UkYyp juhun b
Gnpdtwubnid, wju ulqpnibpny npnpynn Yhwnbkpp hwdwju dh
punupdwl puqimpmtb ki juquinud, npt wijuwinud b NMwpkwun-
puqumpntl: Ljwpubp 5.2.1 b 5.22-nud wuulpquwd th n=2
gtypmud hwfwjuwyh hwmiinhynn NMwptwnn-ownhdu puqunymuukpht
huwdwywwnwunubng %, 4, oquutnmpjut  Iniuyghwikph
wpdtpubph puqumpibbbpp: LVjwp 5.2.3-nud wuwunljbpjus b wgh
ntypp, ipp Muptwnn-ouyinhvwy puqunynibp punjugus t vhuly Yhwnhg:
Uw hunfwyjwunuwuppwbinud | wyb nhiypht, Gpp gnjnipynit nibh wybigghuh
(] 0) _ 0) _ .
XeX Y, op u(x )—lzlgxu,(x), uz(x ) n;z}xu,(x). Uju
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niypnud junhpp JEpwimd t JEjunpuljwt oyyunhdwjwgdwt jubnhp
\hubymg:

L3

1 ! T u,
- [ A
(N Y
Ljup 5.2.1
Ljuwp 5.2.1 Ljup 5.2.2 Ljwup5.2.3

Quunnpkl, wju uljqpnibipny npnzynud k ny ph jujugnyb Yhnp, wy wyb
jnbkph pwqumpynibp, npuntn hwpyuynp b hbwnpk] (wwgnyip’
oqujtyny Jatinph Ytpwpkpyuy unugud pwgnighy
wbntjuunynipinihg: Uyt jtnhptiipnud, npunbn  wyp  pugnighy
nbnktjunynipimbp wnjw t, wjuhbiph hujnbh b oguuytnmpjut
dmuyghwukph hw(bdunnuljurh Jupunpmpynibitpp, wyn
dnmuyghwbikph wpdtipitipp wpunwbwpnywd ki unyt Jhuynpltpny,
Jud phpjwé Gb Unyt dwupwwph, sunn Yhpwnbih b upubu Ynydus
uluiyywp ulqpnrlipp :

Uwhiwtmuf 52.2: Yhgmp' A=(4,4,,...4,)20, D 4 =1. x°e X
i=1

Yhunb wijwbnd kb owwnhdwy pun A, i=L2,..,n Yhnbkpny]
uuyyup uyqpnibiph, kpt pojnp x€ X Yhwnkph hundwp®

g‘,'{v“i (xo) > 'Z:l:/l,u,. (x):

Uju bpyne uyqpniipubipp wipudwgdnpkbl wnwppbp kb pynud, pubh np
wnwghlh nkupnuf nnip nshty sghubp uunph Jepwpbpyug pugh X
puqunipiniihg U #; dniblyghwikph nbuphg, huy tpypnpy  uyqpnibipp
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Jupnn t Yhpwnyl; uwyb ptypmd, tpp bhuynbh b Imuyghwbkph
hudtdwwnwlhwlt  Ywpbnpnipymibtbtpp, npabp  npnpynud &b 4

qnpdbujhghtpny, hiyybu bwb pmbyghwubph ywhdwb dhwynphbpp:
Uwlujh wupqymu t, np wju tpyne ufqpmbputpp puy-np huwuwnny
hwJwpdtp ku:

Ptnpkd 52.1: bpk npny x°e X A=(A4,4,...4,)>0,) 4 =1
i=1

hundwp®

D Au, (x°) > Au(x),

i=1 i=l
wyw x°-u owwnpuuy kpun Mupkunp:
Ugwgnyg: bupunpbip hujunuyp' nhgnp x°-u owunpuuwy st pun
Nuwpbkwnnh: Uy nhypnud gnynipjnit nibh wjbiyhuh x€ X, np

u,(x)2u,(x°), i=12,...,n,

pun npnud wyn, whwywuwpmpnibitphg wetjuqb dtyp juhun t: Uju
wihujwuwpnpymuubkphg jmpupwbynpp puquuyunlkup
hudwyuunuwujiwb 17 n b gnuwpkbp: Lwuh np  wyp

whhwjuwuwpnpymubtphg wetuqt Ukyp juhun t, junwbwbp juhun
wbhujuuwpmpmb’

2'17“: (x)> i/l,.u,. (xo) :

i=l i=l

Uw hwjwunud t dkp kupunpnipjutp:

Plopkd 522 hgmp X -p mnmghl pwqUmpmb Lk hul
u(x),i=12,.,n $muyghubkpp gnquynp $muyghwhbp ki Uju
ntypmy, tpt x°-u ouypunpuuy t punn Mwpbnnh, wyw gnjnipynih nibkh
wjtwhuh 4 20,i=12,..,n, Y A =lpytp,np
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njlsaxxgui(x) =§ui(x°):

Uwwgnyg: Yuquklp htwnljuy wpunwhwynmpnibp’
(G, (0) =0, (D), Wy (%)~ 4, (D)., (@, () -1, (x°))):  Buibugud
$hpuwd x€ X Ykwnh hwdwp wyi Yupkh b nhuwpyl] npybu 7 -
swthwbh Jbynnp, wyuhiph’ Yo R -hg: Uynwhuh poinp htwpundnp
JtYunpitph puqunipynihp bpwbhwytp V -ng

V ={(G,(0) - ,(x")), (@, (x) =, (5, .., (1, (X)— 1, (x*))): x€ X }:

fwbh np kupwinpl) kup, np x° - oyynhdwy k punn Mwpbunh, wyw wyu
{Eunnphiph by npulub Jeyunplbp sywt® VAR, =2: C(V) -ny
tpwbwlkip V puqunipjub mnmghy punubpp: Puyybu hwpnbh t,
mnmghy puqubph gwbjwgws Yewn Ywpkh b bbpjuyughy V
puqUnipjwb ny wybih, pwh 7+1 Ykwnbkph nnmghy gduyhh
ynuphtimghuyh wbkupny (wbu ptnptd 2.1.1.): Hw bpwbwymd k np
C(V)-h gubljugus y Jeyunph k-py pununphsp (k = 1,2,...,n)
nbh hkwnlywy) nkupp®

n+l

e =22 (4 (x;))—u, (x°)),

Jj=l

npuntn’
n+l

x;€X;a;20; j=12,..,n+l; Zaj =1:

j=1

Ujuntinhg
n+l n+l n+l

Y%= Za]_u‘ (xj)—Zaju‘ x%) = Zaju, (x;)—u, (x%):

= j=1 =
fwth np thipunpyl) & np #,(x), i =1,2,...,n $nihyghwikpp gnqudnp
b, wyw®
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n+l n+l
Zaju,‘(xj)Su,‘ Zajxj :
j=1

Jj=1

n+l
LVowbwlbup' x"= z a;x;: X -p ninmghy puqunipinit t, htnbwpup,

j=1
xXeX U.]uuﬂmnq, unwbtnud khp, np gwbjugwd ye C(V) hwdwp
gunipmt mbp X'€ X, wiwkuy, np' Yy, S, (x) -4, (°);
(k =1,2,...,n) : Gjuntinhg htwnbmu t, np kpt V' puqunipjub Uty shub
npulwt Ytjwnopbkp, wyw wpyhupp sjuwb twh C (V) -nud:
wwbwlinul &, np C(V)NR! =D

bayytu C (V) puqumpmitp, wjbwbu & R} -p nmnmghy i
Zkwnmbwpwp, wbpwunbjhmpjwt pboptidph huwdwduy, wyn  bpym
puqumpinibitpp Yupkjh b whpwnk) Ynnpphwnttph ulqpiwytnng
wlgtnn hhytphwppmpjudp (ntu phnptd 2.1.7): Ghwhnhynpbt nu

tpwbwlmd , np gnymipyni mbkt wybyhuh ﬂl, ﬂz yeery ﬂ" pytp. npnbp
dhwdundwbuly 0 3k, np

Y Bz,<0, zecv). 52.1)

i=1

iﬂ,.z,. 20, z€eR]:

bpk ytpoht wihwjwuwpnipjub 117) wnbknunptp
¢ =(0,0,..0,10,..,0)€ R} {tjunopukpp, wwyw Yunwbwbp'

ﬂ,. 20,i=12,...,n: Uuyhuny, iﬂ‘ > 0: vywhwlkup
B .
5

A=
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n
Pudwibiny (5.2.1) whwjwuwpnipjnibip Zﬂ, -h ypw b npytu z

i=l

Jtpguting V puqunipjmi Yhnkpp, junwbwip

zn:/l, [u‘ (x)—u, (x°):| <0, xe X
=
Ujuntinhg'

zn:ﬂ,u,. (x)< zn:ﬂ?u, x°), xe X
i=l i=1

2wpyh wnbbkny, np 420,1':1,2,...,”, Zﬂ, =1, wnwtmud kup

i=1
pnpuh wuwhwbgyny uunnudp:
Uju bpym poptdutpp rwuwnnpbb hwlnud i oyynpduynipjub
uyqpmiipitiph hwpgp Ytjunpujut oywnhdwjugdwb uunhpbbpnud:
Ppnp, gubjugwd ouyunhdwimpub ulqpmbp wkwp Lt hwbqkgbh
Nwpbwnn-ouyunhdur Ywh, vwfuyh gubjugus Mwptnn-oupnhdw) Ywn
Jupb)h t unwbuy hadwywwnwupjwh Yohrutpny ujuyup ujqpnibpny:
Opptnuy 5.2.1: S8wujugud wpununpujwt ypnghu $opduwy jupbih &
bpwupwqpty (%,y) Jbynnptbph qougny, npubn X =(x,X;,...,X, )-p
bupubph kipanpt £, Y= (Y1, Y0ee Y ) -0 wpuaumpuiliph yEnnpp
Ujunkn X; -u i -pn nkuwyh Swhujws wypwbph pwbwl k, y;-u j-
n wbkuwyh wpnunpubph pwbwyt k' Opwbtu Ywbnb, btpwd
wpununpuijwt ntjininghwt htwpwynpmpmiu £ wwhu hpugnpst)
ny pt Uby, wy wpununpuijwt wpngkuutph vh wdpnne puqunipinil,
npoghg pnipwpwlgnipp punpnynud b hp  dwhiubp-wpunungpubp
ytjunpny:  Lywbwlkbp 7-nd poppp Swhbp-wpnunpubp
yEyuinputph puqunipyniip, npnbp httwpuydnp kb vjuy wkbininghugh
yupwqunud: Ujughuny, 7-b R™™ wwpwdnipjub thipwpuqunipnih
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t Yhgop @=(a,%,..4,), B=(B. B, B,) Ukywnpbtph prinp
pununphyutpp npujwb th: (a, B ) qnuygh hwdwp juqutup’

Fop(xy)=(@x)+(B.y):

bBpk Lupugptbip, np 7' -t niemghl £, wuwyw wnfjwy inph hwdwp Jkpp
pipwsd ptnptdubpp uwpkjh  tAbwlbkpyl) hbnbjug jEpy.

»  Owjuubp-wpmnunpuibp gubljugué yElwnnp, opp
vwpupduywghmu F Fa.ﬂ (x,y) pnbyghwtt T puqunipjub
Ypw, Mwpbwnn-oyunpduy
> tpk (x,y) YEjunpp Nwpbunn-oyunpduy b T -md, wyw
qmpyml mbkl uwybypup ¢ b B JEjunnpblp, np (x. y) -p
F, s (x, y) Sniblghuyh vwpupunidp e E:
Uju wunnulubkph whnbkuwghnwjub dkjuwpwinipinibp hbwnbjuyh
Thgmp a -ul A -1 hudwyuwnwupwh wypwbpbbph qgubpb Gu ( @ -u
i -pp wbkuwhh dwhujwd wypwbph vhunlnph ghuu t, ﬁj-h J-pn
ubuwlh wpnunpwiph dhunph ghtit B: Upu phwpnd F, 4(x,y)-p
Yhuwinhuwbw (a,ﬂ) qutpny (x,y) wpwnunpujub  wpngkuh

hpujwiwugnidhg unwgyud swhnypp: Ujdd bwjunpn wunnulubpp
Ypunmiuktu hkwnbjug wkupp.

> Swhjwguws wpnuppwlul wypngku, npp Jwpupduywghmd b
owhnypp npbkt ghbph nbuypmu, Nupkunn-owwnhduy k

> Smpuwpwlymp Nupbun-owwnhduy wpunuppuluwl wpngku
vwpuplwywghnud kpuhnypp ghlph npbl JEpunnph nbuypnid:
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5.3 NroureVErh MU

Uydd nhnuplkbp JEjunnpuljub oyunpduwugdub jpbnhputpht dbwghb
wrnudny 2w bdwb, uvwfuyb hdwuwnwghtt wenudng wwppbpynn jbighp:
Tthgmp unphg mbbup npnonufbbph Pudwjwjwit X puquopjnib,
uwljuwyt npnpnudh plipnuinud k oy ph Uy wbd, wy 7 whdwbg vh junidp,
opnughg jnipuwpwlynmpb mbh pp  ubpwhwb % (x),i=12,...,n
ogunuyinmpjutl pntuljghwl: Uhdjwbg htwn gnpdbwpph dkp dwnbbny,
tpwip hwdwwnbn phupmd th Uk Yk X pwqumpniihg: bph
qnpduippp wtnh sh nibkumd, wyuhbipt sk jupnnuimy Yhuhwbg htn
qu| hudwdwjimpjul, wyw i-pp Jwubwjhgp vnwbunwd £ phpuws
u‘.',(i =1,2,...,n) oquuytuimpmb: U u = (u;,u;,...,u;)llhmh
wijwbnud &b vwrweme pyn Yhwn: Upuwyhuny, qnpdwpph udnnbp
unwinud £ htnlyuy nkupp®

F=(X;u](x),uz(x),...,u,,(x);ul',u;,...,u;) = (X,u(x),u'):

Fumfwb t, np I’ qnpdwpph jnipwpwibymp dwubwlhg dqumd k
wnwiw) dwpuhdw) oquuujtvimpimit @ gopdbwpph |nwdmd wubny
jhwujwbmbp ny pt puwpwd npnonudp, wy  oguuytvimpimbubpp,
npnip unwimd b Jwubwyhghbpp wyn npnpdwb phypmd: T
qnpdwpph mbnuwip tpwhwytbp #°(F) = Wl u),...,u’): Rwth np
qopdwpph  jbnhpp  bwybu  wwpppynd b Jbjuinpujub
oyunhudwjugdwl jbnhputphg, wuyw wyu jpingph hwdwp hwpluynp
uwhdwbl] tnp owwnhdwmpjut ujqpoibp: Zhtbwjwt nhwnwpyynn
uljgpmipp whjwbinud kb Ukph (Nash) uyqpmbp: Uy vwhdwiymd k
wpuhndwwnhynpkb: Ripkup Ltoh wpuhnudutiph hwdwlupgp:

Wi dhgmp u°(0) =), ul,....u’)-u T'= <X,u(x),u‘) gnpduipph
[nwnufu £ Uy nypnud inudnudp. w) hwuwbkjh , wjuhliph gnjnipynih
mbh x°¢ X wbwbu, np % =u(x’), p) |mnuwip whhunnuybu
nughntiuy t' %° 2 4" b q) mbdmudp NMwpbun oupnpuwy £ gnjmipjnih
smbp xeX, np u,(x)2 u,.(xo),i =L12,..,n L wju
wihujwuwpnipymbutphg wetwuqb vkyp jphuwn t:
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w2 hgmp L=(L,L,...L)p #(x),i=12,..,n $niblyghubkph
npuiwb gduyhti dbunpnjumpimbb k Uy phypnud <X,Lu,Lu‘>
qnpdwpph ;nudnudp Lu® -uk:

UW3: TYhgmp X°CX F=<X,u(x),u'> gnpdwpph nwdnudp
W =u(x*)-uk:bpk x°c X°, wym I =<X°,u(x),u‘) qnpdupph
jnudnup tnybgbu #° = w(x°) -u k:

U.4: bpk hnhpp uhdtanphy b wuhbph & =), (i, j=1,2,..,n)
gutjugws x€ X hudwp U {l, 2,...,n} puqunipjull gubjugws 7
unbknunpnjumpjut  hudwp gnmpmb mbh ye X uguyku, np
(%) =u, (¥), wqu & =4, (i, j=1,2,..,n):

Uju hudwlwpgmud wnwghtt wpuhndp wwhwbgnwd k, np gnpdwpph

pdnudp thth Mwptwn-owyunhdw), wjuhtiph pwjwpwph wdbkbweny
oypnhpdwmpjul ujqpnrupht:

Epypnpn wpuhndp wwhwbgnwd k, np jmdnudp wiljwju (huh yuhdwh
vhunphg: U wwhwbep phwjwt L hwpdh webbtny, np
Iniuljghmbitiph oquuuykinnipjub $ncujghwiikip bu:

Gppopy  wpupnip Ynpgnud b shwyfwd  wyjpwnpubiplibph
whjujmpymb: Ujh YJuwpth t phuwphl] npybtu  dnblghuwgh
tpunptidnulh hwinympymuutphg ykyp:

2nppnpnp wpupndp Ynyynud bt wpnupmpjub wpuhnd' Gpk pninp
jnwnwugnnubkpp quynud i umb wwpdwbbbpmd, wyw yhnp t
unwbwb hujwuwp:

NMupqynud k, np wju wpuhndbitpp pajupup kb ndnudp vhwpdtpnpbu
npnotjnt huwdwp: Lowmtwmlkip*

U ={ue R" :u=u(x),x€ X}:

fLwth np qopdwpph  Jwubwyhgutpht  hkwnwppppnud t hpklg
unugybihp oqunutinmpnititpp b ny pk Ynuyptwn npnynudl, hbyybu
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twbh bhwpth webkny U1 wpuhndp wpwght wwhwbgp, wuyw
F=<X,u(x),u‘> gqnpdwppp  Yupkih bt phwnwplly F=(U,u'>
nkupny:

Ptopkd 53.1: “hgnp U puqunmpmibp tuwl, uwhdwbwhuy,

nnmghy puqumpmb bt Uy npbhypmd gnmipymb mbh UW1-UL4
wpuhnUubpht pwjwpuipnn vpwy 2°€ U msnud:

Ugugnyg: Ujuntn Ypipkup wmyyugnigdwt dvhuyb pinhwimip ujubdwb:
Luju nhunwpltip uwgb nbwypp, Gpp gqnympimbt muph  wjbyhuhp
u=(u,uy...u, )€U ,np u, >u; prpnpi=1,2,...,n hudup:
Yuwnuwpttp U puqunipju npujwb gdbwyhti dbwihnjunipinil, nph
ntypnud #” Ykwnp Yulgth Ynnpphiwnbbph uyqpbwlbn' o’ = u-u’
U puqinipjut dbunpnjujws yuulbpp bowbwltup U’ -ny: Nwpq L,
op U puqumpmbp Unphg hwl, uwhdwbunhul, nnnghy
puqunipjntt k: Zkwnbwpwp, gnmpymumup Z' € U’ , wyiyghbu, op’

[z = Er%%xll:][u,' (.3.1)

Uydd tunphg Yuwpkbp U puqUmpjub  ppuljwub  gdwjhb
duunhnjumpyml, nph phwpnud 74 YEkwnp Yuwbguh (1.1,...,1) Yhwnh®

s U ' 4
u = :‘ : Lnp unugwd puqunipyniiip ywbwykup U -ny:

Vywbwlkbp®
U ={u = (uu,,....u,)e R :li[u,. =1}

i=1

U ghwwpystp (T,0) qopdwppp: U puqumpyoitp  uhdbinphy

PuqUnipimb £ b wybhwjnnptt pujwpupnud t U4 wpuhnth

yujlwhbkpht: Zknbwpwp, <(7 ,0) gqnpdbwpph nbdwh Jbg ponp

pununphsibpp whwp b (huikk huwjuuwp: U puqimpjub dhwy
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hujuwuwp pununppsbtpny Ybwnp, npp pajuwpupmd £ W1 wpuhnuh
NMuptun-oyunhdwnipjut yupdwbhb' (1,1,...,1) fEnb & Uynw Yonuhg,

(5.3.1) uyupdwihg htwnlinwd t, np gubugws ¥ € U hudwp Hui <1,
i=l

wpuptph' U U, b, pugh npubhg, (l,L...,l)G U’ Ujuyhuny, puwn

W3 wpuhnuh, (1,1,...,1) Ywnp (mdnud | hwb (U g’ 0) qopdwpph hudwp:

2uith np (U”,0) qupdwppp wnugyty k (U’,0) qpdupphg npwljut
gduyhtt dbwhnjumpjut vhgngny, wuyw (U ’, 0) qnpdwpph nwnudp,
punn U2 wpuphntph, whwp t hup (1,1,...,1) jhnh bwhwyuanybpp,
wyuhtiph' @’ -p: U.2 wpupnuhg oqutiny, bu kY puy kw Jupkph t
Juwnwplk) b JEpptujuytu junwbwbp, np <U , u‘) gqnpdupph (nunudp

w-u" Yhwnb b Ujuyhuny, W1-U4 wpuhndubpht pujwpwpnn
mdnudp qunam hwdwp hwpyuynp £ hwpyly

rox 1:1[ (w,—u):

dbpununbuwiny  twpyht  bpwbwymdbbphl, Yuuwbwbp, np
= (X,u(x),u') qopsupph  nudnuip #° =u(x°)eU-t, npp
pujupupnud E hkwnbyjw) wepbympjutp®

o - L »
ux )—u )= max ux)—u ).
l‘:l[( ( ) ) xEX,u(x))u'!Zl[( ( ) )
Udd  nhnwplkbp wb pbwpp, btpp gnmpmb smbh  wybyhup
u=(u,u,,...u,)EU, np u‘.>u: poop i =1,2,...,n hundwp: W1

wpuhnuhg hbnbnwl t, np pujwlwb k ghunwplyl; vhuyh  Yhubpp:
Thgnp  gnympmb mbkh  Gpym Yekebkp  Cw’u’e U,

w>u;, u,=u;u;>u;, u/=u;, i# j: UGu nhwpnud, pubth np U -b
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thpunplty t momghy, wyw ¥ = -zl-u' + -;—u'e U Uulujh

u‘.' > u;.u j' > u; ' unwugup hwjuwunipinih: Zkwbwpwp, huntputbkph
1={1,2,...,n} puqUmpnibp Jupkih b wpnhty bpyme 1 b 1,
dwatiph*

L={iel:u(x)<u’,xe X},, I, =1-1:

6y ptghwlnp nhupnud, ©° = (u:’ ,ug ,...,u:)e U ndnudp Juunutwbp
htwnlyuy Yepuy: #° Ykyunph i€ I, pununphsutpp uvnwgynud b

H(u,.(xo)—-u,.') = max ’H(u,.(x) —u,.')

€l =X T,
wnbynipjniihg, huy i€ I, hudwp® ©’ =u; :

Ophlwy 5.31: Tthgmp wuywuhnjugpuijmu A phybkpmpjmb mup
nhuljiph wnpwndk|, nph pypmd hwwnnigmubbiph & ywuwuwhwljwb
Ukdnipjut ywptdywnhjuljub uywunidp hwjwuwp £5 yupdwbwuljub
Uhunnph, huly ghuybpupwt hwwuwp t 4 Yupwbwwb dhwynph:
Ugwhnjugpujwh B phytpmipmbp  ohufkph  wnpundkih
huwnmgmudbbph 7 yuwunwhwjwh Jedmpjub Jwptdwwnhjujub
uyuwunidp  hwjwuwp t 10-h, huy nhuybpupwb' 8-h: Uju bpym
wywhnjuqpujwb  pujipmpmubkpp  npnpgnud Eb dwuwdp
hnjuwbwlly  ppkbg  wnpndbukph  yupmbwynipimbp  ehujtpp
juqlghtim.  byuwnwyny: Thgnp A phytpmipjub  wnpndkih
hwwnnigmubitph uyqpbwfjwhb wpdtpp fl t, Yinjpwbwlymuhg htwnn' é:
Zuduwywwnwujwbwpwp, B phjbkpnipjub hwdwp' 77, b 77,: bpk A
pujipmpynitp  hp wopudkh @  dwup  pojwbwynd t B
pujipmpjut  wopundth A Jdwuh htn, wyw Junwbwbtp hbwnbjuy
hujwuwpnudbbpp®
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E& =(1-a)E& + BEn,

En, =aE¢& +(1- B) En,
Uyuntnhg tpinwd k np ¢npjpwbwyndhg hkwnin  hwunmgmdubph
Jwpbdvwnhjujwt uywumdbbph gnudwpp sh thnjynud, htwnbwpwp
tnjwnwpd - hwpywplutpp Yjupnn kb jupquynpglp  gpudwfub
thnjuhwunmgdundp: thunwpytip phufbph bhdtwjwb punipwgphyp
nhuytpupwi: Chpunpkiny, op Wuunwhwywh & b 7 Ukdnipymubbkpp

wblwju kb, junwbwbp'
D¢, = (1—a)2 D¢, + 8D, =u, (a’ﬂ) ’

2
Dn, =a’D¢, +(1- B) Dy, =u,(a, B):
Zwogh wntukiny, np tpk gnpdwppp sjuywtiw, wyw phijipnipyniiukph
nhuybpuhwitpp Jutwb uljqphwlfwi phuytpupwikp® Dfl =4 1
Dn, =8, muwnp uwju gnpdwpph unntp Yuptjh E ubkplupughly
(X Uy (a, B ) JUy (a, B ) 4, 8) uUnnkih wntupny, npukn
X= [0, I]X[O, 1] : Yuquklp gnpdwpph Lkoh $mblghwb’

Flaf)[4-u(aA]8-w(aB ] 4410 -56 [8-42-81-4}
Uwpuhdwjuguting wju dmujghwb a+ f =1 wuwpdwbh nbupnud
Juunwbwbp hknbjw wpynibpp'

a’ =0,613;

B° =0,387,
u(a®,f°)=1,797;
u, (@, B°)=4,509:

Uyuwhuny, tnjuwbwlijywb nphypnd  pujbpompymutiph  phultpp
(nhuytpuhwbtpp) Wwgqnuwl b hudwywunwupjpwbwpwp 2,203-ny b
3,491-ny:
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UNECP SEUNRESNRL
6.1. ULIUTPLR MUEL

bPlyytu Uoyk] kp twpwpwimd, jpuntph wkuntpyniip Ynupihnh ud
wlnpnpnipjub wuypdwbikpmd npnonudikp punniubn
twptidwnhjujwt wntumpmb bt Ynuphjuughtt  hpunjh&wmlybutph
dwptdwnhjujut Unpbjubkpp junmghjhu wnweht hkppht hwplunjnp
k gk Yntuphjunh dwultwlhgutpht, Jwubwlhgutph
hwpuynpmpmubtpp, hyyhku twb bpwig bwwywnympnibbkpp:
Thgmp Ynuphjunp dwubwyhgubkpp 7 -t, npnughg jmpupwbymp -
pnt muh hp pnnp htwpwynp npnpmudibph S, puqunipymup, huy
npnpmuukph  wpymipp  qhwhwuymd b oguutunipjut A,
dmiyghuyny: Upuwhuny Ynudpihjwh wuwjdwbbbpmd npngmdukp
punmubinm Unpljp Yupbih b ubpluyughty

G=(1{s},, {H}.) 6.1.1)
hwdwlupgh nkupny:
Uju hudwupgh wijuumd tb pregn, Ynbdphjnh dJwubwyhghtppt'
phunuwgnnttp:  1={1,2,...,n} puqUumpnitp  juwnwugnnubph
bufwpibph puqimpymbb t S;-b wijwbnuw &b i-py jownugnnh
uunpunnkghwbliph paqimpimu: Ywpjdwsd jainph npudphg wyt jupnn
Lt mbkbw) wwppkp Juemgugputp,: H;-b 7 hnpnjwlubh

hpuwywiwpdtp $mblyghw t, npht wijwbmd bb i-pn juwnugnnh
2uhnyph parblghur.

Unwtu  uvwhdwdfwd pjwnp  jpunugdmd  t htnbjuy  Yhpy:
Munugnnubphg jnpwpwbympp  pwnpmd b onpbk Ykn  pp
unpuintghmbbiph  puwqUmpmiuhg, nph  wpymbpmd  unwugywd
§=(8,58,,...,5,),85€ S,,i=12,..,n ytyunpt  wijwbinud &b
hnunjpdwly jownomud: Uju hpup&wynid i-pn puqugnnp unwbmd k
H,(s) jwhnyp: Cuvpmpimi Junwpbjhu jnipupwbynip juwnugnn
dqunud t wnwbjugnyl pwhnyph: Munbtpp Uhhwlghg Ywpnn kb
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wuppipyly  hbywbu  bwwewynppbbph  puykph  Jkpwpbpuy
nbntjuunympjuodp,  wbybu & junugnnubph dhgl
yudwbunnpudnipinibtph wnjwynipjudp:

Uwhdwbmd 6.1.1: (6.1.1) hwdwlwpgny npnoynny ppunt wbhubnud th
bnpdwy nkupny whyuphlp pum, Yud wupquubv whguphbp oy,
kpk jpwnugnnutpb hptg ptvnpnipinitbbipp junwpnud &b dhuhwighg
wbfwju, wyuphtph junwbuny ny  JUh nbntjunynpn
hwjwnwlnpnbhbph  pupbph Jtpwpkpuy, b hpwymbp smibikl
yuypdwbwynpyt) hwmiwwnkn gnpénnnipjnitbbph dwuhlb:

Puyyku Epunwd t jpwnh wvwhdwiinufhg, wunugnnh swhnypp Jujugud
t ny dpuyh hp pbwpwd uvwnpuwunbghwhg, wy twb U popnp
Juwnwugnnutph plwnpnipimbubphg, (npnup  whnuphtp  juwnbpnud
jmunwgnnht hwpnth 3ku): Ujuhbph, pbwpbkiny 7 thninfuwfubh
$niyghwh vhuyh kY hnpnjowjuth wpdtpp, pwnugnnp whwp t
dqunh unwbwm pp swbnyph Pnibljghwyh wrwykjugnyb wpdbpp:
Ujuyhuny, wnwght hwpgp, npht wnwgwmimd t winwuphtp fuwnbkpp
nhunwpybhu, owuwhdwnpjubt ulqpmibiph bhwpgh bt Zhdbwlub
oyunhdwmpjub uljqporpp, npp Yhpunmd t wbinuohtp juwnkpnud’
Ltioh hujuuwpuljynmpjub ulqpmiph & Uju Jhpwptpmud b ny ph

unpunbkghwbph wyy hpudh&wyubph oupinhdwynipymp:

Uwhtwbnuf 6.1.2. s° =(s7,55,...,5°,...,5°) hpuh&wll winjwbmy kb
plgmbkp  ipy  jounuwgnnh  hunfwp, ek pmnp S € S,
unpuntghwitph hwdwp®

H, (sf.sg,...,s?,...,s°) >2H, (s,",sg,...,s‘......sf) (6.12)

Uwhwbnud 6.1.3: s° =(s7,55,...,5°,...,5) hpun]h&ull wiyjwbmy kb
puwn LUkoh hujuwuwpwlrrmpjubl ppudhdwy, et wjbh plngnibkh
pnnp hwnugnnubph  hwdwp  Jhwdwdwbwy, wjupupt (6.1.2)
wihujwuwpnpjnibbtpp pujwpupynd kb bwb pognp i€ 1 hwdwp:

buywbku Epnuwd bt uwhdwinuthg, hujuuwpulrrmpjut hpwyhgwyp
jwjwbp Adkpbwunm 3k ny Uh ppunugnnh  hwdwp:  Zhnbyug
uwhdwbnuwip b hwgnpnnn  pboplidp  pnyp B wwjhu  unngl)
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hujuwuwpwlpnmipjmtt  ulqpnibph Ynnbhunipinip, huyybu  bwb
nwpwbgunnk) hunh twwb Ynnukpp ny bumjwbbtphg:
Uwhdwbtnud 6.1.4: Eplyn

G = (L{S‘.}E, ,{Hi}.'el)

G'= (I'{si}.:e[ '{Hi’},-el)

Jnuntpt wiwimd tb vupuwmnigpunybe hudwpdép, tpt qninipinit
mbkb wybyhuh a >0 b b,i€ I ppwywb pytp, np

H(s)=aH (s)+b,, i€l (6.1.3)

Ptopbd  6.1.1: Uunpuntighwytu hwJwpdtp Juwnkpnud
hujuwuwpulprmpjut hpwyh&wyubkph puqunipnibutpp hwdpbybnd
k:

Ptnpivh  wuywgmygh  wlhukph k. Puuijuwb t (6.1.3)
wpnwhwjnmpjmbutpp wtqunpt; (6.1.2) wbhhwjwuwpmpjnibutph
Uk b YpLwink) hwununnibibpp:

Uwbhdwbmd 6.15. Ubnuphtp jwunt wijwind kb bwwwrwwnmb
gnudwpny faun, Gpb®

§H‘. () =const:

Mup st wbubk], np huunwunmb gnuiwpny gwijugwd juwn
unpunbkghwyybu hunfwpdtp k qpn gnudwpny ppunh:
Zujwuwpulrenipjut hpudh&wlh gnympjub b dhuynipjub hwpgkpp
Jujijwd tb Ynbyptn jpuntph wewbdbwhwnynpjnibbkphg: Aipkip
tpkp  wbkuwlwt  opptwlukp, npukn  wpunugnpnd b
hujwuwpwlrrmpjwbt  ppupwlp vwhdwbdwb hbyybu ppulwb,
wjiybu b pugwuwlwbh Yandkpp:

Oppbwly 6.1.1: /2mbgmgnpdh tpypbnnpwbip/ Owbp hwbgugnpsnipjub
Uty Jtnunpynn tpym  hwbgugnpdhbp (wrwghi U bpypnpn

lwnugnnutp) qubdmd tbh  bwpbwlwb  Jupwbph  Upuhwbghg
Utyniuwgwd  pwbwnwjugbpmd: 2mbbkbugny nunpn  wuywgnyghkp,

-103 -



nuunuwpbhimpjmbp Juwpnn bt bhhdin; Jhugth  hwbgwugnpdubph
lnunnjubwljmb  gmgunibpbtph Ypu: 2wmbgwqnpsubpht  htwnlyuy
yuplwbukph bkt wpwowplpynud: bBpt btpym hwlhgwugnpdutpp
jununnywukb, np Yuwnwpl] tu wyny  hwbgugnpdmpynitp, www
Jjuquuuqplytb jmipwpwiyympp 5 wwpny: Uju ghypnud, bpp
hwbgwgnpdutphg uvhuyh dbyp jnunnjwih, wyw pnunnduinnht
wquu kb wpdwymud, hul Unuht puunuwywpunnd kb wnupugnyh
dundjivnh® 10 mwupjuw wquuuqpyuub: & ek tpynwub ) wunnud G
hptitg whdtnmpjnibp, wyw dtnunpnnp jpnunwtmd b abpjuywughly
Utnunpuiip nput Jwbp hwbgugnpdnipjut Uk U npuunwwwpunky
Utjuljwl vnwuph jnpupwbympht:

Yunmghip wju puwnh Jwptdwwnpjujwb Unphjp: wunugnpbbpb
kpynwh W' Gpym  hwbgwqnpdubpp, hbwnbwpwp, 7 ={1, 2}:
Nunugnnukph unpuwwnkghwibkph puqUmpmbubpp Gpyhhdkun G
s, =S, ={0, 1} , nputn 1-p hudwywwnwuwind t jununnjubbym
unpuwnbkghwh,  O-u dluuntnu: wunugnnutph owhnph
$muyghwubkpp Yniukbwub htwnlbyuy nbkupp

H,(0,0)=-1, H,(0,0)=-1,
H,(0,1)=-10, H,(0,1)=0,
H,(1,0)=0, H,(1,0)=-10,
H @11)=5  H,Q11)=-5:

Ydup sk unmgh], np wju jpunnud hujuwuwpwloempjut hpuyghgwy
gnynipjnit nuh b wyb dhwjb t° nu (1,1) hpun]h&wlb b, nph nhypmy
hwugugnpdutipp tpynut i jununnyuimd th: (0,0) hpwyh&wlyp, npp
pyYnul k, pk (ujwugnyh k hwbgugnpdutph hudwp, Mwptunn-owywnhduy
kL uwjuy Jumb 3t uyn hpughdwlhg otndtp Abtntvnm k

hwlguqnpdubphg jmpupwipjniph hwdwp:
Ophliuly 6.1.2: ChinwbEyul JE4 Gphuvimuwprn quuygp npngnud t Epiynt

wlg Jugubk] dvhwuht: SYjwy wywhhb jmpuwpwbynipp Yupnn t phnpl
tpymt htwpunjnp Juypbphg ytyp' qhwy pwwpnt jud pounpnih
dwpqunuown: Bpt btpyniuny pivpmd kb puwwnpnibp, wyw wnelu
(mnwghti juwnugnn) oguuytumpnibp hwdwptip 5 dhunp, huy
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wnujptp (kpypnpy  jwnugnn)® 2 dhunp: dnunpnip  plnpkin
ntypnud wneju oquuuyknnmpynmitp Ytpgukup 2 dhwynp, winughtip® 5
vhunjnp: U phypnud, Gpp pbwupmpymbbutpp  wwppkp G,
ogqnutunimpjnibibpp  hudwpkip hwjwuwp 0-h: Bpk pwwnpnb
puwnpknt unpuwntghwl bywbwykbp 0-ny, hulj Inunpn) phwpkm
unpuwnbkghwmt  1-ny, www unplp Ypupmup htwnljw; wbupp’
1={1,2}, 5,=5,=(0,1},

H,(0,0)=5, H,(0,0)-2,
H,(0,1)=0, H,(0,1)=0,
H,(1,0)-0, H,(1,0)0,
HL1)=2, H,(11)-5:

Tdup sk wnkulk), np wju punmd mbtbp tpint hwjwuwpwljspmpyu
hpwyh&wy® (0,0) b (1,1), npnup, h gy, bwb NMwpbunn-oyunhduy kh:

Ophtmy 6.1.3: (%pp, nni): Unwght Juwnugnnp wwhnwd t
tbnwnunpunip:  Spypopn  wnugonp  whwnp b gniwyh,  ph
tnwnunpuith np Yonqde b wwhwd: Lhon gnipwlbim nhypnud
unwimy t Uk vhwynp, ujpwih nhypoud’ Ynpgumd t Uty Jhunnp: Gpt
Ubnwnunpuvh §nndtpp hudwpuljuybip, wuyyw junwbwbp htwnbyuy

punp' 7={1,2}, S5, =5, ={0,1},

H,(00)=-1, H,(0,0)=1,
H,(0,1)=1, H,(0,1)=-1,
H,(1,0)=1, H,(1,0)=-1,
H@LD=1, H,(11)-=1:

Uju hunnud gnympjnih ymibkbh hwjwuwpwlyonnmpjub hpunjh&wlhkp,
huyyjtiu iwb Mwptnn-oyunhdw) unpuntghwibp:

Ujnyhuny, nhwwpljwd tpkp wwpqugnyb ophtwbubpp gnyg kb
nwwihu, np winuohllp jownbtpmd Yupnn bt goomipynib ynchbbuay
hujwuwpwlyonnipjmb hpunjh&wlhbtp, hul gonipjub phypmd wyh
Jupnn t Jhwyp sjhukp: Cun npmd hwwuwpwysenipynitp b Muptnn-
oyjnhdwmpnitp skt wnbyynd wyu jpwntpoud:
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6.2 2uquuurs muer

Uwhuwbmd 6.2.1: Qpn gnudwpny tpynt pwqugnnh jpwnb wigwbnud
b Awfjwdwpun juu:

Zwhudwpwn fwntph hudwp Ywpkh £ onpny ywhny  wupqbghly
twhunpn YEnnwl pipjud uvwhdwbmdubpp: Ppnp, pmth np hwjuwdwpn
juwnbtpnud dhown Gpyne wnugnn kb, wyyu (6.1.1) punh vwhdwbdwb
Uk Ywpkih b stk punugnnutph / puqunipiniip: Uynyhuny, Unnkjh
uwhdwinfwb vkp Yubwt tpynt puqunipymbbtp b pwhnyph tpynd” H,
b H, Pmuyghwibp: Uwluyb, pwth np qpn gnuiwpny Juwnh
uwhdwbmuhg hknbnwd t, np H, =—H,, wyyw dnpbjnud Jupbih k bk
dhuyt wrwghtt jmwnugnnh swhnyph pmulghwmb: dhppiwjubiwytu
hwjudwpun jpunh Unpbjp Ypuinmbh htnbyjwy ntupp*

G=(X,Y,H): 6.2.1)
Ujunbn X -p  wnwpht, huy Y-p  bphpnpy  juunugnnh
unpuuntghwibph puqunipyniut £, A -p wnwght jpwnugnnh swhnyph

dnbyghwi:  vwnugnnbbipp  Jhthwighg wbjwp  puwpmd  Gb
hudwywwnwupwbwpup x€ X b yeY Upgymupmd bplpnpy

Jnwnwugnnp J&wpnid b wowghthtt H (x, y) owhmpp: Hpuwbng juwnb
wjupuynud t:

Zujudwpun punbpmd hujuwuwpulrnmpjul vwhdwinudp imyjuybu

wupqtgynuw! Lk Ppnp, bhunjwuwpulspmpjutt  hpunjh&wyh (6.2.2)
uwhiwtnuihg hbwlbnuf k np (x°,y°) Yenp hunjuwumpuyonnpjut

hpwyh&wy t, ek
H,(x°,y°)2H,(x,y°),xe X,
Hz(x°,y°)2H2(x°,y),y§Y:

2wph wnbtn, np H, (x,y)=—H|(x,y) b Jhuynplking wju

wihwjwuwpmpmbbtpp, junwbwbp hwjuuwpwlrenipju hpunh
&wulh vwhdwinul hwjuwdwpn jpunbpnud:
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Uwhvmbnud ~ 6.22: (x°.y°)  bpwgpgmys  wijuwimd b
huwjuuwpwlppmpyul ppunfpdwnl hamjudwpn wunbpmd, tpt popnp
x€X b yeY-h hudwp wpb pwjwpupmd £ htwnbjwy Ypjhwlh
wihwjwuwpmpjubp

H(x,y°)SH(x°,y°)SH(x°,y): (6.2.2)

Ujdd nhunuplkbp oywnhdwympyut Uty wy) uljqpnibp,: thgnip wpwght
Jowunugnnb plwpt] k npik x€ X bptk tpypnpy ounugnnht nplk
tqubwyny hwjnth nupdwy wyny Ykwp, wyw wlvhuyn k, np btw

yptwph y€ Arg ml;I H (x, y) (uuwnbtn tupunpynu t, np H (x, y)
ye
$ntuyghwgh pninp tpunpbudnidbbpp hwuwbbh ku): Ujuyhuny, wewghtb
pwnugnnb, ptuapkiny npt x€ X, sh jupnn wywhoyt) hp whnypep
w(tiht, pwb min H(x,y): Chwpkny] x’€ Arg max[min H (x,y)]
yeY xX yeY

wnught juwnugnnh wuywhnjwd swhnypp nunind t wwqugnyip
max[min H (x,y)] =v,:
=X ye¥

Ujnwu Ynnuhg, pwnplyny npbik ye Y, tpypnpy punugnnp sh &wph
wnwghthl wkibt, pub max H (x,y). htwbwpwp, phnpbnyg
XE

Y€ Arg rm’p[mz;.rx H (x, y)] tw Yydwph wrwghtthtt wnwykjwgnjbp
yeY  xe
ﬂ)ll’[l[n;axx H (x, y)] =v,: Wt nbypnui, kpp v, =v, =V, wnwghh

hunugnnt nibh unpwnkghw, app Rhypmd junwbu Wwuqugnyup v
2whnyp, hul kpypopny punugnpb nibh vnpuntghw, nph nhwypmy sh
Yéwph wnwehti junugnnht V-hg wnlki: G wu nbwpnud (bpp
V=V, =V) X uy unpuwnkghwbbpp Yupbih b hudwpl) oupunpuug:
U uljqpmibiph wijwbnwd th  vwpupiiuy wwwhnyws swhnyph
ulqrnlip.

Mupqynuf E, np hwjwdwpun jpunkpmd wju tpynt owynhuwnipjub
ujgpmbiphitpp®  hwjwuwpulyrpnipjut  ulqpmibpp b dwpuhdwy
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wwwhnjwd swhnyph uljqpmbpp hwdwpdbp th: Uwwugnigbbp wyy
thwuwnp: Lwju Ukq wbhpudtown Yihuh hkwnbju) odwbiquly wunnudp:

LkS 621: Epym pnpopwlubp gubugws H(x,y) pablghugp
hunfwp

supinf H(x,y) <inf supH (x, y):

xx Y €Y ex

Uwugnyg: Swuljugwd dhpuwd ye ¥ b pninp x€ X hunfwp
H(x,y)<supH(x,y):
X
Ujdd phpukbp nput x€ X Lwbh np bwjunpy withwwuwpnipjnibp
pajupupymd t gmbjugws hpuwd ye Y hudwp, muyw
inf H(x,y)<inf H (x, :
nt H(x9)<if (spH (5

Uju wihwjwuwpnipymip &hon £ gwmijugws dhpuwd x€ X nhypnud,
hkwnbwpwp uyh &how k bwb SUP -h hwdwp pun x€ X

sup 125 H(x, y)) $1’2£ (TBH(JC y)) : (6.2.3)

Plopbd 622 Npykugh hwlhuwdwpn G = (X JY,H ) Juwnnud

qympynrh mbkhw hwjwuwpuwlpnoppub ppunjpdul, wbhpwdbown kb

purjupuip, np goynpynih nbkned b hujwuwp hbkh m%(x in’f; H (x, y)
=X e

/i mllp supH (x, y) yphbwlh punpbdnmubbpp:
el wx

Uwugnyg: Ubhpwdbpunmpinih: Yhgmp G = (X JY,H ) Juwnnid
gnmpjnit muh hujwuwpulsnmpjmt hpwyhgwly, wyjuhbph (xo, yo)
hpuh&wl, npp purjupupnud &

H(x,yo)SH(xo.yo)SH(xo,y) (6.2.4)
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wbhwjwuwpnmpjubp pnpnpp x€ X b yeY hwdwp: Lwbh np wu
wihujwuwpnipjuwh wg ymup &honr tponp y € Y hwdwp, wyw®

0 0 c; o ).
H(x Y )_1yrgH(x ,y).
ty, puwith np wyl &hown £ x° Yhwnmd, wuyw uyh wowby bu Shon k bwb
&qphwn ykpht kqpp hwdwp, wyuhbpt®
H(x°, y°)<inf H(x°,y)<supinf H(x,y): 6.25
(°.5°)sinf H (. y) < supinf H (x.y) 625)
Lnyh knutwulny 6.2.4 wmbhwjwuwpmpjub dwh ywuhg junwbwbp®
H(x° y°)>supH(x,y°)2infsup H (x, y): 6.2.6)
(4.5)2 sup 1 (1.5°) nf s (5.
Uhwglbjny (6.2.5) 1 (6.2.6) muthwjwuwpmpjnbtpp, unwbnd tup*
. . 0 0 .0
ixflyxEl;H(x,y)Zl;lgH(x ,y)ZH(x .y )2

> supH(x, y°) > 1’161; su};{JH(x,y):
XE

X

Uwluyh 6.2.1 tudhg htnunud L, np tpymt hnhnjuwjubh gubjugud

dmbyghuyh hudwp wbknh mbh hwjwowly wbhunjwuwpmpe)nibp:

Ujuyhuny, bpt jwummd qompmb mbh  hwjuwuwpulrrmpjub
hpuh&wy, wyw

supinf H (x,y)=inf sup H (x,y)=H (x°,y°): 6.2.7

uping H(ny)=infsupH () =H(<5%): 627

Fugh wyn,
. . 0 0\_:
supinf H (x,y) —1;5 H(x ,y),ix’?H (x, y )— 1;15 ix};‘)}l(x,y)(s.z.s)

xx yev
htnbwpwp, YpYutwhh tpunpbinwiubph wpuwphtt puwnpbunuwbbpp
huuwlb)h b (x° b y° JEwntpnud ) b YEpghwjubwybu vvnnuwbmd bup,
op

max inf H (x,y)=minsupH (x,y):

=X yeY ¥eY ex
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Punjwupupmpymb: Ujdd bupunpbbp, np maixing H (x, y)-n b
EX ye
ml;l supH (x, y) -p gqnmupjnth mukbk b hwjwuwp Eh: Upwnwphh
¥ xex

tpunpbdmuubph goyoipnithg hknbnud £ wjbyhuph x’€ X b y'eY
YEwnkph gnympnitip, npniig hwdwp®
i H (x.y) =inf H(<.).
minsup H (x,y)=supH (x,y"):
=X

Y ex

&oqppwn Yipht b wnnppt kqptph vwhdwunwhg hkwnbmd £, np popnp
x€ X b yeY hundwp

ng(m;lg H(x,y) =i,2£ H(x,y)<H(x.y),
H (6.2.9)

minsup H (x,y) = suyH(x, Y)2H(xY):

Ye¥ rex

fwth np wju whhwjwuewpmpmbbtpp pajwpupynud kb pnppp x€ X
b yeY huwdwp, wyw pujwpupynd ki bwh x’€ X b y'eY
hwdwp: Stqnunptiny wju YEnkpp 6.2.9 wihwjwuwpmp)nibbtph dbp b

hwoyh wnbtijny, np puwn pinpbivh wupdwih YpYbwyh tpunpbdnudubpp
hwyjuwuwp kb, junwbwbp

maxinf H (x,y)= H’Ll;l supH (x,y)=H (x,y): (6.2.10)
x€X

xX yeY

Stqunpbny YpYtwlh tpunpbunufutph H (x',y") wpdbpp (6.2.9)
wbhwjwuwpnipjniibbph dtg, unnwund Gup, np

H(x, y') <H (x', y') <H (x', y)

poop X€X b yeY hudwp: Uguhbph, (x,)") hpuyh&wlp
huwjuwuwpulppmpjub hppugpdwy k. G founnud:
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Zbnbutp:  Hhgmp  (2°)°)n  w (XY)p  bpim
bujuwpulponippub ppudhdwlbtp td G=(X,Y,H) pnugnud: Up
phupnid  (x°,y") & (x,y°)  ppufpdwibtpp  boybgbu
bufuruwpwlprnipyul hpunfhdwlbbn kb b

H (x°,y°) =H(x,y)=H (xo, y') =H (x', y°) :

Uju wunnuwlbh wppbkt uwnwgyl) k pnptivh wuywugnigdwt phpwugpmau:
bnnp,6.2.8 hujwuwpmuutphg hkwnumd k£, np

xe Arg max(me x, ))

xX'€ Arg max (mf H(xy)].

y° € Arg min (supH X, y))
¥eY \ xex

y’€ Arg min (supH(x, y)):
¥e¥ \ zex

buy (6.2.10)-hg htwunw L, np swbhnyph $Pmulyghuyh wpdbpp
hujuuwpwlpprmpjub  ppupdwynd  bhujuwuwp t  Yplbwyh
tpunptdmdubiph punhwlunip wpdtpht, htwnbwpup,
hujuuwpwlsrnipjmt pnpnp hpwhdwljutipnud pwhnyph pmulyghuyh
wpdtpltpp tnybh Gh:
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6.3. Uusrnsushpv naer

Zujudwpn  juntipnud | hujwuwpwlsnmpjut  hpwgh&wyubkph
qujnipjuit uunph nhunwpynuip ujubtp dwubuynp ntyphg® Jkpguynp
hwjwiwpwn jwntphg: Yhgmp G = (X Y ,H ) lmwnonud X L Y

puqumpibbkpp  kpgwynp kb,  wjuhbph X ={x1,x2,...,xm},

Y={y,¥3¥n}: Lowhbwlblp H(x,.,yj)=h,.j; i=12,...m;

J=12,...,n: Ujughuny, jmpupwiyymp JEpgunnp hwjudwpwn jownhb

Yhunfwgunamuhrath apbt dwphg {2} B bwlwnwlp,
1=1,...,m

nhgnip wpyws k npuk mXn swhubtph H Jdwwphg: Uju dwnphgp

Juphkh t ghuwpll] npybtu hwjuwdwpwn juwn, npubn wnwghb

jnwnugnnh muh M huwn  uwnpunkghw (unnkph  pyht
hudwwyunwujiwt) , kpjpnpy jpwnugnnb muh 72 hwn unpuntghw

(ymbtph pyht hwdwyunnwujuwh), hul wrwght ppwnugnnh owhnypp
(i, ]) hpwgh&wymd hujuuwp t A, Ujghuny, jnupupubyng
Jippunnp hwjuwdwpun funht upbh £ hudwgunuujpatnipjut dky
nukp Uty ywnphg b jnipupwbynip dywnphg Yupkih t ghuwpyk) nputu
huwjudwpun jwn: Uy gunlwnny Jkppunjnp hwjwdwpun juwntpb
wijwbmd th vwwnphguyhl faunbp:

Uwunphguyht juwuntph ptypnwd twhunpn pwdih uwhdwbnudubpp
Ypunnibkh htwnbyuy wnkupp’ (io. j°) hpuyh&wyp
hujuuwpuljgrmpjmtt  hpudhd&wmly E bGpt popp i=1,2,..,m;
Jj=12,...,n hudup®

h, Sh“.Jo Sh‘ol_:
Zwoyh wnbijny, np ykpgun|np puqumpimubtph Ypuw bpunpbdnufubpp
thownn huuwhbbh b, hujwuwpwlrpmpjub hpugh&whh gnnipjub
wlhpwdton b pajwpup yudwlp Ypunnibh hknbyw; nkupp*

maxmjinh,.j =minmax h:
J
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Uwluyl, hhyybu inbuwmbp phy 6.1.3 ophimynud, tinyishul yupqugnyh
Juntpnud  hwjwuwpulyempjutt ppugh&wl Yupnn £ gnnipnih
snibikbwg: Upn ophiwymud pipdwd fownh dwwnphgt wyuuhuht 3

a(} 1)

Zkyw k winnigh), np wju junnud max mink; =-1, minmaxh; =1,
i i

wjuhiph  wnwght juwnugnnh Jwpuhduy wwywhnjwd whmjpp
hujwuwp t -1-h, huy btpypopn pwnugnnhtip’ 1-h: Chguybbkbp
Jmunugnnubkph htwpwynpmpnibutpp b pny; wwbp tpwig ny ph
puwpkt Ynuljptin wving jud umb, wy wnpkpp b ymbbpp phwnpkh
npnowjh  hwjwbwljwimpmiubtpnyg: 7hgntp wpwghtt  juwnwgnnp
dwwnphgh wnwghl winqu pwpnwd £ p€E [0,1] hujwiwjwbnipjudp,
buy Epypnpp winnp’ 1- p hwjwbwjwinipjudp: Uju nbypmd, tpk
pYpnpn junugnnb plunph wnwght winnb, wyw wewght hwnwgnnh
owhnyph dupbdwunhjujut uywunwlp hwjwuwp k
~lep+ l-( 1- p) =1-2p, tpYjpopn wingb pnpln Rhypmd swhnyph
Uwptdwinhjujub uvygwunidp hwjuwuwp t lop+ (—1)-(1 - p) =2p-1:
Ffninp phyptpnud wrwghtl jmwnwgnnh swhnyph dwpkdwwnhjwjut
uyguwunwip Y hth ny yuljwuy, pub min{l -2p,2p—1}: Zkywn k nbully,
np wju wptnwhwjnnipyniup hwutnwd £ wpwytjugnyh wpdtph p = l/ 2
ntypnid b hwjwuwp t O -h: Ujuyhuny, phwplking winnbkpp hwwuwp
hujuwbiwlwbnipjntbbbpny, wowghtt junugnnb wuwwhnymd bt hp
hunfwp 0-hg ny yulwu rwhnyph dwptdwnhjuljub vywumd: Fuyg
€hwn unyb Yhpy Yuwpnn b gopdly bwb Epypnpn wnugnnp, npp
punptiny Jwwphgh umbbtpp hwjwuwp hwjwbwlwubmpyniaibpny
Jupnn t y&wpk) wowghtiht ny wyk), puh 0: Ujuyhuny, ogunugnpdkyny
wjuwhuh  hujwbwjwbwhlt  wvwnpwnbtqghwbkp,  jwnugnnutph
wywhnjwd whnyputpp hwjwuwpynud Gi: Uju ophtiwyp npnywlh
hpuptp k wvwjhu hujwiwjwbiwht vnpunbghwbtp oguugnpstim
hwwp:
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Uwhdwbnd 6.3.1: mXn yahutiph H dwwnphguyhtt punnud wnwught
jownwugnnh  frwnlt unpwmnégpw t Ynyynuwd ny  pugmuwbwb

p =(pppzv---s P,,,); p:20,i=12,...m; ZP,- =1 JtYwnpp:
i=l
Ldwbwybu, tpypnpn puwnugnnh prwnd unpuwnbghw t nygnud ny
pugwuwlwh 9=(4,,9--9,): 4;20,j=12,..m; D g, =1
j=1

ykywnnpp: Ujunbn p,-u H dwunphgh i-pn winn planpling huly g;-b
J-pn ymb pbupkne hujwbwiwimpmbt k: Unwght juwnwgnnh
Pnnp uwrt unpwnbkghwbtph puqunipnitp bpwbwlykip S, -ny, huy
kpYypnpy jpwnugnnh popnp uwet unpuntghwbbph puqunipnibp” S,
-ny, wjuhliph’

i=l

S, ={q =(ql,q2,...,q,,)e R; :qu = 1};

j=t

b nupptipmpinit pwrt uvnpuwntghwbtph, punqugnnh Ynndhg winnh
jud ywb hwdwph phwupmpmip wijuunwd b jpunwugnnh dwpnip
unpuinkghur. Unwght jownugnnh i -py dwpnip unpunkghwh jupkh
t nhunwpyt; npytu p =(pl, Pasees pm) Jownt unpuwntghw, npukn
p.=1Lp, =0,k #i: Uuwpmp uwnpwnbghwh unyhuh uvwhdwinfwb
ntypnud S, puqumpmbp hwbnhuwinud t wrwght juwnugnnh
duwpmp unpunbghwbbiph  puwqunmpjuti  mnmghy pwunubpp:
Llwbwuybu, S, puqimpmbp hwbnhuwbnud b kpypnpn jownugnnh
dwpmp unpuntghwbph pmqunipjuwl ninmghy punubipn:

hunugnnh  jwhnypp jwnt  vnpuwunbghwbbph  wWuydwbbbkpmd
uwhdwiynu! k, npytiu swhnyph dwptdwwnhjujub vyywumd: Luih

np hwjudwpun jwntpnd jpwnugnnitpp gnpdmud ku Uhdhwtighg
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wijuljy, wuyw wowghth fwnugnnp Ay whnyp  wnwbwin
hwjwbiwljuimpyniup (p,q) hpwjhdwynud  hwjwuwp b p,gq;,
htnbwpwp, swhnyph H (p,q) dwptdwwnhjujub uvyuwunwlp nibh
htunlyuy mbkupp’

H(p.q) =Zzpih]jqj :
i=l j=I
Wu phuyptpmud, Gtpp jwnugnnbbtphg dthh ptwpmd b dwpmp
unpwwnbkghw, wyuhbph ( DsJ ), (i,q) wnbuph hpunfh&wlubpmud
hwnugnnh ywhnypp Yplnnith hknbjug nkupp!
H(pd)=2phy . H(iq)=2ha;:
i=1 =
Ujuhwyn k&, np
H(p.a)=2pH(i.a)=2H(p./)9;:

=] ]=l

Uwhdwbnuf 6.3.2: Uwwphguyhtt jpwnh jpwnt phgujind wbubnd
t hkwnlyjuy hwjwdwpn jpunp

G =<Sm,Sn,H(p,q)):

Uy wughkip hwywuwpwlypmpjut hpwyh&wlutph gnmoipjut
hunpht: Lwju wyywgnigbtip kplne (ku:

B 631 (Munh unpwunbghwbiph whguwb [Ed): Epk wnwuphl
lwnugnph npbk p€ S, vnpunnkghuyh b ¢ ppuwlwb pyph hunfwp

H(p,j)Zc,j =12,...,n,

www prynp g€ S, hwdup H(p.q) 2c:
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Epk kplipnpy hrunwgnnh npbl Q€ S, unpunnkghuyh b € ppuwlful pip
bunfup

H(i,q)<c,i=12,..,m,

www papnp pE S, hundwp H(p,q)Sc:

Ugwgnyg: Pujujub bt wywgmgl) (tuph wnweht dwup: hgnip
9=(4,4;5-9,) -t bpypnpy jawnugnnh Yunfuywlwh wnpunabghw k
Uyn nhiygpnud*
H(P'q)=ZH(P’j)qj chqj =ch}. =c:
J=l j=1 j=!

LB 13.2: (L&A Eplpbunpwiiph JEpwpbppuy): mXn sunpubph gubljuguéd
H dwunphgh hudwp nknh nibh Epin wypbunpwbpblphg JEip.

1. Qompmb mbh wlyhup p€ S, yblanp, np H(p,j)20

pomp j=1,2,....n hunfwp:

2. Qumpumb mbp uwybyhpup q€ S, yklpnnp, op H (i,q)SO
pomnpi=1,2,....m hunfwp:
Uwwmgniyg: Yhgmp H-p Yudwwbwb mXn swhubph dwwnphg L

Uwwiphgh umbubtpp Yuwpkh t phuwpyl; npybtu 7 -ywhwbh
Jbyunnpulul nwpwdnipjub Yhntp® tpt H’ -ng bywbwytup H-h j
-pp  wnibp,  wjupbph B’ =(h|j,hzj,...,hw), wyu H’€R";
ji=12,..,n: €' -m] bpwuwlykup R™-h vhwynp YtYwnpp, nph i-py
pununphsp hwjwuwnp k 1-h, hul vhwgws pununphyubpp hujwuwp bb
0-h: R™ vwpwdmput H’,j=1,2,..,n b €,i=12,..,m wnytu
uwhdwijwd n+m Yhnkph ninmghy punuipp tpwbwytip C -ny: C
-t thwly numghy pwquuihun t R™-nwd (nbu uwhdwbnidp):
Thwnwpybbp  bpymt  ppwpuftpd  pbuwpkp.  R” pwpusnipyub
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ujqptwbinp jud wwujwind £t C  puqumpubp Yud sh
wunfwbnud::

1. 0¢ C: Upu nypnud, pwbh np C -b thwl ninmghy puqunipimb kb
0-u s)h Wuwwnjuimd wyy puqinmpjubp, wyw pun wigwnbjhnipjub
ptnptivh (ntu phnptd 2.1.4 ), 0 YEwvny Yupkjh k wig jughly (/1, z) =0

hhytphwppmpjnth, wybybu, np pnppp z2€ C  hwdwp (ﬂ.,z)>0:

Ubwphwnhynpkh nu tpwbwymd L np gomoipimb mukh 4,4,,...,4,
hpuwjwt pykp, npntup vhwdwdwbwy 0 sk, np

Y. 4z,>0,zeC (63.1)
i=1

bpk npybu Z Ykwnbp Ykpgubtp €',i =1,2,...,m Ytnbpp, myw’

(Ae)=4>0 i=1,2,...m:

Lywbwykup*

P =—,,+; i=12,..m:
hI A

k=1

Uuhwym t, np p,>0; i=12,...m, Zp,. =1, hkwnbwpup,

i=]

p= ( P> Pas-es D, ) €S": Pwdwbkiny (6.3.1) whhwyjwuwpnipip

z P; ypw, junwhwhbp'

ml i'qizi =ipizi >0:
Z}" i=l i=l
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Uju whhujwuwpmpjwt dkp npytu z Ybpghbiny H’,j=1,2,...,n
Ytwntpp, YEpghwjwiwyitiu junwbwp*

O<Zp, =H(p,j); j=12,.

i=1

Ujuyhuny, uyb phypoud, tpp 0 C, uwnwmunud kup kuh wnwght
kpyptuwnpwipp:

2. 0eC: Uju ptypmu ulqphwyjbwnp Yuwphtih bt bbphuypught; C
puqunipjmb dwjpwytnbph mmghly gdwjht Ynuphttwghuwyh wbupny:
Puth np C  puqinipjub  Suypuibtwnbph  pwqunipjnibp
H',j=12,..,n ¢€.,i=12,..m Jtyunphph  pwqunipjub
Gipwpuqumpmb t, www ulqpiwlbnp Yupbh b bbpljuyuguly
htwnlywy Yndphtimghugh wkupny

0=% e+ BH,

k=1 =1

nputn
@ 20,k=12,..m; §,20, j=12,..m; > .o+ B =1
k=1 j=

UWu hujuwuwpmpnibp  JEjunpujub £ Bpk uwgu qpup pun
Ynnpphtwwntbtph,  Yuuwbwbp hujwuwpmpnibbiph hknbyuy
hunfwljupgp

0=a,+) Bh,i=12,..m: (6.32)

Jal

Ujuwntnhg, puwith np pnjnp @, -tpp ny puguuwlub b, wyw

Y Bk <0,i=12,..m (6.3.3)

j
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ﬂj, Jj=12,...,n qnpdwlhgutpp ny puguwuwlwb tu b yku Yupng
tpwdwdwbwl hujwuwp jhukt qpnh, wjwybu (6.3.2)-hg Yhtwbh, np
mpp &, i=12,..,m gqnpbwlhgutpp tnybwbu hwjwuwp tb qpnh,

hiyp Yhwlwuh Zq +Z B; =1 wupimthb: Ujuyhuny, Eﬂ >0

k=l
Vywbwyjkup*

B,
35,

Jj=1

q;= » j=12,..

Ujttpt & np  ¢;20,j=L2.,n b 2.g;=1, wpuhtph,
j=1
9=(4,95,--+9,)€S" Umu Yonhg, pwdwbbin] (63.3)

wihwjwuwpmpjnibtpp Zq i -b Ypw, junwbwbp

Jj=l

h;=H(i,q)<0,i=12,...m

i

J=1

Ujuyhwny wywgmgkghtp (kuh tpypnpy wypwnputipupht wignup
bu:

Uydd  wugbkup Jwwphguyht  juwntph  hhdbwjwh  phnpkuh
wywgnigdwbp:

Plopkd 631 (Pnk Ukjhwb-Unpqklippbpt (J. von Neumann- O.
Morgenstern)): Swbljugws Jbppun/np hwlunfwpwn jrunmd qrynipynib
mbp hujwuwpwlprmpyul ppunjpdwl (paphwinp pbypmd pounb
unpunnkghwbbpny):

Uyugnyg: thgnip wpjus t npuk MmXn yahubph H dunnphgny
ykppunynp  hwjwdwpwn juwn: U dwophgh hwdwp whwup G
Pujwpwpygh pyptnpwbph Ykpuwpkpywy (kvh wyptnpubpbbphg dtyp:
“thgnip juwnwpymd L kuh wnwght wyptvnpuitipp, wjuhtiph gnmpnih
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mbh wjbyhuph p€ §™ yYtjuwnp, np H(p,j)ZO pmop j=12,..,n
hunfwp: Rwbh np wju wbhujwuwpmpmip wnbknh nbh  popnp
Jj=12,..,n hudwp, wyw, punn [t 6.3.1-h, wtnh nuh bwb pnpnp

g€ S" hudwp’ H(p,q) 20 bhbtwbwpwp, twh min H (p,q) 20:
ges”
Uju wthunjwuwpnipiniip §honn £ p YEnh hwdwp, hbnbwpwp®

maxminH (p.q) 20 (634)

Uyuntn  tpunptunuwdph  gnmpymup plunud t puqunipjniubbph
indywjunipniiihg:
Uyh phypnud, tpp H dwwnphgh hwdwp pujuwpupynd k 6.3.2 (kup
tpypopn wypbwpwipp, wjuptiph gnympnitt mth wjiyhuh g€ S”
JtYunnp, np H(i,q)SO popnp i =1,2,...,m hudwp, wuyw, hugybu b
wnwght nhypnud, junnwbiwlp, np
minmax H(p,q)<0:
min max H (p.q) (6:35)
Ujuyhuny, gmujugws H Jkpgwynp dwnphgh hwdwp nbtnh niuh jud
(6.3.4)-p, Yud (6.3.5)-p: Zkwbhwpwp, ny Uh dunnphgh hundwp htwpwynp
sk, np Uhudwdwbwy
maxmin H(p,q)<0 W minmax H(p,q)>0:
pes” qes” (p q) qes” pes” (p q)
Ujuhtiph, ny vh dwwnphgh hunfwp sh Yupnp wtnh mubtbwy htnbyu
Yplbwlh wthujwuwpnipnitp
max min H (p,q) <0 < minmax H (p,q): (6.3.6)
pe s qu" qu. ﬁs.
Thgmp C-b judwjufwh hpwywh ppy t H Jwwphgh pnnp
wwppbphg hwbkip €-t b uvnugjwd dwwnphgp bpwbwytup H ’-ny:

fubh np (6.3.6) YpYhwyh wihwjwuwpmpnitp 3h Yupnn wnbnh
mutbw) ny Uh dwunphgh hwdwp, ntunh wyt sh upnn nknh mbbthu

twb A Ywwnphgh hunfup: Usniu Yonquhg,
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H'(p.q) =iip,-(h,-,- —c)qj =

i=l j=l

= ZZ": phyg, _CZZ pq;=H

i=l j=l i=l j=1

max min (H (p.q)-c)= max min H (p,q)-c

pesS™ qes” " ges"

min max (H (p,q)-c)=minmax H (p,q)-c

ges” pes” qes” pes”

Ujuntinhg, ny Up H dunaphgh b ny uh hpuwt ¢ pyh hudwp sh Ywpnn
wbknh nukbun htnbjuy §pjowh whhwjwuwpmpynbp®

%ggﬂ(p,q) c<0<minmax H (p,q)-c

ges" pes”™
jud

H(p,
r:lezsx}ggH(p q)<c <mmr:elax (p.9):

2knbwpwp gwbljugwds H dwwnphgh hwdwp®
max min H (p,q) 2 mmmaxH(p q):

PES- Fs.

Uujuyb djniu Yondhg, tpynt hnhnjuwlwih gubljuguws pnibiyghuyh
hwdwp (nbu kd 6.2.1)

max min H (p,¢q) < minmax H (p.q):

Ujuythuny, gwijugus H dwinphgh hwdwp

max r:Eusr_lH(p q)= m",\ fg‘g”(l’ q): (6.3.7)

Zwh wnltiny, np H -p judwywywb $hpuws dwwnphg kp, b YpYhwuyh
punptunufibph hunjwuwpnipjnithp hwjwuwpwlrnnipjut gnjnipjut
wihpudtpn b pujwpwp yupdwbh t, pioptvh yinnidp wuyugnigws
kL
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Uwhdmbtnud  6.3.1: Uwwnphgwht H  junnud  YpYbwyh
tpunptidmdutph punhwimp wpdbpp Ynyynwd bt prupp wpdip U
owbwlymud k V(H ) -n|’

V(H)= maxnunH(p,q)=r£§grgzs1§H(p,q):

pes™ ﬁsl

Ftpkup jwnh wpdtph b junugnnutph ounhuw) unpunntghwubph
tvh  owpp bhwunimpmbutp: Ubwght Juwnugnnh  owwnhduy
unpuntghwikph puqunmpnitp hywbwykup 7 (H ) -ny, EpYypnpnptp

T,(H)-ny:
2.1. Swbjugwd A dwunphguyht punmu*
max min b, <V (H )< min max h:
i J Jj ’
Uju wuipnudp htinbnud £ wyb thwunhg, np dwpmp unpuwwnkghwbbph

puqunipjniip pwnh uynpunntighwbitph puqunipjub Ehpwpwuqunipymb
k

22.6plinput p€ §™ unpunkghuyh b hppuub ¢ pyh hudwp
H(p,j)2c, j=12,..,n,

wuyw' V(H)2e:

bpt nplk g€ S” unpunkghuyh b ppulub ¢ pyh hwdwp
H(i,q)<c,i=12,..,m,

wyw' V(H)<c:

Unyl yunpiwb wuywgnygp Yphund £ hhpdbwljwh pinpbdh wuyyugnygh
uljqpbimjwb wup:

23. Yhgmp npuk p€ S™, g€ §" unpuwnkghwhbph b ppwyub € pyh
hwdwp
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H(i,g)<c<H(p',j),i=12,..m; j=12,..,n (63.8)
Ujn nypmud®
peT,(H),qeT,(H),c=V(H):

Uwwgniyyg: Lwih np  (6.38) wbhwjwuwpmpjub wp Jwup
pajwpuwpynuwd t ponp  j=12,.,7n hwiwp, wyw pun pwreb

unpunkghwbtphtt wigdwt (Eh, wjt pajwpwpinud k twlb pnpnp
geS" bhudwp U, wy pynd, ¢q° uwpunbghujh hundwp’
c<H(p'.q): wubwytu, (63.8) wihwjwuwpnipjut dwju fwup
pajupupynwd k popnp i =1,2,...,m huwdwp, hbnbwpwp, twb pnpnp
PpES”™ U, wyn pynwd, p’-h hwdwp' cZH(p’,q’): Ujuyhuny,
c=H(p,q") u pujulub t (63.8) whhwjwuwpnipjut kg C-h
thnjuwpkt wbknwnpky H(p',q):
24. Oputuqh p'eT, (H ).mhhpmdhgml:hpmqmpmp, np
H(p',j)2V(H), j=12,...n: (63.9)

Npytugh ¢'€ T, (H ) » wihpwdtow t b pujupup, np
H(i,q')<V(H),i=12,..m:

Uwwgnyg: Uwwugnigip hwunlmpjut  Jhugh  wnwghtt  dwup:
Uthpwdbyunnipjniip widhpwjuinptu htnbnud k

hujuuwpulpnmpjutt  hppuwfpdwyh uvwhdwbinufhg: Unwu  Ynnuhg,
dunnphguiht jawnbph hhfbwlub phapbuhg bbubnuw b, np T, (H)-p
nunnwpy sk hgmp' g€ Tz( H ): Uju pbypnuwl, pubh np ¢’ -p
oywnhduy k, wmuyw

H(i,g')SV(H),i=12,..m:

Uhwgltny wju wihwjwuwpnoipnibip (6.3.9) wbhwjwuwpnipjub hbw,
ltnhpp Yptpyh bwjunpn hunlnpjuin:
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Plopbd 632: hgnip j,-b Eplpnnp pnunugnph npbk Jwpnip
unpunkghw F mXn ywihubph H dwnphguypl ppunnd: Upg plupnid
Jwd wowphl fuwnugnnl mbp wbupup p°€T, (H ) owupuluy
unpuwwnkgpw, np H ( p°, jo) >V(H ) , jud Epypnpy jownugnnb nibh
q'€T,(H) owwmptwy wnpunntghw, npp jo-py  pumunppsp
bwwuwp E gpop ‘q‘}o =0:

Ugwgnyg: Chnhwbpnipinitp shwhonbin] jupbh b kbpwnpt), np
V(H ) =0 u j, =n: Ywnuwpykup C ninnmghy Ynlp, npp dujud £t R
nuwpwdnipjul  vhuynp eM,i=12,..m ytyunphtpny 0 H
dunphgh H’,j=12,...,n ymbbpny: Ypwuwpylp kpynt nyp* —H"
Jthunpp jud yuwwiwimd £t C Ynupb, jud sh yuuljwimd: Gk
-H"€e C, wuyw gnmpmb mbkh wbyhuh ny pwguwuwlub
a,i=12,..,m; ﬂj,j= L2,...,n-1 pytp, op

-H" =ia,e(') +§ﬂjH",
i=l

j=l

n—-1

_hbl =ak +Zﬂjhb’ k =l,2,...,m2
=1

Uw ipwbwlmd t, np

n-1

Y Bhy+h, =—0,<0,k=12,.,m:

j=
LVowbwyklp*
0 =—p1—, j=1,2,..,n-1; q,‘.’ =—1—
q ‘*Eﬁ; J “iﬂ/

Jol ]
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Uyuhuyn & np q? 20, j=12,..,n; qu.) =1,  ujupupl,
j=

q° =(q,°,qg,...,q:)€ S™ b pninp i =1,2,...,m hudwp

H(q%i)=5 L +—1 b, =—L by +h
(44) ;'*Zﬁ; "+I+Zﬂ, ! nZﬂ,(gﬂ ' ]

j= Pl =

Zkwnbwpwp, pun 2.4-h, "€ T, (H ) b q,? >0:

Ujdd Lupwnptup, np —H" ¢ C: Uju nhypnud, pubh np uljqphwlbnp
mnnighl Yntuh dwjpujtin £ wuyw, pun whgunbihnipjut phnpbuh,
uljqpimjivin Yuwpljh bt wbg Ywguky hhybphwppnipjnit, npb
whpuwnmud £t —H" Jtjunpp C Ynthg: tw bywbwlmd k, np gnnipynih
okt wyjbwhuh 4, i =1,2,...,m pytp, npnup vhwdundwiwy qpn kb, np

ponp Z =(zl,zz,...,zm)6 C hudwp

iﬂ,z,. >0 (6.3.10)
i=]
b
i/l,(—h,,,)<0; (6.3.11)
i=1

bpt npytu z€ C Yhwnkp Jtpgukp pninp i=12,..m
Jtywnnplbpp, wyw junwbwip, np 4 20, i=1,2,...,m b, hkwbwpuwp,

2/77 > 0: Lywhwlkup p,o = é’ ! Ginfhpwwinptt vinnigynud t, np
A

i=1
=l

p20,i=12,...,m; Y p} =l

i=]
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Uydd, tpk (6.3.10) whhuwjwuwpnipmubtpp pudwbtip ﬁl/{l ypw, b
1=

npybu z€ C Yhwkp gepghtbp H’, j=1,2,...,n JEyunpubpp, wyw’

ip?hy =H(p" j)20=V(H),j=12,..n:

i=1
Zhnbwpwp, p° = ( p.pS,...pd )E T, (H ) unpunntghwb oupnhuduy k,
huy (6.3.11)-hg Yuinnwbwtip Z p'h, >0:

i=1
Zbwlwbp: Yhgmp p° € S™ b npht j, - huntup H(p°, j,)>V(H):
Upu plwpnud tplpopy pruqugnnh nup oupnfutuy q° =(q),43,....47)
unpunkbghw, npuinkn qg =0: & hwjwnwlp, bpt Epipnpy frugugnnh
ponp oypunpuy wnpunnkghwbbpmyd j, pununphsp hujunnwn b qpnh,
wyw p°€ S™ hunfwp’ H(po,jo)>0 2hgmp q° € S" b nplit i
bwduwp H (io,qo) <V(H ) Upu pbypmd wnwphl juwnuwgnnb mbp
owurhuuy p° = ( p,o , pg,..., pf) unnpunnkgpu, npwkn p‘; =0: &
bhwhwnwlp, Epk  wnwehlh - pnunugnnh  popnp ouwpnpduy
unpuinbghwbbpnd iy, punwnppsp bujunwp b qpnp, wyw 3’ s"
unpuunkghwh hudup H (io,qo) <V (H ) :
dbpp 2wpunpywd hunnmpinubtpp npng nhyptpmd oghnud B pmudky
Uunnphguyht fownbpp:
Oppbtuyy 6.3.1: Yhvumpytbp htwnbyw) fownp: Bpym jpunugnnubpp
Upvhwbghg whwju phnpoud kh {1, 2,3,4, 5} puqUnipjwh pykphg ukyp:

Cwhmyph H (i v J ) $ojghwt hwjwuwp |i - ]l : Uju punp upth t
bkpYuyughty 5X5 swhup dwunphgh wnkupny*
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(01 2 3 4)
10123
H=(2 1 01 2
32101
4 3 2 1 0

Zkpw t nbulik), np wju jownnd max mjin h; =0, u mlmmlax h;=2,
nwuunh hujwuwpulornipjut hpunjhdwy dwpnip uvnpuwnkghwitpnud
qmnipjnth ynith: Cun 21 hwnympyjut® 0< v(H ) <2:vutny juwnh

yujwbbphb, Jupkjh t gnipwlly, op kpypnpy pwnuganp whunp t
pwph uhght phyp’ 3-p, huy wowght humwgnnp® Sdwjph pdtpp:
Uwnnigkip tpypnpny punugnnh dwpnip® j0 =31 wnwght jpwnwugnnh
punt® p° =(0,5;0,0; 0;0,5) unpunkghwitpp: Zwyytip

H(p%3)=2; H(p"j)=2,j=123,4,5:H(i,3)<2,i=1234,5:

Ujuyghuny,
H(i,3)<H(p%3)<H(p%)),i=12,3,4,5=1234,5:

Zknbwpwp, pun 23 hwaymput, j°=3 u p°=(0,5;0;0;0; 0,5)
unpunkghwbbpp oupnhdwy kb wyu punnud b v(H ) =2

Npn Jwubwynp nhuptpnd dwwnphguyhtt ounkpp Yupbih b ol
qpuiphlynpbl: Ynawplbp (2Xn) suhuh dunaphguyht g’

Hz(hu s h,)
B B B

Ujunkn wnwghtt Juwnugnnh juwep unpwunbkghwb Yupbh
Ubpluyumguty (p,l— p) wkupny b jmwnh wpdtpp Junwbuw hnbyuy
wnkupp®
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V(H)=m;1xmjin H(p,j)=m;1xmjin(phu+(l— p)hzj):
(vp) Unopphtwnnugh  huppmippub Uhy  whg  Yughbip
v=ph,+(1-p)k,  j=12,..n onhqikbpp U  qulkbp
v= mjin( ph,+(1-p)h,) pblgwp: Uhbbph & np wyu pbywh
wowbjwgnyt wpdtpp pun pe [0,1] hunjuuup Yihtth fwnh wpdtpht,
huy wpwght punugnnh oupnhdw) uwnpwunkghwh hwjuuwp t
(p°.1-p°), npukn p°-t uyh Yhanb & npunbn pelyuyp bwubnud & hp

wrun]tjugnyb wpdtpht:GpYypnpy jpwnwugnnh oywhdw] unpwntghwh
Jupkh bt qubk;, oquytiny ouwwhuw) uvwpuwwnbtghwitph b hawnh
wpdtph hunnlympymiutphg:

Ophtuly 6.3.2:
431
H=(1 3 4)‘

(P.v) Yynopnhtunnuyhb hwppnipyuh dpw gbklp

H(p, j)=v.j=1,2,3 mnhnttpp (nku Y. 6.3.1)°
v=4p+(1- p).
v=3p+3(1-p),
v=p+4(1- p):

_

3.

Uljup 6.3.1
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Uywph dpw buwn gdng bpdwd & v=min H (p, j) pkyuip: dwqphg
tpbmd  t  np  phljwih  dwpupimdp  p€[0,]]  whpnypnud
hudwywowuwtnd t v=H(p,1) & v=H(p,3) nnhnbph
hwndwb  Yhwht:  Zudunby  mbkiny  v=4p+(1-p) u
v=p+4(1-p) hwjwuwpnulukpp, unubmd bup'
p’=0,5v°=2,5: Ujuyhun]' v(H)=2,5, hul wnught pwnugnnh
oyuhuw) wnpuntghwt (0,5;0,5) wnb unpunkghwt t:

Uydd quuklp kplypnpny punugnnh oyuhdw) unpuntghwb: Zugbup
H(PO’]')’J‘ =1,2,3 pwhnyplbpp’

H(p°1)=0,5-4+0,5-1=2,5; H(p°,2)=0,5-3+0,5-3=3;
H(p°,3)=0,5-1+0,5-4=2,5:

fubh np H (p°,2)=3>v(H), wuw, puwn pbophi 63.2 -h, kplpnpy
hunugnnh ¢° =(g7,4%.4?) owwhiuy wnpumnbghwnut g3 =0, hul

qf h q;’ pununphsutpp Yuptjh £ unwbw] hwjuuwpnudutph hbwnbyuyg
hunfwljwupghg'

49, +q,=2,5
q1+4q3=2,5'

Lnusbiny wyl, unwbmd kup® g =0,5; ¢§ =0,5 : Uyqwhuny, kpypnpy
lnunwgnnh oywhdwy unpunkghwh (0, 5;0‘,0,5) hwnt
unpunntghwt k:

Ophluly 6.3.3: Ublymbwqgduyhli prunkp: thwwpytup dunnphguyght
lown, nph dywwnphgh nibh wilnibwgdwght wkup*
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a 0 0 0
0 0 0
H=| * ,
0 0 0 a

nputn a,>0,i=12,..,n: Qtwhwnkbp |juunh wpdtpp: Yhgmyp
wnweht jpwnugnnb phwpl & p= (],/ nin,...Y n) unpunbkghwut: U
. = 1
ntypmd ponp i =1,2,...,n hudwp H(p,_]) =—a; >0, htwnbwpunp,
n
pun 2.2 hwnlmpput* V (H ) >0: bpt wpwght juwnugnnh oupnhuuy
P’ =(P;Pyss P,) wnpunbghuynud nplt punwnphy, ophtuy i
pununphsp, hwjuwuwp £ qpop, wyw' H ( po,io) =0: Uw hwljwunud t
24 hwaympyubp, puth np V(H)>0: Ujuyhuny, wnwghb
Juwnwgnnh owpwnpuw] unpunkghwih pninp punuinphyutpp whwnp k
thutku puwn npujub: Zkwnbhwpwp, pun 6.3.2 ptinptivh htnbwbph, tpt
kpypnpy  hunugnnh owwpdwy  uwnpwwnbghwb  Bywhwlbup
¢ =(q.90q,),  wou H(iq°)=V(H).i=12,...n:
Uhwgutiny wju gdujhtt bhwjwuwpmdutph hudwljwpght  bwb
Zq,. =1 buwjwuwpmup, junwbwbp 7+1 hnpnjuwjubbtpnyg 7+1

i=1
hunn gduyyht hwjwuwpmuutph hkwbywy hudwljwpgp

r

aq,=v,
aq,=v,

\i=]
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2w t unimgly, np hwdwlwpgh inudbnudp hkwnbjunb £°

q..__; i=12,..,n; V(H)= nl

| ai i l/ai | Z l/ai

=] i=]

Ujuwnntinhg htiwmunud t, np tpypnpn puqugnnh oyyunpdwy unpunntighwh
poinp pununphsbbipp juhuwn ppujwb b, hknbwpwp, oqukiny tnyh
hunynipymbhg, bpypopny pwnugnnh p° =(py, pyses ) owpnbiiun
unpuwwnbghwh huwdwp junuwbwbp *

1

p=—7" i=12,.,n:
al'zvai
=1
Opplinly 6.3.4: YhwwpYbup hwpdwimd-yuwrnuubnipinih wnkuph Jvh
ykppwynp juwn: Yhgnip mbkup 7 opkjwnbbp, npnip Wwpmuywunipjuh
Jwphp mbbtk: Yw Yuwpnn &b (hbk] pbyybu puqUuijub  Yud
nbnbuwfwh, wjbybu i hupnpdwghnt pinyph: Zwupguljynnp (wnwght
hwnugnn) hwpguipymd t wyn opjtjunbphg dkih Ypw: Mwpwnyubp
(kpypnpn hwnugnn) wyn wwhhb jupnn b wwonyubly opkuntikphg
vhugh Ubtyp: Gupwnpkup, np  i-pn optjwh wpdpp a, -t a, >0,
i=1,2,...,n, hul hwpgulidwh ghtip - b > 0: Uju hpup&wlp Yupkh &
ukplujuglt) dunnphguihl unh nbupny®

-b a-b a-b a-b

o= a,-b a,-b a,-b a,-b|

a-b a-b a -b a -b

Uunpuntghwybu hwdwpdtp Juwnbph Ybpupbpyuy ptinptivhg
hbwnbnid E, np awnp hudwpdtp t H’ dwwnphgny jounpt
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0 a g q

Zwytup Ypjuwyh tpunpidmdubpp’

max min k; =0, mjinmax h; =max{a,i=12,..,n}:
J i

Ujuwhuny, H ’ jounnud  sjw  hujwuwpmpjmtt hpuwgh&wl dwpmp
unpwunbkghwbbpmd, htnbwpwp jpwnugonutpp wbkwnp t Yhpunkt
juwrt  uwmpwunbghwbtp:  Onpgkp qunuky p° =( pl0 , pg,..., pg),

qo = (qlo ,qg,...,qf) unpuinkqghwlbp, npnbip Ypuwpupkh
H'(i,g°)=v=H"(p"j), i=12,..n;j=12,...n

hujuuwpmubpp hwdwlwupght: Uyutpl t, np kpt vnwbwuip v, p° b
q° |ndmulbp, npntp punjwpuptt p° € Su,qo €S, wuplwbbbphb,
wyuw, punn oyynnpuwy unpuntghwtph 3-pp hunnlnipyjub, p0 -ub
q -u Yhuth owwhdw) vnpunntghwbbp, hul v-u' jownh wpdtp

Yuquthp H ( r°, ]) =v, j=12,...,n hujuuwpniutph hudwlupgp’

S pa,=v,

i»]

Z pa;=v,

i#2

Z pa;=v,

i#n

Zn:p,:l:

\ i=]
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Uju hundwljupgp Ywpkjh £ gplj htunbjw) nkupny®

Zpiai =v-pa,, k=12,..,n
i=1

ZP; =1
i=1

Nputnhg
1 -1
pl=—T k 1,2,.0n; v=—s =
a) — —
i= @ i=1 @

Uydd nhunupkp H'(i,q) =v,i=1,2,...,n haiwjwpgp’

alij=v’

Jj#l

azij =V,

j*2

Uju fupth k bpYuyuglt] htwnbyjuy nbupny®
a,(1-¢,)=v,k=12,..,n

2q,=l:

J=l

Npuntnhg
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n-1

a1
ay —

=4

q2=l k=12,..n:

Ywp sk uwnngly, np p0 €S,, uuljujh q0 -k ywunjwikjhmpniip
S, -ht wtwnp t vinmqyh: TCwubwynpuytu ghunwpytbp 7 =3 nhuypp b
tupwnpklp, np @, > @, > a; >1: Swpwbpunnkbp kplnt nhup'

La_))&‘
ata,
ata,
Unwght gypnud*
q =1- 2 1-—2 12 5o,
al(i+i+i} PRI
a a, a, a 4a,
2 2 2
g, =1-— y=l-—— 21 —>0,
a, l+i+i 1+-24+-2 1+1+-2
\4 4, 4a) 4 4 4
#=l-— 21 o 21 o 2+a
a,| —+—+— l+a,(—+—— 1+a, 2%
\al a2 al} al a2 alaz

b, hkwbwpup, g° >0,i =1,2,3, wupbph' g°€ S,, U

’ 2
V(H)=—l T
a a a
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4949,
a +a,

oujunpufun unpunkghwlbpp thinnpklp p' = ( P;v p;.O),
q‘ = (q,' ,q;,O) wnkupny: Lmdkiny

btpypnpn phypnud, bpp a, < , oquykimy 6.3.2 pbknpkuhg,

Pia=v,  ga=v,

P4 =v, ga,=v,

Pitp=1 g +q,=1
hujuuwpmuubph hwdwljupgp, junwbwip

el @G @ . aa
P = 4 = V= :
' ata,’" ata’  a+ta

2wpitp H'(p",j),j=1,2,3 w H'(i,q"),i =1,2,3 wpdtputpp’

H'(p',l)= b’ =v',H'(p',2)= e e B

a +a, a+a,
oo a\__ B | aa
H(p,3)—al+a2+al+;>v,
T _ aqa, - Y - a,az -
H(q,l)-—al+a2 v.H'(q",2) mra

’ - . . a
H'(q'.3)=q/a+qa,=a, <2 =y:
a t+a,

Ujuyhuny, tpypnpn phypmd, ogquytiny owpnhdw] uwnpunnkghwbbph
Jtpwpbpjwy bppnpn, hwwimpynibhg, unwbnud  Bbp, np ( p.,q.)
hpunjh&wyp hujwuwpwysnnipjub hpughgwy t, b

V(H')=al_a2’ V(H)=al_a2_b;
ata, a +a,
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Cunhwinip npbuypnuwd, kpp 7-p judwjwjwt L wywhwbeynud Lt
dwbunnhyy YEipnudnipyn:

Zknljuy  phnpidp  wdpnpempjudp  Gjwpwgpnud  E owwnhduy
unpuntghwbtph puqunipnihitpp:

Plopld 633 Uwuphguyhl punbpmd puwnugnnblph  oupnpuuy
unpwunkghwbtph T (H ) T, (H ) puqumpnibbbpp ns  quunwpl),
thwly, vwhdwbunhwly b nipmghly puqumpymbbbp Eb:

Ugmgnyg: Fuqunipimuutph ny nunnwpl hukp hwuwnwngt) k (6.3.1)
ptopbuny: 7} (H ) T, (H ) puqunipjnittiiph  vwdwbwhwynipniip
htbnid t  wb  thwunhg, np  wju  pwqumpnibubkpp

hudwywunwupwbwpup $™ b §" vwhiwbuwhwy puqunipyibubph
Eipwpuqunipnibbtp  Gh: Uuwwmgmgbbp nrmighymipjniip:  thgnip

p.peT, (H ) L ae (0,1) : 8™ pwqUmpjub npmghympnitihg
htnund £, np  p=ap’+ (l -a ) p’€S™ 8nyg wuabp, np p°
unpuwnkghwb oywnhuuy k: bpnp, poynp j =1,2,...,n hundwp

H(p% j)=aH(p.j)+(1-a)H(p’,j)2

>0V (H)+(1-@)V(H)=V(H):
Ujuwnbinhg, pun 2.4-h, p €T, (H )
Ujdd gnyg wwbp thwympmbp: dbpgubtp 7; (H ) puqunipjumt

pl , p2 yeoos p" »+.. Jinntiph hwgnpujwbmpynih, npp quiqudhunud £ p0
Jtwnhl: Lwth np hwgnppujubimpjub jEnbkpp Wuunjwbnud b bwb
S™ puqumpjubp, npp thwy b, wyu p° Yhnp tnybybu Juunayuth

S™-pu: H ( D ]) Pnyghwt gduyht £ punn  p -h, htvbwpwp, pojnp
Jj=12,..,n hudwp

limH (p*,j)=H (p°.J),
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b pwth np, ple T;(H), wyw popop j=12,..,n hudwp
H(p*.j)2V(H), k =1,2,..., muwh* H(p°,j)2V(H): Ut t
unphg Yhpwnt 2.4 hunlmp)nibp:
Vlwb  bpubwyn]  wywgmgind bt T,(H)  puqinpjub
nunnighimpjnip b hwnipjniip:

Z2Enlnulp: Smuljugud Jwwnphguyhti punnud jud gnynipynit nuh dhwy
oyunhudw] uvnpwunbghw, jud npuip wbykpg owwn ki: Uju thwuwnp

withpwwbu  plund kT, (H ) u T, (H ) puqunipjnihikph
nunmghljnmpjniuhg:

TYhunwplbip owwnhdw] unpwwnbghwbbph bu Uk hwnympynib, npp
hw&wju hkyvwughnud £ jpwnbph pnudnudp:

Uwhdwbmy 6.3.2: Ywukbp, np wnwghti juwnugnnh i-pp dwpmp
unpuwnbghwb gépuwpuwulih b k-pp dwpmp uwnpuwunbghwhg b
bpwbwlkbp® i >k , kpk pninp j -kph hunfwp A; 2 Ay, phy npoud wyu
wihujwuwpmpymbutphg webjuq Jdtyp pjhun b LVdwbwyby,
tpYpnpn punugnnh j -pn dwpnip vnpuntghwh gépapuukih &L -py
dwpnip uwnpwunbghwhg b Yhpwbwykup' j>1!, kpk pnpnp i-tph
hwdwp h,.j <h,, pip npnud wju whhujwuwpnipniiibphg wetjwuqh
Ukyp juhuwn t: 2ZEnbyuy pinptdp pipkbp wrwig wuywgmgdwi:

Plnpld 6.3.4: Yignip unnphguypl puunmd wnwighl fuwnugnph i -pn
Ywpmp unpunnbghwl gbpupuwulh b k -pp dwpmp unpunnkghwpg’
ik U pbypmd wnwphl pnunugnnb nbh  owwmpduy
p’= (plo,pg,...,p:) uunpunakbghw, npunkn pf =0: Ept Ephpnpy
funugnnp  j -pp dwpmp unpwnbqpwb gbpunwubh k1 -pp dwpmp
unpunnkghwhg' j =1, www Ephpnpn jpwnugnnb mbh oupnpuluy
9" =(q'.45.-.4; ) wapunnbgpu, npaky q; =0 : Fugh uyg, owgjuluy
unpunnkghwblph nppuwlwl punupppsbbpp Juplbip b qubl; wyb
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hnunmd, npp  wnwgimd b uhgpbwhuwl  prunphg pmpu  ggkiny
gtpwnuuning  Jwpmp unpunnbghwbiphl  hwdwwunnwupiubng
wnnbpp juwd ynibépp:
Yhuupyklp dwnphguyht pwnbph dh jupbnp dwubwynp phuyp:
Uwhdwtnud 6.3.3: H Jdwwnphgughtt jpunt wigwbnd &b uhdbwphy,
tpt H  wwphgp stnubdtwnphy b uwyuhbiph, popnp i, j -h hunfwp
h;=-h;:
Plnpkd 6.3.5: Updtwinphly puunbpnd

V(H)=0 4 T,(H)=T,(H):

Uyugnyg: “hgmp wpjws & H updbinphy juwn: Uwbdwbnudhg
htwtnud k, np H Jwwphgp punwyniuh dwnphg k: Ghpunpkip wh

nXn sunhubkph k Rwpwimuh Jwwphgny jpwnnd juwnwugnnubph
unpunbkghwibtph puquUnmpmbbtpp tnybh ' §" puqumpmbh L

Qhgnip tpym unugnnubph § pbupmd ki Jhbnyh pe S”
unpuwinbkghwb: Uju nhypnid

H(P»P) =iipihvpj =_iipihjipj =

i=1 j=1 i=l j=I

="ZZP1hﬂpi =-H(p,p)=0:
J=1 i=l
Ypwowpykbp Juunuganh pwhnypp npit  (p,g)  hpundhgulnud:
Swhljugws p€ S” unpuntghwyh nhypnid, piwpkny npyku g tnyh
wynp unpuunbghwb swhnypp hujwuwp Yhth qpnp: ZEnbwpwp,
l;‘ligH (p,q)SO b, pwbh np wju whhwjwuwpmpinitp &hown t

guljugus p€ S" hudwp, wywm

. <.
max min H (p,¢) <0:
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Ujnw Ynnuhg, tipk wnwght punugnnb pwaph p =g, wyw ywhnypp
hwjwuwp Yhuh qpnp, hbnbwpwp, max H (p.q) 20 U, puwih np wyu
pes”

wihujwuwpnipinibp ghon | gubugus g -h hudwp, woyw

>
min max H (p.¢)20:

Uhwgubkiny wyu tpjm wuhwjuwuwpmpmbutpp, junwbwbp pinptuh
wnweht ujinnudp* V(H) =0:
Yhgmp, wydd, peT] (H ) wnweht  jwnuwgnnh  owwnjpuuy

unpunbkghwt bt Owwpdw) uwnpwunbghwh uvwhdwunwhg popnp
Jj=12,...,n hadwp

J)=Zp.~h.,- >V(H)=0:

Sknuinpkyny A; =—h;, junwbwbp®

—Z plhji 20

i=l

J"

Z P = p)<0=V(H)

i=1
ponp j=1,2,...,n hwdwp: 2kwnbwpwp, pun 2.4-h, p€eT, (H ) b
T (H) CT, (H) : Lnyb knuwiwyny gnyg k vipynud, np 7] (H) o7, (H)

Vwnnphguyhb jrunbph b phohwbnip kpubay: Yhgop wpjws k

mxXn suhutph H Jwwnphgujht jpun: Unwbg phnphwbpnippniip

hwpnnbin yuwpbh b bbpungpl), np Ay >0 popp i) hudwp:

Uunnphguyhti punp (nudk) bpwbwlnud £ quntik) jownh wpdtpp® V (H )
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-t & pwnugnputph owwhdw) unpwwnkghwbtph 7, ( H ) L Tz(H )
puqunipymubkpp: Lwth np

V(H)=1p1:as5m}nH(p.j)=r;1¥.1m?xH(l,q) , (6.3.12)
1}(H)=Argt;1§§mljnl-1(p.j),
T,(H) = Arg min max H (i,q),
ge i

wyw junp (ke hudwp pajujut £ hwpjly (6.3.12) Yphuwyh
tpuunpbdnudutpp:

Yudwpuywt  p=(p,, Pyses Pn)ES™-h  hunfwp  Lywhwlkip'
v, = mjjnH(p,j) : Ujuntinhg'

V(H)=mJjnH(p,j),7;(H)=Argm§xv
pe

- P’

v, SH(p,j)=;pih‘.}, j=12,...n: (6.3.13)

fwth op pnop ;>0 u p, 20, Zp,.=l. wyuw v, >0 guijuguws

=
PES™ hudwp: Pwdwbkbp (6.3.13) wihujwuwpmpjub bpym
dwutpp v, -h Jpu b bpwbwlkbp x; = p, / V, : Yunwbwbp’

Z'xlhi] 21’ j= lv 21---9" (6.3.14)

i=l

Ujnwu Ynnuhg,
i X = g ’ SE .

i=1 Ve Vo
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Wuwntnhg, v, Pmilghuyh dwpuhunwd qubkint htnhpp phpymd k

in vhupdmd  qubbim  Nnphtu nputn  hnhnjuwubukpp
i=1

pujupwpmy Gl (6.3.14) wuydwhbtpht:

YYhuuwpytup gdwyht Spugpuwt htnbywy jpunghpp

,

m
Y x; — min,

i=l

: Zl:x,.h,.j >1,j=12,..n, (6.3.15)

x;20,i=12,...m

M wp 3k vnnmgqgl], np wju pinhpp vwhdwbuhwy £ b pnyjunnpbyh:
Thgntp wyu Nbgph mdnuip x° = (x,o,xg ,...,x:)-h t: Zwoyh wnbbing
Ukp bywbwynulutpp, junwbwip®

Puj wowghth  jrummganh  owwhwy  p°=(p{,p3,... pY)

unpuunkghuh hundwp®

pl=x"V(H)=3

5

i=1

Unyl by, bplpopy fwqugnnh ¢° =(g7,43,....q5 ) owmputuy
unpuinbkghwb b jwnh wpdbpp qubbtint hwdwp pujuijwb t nwdk)
gduht Spwgpuwb htnlyw) jpunhpp

- 141 -



iyj—>max,

j=

13y, SLi=12,.,m,: (6.3.16)

J=1

y;20,j=12,...n

.

bpk wyu jubnph unudp bubwibtp y° =(yP,5,....¥7) -0, wuym

0
V(H): "1 , qo Yi ,Jj=12,.

0

2] >

j=l j=l
(6.3.15) 1 (6.3.16) Munhputpp kpyuyh puunhphtp b (nbku 4.2 pwdhbp):
Ujuyhuny, dwwnphguyhtt punp imunuwdp pipynud t gdwhtl pugpdwb
tpjuyh unhpltph qouygh |nubdwbp:
Uwwnphgught jpuntph b gdught dpugpuwt juuyp wytjh wijbwnm
nupdubpt hwdwp phpklp gduyht dpwgpuwt  hpdbwlwh' 4.2.2
pinpivh Uty wy wuwgnyg: Thgmp wpwd b gdwyht dpwgpuwb
hpllmllh Jutnhpbtph qoyg’

Zc X; — max, ib,.y‘. — min,
i=l

Jj=1

$ Zaqxj <b,i=1,...,m, $ Zauyi ch,j =12,...,n,

i=]

XI.ZO,J=1,..., : y,20,i=12,...m

L

Ploplal 42.2% bpk gbughl Spugpuwb bplulh julnppbbnk qnyghg
Japupwbympp poypunnplih £ wyw Epymud b mbkh pmémad, pbn
opmud byunnulughl ymbhghwlbbph lpunpbduy wpdbpbipp hunjuuwp
kb:
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Uywgnyg: Yhwnwplbup H dunnphgny hbnbjuy dunphguyht wnp®

(0...0 a,.a, -b)

T wp sk wnnighky, np wyu jpwnp uhdtnphl ppwn E (nku vwhdwbimd
6.3.3): Cuwnn phnpbd 6.3.5-h wju junh wpdtpp hwjwuwp bt qpnp’

V(H ) =0, puy Juwqugnnikph owwhuw} unpuwwntghwbbph
puqUnipjniibtpp hunfpjunud bhi: Gpt wnwght jmwnugnnh oupunpuuy
unpuwnkghwlb hzmhmlﬂ:hp s= (sl 1825 ee0s Spemsl ) -ny, wuju’
H(s,k)Zv(H)zo;k=1,2,...,n+m+l: Qnkbp wju
wihwjwuwpmpnibutpp pugywd nkupny’

Zs,wa + S8, mub 20,i=12,..

Zs,.a,,. —SpemaiC; 20, j=1,2,..,n

i=1

—is,.biﬁ-ismjcj 20:

i=l j=1

Ghupunpttp, np s,,,,,; >0 b tywbwlkbp
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Si

™l j=12,.,n; Y= ,i=12,...m::

n+m+l

Uju bpwbwlymdutpny wihwjwuwpnipjnitbbpp Ypunnibkt htnbyuy

wkupp’
Z b, i=12,.

j=1

)

n+m+l

Zauylozcj’ j=l!29---’nv (6316)

i=]
icjx;’ > i:b,.y,o :
el

i=1
Yhpwnkjny 4.2.5 {kdp, wyjuntnhg unwbinud tup, np x° = (x,o s xg , ...,x,?)

-4 wnwght jutmph (oubnudt b, huly  y° =(,5..... y2 ) -t bpypopy
Jutnph (nudnudp:

Ujdd  bbpunptbp, np  wopwght  juwnugnnh  pojnp  owwnpufug
unpuntghwbkpm s,,,,, =0: fwbhnp A juwunp uhduphy b, ntunh

qpn t bwb Gpypnpy jounwugnnh owpnhdwy uwpunnbtghuyh Ypght
pununphsp: Cuwn 6.3.2 phnptdh, wjuntnhg htwnumd b, np wnwght

Jumwgnnh owwhuwy unpunbghugh ufupwp wpwwnpup A -h
ybpght yywt htw jhuwn ks £ 0-hg: Ujuyhuny, (6.3.16) hwdwlupgp

Yplnniih htnlbyuy wbupp'

Zax <0,i=12,..,m,

UMad]
J=

Za,jyf 20, j=12,..,n, (6.3.17)

i=l
chx;' > ib,yf :

j=l i=l
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Uju  yJtpght  wihujwuwpmpjut  dby  Yud Zc jx‘; >0, Yud

J=t

ib,.y? <0: Thgmp Zn:cjx? >0 u x'=(x,x},...,x,) Ykup wnwght
i=l

j=1
junph poyjwunpkh En E 2Epn b ounngl], np X +ax’ ytYunpp
poyjwnpkih b guijugus @>0 pyh bundwp b @ -b Jkswghtny,
wnwght jninph tywwwluyhb $nitbyghwt hupbih t wuytpe kdwughl,
niunh wpwght ninhpp ny uvwhdwbwihwy k, husp hwjwunud t pinptdh
wb Eupwnpmpjubp, np kpypopn jbnhpp poypunpbh B Ungb
Enuwbwyny, tpk Zb,.yf <0, wyw Yunwbwip, np tpypnpn ptghpt k

i=l

ny uwhdwbwtul:
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6.4 LLYErR 2UQUUUCS vOEr

Thwupynuip ujubkbp hwoykih puntphg, wjuhtipt wjbyhuh Juwnbphg,
npnkn X b Y puqumpmbbbpp hwpytih puqunipinibbbp b
X ={x,,x2,...,x",...} , Y={yl,y2,...,yn,...}: nwnugnnbkph Juweh
unpuunkghwbbpp vwhdwinymd b hwdwbdwb Jeppunp fawntpht
(bwipykih Juwntpmud Juwnwugnnukph unpunnkghwutpp
puqunipynibbpp tnybb  Bh) pP= ( Dys Pys--s Pn» ), p: 20,

i=12,.; Zp,. =1: Upwght puwnugnnh whmph H(p,q)
i=1

dwpbdwnhjuljub vyuwunudp Ynibkbw hknbyuy nkupp®

H(p.q)=2 ) phg, =Z‘Zq,ie,~p.- : (6.4.1)

i=l j=1 J=1 i=1

Uju  uwhdwbmdutphg Gpunwd E np Yuwpnn bu  wnwpwhbuy
ukthjujwub pupgnyplbp, apnbp sjuyht Jipguynp ghuypmd: bpnp,
(6.4.1) >wpptpp Yupnn tu ny dhuyh hwjuwuwp shtukh, wy tnyupuy
qoiquibin yihuk;: fugh wjuuythuh wnkjbhjuywb pdywpnipemiubtphg,
Jupnn tb (huk) bwb wjbyhup jpwnbp, npnbp snitukh pudnud tinyuhuly
juuntl vnpuntghwbph puumd: Atipkup wnuwhuh vh jpwnh ophtiwmy’

G =(N,N,sign(i—j)), npntn N -p wdpnny nppuwlwb  pytph
puqumpniul k: Yhgmp p= (pl, Daseees p“,...) -b wnwght jnunugnnh

nplk uvnpwnbghw & Lwbh np Z p; =1, wmyu gwijugws £ >0 pyh

i=l

hudwp gnymipnith muh wjuwhuph 7n,, nop Z p; <€: Zwpykup
i=ny

jwunuganh pwhoipp H(p,n,) bpwih&wymd $hpuws £>0 pih

ntypoud*

H (o) =3, (-1)+ T .

i=l i=ngy
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Uuwnbnhg wowehli wnugnnbh gublwgus  p=(p,, Pyr-ms Py»--r)
unpuwnkghwh hwdwp ins H ( D> ) =-1, nwwnp’
je
inf H(p, j)=-1:
supinf H (p. j)
Umu  Gondhg.  buyghubt b (hth  bpipnpy  punuganh
q=(q,,q2,...,qn,...) unpuntghwl, guwbjugws £>0 pyh hwdwp

gnjnipjnih niuh wybyhuh 7,, np Z qg; <& L, puthnp
i=nq

H(ma)=3a0.(+1)+ a ().

wyw supH (i,g)=1 kpypnpy juwnwgnnh pnipp wnpunkghwlibph
hunfwip: Ujuwnknhg' inf sup H (i,q) =1: Ujuyhuny,
L
inf sup H (i,q) # sup ljlels H (p, ]) , nwwnh wju Juwnmy
q i P

hujwuwpwlonnipjub hpup&wy gnympnih snih: Uju ophbwiyp gnyg
t vwjhy, np bnybhuy wibkbwywpq widbpy jpwunbkpnd gnnipjuih
pinhwinmp pbopkd sh Yuwpnn jhbk): Uwlugh ownkph npny nuubph
huwp uwynuhuhp pinpbditp wywgnigl] hwgnnynud t:

Yhuuplykup G =<X JY,H ) hwjwdwpwn juwntph pinhwbnip pbupp,
tpp X U ¥ puqumpmbibpp judwjulwb puqunipjnibtikp th, huy
H (x,y) -p uwhdwbwhwl hpwywbwpdbp Pnibyghw E  npnodus
nEjwpunjwt X XY wpunwugpjugh pu

Uunpuntghwitph X b Y puqumpnibitbpmd Yupbjh b bkpunsty
Utwnphljuw htnlyw] kpubwyny: Swijugws x’,x"€ X Ytubph hwdwp
uwhdwukbp*

p(x,x")= su)1’)|H (x,y)-H(x", y)| :
ye
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UWu pywughdtwnphyjwl, npp huynth k npybu 2khh (Helly) dtwnphyw,
hbgumpjudp  Yupbih Jbpwdky Jvbwphiuyh, fmpu  qgkind X
puqumpmihg YpYinjnn unpunbkghwbitpp: Snwyninghwt, nph hhupp
Juqumu Eb wju Ykwnphjuyny pug puqumpynibbtpp, Ynyynud b pbwfuwl
wunwynngpu, huly dbnphlwl' phwlwé dbwnpplur

T st unmgky, np phujwt winyninghwt Yupbih t jurmgk) bwb
wy] Swhwwwphny: Swijwgws x°€ X Yhwh U £>0 hwdup
uwhywlkbp

B, (x°,£)={xe X :s:?|H(x°, y)—H(x,y)| < 8}

2pgwyuwypiph hwdwlwpg: Uju opgwljuyptph huniwlupgny Yuquyws
wunyninghwh hnphg phwjwt ninyninghwt k: Liwbwyty,

B,(y°.¢) ={ye Y :sup|H (x.y°)-H (x,y)l < e}
xX
onpgwluypiph hhdwh Ypw, jud
p(¥'\y")=sup|H (x,y)-H (x.Y")
dtwnphyugh hhtwt Jpw Yunmginud t Y puqimpjubl phwlfub

wnnynjnghwh:

hunwugnnutph  jwnb  unpuwnbtghwbtp  wwhdwbbim  hwdwp,
bupuynp t X bt Y puqumpmbibbpmd ubpdmdk;  ywhbjh
huwlupqtp: Sy -nd b S, -ny bpwhwlkbp hudwywwnwupwbwpwn

X u Y  puqimpmubbph  bhpwpwqumpmuubph  O-
hwtpwbwhyukp, npnbg Ypw wruydd uvwhdwbwhwimdbbp skbp
numu:

Uwhdwinuf 64.1: G =<X Y, H ) jwunnuwl wnwght juwnugnnh juwrt

unpuntghw k Yngynud (X Sy ) suthkjh nwpwdmpjwt Ypw npnpjud
hwjwbwwbught yuhp: Gpypnpy punugnnh jpwet unpuntghw k
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ynpynud (Y Sy ) swhbkjh  wwpwdmpjubh  Jpw  npnygud
hujubwubwght ywihp:

unugnnubph jpwnt unpuntghwubph puquUnmpnibbtpp bywbhwlkup
huwdwywwnwupwbwpup M, -nj b M, -ny:

Zbnuwqumd  H (x,y) Inyghwt Ghpunpymud & uwhdwbwihul b

suhtih (X xY,S, xS, ) swthtjh wwpwdnipihbtph wpuwnpuyh

tundwdp: buyybu b Jtppunjnp nptypmd, wpwehth jwnugnnh
owhnypp 4 b V juunh unpuwnkghwitp Yhpwntihu vwhdwinmd t

npybu pwhnyph H ( /l,V) dwptdunhjujwt uyuwunmd®

H(uv)= I H(x,y d(uxv):

X

Lowhwykhp®

fubhnp H (x, y) $nmuyghwt Ehpunpymud £ uwhdwbwhwy b ywihbph,
nwuwnh, punn Smphuhh ptnptivh (ntu 2uybpwd )*

H(pyv)= !H(x,v)d,u=!H(y,y)dv:

Puywhu wppkb bodkp E h wwppipmpmb  Jkppuynp juwnbph,
punhwbimp nhypnud Jupnn t gqnjnipjnih smubktiuy
hwjwuwpulrnnipjul hpwyh&wy, uwuyb, npny nhypbpnud, upbh k
guhijugwd yunhny Unnbbwy wyn hpudh&wyubph: Ujuwhuh nypbph
hudwp vwhdwbtbp hwjwuwpwlyrmpjui thnpp huy pnyp wppbpul:
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Uwhumbnul 64.2: Spfwd £>0 pp hunfwp (4°,v°) hpunfhdulp
wijuwind kb € -hwjuwuwpwlonmppull - ppunjpdwy, tpt pnnp

MHEM, Wve M, hadup
H(uv)-e<H(u v¢)<H(u'v)+e: (6.4.1)
2kunlyuy yinmup wywugmgymu k 6.2.2 pinptidht hwdwbdwi:

Ptnpl 64.1: Npybugh G=(X,Y,H) prupnuf gublwguws € >0 pyp

hwdwp gqmpmbé mbbkbw € -huwjuwuwpwlppmpyul  ppunhdwl,
whhpwdlrwn kb pujupuwp, npybugh

vEM,

sup inf H(u,v)=inf sup H(u,v): (6.4.2)
HEMy veMy HEM y

Uju YpYbwyh tpunpbdnwdbbph pinhwinp wpdtpt whjwimd kb G
Jnwnh wpdtp b bywbwlymd V(G )-ny:

Uwhiwtowl 6.4.3: G=(X,Y,H) hunt wijuwhnud &b anghi npnguy,
tpt H (x, y) Inmajghwt pmjwpupnud k (6.4.2) wwydwhl:

Rtpkup Up vwhdywinwd, nphg htnwquinud oqunkjne kup:

Uuwhdwbmdf 64.4: X nnynjnghuwt wwpwdnipymbp Ynynud k
bwpuynfyulpn  nupwsmpmb, tpk gubjugws € >0 pyh hunfwp
gmmpjmt  muh  bpgunlop  £-gwbg, wjuhbph  YEpgunfop

X ={x,,x2,...,x"] C X tupwpwqunipnih, np X =UB(x,.,£):

i=l

Piopkd 641: tpt G=(X.Y,H) hwjudwpin pugmu X & Y
nwpwémpymbbbpp bwpwndywlpn b phwlwl wnnuyninghuynid,
wyyw puwnp jhnyhl npngpuy &

Uwwgnyg: Shputup npik £€>0 u phgmp X°© ={xnx2v---vxm} '
Y ={y, Yy} Y puqunipjm itpp € -gugkp kU
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hwdwyywwnwupwbwpup X b Y wwpwdmpmiubpoud: Yhunwpybup
G* =<X &Y' H E) ytppwynp hwhuwdwpn jwn, npnky H-p H

$niljghwp  ubnunwib k. X°XY®  -h ypw,  wjyuhlpl,
Hf (x, y) =H (x,y) PDIDp (x, y)G X*xY* hunfwp: Uunphgught

hunbph bpubwlw 63.1 phopbuh huddwdwy, G°=(X°.¥*,H*)

punmi  quupmb mup  (p*.q°).p° =(Pyr Py Pa)s

q‘ =(ql,q2,...,q,,) hujuwuwpulormpjut hpuyghdwly’
LH(x.y,)a, <X pH(x.y,)a, < pH(x.y,) 649
j= i=l j=1 i=1

mop x€X® u y JEY ©  hudwp: X  wnwpwdmpjub
hwhwynuyuljumpmhg htnbnd t, np guijuguws x€ X  hwudwp
qnipjnit nibh wybyhuph X, € X, np

supIH (xy)-H(x, y)| <€
ye¥
nwunp’
|H (x,y)—H(x,.,y)l <€
Fopop y € Y hwdwp b, wyn pynud, pojnp y; € Y¢ hunfwp’
IH xyl) H y])|<£
Ujuintinhg

H(x,yj)—£<H(x,.,yj), j=L2,...,n

Uju  whbhwjwuwpnipjnibtphg  jmupuwpwbympp  puquiuywunybing
bpypopn pownugnnh  ¢° =(4,.4;,-q,) owwmpuw) wnpunnkghujh
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hodwywunwujpwb  pununphyny b gnuiwplny uwnwugud
wbhwwuwpnpnibbpp, junwbwbp'

S H(xy,)a,- 60, <3 H(xny,)a;

Jj=1 j=1 j=1

Ujuyhuny, gwbjugws x€ X hwdwp gnympymb mbh  wjhughuh
x,eX £, np

zn:H(x,yl) £<ZH(x‘,yj)q

j=1 j=1
Ujnwu Ynnuhg, (6.4.4)-hg htwnbinud E, np popnp X, € X° hudwp
Shlanr)a <SS pm ()
htwnbwpwp, pnjnp x€ X hwdwp®
ZH(x,yJ) £<22p‘ (x,,y]) (6.45)
jel i=1 j=1

Zunfwindwb alny, oquiytiny Y nwpwdnipjub
twhwlndwywyunmpjnbhg, Ywpth t gnyg wwy, np pnpp yevt
hundwip’

iil’r” (x,-,yj)qj <Zm:P,-H (xpy,)+£ (6.4.6)

i=1 j=1 i=1
Uhwglukjny (6.4.5) b (6.4.6) mbhunjwuwpmpjnibbitpp, junwbwbp

zn:H(x,yj)qj —£<iip,H(x,,yj)qj <ip‘.H(x,,yj)+£(6.4.7)

je=! i=l j=1 i=l

poinp X€ X b ye ¥ -h hundwp:
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ufudwpnn G = <X JY,H ) mwnnud  Juwnugnputph  juwnb
unpunbghwibpp vwhdwbynud kb npybu hwjwbwluyhbt ywihtp
hudwywwnwupwbwpwp (X Sy ) u (Y, Sy ) surthkih
nwpwdnipjntubtph Jpu: Ywomghip ghuyptnn  hujwbwlwbughb
ywhtp 4° U v* hbwljuwy Yhpy: Swhjuguds A CX,A€S, U
gubjugws B CY ,B €S, hudwp

w(A)= Y pivi(B)= T qy:

ix€A J:x€8

Ndjup sk uinmghy, np jurmgjus puqumpjut pmbyghwbbkpp hpnp
huwjwbwlwbwht ywhbp kb

H(u'y)=[H(xy)du =§:P«~” (%)

H(x.v‘) =!H(x,y)dv‘ =i—lH(x,yj)qj.

H(#‘,V‘)=XLH(x,y)d(ﬂ‘XV‘)=iz::jz:l:1’i”(xi'yi)qf:

Stnuinptiny wju wpuniwhwyjnmpnibutpp (6.4.7)
wihwjwuwpnipinibitph Uk, Junwbwbp®

H(uv)-e<H(u v )<H(u'v)+e
pninp x€ X b yeY hwdwp, uyuhbph ( M ve ) hpuwyhfmyp €-
hujuuwpwlrrmpjut hpudhdwy t G = <X Y, H ) Juwnnud:

Uydd nhunwplkup hwjudfwpwn wnbpp jupbnp wubwynp nbwp, tpp
X u Y puqunipnibibpp hpwwb wewbgph hunygwsubp bo:
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UwhdwtmJd 6.44: G= ([0,1],[0, 1],H (x, y)) hwjwdwpwn ownkpp
wijubmd b prunép vpwi/np purwlnium Jpur

Uju dwubtunnp nhypnud, huyuytiu puymjud k
hujwiwjwbnpniubbph  wtumpminud (nku  Zwydbjws), sywihbih
puqumpjmbutpp  Yhupunplth  ppwjwb  wnwbgph  pnphpub
puqumpimubkpp, hu npybtu juweb unpunkghwbtp phnniiwd t
nhuwpyk] pujagdwb $nitbiyghwbitip:

Uwhdwinud 6.45: Uhuynp pwnwlniumt ypw jmunbkpnud wnwghb
jownugnnh  jpwet  unpuwnbghwt  uwhdwiynd t npybu [0,1]

hunnjush Jpw npngquwd  F(x) $mblghw, npp pujwpupnul t
hwnbyury wwylubbkpht®
F(X)<F(x"), tpt x'<x”
F(0)=0,F(1)=1,
F(x)=F(x+0),x#0:

bpypnpny  juwnugnnh  jpwret uwpwnbtghwt  uwhdwbymd
hudwbdwbinpbb: vunugnnh swhnyph dwptdwwnhjujwh vywundp
Juwrt unpuntghwbtph oguugnpdimb Wuydwbhubkpnid uvwhdwymu k
(huyybu b pugminws t hujwiwjubmpmubbiph wnkunpniinud)
npyku Unhpngtiuh htwnkqpuybibp (ipk gnymipyni mbith)*

H(F,y)=|H(x,y)dF(x),

© G —

H(x,G)= j.H(x,y)dG(y),

H(F,G)=

© Sy
© Sy —

H(x,y)dF (x)G(y)= le (x,y)dG(y)dF (x):
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Uwhdwtnwd 646 G = <[0, 1],[0,1],H (x y)) bwjwdwpn |Juwnh
wijwbnwd b wipbghunn fjuun, bpk H (x,y) $oilghub wiptghwn k
[0, 1] X [0, 1] pwnwlniunt Ypu:

[k 64.1: Ulbpbnhunn Juunbpp bwpwindyuwin b phwlwh
UEnphluymd:

Uwwgnyg: fFwuh np H (x,y) Pntiyghwt Lupunpyt; b whpinhwwn
thul] vwhdwbwhuwl puqimpjub Jpw, wyw wyt hwyjwuwpuywih
wbpinhwn t: Uw bpwbwynud t, np gwbjugus € > ¢, >0 pydkph
hufwp gnjnipynit nth wytighup & >0 phy, np kpp |x' —x’l <J, uyu

pninp Y€ [0,1] hudwp®

|1 (<,y)-H (x"y)| <6,
mutnh,

sup IH (¥,y)-H(x", y)l <g<E:

yelo0.]
Uukpk k np Jvhwynp hunjwdp btwhwyndyuljun t EJyhntuywb
Ubwnphjuymd: Ujuyhuny, gwbjuguwd £€>0 pyh hudwp gnnipymb
mbh wjbwhuh 6 >0 phy, np J -guugp Eyyhntuywi dknphfuynud
hwbinhuwbmd t € -gubg phwjwb JEwnphlugnud:
Pinpkd  642: Ubpbphunn  juupbpnmid  goympyml nibip
hunjwuwpuwljppnippub ppudhdwl:
Uwwgnyg: Lwpnpn (kuhg htnunwd E, op wbpbnhuwwn  fwnbpp
twhwlndywlun kb, htwbwpwp, pun 6.4.1 ptnptvh, (hndht npnojuy
kl: Muwnh, gubjugwd € >0 pyh hwdwp gnjnipnih nibh ( F°, G‘) E
-hujuwuwpulppmpjub  hppujpdwl: dkpghtbp & >€,>...>€, >..
pytph Wjwqnn qpnht  qniqudhwng hwenppujwimipnib:
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Snmipwpwbyymp E,-h hwnlwp qnjnipjnth nth £, -
hwjwuwpwlsrmpjut hpuhdwy

[H(x.y)dG" -£<[[H(x,y)dG"dF" < [H(x,y)dF" +£ (6.48)
[} 00 0

Uuwhuny, uwnwind bthp pwjupdwb  Imuyghwbtph  Gpym
hwgnpnujubinipymb* {F e"} b {G"‘}: Cuwn 2khh wnwght ptinptvh
(nbu Zubpws ), wju hwgnppujuiimpimbbtphg Jupkh b pwnply
gphipt witumpbp gniquipwning ipwhwenpymijuwimpymutbp: Unwbg
punhtipmpmbp puwjnbm Yupkih t bpwnpky, np {F "} b {G“'}
hwgnpnujuim pynibiiph kb qniquithuinn: Uju
hwgnpnujuimipymubbkph  wwhdwbughtt  pugjudwb  Incuyghwbkpp
towbwykip hwlwywwnwupwbiwpup F 0 (x) -nd U G° (y) -ny:
Thuwpytbp htinbjuy hptnbqpuybpp’

iH(x,y)dF" iH (x,y)dG*:

0

fwbh np H $miulghubh whpinhwn t pun kpynt thnthnpuwlwbh, huy
{F ”'} L { Ge‘} hwgnpnujuimpmibbtpp  hwdwpuw  wdkbnpbp

qniqunipunnud b F° (x) LG’ ( y) $niyghwbikphly, niunp, pun 2kjhh
kpypnpy plnpbuh

1 1
lim | H (x,y)dF* = [ H (x,y)dF°
0 0
ponp $hpuws Y€ [0,1] hunfwp, b
1 1

lim [ H (x,y)dG* = [ H (x,y)dG*

0 0
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1
poinp $hpuwd x€ [0,1] hwiwp: Ujinthkwnb, pwth np IH (x, y)dGo
0

puunkqpuip wbpbinhun k punn X -h, wyuw, tpint whqud Jhpunkinyg
2kihh Gpypnpn pinpbdp, junwbwbp*

lim j’ j H(x,y)dG*dF* = J’ j H(x,y)dGdF"

R—oo

Uydd, whghkjny uwhuwbh (6.4.8) mthwjwuwpnpnibbipnud b hwgyh
wnttiny, np £, — 0, JEpghwlywbwyibiu junwbwbp

t 11 1

[H(x.y)dG’ < [[H (x,y)dG’dF° < [ H (x,y)dF°

) 00 )
pnjnp X€E [0, 1] b ye [0, l] hunfwip: Uw i bowbwlnud k, np (F O,Go)
qnuyqp hwjwuwpulprmipjwt hpwyhdwy ' whpinhwwn jpwnnud:
Zkunljuy phnpbdukpp pny] Eb viwphu npny dwubwynp phypbkpmd
quik) bl jpwnwugnnutph dwpnip oypunnhdwy unpunbkghwbkpp:
Ptapis 643 tpk G=([0,1],[0,1], H(x,y)) wiptphun pumnust
2whnyph pniblghwh gngunjnp I pun wnwphl  shnnprulubh’
gublugué phpuws y€e [0, l] -h hundwp, wyw wouphl frwqugnnb
mbh dwpmp owunhduy winpunnkqhw:
Uwwugnyg: £wth np H (x,y) Pntjghwt whpinphwwn E nwunp
wnwehti juwnugnni muph owwhdw|, punhwbmp nhypnud pweh

1

unpunkghw: Thgmp ugh F° (x) 4kux’= J.xdF 0 (x): Uyubwyn E,
0

op x*€[0,1] b Ywpnn t hwwpldb; npubu wnwghl Jwumugnnh

Uwpmp uwpwunbkghw: Spnhtup [0,1] hwwndwdp n7+1 bhwjwuwp

Uwukphp* O=x,<x <x,..<x, =1 h hpwbwmybup’
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A =(F°(x,)-F°(x)): Puwpjniwb $mblghwjh uwhiwbnuthg
htwnbnwd L, np A4 20,i=0,1,..,n 4 iﬂi=F(l)-—F(0)=l:
i=0

H (x, y) Imihghwt hpunpll) t gnquuinp punn X -h, htnbwpup,
guliljugud phpuwd y€ [0,1]-h hufwp®

B3 A5y |2 A0 (50):
i=0 i=0
Uphiphtuh htunkgpuh vwhdwtinuuhg

x —deFo(x hmZ:x(F0 (%41)- F°(xi)),

n—oo

-(i:H dFo —hmZH x,,y)(po(xm) Fo(xi)):

2wojh wnbbny, np H (x,y) Imbjghwt whpunhwwn k, wjuwntnhg
Yunwbwbp*

H(ixdF° J ! H(x,y)dF°(x):

Ujuhlipl, H(xo, y) 2H (Fo, y) pnnp Y€ [0, 1] hwdwp: Uw
tpwbwlowd & np x° dwpnp unpunbghwb owwhuwy b wnwght
jrwnugnnh hwdwp:

Unyt Enubwlny wuyyugnigymud b bwb htwnbjuy pinptdubpp:

Plopkd 644 tpk G=([0,1],[0,1],H(x,y)) whptphuna prugnid

pubnypp Pmblghul momghy t pun bplpopy shnipnpiugubh’
guililjugus Sppuws x€ [0,1) fbwnp hunfwp, wupw Epypnpy prugugnnl
nibp vwpnip oyunpuy uinpunnkqhuw:
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Plopkd 6.4.5: bpk G =([0,1],[0,1],H (x,y)) wtptphunn prupnut
owhnyph  pmblyghwl gnquijnp L pun wnwghl shnghnfuwlubh’
gublugws $hpuws y€ [0, 1] Ytwnp hwdwp b ninmghly E pun Eplipnpy

thnipnpawlubh ' gublugws Jhpuws x€ [0,1] Ybwnp hwdup, wyw
fpupnud gympgnil nilip hunjwuwpwlpemppub ppunjpdwl Jdwpnmp
unpunabghwbbpnid:

Ophliuly 6.41: “Yhwunwplkup htwnlyuy Juwnp*
G:([O,l],[o,l],(x—y)2>: Upu Jowunmd (x—y)2 $niijghmli pun
tpynt  hnhnpwubiatph § mpmghly b nuwh, hudwdugh 6.4.4
phnptuh, Gpypnpn pwnugnnt nitp dwpnip owwhdw) unpunbghu:
Ujuwnknhg,

R 2
V()= minmax(x-y):

2o k wnkuliky, np

max
x€[0,1]

. [(1-y) y<y2,
(x-y) =",
yy2Y2

Zknbwpup, V(G)=g%(i)?]gl[&)l(](x—y)2 =1/4 u kpypnpn juwnugnnh
oyupuwy wnpunkghwt y° =1/2 b Unwghti juwnugnnh owwnhuuy
unpunkghwb gkt hundwp upkh b oquyk) wjt thwuwhg, np
oyunhdw) uwnpwwnbghuyh uybtiwph YEwnbkpp whwnp bt pwjwpupkh
htwnlyjw) hwjuwuwpdwbp  (wju  hwalmpmbp  dbwibpygyl tp
ytippwynp juwnbph hundwp, uwluyt wnbknh nbh bwh whpinhwn
Jwntpoud)*

H(x,y")=(x-12)' =}/4=V(G):
Ujuinbnhg uinwbimd kup bpym Y x =0, x “ =1: Mdjup 3k unnmghy,

np wnwpht juwnugnnh owwhdw) uwpuwnbkghwl  hkwnbjuy F°
puphudwl pmbljghmi £
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1/2, 0<x<1
1, x=1

F°(x)={

Thwuwplktp twh lqyon pwhmyph $mblghwbkpm| hwntph vh guu:
Runtp vhunp punrwlniunt Ypw, npuntin swhnyph Pnibghwt mup
lugnud punuljnium whmbwugdh Yypw b whpiinhwwn b whlyntiugdhg
nmupy, hwbnhynw! b ugb ghiypkpmd, Epp wnugnnh wvnpuntghwb
dudwbuwyh wjwhh piwpmpmbh £ b swwn kwjwb k, pk np juwnugnnp
Yyunuph wnwehl pwipnipnitip: Tdjup sk unnigly, np wju jewntpp
btwpwniyuln skb b Quynh phnptdp Yhpwnbkih sk wwljuyh wp
Jnuntpp tnyuyybku nbkh pudmad:

Plapkd 646 Ept G =([0,1],(0,1], H) puupndl pushnyyph $niblghut

nbp hlwnlbyuy wnkupp
L(x,y), x<y,

H(x,y)={9(x),x=y,
M(x,y), x>y,

ply opmd L(x,y) & M (x,y) Pnblghwblpp whpbnhunn kb hpkhg
opnpuwl  knwblymbhbbph pwhumb Jpu b guwbljugws x€ [0,1]
bwup ¢(x) dmblghuyh wpdipp pblws F L(x,x) b M(x,x)
wpdtpbtph dpol’

min{L(x,x),M (x,x)} <p(x)< max{L(x,x),M (x,x)},

wyw G fuwnnud gyympnih mbh hwjuwuwpwlonnippub ppunjhdwl:
Uuyyugnyg: Luju gnyg nwtip, np G fwnp {hnyhb npnggws t: Ykpghtup
€ >0 juduyuwlywt ppuljwb phy: Lwbh np L(x, y) u M (x, y)
Inuyghwmbtipp hwjuwuwpwymh whpinhwwn b, wyw gnynipjnih nh
wjtwhuh >0, np tpp |x’—x'| <, wyw poinp Y€ [0, l] Ytwntph
hunfwip wtnh muh’
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|L(x',y)—L(x',y)|<£ 645
IM (x',y)—M(x',y)|< £ 49

b tpp |y' - y'l <0, wyw pninp X€ [0, l] Ytwntkph hudwp wbknh mup
|L(x, y)-L(x, y')| <€
|M (x.y")-M(x, y')l <€

Yuduwjwlwbnpth pwnpkbp’

(6.4.10)

O=x<x <..<x,=1

Yhnbp wjbwbu, np x,, —x, <6 popp i=0,1,..,n—1 hunfwp b
ytpghktp Y, =X, i=0,1,..,n-1: Lywbwlbup®
X*={x0 350 2 1Y = {30, Y500 Y} u nhwwplbbp
G*=(X*Y*,H) (tppuiop huluniwpn uunp: Munugnnbbph
ouwhuuy unpuwntghwukpp G* Juwunnud bpwbwlkup
hufwywnwujpwbwpwp pE = (po, ) /N pn) b q‘ = (qo,q,,...,q,,):
Ujuwhuny, pnpnp X, € X, y; € Y* hwdup

H(x,.,p‘)SH(p‘,q‘)SH(p‘,yj): (6.4.11)
Ljunntlp, np
H(p%y;) =Y xL(x.y,)+x0(x;)+ > xM(x.y;):  (6412)
i<j i>j
Ykpgubp Judwjulwh yE€ [O, l]: bupwnpkhp, np
yeY® ye (yj,yjﬂ):ﬂl.hhhp‘
H(p‘,y)=le.L(x,.,y)+Zx,.M (x.): (6.4.13)

isj i>j
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Bupunptlip, np
¢(xj)SL(xj,xj): (6.4.14)
Zwukiny (6.4.13) wmbhwjwuwpnipniip (6.4.12)-hg, junwbwbp

H(p%.y;)-H(p".y) =Zp.-L(xny,-)—§p,L(X.-,y)—

i<j
—p,L(xj,y)+pj¢(xj)+Zp,M(x,.,yj)—Zp,.M X
i>j i>j
= Zp,.(L(x,.,y,)—L(x‘.,y))+pj(¢(x.)—L(x,,yj ))+

i<j

+p(L(x.y,) = L(x, YD+ 2 p(M (x,.3,) M (x,.):

i>j

Oquykjny (6.4.10) mthunjwuwpnipjnibiutiphg,
H(p"y,)=H(p")s Zpe+petpo(x)-L(x. 7, D+ T pe

i>j

b, huipyh wrlkiny, np Z P, =1 U (6.4.14) wuplwhp, Jkpghwywbuyku
i=0

Junwbwbp, np pninp y€ [yj,ym]; Jj=0,1,...,n—1 hudwp’
H(p‘,y)+£_>_H(p‘,yj): (6.4.15)
Uy Ehpunpblp, np
¢(xj+l)SM(xj+l’xj+l):
Uju niypnud’
H(p%yu)-H(p"y)=Y pL(%.y,4)-L(x.y)+
i<j+l

+pj+l(¢(xj+l)_L(xj+l’yj+l))++pj+l(L(xj+pyjﬂ)—
—L(xj+l’y))+ Z P;(M(x,,y,.,,)—M(x,,y)):

i>j+1
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U, puiywtu b yEplmd,
H(p*.y)+e2H(p".,.)

poinp Y€ [yj,yjﬂ]; J =0,1,...,n =1 hundwp: Ujuyhuny,

o(x)< max{L(x,.,x,.),M (x,.,x,.)}, i=0,1,..,n

nkypnid gwbljmgus y€ [0, l] hundwp goympih mbh y; € Y,
wjbyku, np’

H(p’,yj)SH(p‘,y)+£:

Uju wihwjwuwpmpmiip vhwghting (6.4.11) wihwjwuwpnipjuh htwn
unwinud kbp, np popnp y € [0, l] budwp’

H(p‘,q‘)SH(p‘,y)+£: (6.4.16)
Lluh nunnnmpnbukpny juptih t gnyg wviwg, np
@(x,)2min{L(x,x).M(x.x)},i=0,1,..,n
nhwpnud gubjugus x€ [0,1] hunfwp'
H(x,q‘)—sSH(p‘,q‘):

Uhwgbiny wju wbhwjwuwpmpnbp (6.4.16) whhwwuwpnipjubp,
Yunuwbwbp, np pnjnp X€ [0, l] , YE [0, 1] hudwp

H(x,q‘)—esH(p‘,q‘)SH(p’,y):

Lyutmbktp F°(x)nd b G°(y)n] wunhfwbuyht puphnfwh
dmiyghwbtipp, npniip hwdwywinwupwbwpwp mbkh p; pehypltp x,,
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i=0,1,..,n Yhnbpnwd, b g; pohypubp y;, j=0,L...n Yhwnbpmu:
2wh wpbtyny, np’

H(p‘,y)=iz;:p,H(x,.,y)=‘(i:H(x,y)dF‘(x)=H(F‘(x).)’).
H(xq*) =Y. 2 H(x,)q, IH(x-y)dG‘(Y)=H(x'G‘(y)),

i=0 j=0

H(p*a") =33 pH (x,7,)a,=

i=0 j=0
“H y)dF* (x)dG*(y)=H (F*(x),G*(»)),
00
(6.4.17) mbhwjuwuwpnpiniip junwbw hinbyug wkupp’
H(x,G‘ (y))—eSH (F‘ (x),G'(y))S H (F‘ (x),y):

Un b wuwiwynd & nop (F(x),G°(y)) bpunpswip &-

hujuwuwpulopnipjmt hpun]h&wy k G juwnnud:
2ujuuwpulpppnipjubt  hpudhdwyh gnmpnitp wywugnmgynud  t
ungliygbiu, hiyugku 6.4.2 pinpunwd, oquuytiny 2kihh pinptidutphg:
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6.5 4NNNErushd vOEr

Unyb pwdbh ulqpnud (4w 6.1) uwhdwblk) kip 72 juwnugnnh juwn
tinpuw) wbupny npytu G = <I,{S‘.}El ,{H,.}EI) hunfwlupg, npunty’
I= {l, 2,...,n} -b munugnnutph puqimpmbt t, S; puqunipjnibttpp
jwnugnnutph  uwnpwunbkghwbtph  pwquUmpmbbutp b,  hul
H,(8:8;0-5,) dnulyghwitpp  jwnugnnukph  whnyph
dniajghwmikp kb: Uwjunb wybnbn phuwpyynuwd tp punh wunwghtp
wwppbpuyp, wjuhtpt uyb wwppkpuyp, pp pwnugnnibtpp hpwynibp
smubkl yuypdwbwynpytim dhthwbg htn b Juquk] nuohtipubp Yud
Ynuhghwbkp: Ujdd nhuinwpltvp wyb nkupp, kpp wnugnntpp jwpnn
th Jvhwynpyb;: Thgmp pwnugnnubph uh pumudp dhwynpyly E o
untndty 7 €/ Ynwhghw: Uy nhypnid 7 Ynwihghuwyh dwpupduy
wywhnjw$ swhmypp’ v(T)-h Yupkh E hwpyk) htnbjw) pubwdbny]
(nbu i 6.2 )

v(T)= Tlg}fen/r\lr TH(s,,sz,...,sn):

tupwnpktp twh, np Ynwihghuyh pughwimp pwhnypp Yupnn t
Judwjwhwinpkb pwphfl) Yowihghuph winunfubph dhol: Ujuwhuh
hwnkpt whwind b punép §aplwlp Jdwpnidbbpny: Ujunihtan
ghuwpyyine Bu dhugt wyuythuh punbp: Uju pugkpoud pwnugnnh
unpuwntghuyh pnpnipnitip phjugpynud t ynwhghuyh Ynndhg, npht
tw winudwlygmy k: Ujuyhuny, punugnnh b gnpénnnipjniubbkpp, U

2whnypp jujuwsd kb vhwyh Ynwhghwtph swmhnypltphg: Zknbwpwp
Yupkh t Jbpwbw) jpwnh ujqphuljwb vnpuntghwliwb pinyphg b

nhuwpyt) huyh v(T) Inyghwtn:
Uwhdwbnd 65.1: [ pwqinipjwi ponp  Lipwpwqunipnibiibph
PuqUumpjut  Jpw  npnoYwd v (T) hpwjwbwpdtp Pnculghwmt

wijwbmd tu phmpugpps $nibhghw, tpt ujh pujupmd t htnbyuy
yuplwbbbkphl®
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1. v(3)=0,

2. v(SUT)2v(S)+v(T),TNS =: (35.1)
Ujuwntn tpypnpn wyupdwbp phuub £ b bpwbwymd t, np dhudnpbing
Juwnugnnutpp jupnn b dhuybh gwhb;:

Uwhdwimd 6.5.2: Ynnylpwmnpy n pwnugnph pwn wiuimd b
(I ,v(T)) qnugqp, npnkn 7 ={l, 2,...,n} puqunipjnibp nwnugnnubph
puqunipimub t, huly v(T)-h (65.1) uwhdwiwbp pwjwpupng
pumpuigphy dnrbiyghu:

Ujuhwyn t, np wdtbwudbs v(I ){_ﬂn}hmhmp owhnypp jwnugnnubpp
junwbwl, tpt ponpp Yhunnpybh: Uju niypmid hhdtwljwb hwpgp
punhwbnip ywhnypp wnuganbph heh wpnwpwugh pwdwiky k:
Uwhiwbnuf 65.3: Unnubpunahy (1,v(T)) punaud x =(x, %,,...,%,)

Ykjunph wijubnwd b pwdwip, tpt uwyt pujwpwpnud t htnbyuy
Epyni wupdwbbtpht®

1. gx,. =v(1),

2, x 2v({i}).ieI:

vunnuwd pninp  pwdwbphtiph puqumpmibp bwbhwyktp X (v)-ml:
Pudwbph uwbhdwinmuhg hbtwbmd L, np pughwbimp jwhnypp
udpnnonipjudp bt pudwbymd jpwnugnnutph dheh b jnipwpwbynipp
unubnd £ ny yuljwu, pmb tpk punu hwybul:

Uwhvwbnud 65.4: (I,v(T)) hunt winjwbnul &b barjwb o, bpk

Zv({l}) <v(I ): Ujukph k np hEwnwppppmpimb tkp{uyughnud kb

i=1
vhujh twjwh jpwntpp, pwth np ny twjwb jpwuntpnud gnjnipynit nith
uhuyh Uby pudubp’ x, =v({i}).ie I:

- 166 -



Ynnykpwnhy hwntph hpftwhwb jbnhpp Jujugnybt pudwbpltp
quikjb E Lujwmgnyb pudwmbputpp qubtm hwdwp bwju vwhdwukbp
pudwipubph qbpunuwubjhmpjut hwpwpkpmpnibp: thgmp fjuwnnud
x-p b y-p tpym wwppp pwdwbputp Gh:  Lwbh np wju Gpym
ytyunputiph puwnunphsbtph gnudwpbtpp hwjwuwp tb, wyw x
pwdwbpp dkntnm Yihtth pwnwugnnutph vh ywuht, y pudwbpp’ Ukl
wj] dwuht: Uwluyb, npyhkugh jwnugnnutpp wunkt wju jud ugh
pmdwliph Ypw, bpwlp wbkwp t wyn hpwymbpp mbbbwh: Uw
hwigkgunud £ htnlyjw) uvwhdwbdwb:

Uwhdwbnuf 655 Uumd b, np x=(x,X,,..,x,) pwdubpp

qkpunuubih by =(y,, ¥, ¥, ) pudwliphg punnS C 7 Ynuhghwyh,
b ipwbwlnud ku x Z— Yy, tpt

1. x,>y,i€S,
2. D x <v(S):
€S

6] juuklp, np x pwdwupp qgipunuubh t y pwdwbphg' x> y, tpk
qumpinih muh S €/ Ynwihghw, puw nph x >y

Pwdwbphkph qtpunuubjhmpjwt vwhdwbmuhg tpinwd E np uwm
pujuljwiht “quwn” hwpwpbpmpit £ ophtwl wyh Yuwpnn t
npuwiqhwhy sjhutp;: Munp Yoybpunhy] hunbpnud owpnhdwnipjwb
ujgpmibp uwhdwhbbjp Ywplnpugnyb jubnhpbtphg b Zujunbh Gu
oynhiuympjub ulyqpmbpbtph pwquuphy uwhdwbnidbbp, npnbp
Yhpunymd tu wwppkp npppubkpmd: Ujunbn  Ynhuwpygbh wyy
uyqpnitipitiphg uh pwihup:

Uwhdwtmd 6.5.6: Fwdwhipitph V €/ puqunipjnip Yngynud t N-M-
méned; Yud wpupquybu nusmd, kpt V' puqunipjuwt ny Uh pudwp
qipunuutih st Umuhg b guwblijmgwd ye€V pwdwiph hunfwp
qonipinth nibth wybythuh x€ V pwdwbip, np x> y:
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Uwhdwmtmd 6.5.7: 2gtpunwuynn pudwbphitph puqumpinibp Ynyymud t
Juunp dponiy b bywbwmd & C (v) -ny:

“Shuwpykbp jpwunh mddwbh b dhgmyh npny hwnmpyniibbp: Zwpnbh
kb jownkp, npubn nunulubpp paquwphy bb, vwfuyb jurmgyud ku
twb hwnkp, npubn mdmd gnmpmb ymbh: P wwpphpopnib
(v, dhemyp, kpt qunwpl sk, wyw dhwlb k pwunmd b phjws k
nddwh Ukg: wnh Uh jpdmud yh Ywpnn phjwd huky JEY wy imsdwl
Ute: bpnp, qh?m.p ['umqnul qmnipjnih mbkb kpyn” V7, V; pudmudutp,
pun npnd V' CV® Bpt ye V\V’, wyw, puwh np V'-p mdmu t,
qnnipjntth mh wjbywhuh x€ v’ np X>Yy: tu hujuund k wjh
wuydwihb, np V’-E (nwnud k: Ujuwnnbnhg b wyb thwuwnhg, np dhgnilyp
pujwd b mddwb JUkp, hkwnbmud t, np kpk dhgmlp hwdpulumd t
nwdwt htwn, wyw pdnulp vhwyh k 2knlywy pinptdp punpngmud t
hgmyh Yunmglmbpp:

Pinpty 65.1: (1,v) punp C(v) upgnilp hunpbiptmed b

E={xeX:§x,.2v(S),SCI}

puqunipyuh hkwn:

Uynugnipg: Yhgop x€ E: bph x¢ C(V), wyw whwp k£ gonipimb
mbkuw y€ X, y > x pudwmbp: TYhgmp y?x , wjuhliph

Y >x,i€S,

;y, SV(S):

Uwjuyh in <Zy, < v(S): Uw hwljwunud t bpwl, np x€ E':

€S €S
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Ujmu Ynnuhg, ghgmp x€C ( v) , uwfuyh nput S C I Ynwihghwh
hunfwp Z x; < v(S ): Yunmgktp pwdwbp hbwnbjw) bEnuwbwlny:
Lzm'umlll::;
A=v(8)-) x.
ies
b uwhdwbtbp*
x, +AllS|.ies

R NRTORIOE MG
v({z})+ 'I\SI , 1EI\S

Zkpn t uunmgky, np y=()’l’)'2v-"')’n)‘n pudwip Lk U yi—x: Uw
hwljwunud t wjh Eipunpnipjwbp, np x€ C (v) : Upuyghuny, C ( V) =E:
Uwhdwtmud 65.8: bpym (I,v) U (I,w) Juunbph widubnd b
unpunbghwybe hwdwpdip Yud wwupquubu Awdwpdtp bph

qumpynmt mukh wjuwhuh a>0 b b,i€ ] hpwhwh pykp, np pnynp
S €I hudup’

v(S)=aw(S)+§b,. :

“hgnp (I,v) u {I,w) hunbpp bunfwpdtp kb, X (v)-u pudwbpbph
puqUmpymibt k <I ,v) jJuwunnwd, puy Y(w) -4 pwdwbplkph
PuqUmpjniit k (1 ,w) Jownmud: Uhukph & np y(x)=ax+b
wpnwywntipnudp  $hnjdhwpdtp hudwywnwuwbimpmb  k
huvnwumd X (v) LY (w) puqUumpmuubph Jhelb, pbn npnud

X' -x" wnuympjniihg hbwbmJ &, np y (x') >y (x'):
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futh np unpuunbghwjwmt bhunfwpdipmpnibp  hudwpdtpnipjut
hwpwpbpnipjnit b jwnbph puqumpyut Ypw, www htwwppppp t
puwnpt) mpupwbynip hudwpdtpnipjwt nuuhg vh Ynulhptin jown:

Uwhdwtmw 65.9: (,v) fownb winwhnud kb (0,1) wbuph jaumn, bpb

1. v({i})=0,ie1,
2.v(I)=1:
Uju uwhdwunufutiphg whlhpwjwbinpkb htwnnnud £ htwnbywy pinptdp:
Plnpkd 6.5.2 Swbljwguwsd bwlwh pun vnpunbghuybu hudwpdip t
Uty b dpuyl utl (0,1) wnbupp prump:
Uydd ghunnupltbip Ynnytpunnhy hawntph vh jupbnp nuu:
Uwhdwbmnuf 65.10: (7,v) hunb winjwbow b menighly jpuwn, bpb
popop S,7 € I Ynwphghwhtph hudwp
v(S)+v(T)<Sv(SUT)+v(SNT):
Plnpld 6.5.3 (I ,v) Junlb nunnighly E uyl, b dpuyl uyb pbypmid, Epp
guibljugwé i € I hudwp
v(S Ufi})-v(8) <v(T U{i})-v(T)
i-py prumugnnpl suwpnibwgon pynp S €T C I\{i} jnuypghuitibph
huntwip:
Uwwgnyg Lwlu wywugnmgklp wuhpuwdbynmpyniip: Yhgmp LCM
ynunhghwbtpp skt ywpmbwymd i-t: Munh nuemghynipjniihg
htwnunul L, np
v(LU{i})+v(M)<v(LUM U{i})+v(LU{i} M),
npwutinhg'
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v(LU{i})+v(M)<v(M U{i})+v(L)=>
Dv(Lu{i})—v(L)Sv(M u{i})—v(M):

Uywugngtlp puwjwpupmpymbp:  Yhowpytip Epyme LCM
ynwjhghwitp b  Yudwjwiuht K  Ynwjhghw, wjbwhuhl, np
MNK=3: dhgmp' K ={i|,i2,...,i,,}: Uju nbypnud  gumbjugud
1=1,2,...,k hadwp®

V(LO{ibyyenni}) = V(L O{idysenii, }) <
<v(M Ui iy,....i}) = v(M Wi iys.ni }):

Qoulwpbiny  wju  wihwjwuwpnmpmbukpp pun  [-h 1-hg Kk,
Jjunwbwbp, np gubjugws LCM u KcCI/\M Ynwjhghwbtph
hudwp®

v(LUK)-v(L)Sv(M UK)-v(M):

Udd  gtpghkhp Yuwdwjuywh S§,7  Ynwphghwbbkp: Lwjunpy
wihwjwuwpmpinibhg htwnbmd & np

v((SNT)U(S\T))=v(S NT)<v(TU(S\T))-v(T),
Gund®
v(8)-v(SNT)<v(SUT)-v(T):
Uyugnygh unjwpunyws k:
Ploplf 6.5.4 Mnmghy prunbpnid dpgniyp punnwpl sk

Uguwgnyg “hgmp wpdud t (0,1) wkuph (Z,v) monmghy jwwnp:
Lywhwlkbp

x =v{l},x, =v({L,2,...0})-v({1,2,...i - 1}),ie 1\{1}:
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v(S ) Inuyghuyh umyipunhwnhynip)nibhg ( wbku (6.5.1)) hkwbmud L,
np x, 20, Zx, = v(l), nwwnh X =(xl,x2,...,xn) JEYwnnpp pwdwbp t:
el

Yhpghttp Judwjuyjwh § = { b,y ...,i,} Ynwjhghw b nhwnwpytbp
hpl;m‘L={il,iz,...,ip_l} W M ={l,2,...,ip_l} , 1< p <5 Ynwhghwbbp:
fwbthnp LC M, wuw, pun bwjunpn pknpbuh

iy, } =iy V{12,008, } = v{1. 2,0, } = x,

Snudwpbiny wju  whhwjwuwpmpmbbkpp pun p-h 1-hg s,
Jutnwbwp’

V{iiyseni, } =v(8) < gs:x,. :

Zkwbwpwp, pun 65.1 ptnptudh, x pwdwbpp Wuwwjwund t C (v)
vhgmht:

Uhutph £ np wju ptoptiund  bwjwb 3k jpwnugnnubph
buwdwpwjunuip, nmunh Jhgmiht Yuywwlwbks twb ponp

x=(X,%,,...,X, ) ybinnplbpp, npunkn’

x=v({i}).x =v({i.b})-v({}).
X =V({iiprenic}) = v({isiyrenipn }), k=1,2,..0m

Mnmghy wntph dhgmyh wipnnouijwt bjwpwgpmpnibp wwghu k
htwnljuy pnpkudp, npp pipmud Bup wnwbg wuwugnygh:

Plopbd 6.5.5: Mnmghly juwnh vpomlyp mnmghly pugquubhunn £ nph

Suypuwlbunkpp puqumpnbp bhudpblbmd b bwjunpy  plapbdnd
vwhdwbjwé pudwbplilph puqunippul hkwn:

Yhpund nhunwplpyjws oywnhdwympyub uljqpoiupbbpp hwigkgind kb
oyunhdw) pwdwbpbtph puqumpjnibutph, npnighg wyinthtnb hwpy £
thunud  pwpl) (uugnyt  pwdwbpp, oquykiny wpu Jud wji
bhwiquiwtputphg: Zwenpy owynhdwmpju uljqpmbpp qtpd t wyy
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ptpntpymbiiphg, npnonud £ dhwl pwdwbp, pin npmd wyt gnynipynit
ntih gumbjugud pwunnud: Uju ujqpnibipny npngynn pudwupp Ynsymud k
Jounh wpdbp, Yud CThyhh YJEjunp: Lwp wnwbp Jh pwbh
uwhdwiumyukp:

Uuwbdwhoud 65.11: (I,v) hwnh fpps whjuimd kb wb TC 1
ynwihghwb, np V(S ) = v(S ﬂT) gubljugus S C I hwdlwp:
Uwhdwbnwd 6.5.12: thgnp 7 - n vnwppbph npbt ntnuhnjunteinih £
b S ={iphy, i} 1 Ynwihghuh hunfup’

s ={7Z(il ) 7(@i,),..., (i )} : <I ,ﬂ'v) -ny bywbwykbp fuwnp, npp
hwdwp'

nwv(S)=v(nS).SclI
Uwhdwumd 6.5.13: <I ,v) Juunp wpdip, yud Chuyhhp yJEfunnp Ynynud

o[v]=(alv].@,[v]....0.[v]) pudwbpp, npp purfwpuwpm k Chuyhh
htwnlyuy Eptip wpuhndutppt:

Ul. bpt T C I -t jmwnh Yphy k, mym

2o v]=v(1):

Pr
U2. Swtljugws i€ I b 7 wknuhnjumpjub hwdwp®

Pui) [”v] =9, [V]:
U3. Sutijugud bpyne* (I,v) b (7,u) Junbph hudwp'

@ [u+v]=0[u]+o [v].ieI

Plnpkd 6.5.6: Swhlwgué ynykpunnhy prunmd gnympymh mbp vpwy

yEklinnp, npp punJuwipwpnid F U1-U3 wpuhndblph:
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Ptnpivh  wwwgnygp Yupkh E quukp  puwnkph  wnbkunipjub
nuuwqppbpmud (ntu, ophtwml, [16],[25]): Lpkup dhuyb, np phnphup
Jurmgnqujwt t b vawghu  Thyhh Ejunnph puguhuyn nkupp'

ap)=y ) |"S| To(s)-v(S\{)]. iel: @2

SCI

Opplimly 6.5.1: thgmp pwdubwnhpuljub pujbkpnipimbup mbh snpu
pwdubwntp, npnip hudwywwnwujwbwpwp mbbku 10, 20, 30 b 40
puwdtbnndubp: Gupunptip, np S Ynwihghwh swhmypp hwjwuwnp t 1-
h, Gpk wn Ynwihghuyh wunudubph pwdubwindutph pughwimp
pwiwlp ghipwqubgnuwi t pnnp pudubwindutph 50 winfnup b 0-h wy
nypnuwd (uw bowbwynwd k, np wyn Ynwihghwt Ywpnn t hwnpl
pjtwpympjut phypnud): Uu jownmd Thuyythh JEjunpp Ynibikbw
htwnljw) wnkupp' (1/12,3/12,3/12,5/12): Ujuntnhg bpunwd t, np

Jjnumugnnh «nudp» npnoynud t ny vhugh pudutnndutph pwbwyny, wy
bwb npngnudutph Ypw wqpbnt hbwpuynpmpyibbbpny: Ophlwy
tpypnpn U Eppnpny pwnugnnbtph pudutwnindutph pwbwyp wwppkp t,
uwluyt hhwpwynpnipjniibitpp inybtb Ei:

Oppbwly 6.5.22 “hwnwplhkip htnbyuw; fbnhpp: Yhgmp npuk
Juquuytpynmpnih ntbh 1,8 Uik npud wqun vhenghitp b guujwubnud £

utpnuk) pmbly pupdp vinnuunpnypny: Fubijuyhth innuwnpnypubkpp
hEwnbjuyb k0

Gnulwp Snynu
0-hg uhtish 1djh 8
b3 10
3ujb-5uj 12

Pwpdp wnnynuunpnypny bjudnmun unwbwne  bywwnwlynyg  hpkl
hudwdugn b dpwbwy bu  Gpigm juquwlbpuympnb’
hudwywwnwupwbwpup 900000 b 300000 npud  Uhgnghtpny:
Zhdtwjwb hwpgp, npp wowgwbmd t wyju hbnpoud” hiyybu puhuby
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unugjwd tjudnunp: Ujunbn ywpqoibwl pmdnudp jupnn b huby
puolunudp punn bpnpwd gnudwph 12 winljnuh: Uwjuy wju jnudnudp
hupyh sh wntinud Ywubwljhghtph jnipuhwnympynibubkpp:

Yunnigklp 3 jpunugnnh Ynykpunhy (I ,v) jown, nputy I = {l, 2, 3} ,
huly V(S) $myghwtt npnpynd k wyh gnudwpny, npp Yuunwbwh S

jnwihghwyh  Jwubwlhgubpp, qonpdkiny  Jjnwibbphg  wbjwju:
2wpyupnmpjub hwdwp pwbwltup

v({i}) =v..v({i. i}) = v, v ({L.2.3}) = vy
Ujuwhuny’

v, = 180000, v, = 72000, v, = 24000,

v, = 270000, v,, = 220000, v,; =120000,

Vi =360000:
Tdup skt unnigl), np jurmigjws jwnp ninnghy k: Gnbkbp fjwnh
Uhgnijp: 6.5.5 ptnptivh hudwduybh puwiwbt bt qubly Jhgmyh

Sujpwhbwnbpp: Gpkp Jwnugnn Yjupnn b juqiky 6 huwpwynp
htppujwbnipynit’

(1,2,3),(1,3,2),(2,1,3),(2.3,1),(3,1,2),(3,2,1):
fluunh vhgnihh duypujtntpp Ytgh kb

' = (180000, 90000, 90000),
x* =(180000,140000,40000),
x* = (198000, 72000,90000),
x* = (240000, 72000,48000),
x* =(196000,140000, 24000),
x* =(240000,96000,24000) :
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Ujuyghuny, dhgmyp wju kg yYkjwnphbkph mnmghy punuiph t b
dhgmh gwujugwd pwdwbp Yupnn bt hwhnhuwbw; Ejudmwnbbph
oujuptfur} pugfunud:

Zwptup bwb Thyjhh Ytyunpp b hudtdunntip vnugus msdwub
htw: Oqujkiny (6.5.2) pmbwdlhg, junmbwmbp

2!

) ’_‘z(vm —vn)+

1

1! ! 2!
?(Vu —V2)+'3—!(V” ~V3)+§(Vl —0) =205666,6

2! 11! 1 2!

?, =5(Vm —vn)"'?(vn _V|)+?(Vu _VJ) +§(V2 -0) =101666,6
2! 1! 1 2!

@ '-';(vm —VI2)+?(VI3 —v1)+?(vu —vz)+§(v3 _O) =52666,6

Ydwp st unmgl), np Thuyphh YEjunpp hundpbjund £ Sheniyjh
Swipmpjut Ykbwpnbh htwn b Ywpnn bt hwdwpdk} wyju jubgph
[ujugnuyh jpudmd:

Ophliml  6.5.3: Thuwpykbp  hbwnlywy;  junhpp,  Juuywd
wywhmjugqpujub pujkpmpinibitph gopdmbtnipjmt hkw: Yhgmp
mbkup 100 mbhunnikphg punjugud jumdp, npnbighg jpipwpwiiynipp
Jupnn t ufjuy dudwtwjwbhwnywsmd Ynpgut; 1 dhwynp pwphp
P, =0,01 hujwbwlwbmpjunip: Ppktg rhultpp twuqkghbint hwdwp
bpwbp npnpmd b dhunnpyby b wnbindl] thnpp wywhnyugpuljwh
pbytpmp)nih: Bupwnpbip, np judph hhdtwnhp Yuuhwnwp wbup k
thuh wjtghuhb, np pujipmpjub vbwbjwbwim hwjwbwjwinipnitp
sqipuquigh 0,001-p: Bupunpbingy wwpqnipjub hwdwp, np rhulbkpp
wbjuwh kb, uUnwnwpytbp phuindhwy puwfujuwdmpimup bnpduy
pufjudmpudp b, oquulkiny wnwybu Ynywd “3  uhquubbph
opkbphg”, hpdtwnhp juyhwnwih hwdwp junwbwbp htnbyw) wpdtpp’

Vi=np, +3\/"1P| (1" P,_) =10+9=19:
Ujuwhuny, jnipwpwibiginipp wbwnp tibpgth 0,19 dhunp:
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Thgmp Epypnpn junmdpp inybybu punjugws t 100 withwunhg, uwfw)b
tpyprpn fadph winufbbtpp inyb dwdwiwjwbhwnyuwsdnid 1 Jhwynpp
ynpghind k' p, =0,02 hwjwbwywinpjuip: bpt ppkbp tnywbku
unlqdkt  wywhnjugpujutt  vhmpmb, wwyw uwju  judph
wywhnjugpulijwul $nunp hwjwuwp t°

V,=n,p, +3,/nzp2(l—p2) =20+12=32:

Thnwpyktp twh Eppopy unwpp, npp Unphg punjugwd t 120
whnufhg, npntg  huiwp 1 dhwynp  puphp  Ynpghbm
hujuwbwuimpmbp  p, =0,03 b Upj juiph wywhnjwgpulub

$ntinp hujwuwp £

V, =n,p, +3,/n3p3(1—p3) =36+15=51:

Ujdd bLupwnpkup, np uwjyu bplp puytpmpmubbpp npnpgmd kb
thunjnpyl) b uwnbindk) by punhwimp pujkpmpmb: Zwyykbp wyu
Uhgwy pljtipmpjwb wywhnyjwgpuljwh $atnp’

Via=mp +n,p, +np; +
"‘3\/"1171(l—pl)'i'nzpz(1—p2)+n3p3(l—p3) =66+21=287:

Pywbu wbubmd btbp, JYphwynpnudp pnyp bt wvwhu  ijwqbkghly
wywhnjwgpuub $nunh dwjuyp, pwuh np bpk puibkpmpnittpp
qnpdmud kbt Uhvhwughg whjwj, wyw wwywhnjugpuiwt pnuntph
gnuiwpp Yyuquh 19+32+51=102 huly vhunjnpybint nhuypnud® 87
tvhunp: Uwluyt Jhwynptjhu hwpluynp k npnpk) jnipupwbyynip
ldph tbkpnpoudp phghwinp wywhnjugpuijwi $ntpnud: Uju bnhpp
nhvwupytip npytu Ynybpuwnpy ' G = (I ,v), npntn / ={l, 2, 3} ,
b

v{l} =V, =19,
v{2}=v, =32,
W3} =v, =51,
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v{l,2}=np, +n2p2+3thlpl(l—p,)+n2p2(l—p2) =30+15=45,
V{2’3}="2P2 +n,p, +3\/"2P2(1_ P2)+"3P3 (I_Pz) =175,3,

v{L3}=np, +mp, +3\mp, (1~ p,) +n,p, (1- p,) = 63,5,
v{1,2,3}=V,,, =87:
Fwp 3t wnmgl, np wju jpwnh huwdwp Thyhh YEjunpp juuw
htwnbjwy pudwlpp’ (14,9; 26,9; 45,6) : Toipu gpkbp juwnh Uheniyp
punipuigpnn wnbympyniubkpp’

x, <19,

x, <32,

x, <51,

x, +x, <45,

x, +x,<75,3,

x, +x; 63,5,

x +x,+x,<87:

2Eanmpjundp uinnmgynud t, np Thuyhp YEjuinpp yunjuind £ wnh
uhgmyjhly, htwbwpwp wyb upnn t ghudt}, npytu jbnph oujnhuwy
puofunud: Ujuyhuny, plphwbnp wwywhnjugqpulijmb pulkpnipymb
unbndbjm. hudwp wowghtt judph winudutpp whwnp b bkppukb
jopupwhbynipp  Unwuynpuybu 0,15  Jhuwynp, bpYpnpr  judph
winubtpp Unnujnpuyitiu 0,27 vhuwnp b tppopn hdph whigudbpp’
0,38 vhun|np jnipwpwbyynipp:

-178 -



1PLUURY UNYELLEDN

Unyt pwdimd nhunwpyymd L npnpnudukp pupmibbime wjbwhuh
jinhpukp, npunkn npnznudp pupmymy £ dudwbwyh pipwgpmu” puy
wn pwy|, jund wbpunuty:

7.1. 2PLUUDPY Oruernru

Thgmp Adinhwpympniuh mbh apht wprwunpubp unwbwne Gpm
nkjuunjnghwijwt wpngbubkp, pnp npoud wnwghtt wpnghumd x
putwlimpjudp nbumpup /yuywpp/ phpmd k g(x) Ejudnmun b
ujqpimjwlh wwpwphg dunwd t @x pwbwlmpymb, huy Lpypnpy
wypnghumd x wwowpp phpnud t h(x) Ejwunun b ywpwpp Wugnmud t

thiyh Bx: Yhgmp wuowph uwyqpbwlub pwhwlp x k Ujh pwpjukiny
Epym wpnghkubbph vhel, hwdwywwnwupwbwpwup y b x—y dwubph,

dbntupynipyotp Yunwbw R, (x,y) =g (y)+h(x—y) tyuinun, huy
Viwmgruy wwpwpp hwjuwuwp Yhth x =ay+B(x—y): Themp
tbwgud wwpwpp tnphg pwplumd kup kpym wpngkubbph vhel® X, -p
upnhnud tbp Y, U X —y, dYwukph, unwbuyny g( b ) +h(xl - )’1)

tudmun b x, =ay, + 8 (.x.l - y,) dtwgjuy wwowp: Uju phupmu
pufudwb kpynt puy iphg uvnugywd tjudninp hwjwuwp {huh

R,(xy,y)=g(y)+h(x-y)+g(y)+h(x-x): (7.1.1)

Yplukinyg wju gnpstpwugp, 7 -pn puyinwd junwbwbp®

n-1

R, (x, y,yl,...,yn_l) = ZR'. (x, Vs Yiseros Yicy ),

i=|

npunty’

x,=ay_ +B(x~y1)0Sy, Sx,i=23,..,n:
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Unubjugnyb Jkpgtwjub swhnpp junwbwbp dwpuhdwjmgubing
R, (%2 y,) Pmblghwt y,..,y, hohojwywbbbph' Jeplnw
gywd whhwjwuwpmpmbubkpny npnoynn whpnypnud:

Ept Lhpunpkup, np g (x) b h(x) Imuyghwitpp wbhpbnhwwn t
wbwbghkih kb hpktg npnodwt wnhpoypnud, wyyw wyu pnhpp Yupkh t
nwdt] quuwjuwt  tnwbwlutpny, ophtwl nhwwplting npybu
yujiwbwlwb tpunptdnuh jbnhp: Uwjuyt nuuwlut tnubwlbtpp
hhttwjuwimd wnuwhu b nwhpoyph tkpumd tpunptdnudh gnympjut
wlhpwdtn wujdwhitp b hwpluynp £ jhimJ wvinmgl;  muljghwh
Juppp whpnyph tqpoud: Uju wdkip gunn b pupnbgimd jtinhpp Uk n
-h piypmud:

Thuundhy Spugpuub tnwbwyp poyp b wwhu bdwb pbnhpbbpp (msdk
pwj| wn puy): Ljwpwgpkip wyn tnwbwyp JEpuimd plipyws ophuwuyh
ypur:

futth np R, (X, Y, ¥j,--es Ypy) Pmliighush vurpupniwy wpdbpp Guihuus

t vhuyb ulqpuwlfumb nbumpuph x pwbwlihg b pupmtph 7 pyhg
pwbwlthp'

f;(x) = max [g(y)+h(x— y):l,f,I (x)= max R, (%Y ¥ Vo)

0Sysx YoR v Yot

Pugludwbh  Gpym  puyikpphg hkwnin  wdpnng uwwnwgwd  Ludnunp
hwjwuwp t wnught pupnud unugwd tyuwdnunh b kpypnpy puyymd

x=ay+p (x—y) nbumpup pupubjhu  uvnwguwd  Eywdnunh
gnulwpht: buywhuht L {hth wopwght pupnud plbwpwd y-p,
dbwgnpnujhtt phumpup hwgnpn puymud wkwnp k pugjnjh owunhduy
duny: Wuwhum], tpk y,-p owwhdw; t pbupydl, wyw (7.1.1)
wpuwhwjnnpnp Ypugniuh hnbywy nkupp®
R,(x.y.,3)=8(y)+h(x=y)+ f(ay+B(x-y)):

huy dwpuhduwy tjwdnuinh hwdwp junwbwip*
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f,(x) = max(g (y)+h(x-y)+ fi(ay+B(x-y)):

Cupmbwlbiny wju nwunnmpmbbbpp, 7 -pujubh gnpdpupwugh
huwdwp Yunwiwbp hknbyu) puwbwdbp

j;(x)=£rsiax;$[g(y)+h(x—y)+fn_l(ay+ﬂ(x—y))], n>2, (7.1.2)

fi(x)=max[g(y)+h(x-y)]:
Uju ntjmpinn pwbwdubpp pnyp kb wwhu 72 -yunhwbh jubnhpp
hwbgkght| n hunn kY yunhwbh junhputph: bpnp, nhgnp*
x)=max[ g (y)+h(x-y)]=[g(n)+h(x-x)]:
Epypnpn puygpnud hwgynud khp®
f,(x)=maxig (y)+h(x-y)+ fi(ay+B(x-y)):

Uy hwpymd thp f, (x) b wyuyjtiu wpnibwly: Upynitbpnud uwnnwbnud

khp kpynt hwgnppujubnmpynibbbp® { y,} b { f; (x)} ,i=12,..., npnlp
nuwjhu kb wpywd ntuntpuny b puyibpny pupfudwb jubnph  oujwnpuuy
1nwdnudp: Ujh nlyptpnud, kpp puyitiph phyp 2w Ut t, Yupbjh k(7.1.2)
nbimptun  pwbwdbtph  hnjwpth  oqukp  Imiujghnbiuy
hunjwuwpndhg'

f(x)=max(g (y) +h(x-y)+ f (@y+B(x-y)):

Lnuddwb uyu bnyb inuwbwyp Jupbh k Yhpuek) wuppbp pinhpbbpoud:
Thwnwplkup, ophiwy, wjupdwiwlwb tpunpunuh puquwyw jpunhp®

F xl,xz, WX Zg, —)max,

i=1
n
< Zx‘, =c,

i=1

x,20,i=12,..,n
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Bupwnpkup, np ponp &, (x) Pnbyghwbkpp whptinhwwn i x>0
whpoypnud: Lubh np juugph |pwnuwlp jupajwsd k vhwgh ¢-hg b n-hg,
niunh Jupkh k bpwbwyb!

f:.(c)= max F(xl Xy5eee )

XXy Xy

Tuwnbtiny wjbybtu, hyybu bwjunpn jigpoud, Yupnn Ghp unwbu
nptnmpkbhn ppbwdl’

f(0)=8:(c) s
(¢) [g, x)+ fio(c- x)] (-1

i=2,...,n hudwp:

Uju btpyme pipywd uUnpbjubipmd Yhpumjws bt phtwdhly dpugpdwb
Juunhputph insdwt hhdbwjwbh owyunhdwmpjub ujqpnrbpp’ oupuinpduy
Ytpwny pwojuk) nkunipup Ytpght puymud, tpt hwynbh t, pt huyybu
owwnhuuy YEpyny pwoubk) vbhwgnpnuyhtt pbunipup bwjunpn puy bpmd
b wynybu, puy) wn puyj quip Uhbish uljhqp:

Ptpkup pYyuyht ophtiwy: Hhwnwpltup htnbyw) jpunhpp'
( n -xiz )

— —>min,
i=1 c,'

n
125 =¢
i=1

x,20,i=12,..,n

Ujuwnty ¢; >0,i=1,2,....,n

Uju hatinph hundwp (7.1.3) pwbwdbp Ypunniup htnbjug wnbupp®

70 =pin[ fnle-+ )

G
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Yuqubklp'

c? c-x)’ x?
AO=R(©)=Z R ()12 2
G G )
Ubwlghiny b hunjwuwptgukny qpnh, junwbwbp*
2(0) ==, e-n(0) =5, £(0)=mink, (x) =——:
¢ +c, ¢ +c, 0sxsc ¢ tc,

Ujdd Lhpwnpkhp, np

fi(e)=

qtc,+..tc,

b juqutbp

ﬂu(C):o‘E‘;'l[ e=2) +x2}

aq+c,+..+c¢, ¢,

Ndjup st uinmgly, np

c2

2 Sin (c) =

X (€)= , :
¢ +C+.tCy,y ¢ tc, +..tc,,

Ujuyhuny, gubjugws 7222 hudwp'

n 2 2

T ctc,t..tc,
bulj nbkumpup owwhuwy pwghdulb xlo,xg ,...xf,’ JEwnbkpp unwbuym
hudwp oquujkbp phtdhy dpwgpuiwt hhybwljwb ulqpnibphg. twiju
npnykbp xg -0’
T e+t
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0 .
2wgnpn puynud npnpynud kX, _, -l

.0
tonalet)=

=(c— cc ) C, _
4+ +tc, Jo+cy+ote,,
_ c(q+cy+...+¢,)c, —cc, . B
(gt tate)(g e tte,,)

e, (c,+e+..+c, ) _ c,

(q+c+..+c)(g+e+..+c, ) (c+c+..+c,) :
Cwpnibwltyny, juunwbwbp®

0 CC;

X, = , i=L2,...,n:
" (gt t.tc,)
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7.2. OUSPHUUL QUAUHUruay SEUNRPENRL

Owunhduy junuwywpdwi wkumpyniip nuunidbwuhpmd £ npnpnudtp

punpmubknt wjiwhuh jughpubp, npunbkn npnonuubph pipmbynwd Bb
wlpunhunn, dwdwbwlyh jmpuwpwbiyynip wyuthhb:

Opwbtu ophuwly nhwwpltip wyjunndtpbbugh ninnughd wpdnudp:
Urwlbg punhwbpmpmbp juwpjnbtint jupnn Gip Gupunpl), np wygy
oupdnudp juwnwpynud k hpujwb wowbgpny, b dwdwbwyh ¢ wwhhb

dbkpkhwl quinwd t hpwjwlb wrwigph x(t ) Jtwnnud: Ubkptlugh
Yh&wlp jmipwpwbynip ¢ wwhhb Yupkih & tjupugpty x(t) nhppny b

i(t) wpugmpjudp: Mingqughd swpddwb phypmd  Jdkpkhwgh
jurwjwpnudp juwnwpynud bt qupnpph Yonudhg dbptbugh Jpu md
Yhpunbind (upu Yo wb swhng ubqibnd “qugh uhnuwp’)
dunfwbwlh ¢ wwhht Yhpunjon mdp bpwbwmlbbp  %(¢)-ng: 2wph
wrbtiny, np wpuqugnidp hujwuwp £ x(t) ,» puwn Ynunnuh tpypnpny
opkuiph swpddwt hujwuwpnidp Ynikiwm htnbjuy nkupp’

mx =u-bx, (7.2.1)
npnbn m-p Utpbtuyh qubiqwdt k,  bx-p owlwb mdp: fpybugh
unwbwbp  Jhkpkbwgh  Jhdwyh  wwpwdbwpbph  widhguljwb
Ywjnjwdmpmup Yhpweinn mdhg, bpwbwykup' X, =x,x, =Xx: Uju
nhypmuy (7.2.1) hwjwuwpnudp Yykpwdyh hwdwpdtp hundwlupgh®

X =X,
X, =—u——=x%,

m m

Chwpbiny jmpupwbymp ¢ wwhhb u(t) juwrujwpnidp, b mdkny
nhdtptighw hwjwuwpnubtph unyb hudwlwpgp, Jupbih kunwbug
Ukpkuwgh swpddwmb (x, (t) » Xy (t)) htwnwughdp gumbijugusd uljqphiwmyub
nhpph nbypnul:
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Cunhwimp nbwypnud  Juwnwywming  opklunnh  Jh&wyp Ywpnn
tyupugpdly x =(X,X,,...,x,)€ R" tjunpny, npt wijuwbmd b
puquypl  ykwn,  pupdnudp  Yupnn b junujupdl
u =(ul,u2,...,um)€ UCR" wuwpudbuptpny, npnbp whjwbnid kb

jwnwjupny wuwpwdbunpkp, huy U puqunipmbp’ juwnwijwpdwih
wnhpnyp: Cupddwb opkupp nipynud t nhpbptughw) hwjwuwpnudutph

(.
X = [ (X Xy X Uy Uy s U, ),

X, = o (X, X0 X, Uy Uy U, ),
‘xz 2(1 2 L2} m) 722)

hudwlwpgny, npnup whwimd th pupdvwl hwyjwuwpmdilp  Uju
hudwluipgp Yupkjh k qply JEjunpuljwt nkupny

x=f(xu),

npubn  f -0 tpwbwyly tup (f, freen f,)  Ubnnp-poiblghuwt:
Uljutph t, np wwppip bkqpuyht wuydwutbkph b wwpptp u(t )
junuwjupnuitubph giypmd junwbwbp wwpptp x(t) htwnwugdtp:
“Yhgnip nwpwdnipjub Uty wpduwd t npuk T Jwykployp
(Uuwubunnpuwybtu wjh jupnn t punjugwd (hukp Ukl Yhwnhg) U
kuipunptlp, np dtp junwywpynn qupépiipugp ujuynmd t dunfwbwyh
t, wwhht x°=x(z)) Yhwnhg b wjwpuynud t 7, wwhhb, tpp x(r)
jtwp hwutnwd bt 2 Jwykphnypht® x(tl)e 2: Upju  dwlkpunypt

wjwbkup wépvpbuy vwlbpbnyp: Yunujupdut tyunwuyp upynd

bt bgunwluyhl $nibhghnbuyny, npp punhwiump ptypmd nbh
htwnbjw] nbupp®

J(x,u)=]L(x(t),u(t))dt+H(s). (7.2.3)

o
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npuntn H (s) $niiyghwt npnpywsd t Z wnbkpuhtwy dwlkpunyph Ypu:
Uwubwynp nhypmud, kpp H (s) =0, ptnhpp wiwbmy b Zwgpwidh
Julppp, huly bpp H (s)=0, L=1 (wpuhtpt’ J (x,u)=1,—1,), ptnhpt
winjwunuwl th wpwqwenpénippul jubnpp: (x,u) qnugqp, npunkn « (t)-
& npbt  jurwjuwpmd E  huy x(t) -t wy  Jurujuwpdwip
hudwywinwupwing (7.2.2) hwdwjwupgh vhwpdbp jmbdnudt t (Gpb
wjnyhuhli gnjnipjnit nith), npp ujuymd k x° Ytwnhg b wjwpunynud T
wbpthtwy  Jwibphnyph ypw, Ynpynwd t  juwnwyjwpyng wypnglu.
Yurwywpynn ypngkup, nph glypnud (7.3.3) ntuyghnbiwp unwimd k

tpunpbidw) wpdtpp (Uwpuhdwy Yud Jhuhdw), Yuwpwd pebnph
npywdphg), Ynydnud k owpurplwy junwywpyng ypngku.

Ujuyhuny, oyjnnpdwy junwjupdwh punhpp npguws t, tptk wpywd ki

1. jwowjupdwb U € R™ wnhpnjpp,
2. wkpuhtwy 2 Jwybkpunypp,
3. pwpddwl x= f (x,u) bwjwuwpnutkpp,

4. hywwnwluyht muyghnbiwgp®

J(x,u)= }L(x(t),u(t))dt+H(s):

b

Juujwd oypnpduy Yrwjupdwb nbunipymibp ujqpbwlub ppwimud
nuunidbwuhpty E punhpltp, npnip juuwyws thu hghjuljwmb yupddwub
htw' wnpkqipuqbwgnipjub, pujhuwnhy hpphrubph, huptwphnbkph
wjuniun  junwyuwpdwbh b w)  phwquyunbbponud, wdd  wju
nkunipjnibip b Yhpwrnipjmubkp k unwugl];  btwb
nbnbkuwghnnipjut, pdoympjub, punupuwphtmpjut b wy
phwqujuebtpmd: Rptup vh pwih ophtiwl: Smpwpwiymp dwpnm
wnnnewlwl  yh&wyp Yuwpkh b bjwpugpk  Ykppuynp  pyny
yupwdbnptpny® &uonud, ghpdwuwnhdwh, wpjuwbt pununpnipmb b
ugih, wyuptph bkpYuyughti, npybtu dwquphtt fEw: Snpwpwbymp
Wuwhhtt  plwpkm]  pknopugpbtph wbuwyp b pwbwyp
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(Gunrujwuwpmdutpp) Yupbih kbt pughp® Jhuhdw dudwbaynud jud
Uhuhdw) Juwubpny wnnnewght) hhywlnhb:

Ppkbp Uy wy ophtwly: Lwnuph Yud Gpyph wbnbuwlwb
hpwyh&wyp Yupbjh b ywpwgply dh owpp wwpwdtnptpny® pyogt,
tutpgtnhjw, wpwiuynpuwghtt guwbg, wjjuy &nunh qopdwpubbbph
hqnpmpymbutp b wyb: Uy wwpwdbnpbpp jupnn ko nhnhally
Yupyuyht, hupuyht b wy vhgngunnufubkph 2unpbhy: Ywpnn k npgly
jutnhp*' Jhuptdwy dudwbwljwhwnguwdmyd, jud vhuhduy swhiubpny

hqnpwguty Ephhpp:
2htunply Spwgpilml Ununbgmd: Mwpqmpjwt hwdwp  hhdbwjwub

Unntignudubipp b wpymputpp nhnwpykip wpuqugnpdnipyjut unph
ophtwih ypw: Thgmp dwquyhtt x Ykwhg hwpyuynp b dhuhuuy
dudwbwynud, wpdjtiny owpddwb (7.2.2) hwjwuwpmdubkphh
hwdwduwyl, hwubbty x duquyhh JEwn: Ujuntn ppuuljwub x! Ytwnp
hudwpnud Gup $ppuywsd, huy ulqpbwjwt x Ybwnp hnhnjpwjulb,

wjuhtiphh ftinhpp thopdnud bup jmdk; gubjugws uyqphwlwb ghpph
hwdwp:

Chpwnpmpnit 1: Bhpwnpbup, np gubjugws ujqpbwljuwb x Yhtwnh
hudwp gnympnit ntbh dhwl ouwpwnnpuuy (x,u) ypngtu b T(Jc) -ny
bpwbwykbp x Ytwnhg x Ytwn hwubtym vhuhtw dudwbwyp:

Chpunpmpynit 2: Ghpunpkip, np wju pwdinwd phwwplynn pninp
$niyghwtipp wbpinhwwn kb b ntbkh wjipwh whpbinhun Ywubwhh

wdwlgjubtp, nppub wwhwbgyh: ZEnwqu nuwwungmpnibbbpmy
uth hwpdwp T(x) dudwbwlh thnjwpkb nhnwpyt; hbwjunupd’
B(x) = ——T(x) dudwhulp:

“hgnip x°-u dwmquyhtt  wwpwdmipjumt npuk Yhn E U u’elU
Bupwnpbup, np 4, wwhhh dkp opijunp qutwmud t x° Jtwnud b
oupdynud k 4’ hwunuwnnh Jurwyjwpdwb ubtppn, hwdwduwl
oupddwl (7.2.2) hwjwuwpnuwdutiph, dhiiyh x(t) Ytwp, Swhtny 7 -1,
dudwbuwy: x() Yhnhg supdqtiny oupnffuy dhtsh x' Ykwnp Ydwhuudh
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T(x(f)) ountwbwh: Muwh, x° Yhwhg uptsh x' Ydwhuugh
(t-1,)+T(x(t)) dwiwbwy: Uwlyuy, puth np x° Ywnhg uhtish x'
huwubbint  owwpdw)  (Jhupduy) dundwbwyp hwdwuwp L
T(x°)=T(x(to)),umlu1‘

T(x(t,))<(r—2)+T(x(¢)):

Onjuwphityny T(x) $mayghmt —a(x) -ny b pwdwbkny 7 -7, Ypw,
Juunwbwbp*

H(x(t))—a(x(to)) <1.

t—t,
Ubgut)ny uwhdwuhl, kpp £ =7, uvnwbmd khp’
Lo(x(n)| <t

it=tq

by, pwlh np X (t) =f. (x,u) , wyju YEpghwjwhwyybu unwbnid thp*

Lot =320, Z%f()1

1=ty 0=l i i=l

Upuntn x° b «° Yhubkpp Quduguiuwb thi: Nwwnp  Swquypl
nwpwémpyul gubjugws x GEnp b Junujupdwlh  wnppnyph
guwbyuwgwéd u Ylwnp hudwp'
2, 96(x)
—=f,(xu)<l1: (7.2.4)
2 Sixw)
Tthgnip, wydd, (x(t) N7 (t )) -b oyyinpudwy wpngtu £, npp wknuinjumyd £
optyup x° =x(f,) Ytwnhg x'=x(f,) Ybw, wuhbph f, wwhhb
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opjijunip quinnud t x(to) duqujhtt jhwunwl b dwjuubkiny T(xo)
dwdwhuwly, ?, wwhht hwulmd b x' Yhwn: Ujuinknhg' L=t, +T(x°),
h

pun npnud wykih wpwg hwully x' Yt huwpuwynp sk dhgnp £-4,

<t <t nput dhpwbljuy wuwh t: Twpdnulp oyinhuduy (x(t),u(t))
wpngkuh ntwpnud dwquyht x° = x(2,) Ytwnhg uhtyb x(7) Yhwn wlnu
kb 1-1, dunfwtmy, huy x(r)-hg vhish x' =x(z) yen' T(x(¢))
dunfwhwly: Ugkih lupmq x(t) Ybwnhg hutiby x' =x(f,) Yt wihbwp
k. nu jhwwubp { x ( ) ypngkuh oywnhdwympjutp: Ujuyhuny,

( o)) =(t—8)+T(x(2)):
Ujuwnbn, tojawphtting 7' (x)-p —6(x)-ny, junwbwbp*

LORCOMN

t-

Ubghbkiny uwhdwbhl, tpp £ — 7, unwbmd kup*

Za(x(t)) =1

b, hyytu b YEphned, junwbwbp*

i%ﬁ(x(t)’u(‘))

I
Pt
.o

i=1 i (7.2.5)
2upiwupnipjub hwdwp bywbwytbp’
2, 06(x
B(xu)= 320 ()
=t 0% (7.2.6)
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Uydd, hunlbdwnbin (7.24) b (7.2.5) wnbympymbbbpp, Yupbth b
Auwljtpyty htwbyuy whnnudp:
Piopkd 7.21:  Epk $hpujwé x' ybpolwlwb phppny, swpdiiwi
x=f (x,u) hujuuwpmubbpny b U jwowjwpdwl  wnppnypny
wpwqugnpénipyul  fubppmid pujwpwpmd  E& 1 b 2
btbpunpmpimbblbpp, wyw
1. B (x,u)Sl ponp x#x' Ykwnkph b u Ywounjupnidibph
hwdwp,
2 B(x(t),u(t))sl guwblwgqus ouwmpiuy (u(t),x(t))
wpngkup hudwp:
Thgmp, uwydd, (u(t),x(t)) b, 1, St<t;, owwhiw] Ywnwjwpyny
ypngku L Bhputbp npbk € [to,tl): Utp GLhpunpmpjnibutph
hudwdwji  gnmpmbt mbkh B (x,u) dnuljghuyh  wbpunhwin
twubwyh wdwiugunbbkpp pun X, X,,...,X,, pup npnud Ykpp bggws
ptnptuhg htwbnwd k, np dwubwlhh wdwbgpubtpp hujwuwp kb qpoh:
Ubwlgtp B(x,u) pnrtiyghut’

0B(x,u(1)) _ 3 76(x) (xu(r))+

ox, i O%,0%, Jk=12,.,n:  (727)
43260 o (xu() _,
i Ox, ox, ’
fwlh np*
d(90(x(1))) &0%0(x) . & 0%6(x)
dt{T _:Zlmxi—g Ox, 0x, f;'(x(t)'“(t))' 728

nwuunh (7.2.7) hwjuwuwpnudp junwbw htnbju) nkupp'
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d(96(x(0)), 0= ¥ (xu(®) o, _ o o
.d_‘[_&Ck_]+§ ™ o =0 k=12,..,n: (727

Ujunkbip, np twjunpr (7.2.4) - (7.2.7%) pubwdbbpnd 6(x) pnityghut

sh  dubnuw, Jdwinmd G Jpuyh ppu  dwubwhh  wdwlgyuybbpp:
Zupdwupmpjub hudwp ywhwykup

30(x(t)) _ ae(x(’)),"_’% (,)zm:

wt)=—5 W) =—r ox,
Uju bpwhwYnudubpny (7.2.6)-p Yptmntih hbnbyuy wbupp®
Zl// f, x, u
hul (7.2.7°) hujwuwpnuftbpp®
v, (1) + v (¢) af (x “() o 4= L2,...n:
5 x,
Yud®
v, (1) = -z'l;w,. (:)af"—(;;i‘('—)), k=12,..n:  (729)
i= &

Zupdwpmpjut  hwdwp  bkpdmdkup®  2n+m  nhinjuwlwih
Imyghw’

H(W W0 W03 X0 X Xy s Uy Uy ) = Zl//,.f,. (x,u): (7210

Uju mijghuyh oguimpyudp (7.2.9) hunjwuwpmdubpp Yphnniubki
htwnlywy nkupp'

. oH
Wk =—E, k =l,2,..-,n: (7.2]1)
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Udthnihtyny  tpptipqwd ny juhun  punnnnipjoibuibpp, Yupbh k
Abwytpyl] owwhdwy Ywpujwpdwb wpwqugnpdmipjub  Jubingph
{mduwb hkwnbyuy uyqpniipp:

Uwpupunup alqeoclp: Epk jununjupynng ypngkup oywhduy kb, wuyw
gunpynil nibp (7.2.9) hudwluwpgh wybyhuh Y,,Y,,--Y, ns vphijhuy

ménid, np gubljugwé 8y <t <t hwdup’
H (p (6).x(t) (1) = max H (v (). x(e). ).

5c=f(x(t),u(t)):

Qlujwd wjh hwbquuwbph, np wju uljgpmipp unwgyl; t ndyup
unmqynn bkupunpmpjmbbbph phwypnwd U sh Ywpnn hwdwpydly
oywnhuw] wpngbuh gnmpjut  wbhpwdbn  wWuydwb, uwjujb
wupqynud t, np wju ulqpmbpp qopémud t twh wpwbg npbt
kipunpnipjnibutph 0(x) dnbyghwjh  YEpwpkpju;: Uhghbbp wyn
ulqpnibiph juhunn wywgnigdwbp dwubwynp® gduyht junph phuwpnud:
Cinhwimp nhwph wywgnygp pujwjwbwywh pupg t b Jupkh t
qubit) [7]-nud:

Unwqugnpénipywl qéuyhll jubphp: Yhnwpibbp htwnbyuy jtnhpp:
Thgnip oyupdw) jurwyjwpdwt pwupddwb hwjwuwpmdbbpp gdughh
Eu’

(7.2.12)

j‘i = Zau‘xi +Zbikuk ; i=1,2,..,n, (7.2.13)

j=l k=1
npukn @; U b,; qnpbwlhgitpp hwununambbikp Bb:  Unythuy

wlkbwuyupq punhptbpoud owwnhuw) jurwdwpndp jupng bt ghuly
wbpbnhwwn: Uy wwwdweny hwpuydnp b plyuyb) ghunwpyynn
jurwyjwpmuutph nguup:

Uwhdwtmd  7.2.1: u(t) = (ul (t),u2 (t),...,u,, (t)) Junuyjwpnudp
winjwbnuf kb pogunapbgh jupujupmd, bet w, (t), k=1,2,....m
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$niuiyghwiikphg jnipwpwbynipp nibh ny wybkh, pub Jkpguwynp pyny
wnwohll Jupgh juquwt Ytwnbp (gnymipymb mbkb wghg b dwjupg
ytppwynp uwmhdwbutp), wbpunhwwn t wehg b whptnhwwn k npnpdwt
uhpnyph Suypuljntpnud:

bptk  (72.13) bhuyuwuwpnuwibph @y, i=12,.,n, j=1,2,..,n
qupdwhhgubkph Jdwwphgp tpwbwytip A-ny b by, i=12,..n,
k=12,.,m qnpdbuyhghtph dJwwphgp® B-ny, wwyw (7.2.13)
hujwuwpnuiutpp jupnn bp qply YEjunpuljub nkupny’
i=Ax+Bu (7.2.14)

Spjud u(t ) junujupdwt hudwp hbkwnwgdh gnmpjut  hupgp

hwugkgimd t (7.2.13) hudwljwupgh mddwb gnmpjubp: buyybku
hujunth t (ntu, opptmy, [7]), hudwlupgh /aémvp vwhdwignud t,

npyjtiu a<t<b Uppwljwyph Ypw npnoywd
x(t)=(x(2),x,(),...ox, (t)) wdwughih $mulyghwibph hunwlwpg,
npntp wbnunpbinyg (7.2.13) bwdwjupgh ke, uwyn hwdwlwpgh
Jnipwpwbynip hunjwuwpnudp puipdtunud B bnybnipynct:

Phptup gnymipjul Up plnptd, nph wuywgnygp Yupth £ quatit) [7] nud:
Plapky 7.2.2: bpt u,(t),u,(t),...,u, (f) Pnrblyghwbbpp npnpqud b
wbpinhwn b a<t<b dhpwluyph yYpw, mukh Ykppwynp
uwhdwbikp t—>a b ¢t —b nphypnuwd, wwyw, huywhuht b (hukb
duquyht x,°,xg,...,x,? Ykwnkpp, gnymipjnih muku x (t),x.z (t) R (t)
dnbyghwhikp, npnbp npnpywd b whphnhwwn kb wipnne a<t<b

hwunyjwsh Ypw, hwinhuwbnuwl Gt (7.2.13) hwdwlwpgh (nudnud b, pugh
ugn, pajupupyud b

x(a)=x,x(a)=x ,.., x,(a)=x (7.2.15)

wupfwbbtpp: Uju wuypdwibbpny x, (t), i=12,..,n $nmuyghubbpp
npn2ynmud th vhwpdbtpnphl:
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Oqutiny wyu ptnpbkuhg, Yupbkih k jndnud vnwbw bwb poyjunpbh
junrwyjwpnudutph nypnd: Ppnp, nhgnip pnyjwwnptih junujwpnulp
yudwyuut #(t)=(u,(t),u,(t),.... 14, (£)) dEYrop-Prubiyghuts E,
apgud f, <I<t bunnudh dpw b x°=(x{,x3,...,x0)-u nplt
$wquyhb Y E Lowbwlykup 7,7,,...,7, pnnp uyt Yhunbpp, npuntn
u, (t),u(2)s-. 40, () Pmblyghwiibiphg wnbjuqh uklyp fugnud muh:
Thgnip wju  Jhwnbtpp  budwpwjupws  th wddwb  Jupgny®

7,<7,<..<7;: Shqunpking % (1),u,(t),....u, (f) Pmuyghwiibpp
(7.2.10) hwjuuwpdwb Uk, jmbtuwbp’

x (1) = Zn:a,.jxj (1)+ ib,.,‘u, (1) i=L2,...n (7.2.16)
j=1 k=1

Ju, yEjurinpuljub wnkupny’

x(t)=Ax(t)+Bu(t): (72169

Laju (7.2.16) hundwjupgp nhwwplkup [to,’l',] hunjwénwd: Uju
hwnywdh Ypw (7.2.13) hudmjwupgp pujwpwpnud t 7.2.2 pnplth
wuwjdwbbkpht, muwnh qnmpmih  mbkh ).’l(t),J\'2(t),...,.x,l (t)
$mtlyghwitp, npntp npnojwd th b whphnhwwn 7, < <7, hwnyjwdh
Ypw, puwjuwpupnd Etbh ulqpiwfub (7,2.15) wuwpdwbbutpht b
hwhinhuwbnud Gu (7.2.16) hmdwlwupgh mdnud £, <? <7, Ypu:

Uydd Yupnn kup (7.2.16) hunfuwlupgp nhwwpyly [7,,7,] hungush
dpw, Jepgibind  x(7,) =(%(%).%(%),% (7)) yhwp opubu
uyqphwlwh nhpp: [7,,7,] hunwdh pw unphg Yupon kip Yhpwnky
7.2.2 ptinptp’ gnmpnih nith imdnwd x(T,) uljqpbwljwb nhppny: Uju
indnudp tnytybu bpwhaltp x(£)=(x (), x, (¢).... x, ()): Weu
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x, (t),Jc2 (t),...,x" (t) $muyghwttpp jurmgus bu 7, <t <7,
hwwnywsdh Ypw, wipunhwin kb wyn hwnywsh Ypw, bkpunjw) 7, Yhnp
b pujupupmd kb (7.2.15) uyqpiwjub ywpdwbubpht: Cwpnibwlbijng
wyu gnpbptipwgp, Ybpg h Ypen Yyunnghlp x(7) $nibyghwl unipnng
huwwnjwsh Jpu: Uunugjud x,(t ),x2 (t ),...,x,, (t ) Imuyghwutpp
whplinhwn kb [7,7,] bwwnjwsh Jpw b Yunp we junp wwlgkh
(qupnn kb juqyty vhwb 7,,7,,...,7, Yhnbpnud): Ujuybu junniggus
x(t) Pmbyghwt Ywhjwbbbp (7.2.16) hwdwhupgh'  u(?)
jurujuplwip hwdwyuwnwujwbng  mdmd: Ywukbp, np u(t)

Yurwwpnuip wknuiholunud b pwquubt Yewp x° nhpphg x' nhpp.
Eptk tpwb hwdwywwnwupwtng x(t) [nwdwt hwdwp x(to)=x0
x(t,)=x":

Uydd wlghkup dwpuhunuth ulqpnibiph wwugngdubp
wpuqugnpdbmpjub gdwjht jutnppmud: Gupwnpkip, np jurwywpdwh
U whpnypp mnmghly puquuihuwn b yupnibwynd b ulqphuwltnp,
uwfuyb uyqpbulnp U -h dwjpuljbn 3k Unwbg punhwbpnipyniip
Jousfunbym Yupnn bup bipunply, np kpplulwh puquuht x' nhppp
uljqriwmytint ' Uyuwhuny, nhwwpymd Gup hknlbyjwy jeunhpp’
Junujupynn opbklwp, nph owpdmdp WYwpwgpynud o (7.2.16)
hujuuwpmubbpny, hwpluynp L, pbhupkny  jppuwpubymp

Jujpyjuiht nput #€ U Yuwrwdupnd, R" $wquht nwpwdnipjub
gwijugws x nhpphg vhtpdwy dudwiwmu pipk) uyqphwuljtin:
Uwhuwbnid 7.2.2: Yhgnip T -t npbt npujwb phy bV -ny bpwbwykhp
duqujhtt wpwdmpjub ponp wyt YEnbph puqunipjnibip, npuntinhg
Jupkih bt wbnuthnjt) ujqptwyjtin 7 dudwbwywdhgngnud, YJud
wykjh wpwg, wpdytny nput poypwwnpbh juwewdwpduwdp: V;
puqumpmip  whjuind &b T-ph  hwdwuwnwuprwbng
hwuwbbhmppul njpnyp:
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Lk 7.2.1: V; hwuwbkjhmpjwh whpoypp ninmghy puqunipynt t:

Uwwignijg: Yhgmp x°-u V; puqunipjut juduywlwh Ybun k, u(t)-h

poyjwupbih  juoujupmd k. npp witnumpumd b owyn  Yhep
ujqpiimljtn T -b yqghpuwquiignn #, dudwbwjwhwwnywdnd b x(t)-h

u(t) -ht hudwywnwujuwbng htnwghdh & bpk 1, <7, wyw Jupnn
Lip owpmbwyly u(t) Junujwupnudp b x(t ) htwniwughdp wdpnng
[0,T] hunnqwsh ypw, Ybpgutyny x(¢)=0, u(¢)=0, wpp £, <t <T

Lywbwltbp®

%(1) x(1),0<r<y, 7(1) u(r),0<r<y,
X = , U =
0, f,<t<T 0, t<t<T

Uy Ypy wuwd, (f(t),l? (t)) Junujupynn wpngtuh ntypnd x(t)
Ytwnp f, wwhhlt hwutmd t ujqpbhwljtin b wybnbn jubqimy wdpnne
thwgwd dwdwbwhh phpwgpnud: Ujuwhuny, tpk x°€ V., wyw
qumpjnth muh  wbwhuh  pnyjuunpbkih jurujwpnwd, npp
nknuihnjund £ YEnp uyqphwytiv mnhn 7 dudwbwwhwndwudnd b,
htwbwpwp V.-t Yupkh b uwhdwbl, npybku dwquyht Yhwbph
wjiyhuh puqunipymb, npnbghg Yuphih bt nbnuihnjul) uyqptwmltin
mnhy 7 dudwbwjwhuwnudnud:

Ujdd gnyg nwbp V, puwqunipjut mnmghynipjnitip: thgnip x", b h x;
4V,  puqinpjub bpym juiwpmywh Yhnbkp b b A€ (0,1):
Yuqukbp X, = Ax; +(1—/l)x: b gnyg wnwbp, np X, Yhwnp tnybuyku
yunfwimd t V;-ht: Cun V; puquimpjutb uwhdwiiwb, gnjmpnith
LA (x’(t),u'(t)) b (x'(t),u'(t)) ponyjuwnpbih  jurwyjwupynn
wpngkubbp, npngywsd [0,7] hunndush ypw, npnbp pujuwpupnid b
htwnlyw) kqpuyht yuydwbbkpht
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X' (0)=x;, x*(0)=x5, x'(T)=x"(T) =0: (7.2.17)
Lowhwyklp®

u(t)=A(t)+(1-A)u"(r), 0<t<T, (7.2.18)

x(t)=Ax'(t)+(1-A)x"(r), 0<t<T: (7.2.19)

Lwbh np, pun ipunpmpjut, U junwjwpdwh whpnypp ninnighy
puquubhun k nwwh (7.2.18)-hg hbkwnbnwd t, np jnpupubynip

0<t<T huwdwp & (t) -t ypunjuwinud £ U puqunipjwiip: Ujunthbunb,
u'(t) b u'(t) Jurwjwpnufutpp pnyjuunpth junwjuwpnuwibbp b,
ujupiph mbki ny wykh, pwt Jtppuynp pyYyny puquwb Yhwkp,
hbwbwpwp twb % (#)-4 mup ny wykh, puwt JEpgwnp pyny juquwh
Ytwnkp, wyuhlipt poyjwnpkih b

Ujnwu Ynnuhg, x'(t) ub x'(t)-ll huduwywnwuwbwpwp u'(t) [t
u’(t) jurwjwpnufubpht  hulwywwnwujpwing  htwnwgdkph G,

nuwnh 0<t<T dhpwluyph pnjnp Yhnbpnud, pugh juquwb Yhunbphg,
punjupupnud kb pwpddwt hwjwuwpnudubphb'

¥(t)=Ax'(t)+Bu'(t),
i°(t)= Ax"(t)+ Bu’(1):
Puquuyunlbiny wju  wnebympynibbbphg wewghtp  A-ny, puy
tpypnpnp (1- /1) -ny, junwbwbp'
x=Ax'(t)+(1-4)x"(r) =
=AAX (1) + ABu' (1) +(1-A) Ax" (1) +(1- J.)Bu ( )=
= A[AX' (1) +(1-A)x"(¢) ]+ B[ A’ (1) +(1- A)u”(r) ] =
= Ax (1) +Bi(1):
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Ujuwhuny, poppp 0<2<T7T hunfwp, pugh Yuwpwjwpnidubph juquuh
Jtwntkphg, Yuouwjwpynn (f(t ),17 (t )) uypngtup  pujwpupmd t
pupdiwh  hwjwuwpnufubphl,  wuhtph  X(f)  hkwnwghdp
huwdwywwnwupwbnud t F(t) Junwjwpdwbp:

Ybhppwybu uinmgkbp kqpuyhtt wupwbbbpp: (7.2.17) b (7.2.19) -hg
nithtup*

x(0)=Ax'(0)+(1-2)x"(0)=Ax; +(1-1)x; =X,
(T)=AX(T)+(1-4)x"(T)=4-0+(1-4)-0=0:

=|

Ujuyhuny, uwnwgykg, np E(t) pnyjuunpkih  junwupnudp
nbkquhnjunid b dwqupht YEwp X, Ykwnhg ulyqphwftn T
dunfwbwynud, wyuhtiph® X, € V., b, hkwbwpwp, V; -t ninmghy k:

L& 72.2: bpk x°-u V, puqumpjub tbkppht Yhwn b wywm x°-hg
Juwpth t  bhwubb] ulqpuwfticn  wkh  wpwg, pwh T
dudwbwjwbhwwnywdnud:

Uyuwgnyg: Yhgmp x°-t V; puwqumpjut npbt tbppht Yhwn: Uw
bpwbwymd t, np  gnympymb mbh nomghy M, pwquwbhuw, npp
wdpnnonipjunip pujwd t V; puwqumpjub ukg: M, puwquubhuwnp
Sdugpuybwnbpp bowbwlkup yl ) y2 . y‘ -ny: Lwbh np
ye Vri=12,...,k, wyuw jnpupwbymp y' -h hunfup gnjnipjnih nth
u' (t) jwrwdupnud, npp T dunfwbwlwhunnduédnud ¥ Yhnp
utnuihnjunud  t ulqpbwlbn:  Zufwywnwujowt  hbwnwgstpp
tpwbwlkp y' () m, i=12,..k: Ujuughuny],
yi(0)= ¥,y (T)=0: Jhpgubkbp judwjujwh £€>0 b bywbwykup
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M,-ny yl(b‘),yz(é‘),...,yk(é‘) Ykwbtph nwemghy  punwbpp:

Punjwlwbuyuh hopp  €-h phupnd wib tnphg Yywpnibwuyh x°
Ywnp: Y (8 ), i=1,2,...,k Ytwnhg jupkjh k hwubk] uyqpbwytn T -€

dudwbwlnud, wpdykiny yi (t) htwnwgdny: 2Ztwbwpwp, popnp
yl (6 ), y2 (8) yores y‘ (6 ) Jtntpp wuujwinud ki hwuwbbjhnipjub
V;_, whpnypht: Luih np V,_, puqunipjnitp nuenighy b, nunp V.,

puquUnipjup juywunjwmih twb x° Ytwp: Uw b bpwbwlmd k, np x°
Ytwnhg upbih k hwubl) uyqpbwytin 7 -6 <T dudwbwlnud:

Upwquqnpdmpjwmt  gdughtt  pbnpph huwdwp  (7.2.9)-(7.2.12)
bowbwynufukpp b wnbympjnibutpp Ypunniukt wtjh wwpq nkup*

H= Zw,(z:aux, +Zb,,‘uk)

i=] J=1

=W ax + YWY b = (. Ax)+(p.Bu) 220

i=l Jj=1 i=] k=1

b, pwth np wnwghb gnidwptijhb sh yupmbwymy « -b, wyw'
H (y(¢). x(¢) (1)) = max H (y (1) (1) ) =

- max Zu/‘ ankuk <Wa Bu) (7.2.21)

i=] k=1

Odwiunuy ¥,,¥,,....¥/, Imuyghwbtph hwdwp jmbtuwbp

ax ax (ZWZ U J+ZW ZblkukJ Zaijw,'r j=l,2,...,n;

im] Jj=1 i=] k=1 i=]

htwnbwpwp,
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Wj =_Zaijwi , J=L2,..,n (7.2.22)

=
fu”

v=-ATy:
s 723 pgmp w(t)=(u,(¢),4y ()0t (1)) -2 Gunlugulyut
poypunnpbyh pwnunjwpnud § npnpjwé 8 St<t, hunnjwsh ypw,

x(t)=(x (), %, (£)sr0nx, (2)) -t (7.2.10) bunfwuwpdul
bhunlwwunnwupnull ymémul £ opp vljuymd b apbt x° Ylwnpg, hul
w(r)=(w.(2) w2 (1), (1)) Poulbghulibpp (729)

bunjwuwpmdblbph hunfwlupgh junfuywlwb ny nphdpuy mémut L
Uy pbypnrd®

LW (1)) =(w (). Bu(2)

u(t) Juounjupdwl whpbphunnmpyul  pmnp  JEnlpmd  (wyb

fbkwlkpmud, npwnkn ponp (t),u2 (t),...,u”l (t) dmblghwbépp
wbpbnhunn Eb) b, hkwnbwpwp,

(7.2.23)

L}

(W (1).x(1) (W (%), x(t)) = [ (v (7). Bu(z))dz: (7223

o

Unywgniyg: (1) 145 (2), o1 (1) Yunwwpnufubph
wipinhunnmpjub Ynkpoud®

Ly (0).x(0)- (zw.mx(r)) S, (04, ()+ 39, (1) 5.(1) =

i=l i=] i=]
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—i(i% x,+3 b, .-(t)+ixi(t)(—iaijy/j(t))=

il \_j=l k=1 i=l j=1

-3 St 0= (0. But0)

i=1 \ k=1

Lwth np <l//(t) , x(t)) ujupwup wprnunpup wipthwn pnbghw kb

nibh wdwhgjuykp wdkunptp, pugh Yippunp pyny Ytnkphg, ntunp*
n d

(1) ()~ (1) (00) = |2 o (2).x(2)) e = o (1) Bu(e)

to fo

Zknbulp: Yhgop x(t)=(x (£), %, (£),.... x, (£)) $miblyghwbbpp

)=2a,% =12

j=1
hwdwutn hwdwlwpgh |pwdnud L, pul
w(t)=(w,(¢).w, (1), ¥, (r)) Pmblghwhibpp® (7.2.22) hunfulupgh
iowdnuth b Uy phypnud (W(t),x(t)) ujupwp  wpunwgpup
hwuwnunnnt t:
Ppnp, x(f)-t (7.2.10) hunfwlywpgh mdnuib t #(7) =0 Yunwupdwh
nbypmu: Zknbwpwp®

%(y/(t),x(t)):(), wjuphbpl’ (yl(t),x(t))=const:

Plopkd 723 (Vwpupdmup ulgpmbp) 72hgnip wpwqugnpsnipyul
gouypts fulmpnus (u(t),x(t)) ~& owwpuuy wpngku & npp upbjuluy
dulwbwlhnud nkpupnfunid F x°  puquyhl Ytwnp ulqpiwlhbn: Upn
pbypmyd gmoipinih mbh (7.2.22) hwdwlwpgh uybiypuh ns wnphipuy

-202 -



v (t) (mémd, np dudwbhwih gublugus yuhhb u(t) jwnunjuipnudp
pujwpupymd b dwpupdmdh wuydwbhb®

H (p(e) x(e) (1)) = max H (1) x(1).4) =
= max Z::y/‘. (t)g‘b,.,‘u,k = max (v, Bu):

Uwuwgnyg: “Yhgmp (x(t),u(t)) -0 owwpdw; wpngku t npp
wnbknuihnjunud t opjijinp x° dwquyht Yhunhg uyqptmytn T =¢ -1,
dwdwbmlnud: Yhinwpkbp hwuwbbjhmpjwt V. whpnypp: 7.2.2 (kuhg
htinumd t, np x° ytwnp V, puqunipjub tqpuyht bwn t: thgmp -u
x° Yknny wbghuwgpws V,  puqumpjut nphk htupuyhb
hpybtphwppnipjnit & Lowbwyktp IT-ny wjbh Yhuwnwpwdnipniip,
npp npopynud £ ' hhybphwppnipjudp b qupmbwymd £t V;
puqunipjnip: Lpwbwykbp 7-ny  hhykphwppmpjub  npduy

Ytywnpp, npp noippu £t quphu x° Yiwnhg b quiynud t II
jhuwnwpwsmpniinwd: T huwnwpwdnipmibp punjugud k wjh
R )

poinp x Ytwnbkphg, npniig hwdwp (x—xo) Jtyunpp juqumud t unip
jud niphp whlimb 7 Ytjunph htw, wuptpt npnbg hwdwp
(ﬁ, ( x—x° )) ujupwup wprnunpjup ny puguuwlwh £

(7,(x-x"))20: (7.2.25)
fubh np V; puqumpmip wdpnngmpjudp phywd t I

jhuwwnwpwdnipjul kg, nuwh V; puqumpjub gmbjugwd x Yhwnh
hunfwp wju wihwjwuwpmpmip &hown k:

Uyqpbwlut ¥ (1)) =7 wugiwbnyg (7.2.22) hujuuwpiwt jmsnuip
boubwyttp ¥ (¢)=(¥, (£).¥,(t),-.¥,(¢)) -0 b wjb phnwpybup
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t, <t <t, hwwnjwsh Ypu: Uju ymdnuip wphyhuy sk, pwbh np 7 #0:
8nyg wwbp, np ¥ (t) b wyt mdnuwlt t, nph ptypmd u(t)-h
pujwpupnud bt dwpuhdudh  wwpdwbhl: Bupwnpkip hwjwrwyp
npnpwyh 7€ [to,tl] wwhhtt  Jdwpuhimuuh (7.2.21) wwplwbp wnkph
sniuh, wjuhtiph Yqunugh wjbyhuh v€ U, nph hwdwp

(w(z).Bu(z))<(w(z).Bv) (7.226)

bpk 7<{,, wyu u(t) Jurwjuwpnuip b, htnbwpup, (V/(I),Bu (t))
ujupuwp wpunwunpuip wbpinhwun b wghg 7 Yhwnud, wjupiph
wbpnhwwn bt npht [T T +h] huwwnyjwsdh Ypw: Ubpunhwwnnipniiihg
htwbnwd &, np wy hwnjwsh Jpw wknph muh  (7.2.26)
wbhwjwuwpmpjnmbp:

bpk 7=1;, wyu u(t) jurwjwpmdp b, htnbwpwp, <l// (t),Bu (t))
ujupwp wpununpuip wbpinhwwn t dwjuhg 7 Jhwnnd, wjuhbph
wbplinhwn t npluk [‘l’ —h,7] hunjwsh Ypw: Ubpunhunnnipjnibhg

htwbnd &, np wnp hwwnwsh Jpm wknh muh  (7.2.26)
wihujwuwpnipnibp: Pnpnp gtypipmd vnwunwd Gip, np gnynipynth

mbh wybwhup [1'.,1' 2] hunnyjuwsd, np pojnp 1€ [1',,1'2] hwdwp'

(w(t),Bu(t)) <(w(¢).Bv)
Uydyf uwhdwbblp #(f) yunwjupnud [£,7] bundush ypw bbby
Ybpy' @ () =v,tpk 1€[7,7,) W hwdwuwp t #(t) [#,2,] bunnwdh
Unw Yhubpnd: X (¢)-ny  bpwhwybbp #(f)  Yunwwplwbp
hunfwwywujuwbon hkwwghdp X (£) =0 Jkpbuwlwl wupwbny: Up
htwwghdp nhwwplbbp [,7] hunadwsh dpuw b uyqpbwhub Y
tpwhwybtp *°-ng (X(f)=%"): Ujuwhung, X° Ybwhg Yupkph t
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wbnunjut uyqpwytn T =1 —2, dwdwbwynd Yhpunkinyg % (1)
jurwywpnudp: ltunh x° Yhwnp yuwunjwind t V; hwuwbbjhnipjut
whpnypht b puwn (7.2.25)-h°

(ﬁ,(io —x°)) 20:

Yhpunbbp (b 7.23-p W (2),x(7),u(t) Pmuhghwbkph Lywndundp
[#,-2,] buaywsh Ypuw

4

(w().x(1))-(w (%) x(%)) = I(W(T),Bu(’t))df:

b

Lubwuybu'

U}

(W(tl)'f('l))_@/’(‘o)j(‘o» =I(W(f),317(‘t‘))dt:

to

Zwukiny bpypnpny hwjwuwpmpnibp wrwghthg b ujwwbkny, np
x(t,)=%(1,)=0 , unubmd Lup*

4

(W (%) (% (%) - x(%))) = | ((w (7). Bu(7)) - (w (), B (7)) ) dz

fo
Uju hwjuuwpnipjub dAwju dwup hwyjwuwp (ﬁ,(fo -x° )) » hulj we
dwunud [1‘,,1‘2] huwwnjwsh Jpu F(t) =v, hul} wju hunjwshg nmpu

F(t) =u (t) , hknbwpwp Ehpwhbnkgpuyught nitjghwt hwduuwp k
0-h: Uyuujhuny Yunnwbwbp®

(r.,(r-x°))=:f((w(z),au(r))-(w(r),Bv))drz
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Lubh np wy dwumd Eupwhbwnbgpujuihtt mbyghwmb pun (7.2.26)-h
Juhun puguuwljut £, nuwnh*

(7.(2°-x°)) <0
Uw hwjuwumd t (7.2.25) wihwjwuwpmpjuip: Uju hwjwunipynip

wyuwgngnud k, np Jwpupdnufh wuypdwbp puwjupwpymd Lt pnjnp
te [to,tl] hwdwp:

Oppltuy:  Npwku  wpwqugnpdmpjub  gdwyhb  jtmph  ophlwy
nhunwpykip unyb pwdup uljqpnd nhvwpiyusd dkptbhwgh nuynughd
owpddwb ophtimyp, tupwnpliny, np 2thdwb ndp pugwluynud k, huy
quiqyudp hwjwuwp t 1-h: Uju jutngph swpddw hwjuwuwpmdutpp
Ypunmukt hkwnlywy nbkupp*

x.l =X <1 =0 =0:
(7R st 5(0)=050)=0:
Yunnigktp A $mulghwi’

H(‘/’vx’“)=§”|xz+¥’2“‘

2bow Lk wbulk, np H $mbyghuyh dwpuhdnmdp Yujws b u-h
gnpduijgh bpwbhg' bpk 7 wwhhh ¥, (t) >0, wywH Pmulyghwb
ymbkbw  Jwpuhimd %=1 {uwrwjwpdwh nphypmd, puly Gpt
v, (t)<0 wyw dwpupdmd Yuuwbwbp, tpp # =—1: Ujunihtwnb,

oqutiny (7.2.9) pwhwdlbphg, odwtinuy ¥, (7),¥, (f) Portyghwbbph
hudwp unwimd tup htnbywy hujuwuwpmdutpp®

b
V,=-V¥,:

WI(’)=CI’W2(t)=clt+CZ'

npwntinhg’
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opubn €,C,-p htnbgpiwh huunwnmbbbpl kb: Upuwhuny, ¥, (¢)
$niliyghuts, |hikjny gdunht $orbghuw, tpwbp Ywpan & dnhuky ny b
pwh kY whqud, htnbwpwp oyyupdw; Jurwjuipnudp nibh ny wybh,
puili Uty fuquwt Yt [£5,2, ] bunngwdh Jpu:
Judwbwlih wb hwnjuwdmd, nputn # =1, wpdiwh hkwnwgsh
hwdwp junwbwbp hnbjuy hajuwuwpmuubpp®
X =X,
x, =1
Npuknhg
Lo
X y X2 T

Uwnuwbnud kup wwpwpnjubph ptvnwthp, jwpjjug ¢ hwmunmnnbhg:
Ujuyhuny, hkwnwgdh wyt Yunpp, npp hwdwywunwupwind £ =1

Junrwjupdwbp, hpkihg bkpjuywghnd k ywpwpnih wntn: Lwbh np
X, =1>0, htwnbwpwp swpdnuip wyu ywpwpnjubpny junwupynd k

hkpplhg Ytpl (ntu by. 7.2.1), piy npnud wyu pvnwthph Yhuyh Uty
wuwpuwpn(b E whgnud ujqpirumjbnny :

vy7.2.1 1y.7.2.2

Ut hwwnjwdnd, npuky #=-1, swpdiwbt bhujwuwpnudubpp
Juinmbwb hkwnbjuy nbupp®
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b htvnugsh hwdwp junwbwbp*
N
x 2™

Lnphg uwnwunmd bkbp wwpuwpnjbtph punwbhp, uwwjuyh npnYuwd
hwjwnwy ynnu: Uju wpwpnjukpnyg supdowlp Yywnwpygh Jiphg qup,
pwbhnp X, =-1<0 (nku 14.7.2.2 ), piy npnud b wyu pvawbihph dhwgh
Uty wuwpwpnit k wbginmd uljqphwltnny :

Ujuyhuny, htinwughdp Ymukbw hkwnbyw) nbupp. jujujus wyb pubhg,
pt np purnpymud t uyqphulwb nhppp, Ywnp Yowdyh dkY yupwpnny,
wjinithtwnl, (injubiny  juowuwpowlp 4 =1-hg u=-1, Yul
hwjwrwyp, Ywughh Upwu wwpwpnth Jpw b Yhwubh
ujqpuwltn:Ljup 7.23-nd wuwwnlkpjus £t A ulqpiwywmb nhpphg
Ywuquyht Ewnh oujuinhuwy htinwugdh vh ophtiul:

]

A

~

U.7.2.3
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7.3. 2prRUBHL MUNEL

Thppwht hwntpp 72 jwnugonh wyb jpwnbpb kb, apukn npngnufukp
plipnuynud Bu dudwbwhh pipwugpnud® puyy we puyp: Fthwnwpykup vh
ophtimyy’ pninpht hwjwnth ywhdwinught jwnp: Puyygtu hwpnbh t, wyu
jnunnud Epynmt pwnwgnn ' uyhwnwyukpp b ubbpp: vwunb ujuynud
uljqpiwfwt hpphg’ pwnuunwhinwyh Ypuw phgmpubph ujqphuyub
nuuwynpmpjnihg: Uju ghppht jwphjh b hudwywnwuiwmbkgub) Gh
Yt hwppmpjut Ypu: Unwghb puyjp juunwpnud b unhvnwlubpp’
punpliny 20 htwpunp puyiphg Wkyp: Zuwpuninp wu puyibphg
nupupwbyymph puinpmpyut nawpnid hunuunwjnawyh Jpuw uvinwbnud
tup tnp nhpp" 20 htwpunnp nhppiphg dkyp, npp tnyybu Jupkh k
gk} Yhwnny hwppmpjut Jpu: 8nyg wwymt hudwp, np wyu nhppkpp
Juptjh bt «pujbibp»  uyqpbwlwb  nhpphg, jnipwpwbynip  nhppp
uljqpwjuth htwn Jpwguklp upwpny: Zwgnpn puyjp ubbkphtb t: Lpwbp
unybyku mukb 20 hiwpuynp pbwpmpmb uwnwugyws 20 nhpptphg
mpwpwiyympnud: Ziwnbwpwp, ubkph wowght puyhg htwnin Yupnn k
unbndyky 400 phpp: Uju wpnghup swpnibwmytiny, hwppmpjub Jpw
Junwbwbp Ykwnbkph b uwpwpbbph puqunipmb (ntu y.7.3.1): Ujh
nhppiph, npwntn pount wjwpuynuwd t (ophtwl dwwnughbt Jud
wuwnuwjht hpptipnud) hwdwywwnwupwund b nhpptp, npniighg ujwp
sh qmpu quhu (Jipghwliwb nhppkp): Smpupwbynp YEpguwlub
nhpphtt hundwyunnuwujuwbtgutp 1, -1, jud 0 pytp, jujaws bpwubhg,
uyhwnuwlutpp humpk; &b wyn pghppowd, wwpuyglp bb, pk juwnb
wjwpwnyt; k ny-nph:

Lup 7.3.1
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Lowbuwlbtp pninp  nhppph  puqumpmbp X -nd,  wjwplbph
puqumpnitp’ E -ny, Ykpghwlwb nhppbph puqunipymp’ X -ny: U
tpwbhwynulutpny swjdwwh dUnnbip Yupkh bt bkpluyughy I'=
(X ,E) quygm] b H:X’ —){—1,0,+l} owhnyph  $niuyghuyny;:

buyybku huywnth &, (X, E) qnuyqp Ynsynud t gpad b, dwubwynpuyby,
o1 qnuqp yny Yy

Yurngyws gpudp Uhwluy, Yanlunpnyyws, wghljhy qpud k npb
whyjuwinuwl kb dwn, huy ujqpiwlwb nhppp' Swnp wpduwr. Canhwimp
ntypnud Yupnn kb (huly Epymupg wybih jpwnwugnnubp: Fugh wy,
pwuh np npnonufutpp pipminud kb dwdwbwlh phpwgpmd, wuyw
npoonufbtpp  pupmubjhu wowpwind t twb bwjunpn  puykpoud
punniijwd npngmudutph  Ykpwpkpjuy nbknkjwnympjut pwuwyh b
Junnigwdph huipgp: YYhppught hunbpnud uyu wnbkuwlh hwpgkpp
punminjwd E nwhk] hupnpuwmghnt puqunmpmbutph hwuljugnipjub
Uhgngny: YUnyjhn wuwd, puyj juwnupbjhu punugnnp jupnn k hdwbuayg
ny pt Ynbyptn nhppp, wy vhwyb nhppliph np puqumpniind t
quiynui: Ljwp 7.3.2-nud pipdwd k tpyme pujjmbh “ghp-nniy” juwnh
dwnp:

2 00 2 0-2 2 0 0 -2-20290 0 2

Ljwp 7.3.2
Ujdd vnwip nhppuwyhti jpwinh punhwnip vwhdwbnup:
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Uwhvwbnwd 7.3.1: 7 -jwnugnnh G jawnp npngynud k.
1. unh (X, E) swnny,
2. huugnntikph 7 ={1,2,...,n} puqumpup,
3. X=X,UX,U..UX,_ UX" wpohnuiny puwn puytph,
X, ={x}.
4. X\X'=JX’ wpnhnuiny pun unugnnubph,
py

N
5. X'NX; = Uu" ,1€ I hupnpuwghnt npnhnulutpny,
=1

6. h:X" — (—°°,+°°) , 1€ I puwhnph pnrulghwibpny:

Thppughtt unp hwnugdmu b hknlyuy Yipy: Lowbwykip E, -ny
ujwphkph puwqunipibip, npp gotpu b quphu x nhpphg: Upwplkpp
wijutimd &b wypbunpwbphlpy: Yhgmp ulqrbwhwb X,  nhppp
yunfuind £ X* puqunipjubp: Uw bywbwlnud t, np ujqphwljub
nhppouf puyih hpunimbpp j, hwnwgnnhtb b bw ptupnud b oaplt
e=(x1,x2)€ E, : bpk xeu c X", wyqu puyp Ji-nn

mwnugnnhith £ b bw pbwupmd npbt e =(x.2,x1)€ E, : Ujunbn
bipunpynud t, np jupwpwbymp hudnpuwghnh puqunipjmt  x
nhpptph hunfwp E, pwqumpynibibpp hundpbjunud ki: Uju wpngkup
2upmbwljynud £ ugbpwt dwdwbwly, vhtyh hwnp wbknuihnjujh npbt
x€ X' Ujuwnbn punb ujwpnymd t b jmpupwbynip wnugnn
unnwinmu t hp pwhnyph $nmblghuh wpdtpp x€ X * Yhwnnud:

Uwhdwbmd 7.3.2. Munugnnh dwpnip vupwmnbghw G fownnud
wijuwbnud b gwbjwgwd wpuuyunjkipmd, npp  jpwnugnnh
ympupwbynip hudpnpiughnt puqumpjubp hudwywunwupwbn pyut
Utkg t nunud wym puqunipjnithg nnipu Gynn npbit wyptnputp: *dywp
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st winmgli), np unpuntghwbbkph guijugus s = (Sl’ Sy, ...s,,) ykyunnpp
udhwpdtpnpbi npnpmud k nplk x(s)e X" Ybpgtwlwb nhpp: bpk i-py
Jnwnugnnh dwpmp unpunbghwbtph puqunipjnitp tywbhwykip S;-

ny, U H‘.(s)=h‘. (x(s)) i€ ], wyw junp Yupkh b abphuyughly
htwnbjw) hwiwlwupgh nkupny’

({8 (B (5)),,)

npb wijwbnud b 72 -jpwnugnnh juwnh tnpdw; wnbkup (ntu 5.7

pudhtp): Uju tnubulny gubjugwsd Jipguninp ghppuwyht fown juptih
E pkplk unpuuwy wbtuph: Uwubwynpuuybu hwljwdwpun ghppuhb

lownkpp Ypbpykl duwnphgught hawnbph, npnbg jndwb gnynipyntip b
1nwdwh tnubwyukpp phvnwplyyt) kb 5.3 pudunud:
Uwluju tpp hudnplwmghnt puqunmipymbutph phyp wémd E, pwwn

wpwg wimd t dwpnmp uwnpwnbghwbbkph phyp: Fwgh wyn, npnp
nbtyptpnud nhppuyhtt jurmgquspp pay) E viwjhu wthwdtdwwn hton

(k) Juwnp:

Ptptup nhppuyhti muntph vh jupbnp Ywubwynp nkyph vwhdwbnud:
Uwbhdwimd 733, %hppwht G hwnt whjwbmd &b zppy
hbpnpdwghuyny  pnup,  Gpk fawnh  pninp hudnpuwghnt
puqunipjniubkpp Uty nwppwh puqunipjniubkp ku:

Lphy hudnpuiwghuyny hmwunh ophiwy bt hwbnhuwbtmd wjudunap:
Unwhg wywgmguwb ppkup phnptd |phy hupnpiwughwyny jwntph
Ytpwpkpjuy (nku.[18]):

Ploptd 731 1ph] hupnpiwghuyny pwnbpnd gnmpymbt mbh
hujwuwpulrrnipjut hpuyhdwl dwpnip unpuntghwbipnud:

Yhwuwplyup nhppuyht jawnh UGy wy ungli, npp sh ogunwgnpémd
qpwdp, npyku Unnkjh hhudp, huyp poy) k nwhu wyb ogurumgnpdly twb

nuunufbwuhpbjnt winjtipe nhppuyhtt wnbpp: Uju dngbjh hhdbwljwb
wnwidtiwhwnympmip jujubmd t bpwbnud, np wybt ghppuyht t
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thujt wrwght jwnugnnh hwdwp: Unpbjp wipynud t opbubtpp
hkwnlbju hwdwjwpgny..

1. U,U,,.U, puqumpmbutpny, npnbg wbqubnd b
hupnpuwughnt nupuwdmpynihbkp,

2. X, XX,
wnwehl jpwnugnnh wyphwnpwbphbtph nwpwsnipmbutp,

3. 2,,Z,,...Z, puqinpmubtpny], npnig wbjwbnu kb
hwjunwlynpph wyphnpubpbbph nwpwdnipjnubtp,

puqumpnibutpny, npntg whjubmd b

4. g :IL[ijﬁXj -U,i=12,..,n

j=l j=l
wpnuyuwnjipnudutpny, npnhg wbjwbnmJ b hupnpimghnt
wpnuyuwnipmubtp,

5. H :HZ J XH X, >R wpuuyuwnlipnuing, nphb

j=l jel
whjwiunud bt wnwght jpwnugnnh swhnyph dniuyghw:

vunmu kb htnlyuy YEpy: Unwght puyinud hwwrwlnpyp pvnpmd
nput z, € Z, wypunpubp: Upwght jwnwgnnht hwjnbh k nuntmd
8, (z))€ U, wpunwuywwnljtpdwbh wpdipp b tw phupmd bt nplk
x, € X, Jtwn: Winthtwnb hwjwnrwynpgp pivpmd t nput z, € Z,:
Unwghti jwnwgnnht  hwjubh t puobnd  g,(z,,2,,x,)€ U,
wpnwywunltpdub wpdkpp, b tw pbnpnud £ nput x, € X,: vunp
2wpnibwlpynid £t wjbpwh  dwdwbwy, dhbyh pbwpdtr  popop
ZyeeZyy XypeesX, U  wowght juwnugnnp uwowuind t H
wpwuunlipdub wpdtph gy JEwnnmud, wjuhlpl’
H(z,..z,,%,...,%,): Ciphwtmp ntwypnwi popp U, U,,.U,;
X, X,,..X, puqumpmbbtpp btbpuppind  tu yuhbyh
nwpwdnipynibukp, huy H b g;,i =1,2,...,n wpnwyunnlkpnudubpp
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suthbjh  wpunwywwnlbkipmdibp: Uwluyh, wybtinpn  pupgnyplbphg
Juntuunhbjnt hwdwp Ynhwwpltup dvhuyh ytpgwynp jawnkp:

Uwhdwbnwd 7.3.3. fruwpugnnh dwpmp unnpunnkghuwl vwhdwymu t
npytu

c=(¢,¢;,..5¢,), ¢ U, = X,,i=12,..,n

wpnuyunjtipmubbph  Jbunp:  2w§wewinpph  unpunnkgpwib

uwhdwiymd t npytu z =(2;,...,2,)€ l—[Zj Ykunnp: (Ujunky skbp
j=l
vnuppkpnuwd hwjwrwynpgh dwpmp b jpwnb unpunkghwbtpp):

Mwunugnnh U hwjwrwlnpnh uwnpunkghwtph jJnupupwbyynip (c,z)
qnuq vhwpdtpnpk npnpmud t X, = (X,,...,X,) Yhwn htwnbyuy Yipy'

X, =C(8:(Zr s Zis Xpsees X, )i =2,...,0
x =¢6(z):

Ujuwnbinhg, unpuuntghwtbtph jnipupwbymnip (c,z) qnyq Yhwpdtpnpth
npn2nuf t wnugnnh pwhnypp
H(c,z)=H (xm,z):

unugnnh juwnt unpuwunbtghwt uvwhdwiymd bt htwubjwy Yhpy:
Thgmp (2, A,P) -t hwjwbwljwbuwh nnwpwdnipimt k: Lywbwlkip'

v=u,
i=l
Uwhdwbmu 7.3.4. lmunugnnph prunh uinpunnkghw Yuwhthp
s={s,} ,+ 5.: Q> X, uel, i=12,.,n:

NMuunwhwljwh UEdmpymuttph hadwadpmpniup:
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Shpuwd zE€Z= HZ,. ntypnud  jmpwpwbiymp s uwnh

i=]

unpuunbghwt dhwpdbpnpbb npnpmud b 4, , hujwbwiubwht ywih

X= HX ;  Ppuqumpjub Jpw hbwnljuy Yhpy:  Snypupwbymp
i=1

(w,z,5) tojuyh hwdwp, npubkny @E Q, nbynpbin pubwdbny
uwhdwlktip W@, s, 2) = (W, W,,...,w,) Jtjunp’

wl = S&(ll

B 4, , sunhp vwhiwiynd | npybu w(-, 5, 2) yuuwhwlwub Jkjunnph
hujwiwlwbught pmgunud®

ﬂx.z = Pw_l("s’Z):

Uwhdwtmud 7.35. bpym’ s” b s° unpwunbghwbbph whjwind b
hunfwpdp, bptk gmiljugmd Z€ Z hudwp 4, = K4, -:

(@), W,=5, 0 (@), i=12,.,n.

Zren W e

vwnh hudnpuwmghntt junmgywdpp punpngymud t g; hudpnpuwghnt
wpunuwywnjipnulbbkph hwnympymbbbpny:

Uwhdwtmyd 7.3.6. hunt wiubnud th jphy bponpmppudp pun, tpt
qnjmipjnih niukb wytghuh

@)U, -U; j<i,
v, U, ->X,, j<i,
wpunuwywwnipmubutp (npniip hwjnth ki pwnwugnnhb) np*
¢;g,.(z, seees 29 XysenXing) = 8,(2 ses Zja X ,..ch_,) )

wjg,(z,,..., Zp Xy X)) = X;
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Uw bpwbwymu t, np phy hhonnmpjudp hwnkpnud hwnwgnnp hhpnud
t pt hpuywhuh hupnpiwghw t tw uwnwgk), b py phpmpnibbtp k
Junwpk) bwjunpn puy bpoud:

Uwhdwinud 7.3.7. Munugnnh pjwet s= {s“ }EU uunipuinkghwb
Juiwikbp Juwpybjuwhbpyp wvinpuunbghw, btpt pnnp s,,u€U
yuwnwhwjwb UEdnmpmubbpp Uhhwbghg wiymp :

Plopld 7.3.1. Iphy hppnamppudp prunkpmd prunugnnh quitugus
Junt  unpuwnbghuyh  hwdwp  gnmpymb mbh  hwdupdlp

Jupfbpulbpuyh vinpunnbgpuw:
Uywgnyg: thgmp s ={s,},, Munwganh nplit hrwnt wnpunnkghu
Yunmgtup wju unpuwntqhuhtl hwdwywwnwupwbng Jupytuybpyh
unpuwnkghw: Yhgnp u€ U, u€lU,;, u=g, (Zl’ Zpreeer 43 Xy Xy enny H):
Vywbwlybtip' #, = &, (2, 2000 23 X X Xy ) » k=12,..,i-1:
Lwth np wnp (phy bhngnipjundp own £ atunhp?

w,=@gu, x,=du, k=12,..,i-1:

Lywbultp'
v,(x)= P{su =x s, =x.k =1,2,...,i—l} =

=P{s“ =x, |s"“ =¢,fu,k=l,2,...,i—1}:

Ujunkn P ( | ) -ny owbwlywd kb yujdwbwlwb
hujwtwjwimpmubtpp: Zujwbwjuwimpymbbtph  nuupbpwghg
hupnth t, np X, puqimpub Ypw npnpjwd gubljuguws V,
hujwiwlwbwht  puphiwt hudwp goympmt mup g, :Q— X,
yunwhwjwh  Jdmpjnh, wjbybku, np'Vy, (x, ) = P{ q,= x,.} :
Ulubupn t, np wjuybu Y{uomgwd ¢ ={q“}
Jupytjulbkpyh unpunntghw k:
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8nyg wwbp, np 5 b g wnpuwunkqhwbbpp hundwpdtp kb: Shpukbp npuk
Z€ Z W judwjuljwh x = (x, i A, 4 ) hunfwp nhwnwpykhp

b (1)=Plw(5.2) =) =
= P{S“(Z) =x1,s‘1(l.,1) =x2""’sx._|(z.x|.x, ..... ) =xn}:

Lowbwlkbp' u; = g; (z,x,,xz,...,x,._,). i=1,2,...,n: Yunmbwbp'

u,,(x)= P{s“l =X,8,, = XS, = x,,} =

=P{s, =x, |5, =% 18, =5 X

xP{s“H =X,y |8, =X g0ensS,, =xl}---

---P{s,,I =x,}=P{s,_ =X, Is'c_lu =" HnreeerSpe, =¢,"un}x
XP{s, = %1 |5, , = shyrorS,, =By} Pls,, =x)=
=V, (%), (%) ¥, () =

=P{q, =x}P{q,, =x.}Plg, =x}=

=P{q, =%,.q, , = %,p-rdy =X }= M0 (%):

Ujuyhuny pinptidh wywgnigyws t:

Uwhdwbnwd 738, L[phy bhonpmpjudp fiwnt wijwbmd kb
vhwdwdwbuwlyw jpwn, tptk punnmu gnmpmb mbkt juwnwgonht
hujinth

v,:U,-Z, j<i
wpunwyuwwnpnufbbp, wjbybu np*
V8:(2sr 2o Xs e X)) = 2
Lpunudtiup odwbinuy jpwnkp inpuwy nkupny: Lywbwykhp*
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G(0)=(X,. 2 Ho), G(p1n20) = (X, 2,0 Hy ).
G(fk-nfk-n) =<szkai.-..z.-,)' k=12,..,n-1,

Npwntn’
H, (x,2) =V(G(x|v7-l))’

H, . (x.2,)= H (x,%;00000 %3215 230000120 )

H, . (%2)=V(G(%.,2.)) k=12,.,n-1:

Uuunkny V(G)-ny twiwljws t G lwunh wpdkpp, gubljugus
Y= Y5500 Yn) Jtyunph hwdwp ywbwky kup'
Vi = (Vs Y2505 Yy ) : Unuiig wymgnmigim pipkip htwnlyw) plnpbup:
Ploplkd 7.3.2. Uhwdudwbwlju pwunh jndmudp jupbjh b unwbug
hwonprwpwp mbkiny G(fk_, ) fk_l) hwjwdwpun ppwntpp:

Oppbuwyy: Yhunwpybkup unyb pudinud pipdwd “ghp-nnip” juwnh kplnt
puyjwih wwpptpulp: Munh qgpudp wwwlbpjwsd k ajwp 7.3.2-mud:
Unwghti  juownugnnh’  “hwljwrwynpph” uvwnpuunbghwt  Yniukbw

(Z,,Zz) wkupp, npunkn z, € [l, 2]. 3, € [l, 2] Uju ownnud*
U, ={u}.U, ={u].u} 4} ,u}},
X, ={1,2},x,={1,2}:

Yurmigkp G(l,l) = (Zz, X 2,H1J> jowunp: Ujbh dwwnphguwjht jown £

H 11 dunnphgny’
-2 0
H n= :
0o -2

Zunfwifwbnpkt  juemgbp  G(1, 2),G (2.1),G(2,2) pwntpp:
Zudwyunuujpwt dunnphgubpp ymbtuwb htnbywy nkupp’
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0 2 0 2 -2 0
H1.2= 20 'Hu: 20 H,, = 0 —2

2bpnmpjudp uiptjh k quuk) wyu hunbph wpdtpbtpp®
v(G(11))=-1, v(G(L2))=1. v(G(2.1)) =1, v(G(2.2)) =-1:
Uydd Yuipkyh k yunmghy G° fawnp, nph tunaphgt £
H = -1 1
L1 -1)
Uju jpwnh b, htwbwpup, uyqpuwyut punh wpdtpp hwwuwp k 0-h:
Pu} juwnugnnh owwhdw; uwwpwwnbghwiutpp tmbbt i wju ponp

11
founbpmud® g° [3 5], nwwnh  junuganh  owwhduwy  Yupph
unpunkghwt’ f] (1],‘| 7] ,,7] ,f] N/ ‘é) Yplymibh hwnbjuy nbupp’

P{n, =x}= —pnlnpuGU UU, u xe X,U X, hudwp:
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7.4: 2RSEreLSnUL vUtr

Uju pudunud ghuwplynud ki hwjundwpun nhdtpkughuy juwntp: U
howntpp nhppuyht pwntph plnhwipugnd By, npunkn puygitph phyt
wuytpg L, wjuhtipt wnwghtt b bpypnpy hwnugnnbikpp, npnig
tpwbwynuf kb E-nd b P -ny, npnpnufbtpp ppmibnud bb dwdwbwlh
jupupubymp wwhhi: Lwpn nhwwpybup bsbnwwbpuwl  juwnbpp
Yhgnip nwpwdnipjud Uk npywd ku kpym' x€ R" U y€ R” Yhubp,
npnug owpdnuwlp Juwrwywpmd G Epyme fwnugnnutp, pbwpbing
jnipupubyimp  wwhhtt  hwdwywunwupwbiwpup ve U C R U
weW C R"™ Ywnwjwpmuubtpp: Ujunbkn, htywku b owunhduy

Jurwjwpdwt jpbinhpubpnud, punwugnnutph gupddwt htwnwgskpp
b w wwpwdbwpkphg juwpjwd budwywinwuiwt nhdtptughuy

huwjwuwpnuwubph hwdwwupgbph pnwiibp Gh: Thgnp x(t) Ytwnh
suipddwb hwjwuwpmudukph ki

x=f(xu), xeR', ueU cR*

ulqphuuwt *° wupwing, huy Y(?) Yhnh pupddut
hwjuwuwpnudbbpp’

y=g(y,w). YER’, we W R"

uljqpiujut y° wupdwbny: Pywku b owwhdw] Yunwjupdwub

junhputpmud, Ytwbtph dwquyhtl wwpwdmpmbbbpp Ywpnn b
shuniplijut} pwpddwh hppwiwh R" vwpwdmpjui htn(l 2 n, s =n):

Ujuunbn ukbp Ynhwnwpykup |ppy hudnpiwghwyny Juunbpp, wjuhtiph
uyb ntwpp, kpp pwnugnnubpp jnupupwbymp ¢ wwhpt ghnth x(t) b
¥(t) puquypt Ybnbpp: ump uudaud t (x°, y°) ulqptulumt nhpphg
b jmpupuwiyymp ¢ wwhpu (x(t), y(t )) dwquyhtt  Yhwnud

jownwugnnbtpp pbupmd b €U b weW  Yurwjwpnulubpp:

2knuyjuniwt jpwuntpmd swhnyph $mbyghwbkpp juwpnn Eu wpyly
wnwpptp  bnuwbwjukpny: Zhdbwjwbnud ghuwplymd o Gpym
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wnwppbpujubp’ wpwqugnpdmpjut ubnhp, tpp wewght wnwgnnp
dqunud £ dhtupdw) dudwbwlmd dnnkgut) hp Ynnuhg Yuruqupynn
x(t) Ywp tpypnpy wnwganh Yaquhg Yunwdupdnn y(f) Yhnht
twjunpnp wpyws !  htowynpmpuwb  Ypw, b pppuws T
dunfwbwlwuhongny  ubnhp,  tpp  whnyph  Pmulghwb
p(x(T) Y (T)) htnwynpnipjmtil k:

$npuw nkuwbyyniihg nibkbwy Gpym i R” -nud hwdwpdtp k upul,
np  phuupylh kY Yen'  z€ R wwpudmpjub Utp, npp
Junwjupynud bt bpym pwnugnnutph Yondpg'ueU u weW
Junuwyjwpmyubkp pnplyny:

Chnhwbmp nhypmu Juublp, np wpws b hwfunfwpn phpbpkighuy
Juwn, Gphk pdud k.

1.U € R* U W € R™ Yunwupuwh nhpnyplbpp,
2. 2=f(z,u,W), Z€E R", f=(_fpf2,---’,f,,)’ ue U) weW
upddwt  hujwuwpmdubpp,
3.Skpuptwy X C R" whpnypp,
T
4.H (u,w) = [G(z)dt+h(s), s€Z puhnyph pmblghuts:
0

Uju wkupny uwhdwijwd nhptptughw) punb wpnwpbwybu tdwh k
oyunhuw) jurujupdwl jpungph dnpbjht, vwjub jub bwb bwjwb
wnupphpmpmbbbp: Lwjy, pwbh np wju pwnp hwjwdwpn o
nuunh hwpluynp t vwhdwbt) punugnnbtph uvnpunbkghwtpp, puwbh
np junuwjupnulutpp pugh dudwbwyhg Yuhjus b bwb $uquyhb
nhpptiphg: fugh wyn, hwpluynp b yuypdwbbkp, npnbp uywhnyth
hujuuwpuwlormpjubt  hpwghdwyh gnmpmbp: Ywb bwb  wy
nbuwjub b nkjpbhjw{uwb pbnhputp, npnbp tuywbnpkb puppughnud
kb nhdtptibghw) juntph nuumudtwuhpmpynibip:

Zhttwjub Unnbgmuutpp tjuwpwugplini hwdwp wowydd Ehpwnpup,

np  hunnd  goympmt mbh  hwjwuwpwlrompjub  hpugh&wy,
gnmpmb nthkt owwhuw) Yurwjwpnulubp b hwdwyunwujwb
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htwnwgstp, piy npnud jurwjwpdwh U 0 W whpnypttpp npnpynud
b a,<u<b,i=12,.,k; c;<w;<d,, Jj=12,...m

wihujuuwpnipynbubkpny: Phywbu bwb  Gupwnpbup, np  ponp
dniuyghwikpp, npnig htinn wnbydtme bhp wju pwdunud, wupunhwn
wdwhghih b wjipwt whqud, nppwt hwpluynp (hith: Uyqphwljub

Z€ R" pwquyht Yhwvimud ujuynn ownh wpdkpp tpwbwytup V ( z) -ny:

bupwnptup, np =0 wwhpi E pwnugnnb pbwupnd t u €U
jurwuwpnidp, puy P pwnugnnp® WEW  {uwnwupnudp: U
ntypnud pujulwbwsw thopp Af dunfwbwljwihgnghg htwnn puquyht
thnpnjuwfutittpp dUnnunnpuytu hwjwuwp Yjhuth z+ Az, npunky’

Az, = f,(z,u,Ww)Ar i=12,.,n

b owhnyph $niulghwt hwjwuwp Yhuh*

G(z. 25,2, )dt =G (2,252, ) AL :

© e

vunp Jtpufuynud &t 2+ Az Yhunhg b, kpt A wwhhg oqunmgnpdynud
kb oupuinhuun jupwjupnulutpp, wuw swhnypp hunjwuwp Yhh*
G(zl,zz,...zn)At+V(z +Az):
Lwbh np
V(z+Az)=V(z)+ ZV

i=l
npuntn V,-ny tpwbwyl; bup V(z,,zz,...,z,,) dnuyghuyh dwutwlh
wdwhgyuutpp pun 2, i =1,2,...,n: Ujunbknhg'

n

V(z+A2)=V(2)+ D V,(2) f, (2., W) At

i=1
Zbkwnbwpuwp, kbipwunplny, np % -b b W -t oyyupdwy junwywpnidukph
kb £ =0 wwhht, V ( Z) pwhnyph niighugh hwdwp uvnwbnd Ghp
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V(z)=G(z,25.-2,) A2 +V (2 +ZV (z,,w)At:

i=]
2qukgutiny Ar — 0, Yunwbwbp phdipbighuy prunkph hpdtwlfwi
hwjwuwpnidp

G(z.,zz,...z,,)+iV,.(z)f,(z

ol
3
~
]
(o)

(7.4.1)

i=1

Yund, npp hwdwpdtp £

maxm:n{ 232502, + D Vi(2) £, (2.1, w} 0: (742
i=1

Zpfbhwjwt hwjuwuwpnudp unwbuymg hbkwnn, hiyywbu b oupnhduy

jurwjuwpdwh  juimpmud, Ywpnn  Ebp  uwnwbwy hkunwgskph

hujuuwpnufubipp: Ubwugtiny (7.4.1) hwjwuwpnudp puwn Z;-h (hwpgh

wnbbtiny, np ¥ Uw Junujwpmubbipp Yuwpdwd ki z-hg) b

hujuuwptgukiny 0-h, junwbwbp*

___(ZV (z,u,W)+G(z,2,,--2 )J

_’ i=1l

- Zv( z’" w) Za‘gz(z) £(2.a, %)+

+i 9 (ZV ) f,(z.4,%)+G(z )]%+ (7.43)

—I i=l Jj

Z. (;V ) fi(z.2,w +G(z))%+

+aG(z,,zz,...zu)
0z,

=0, j=12,..n

Upu gnufwpnud® (hwdbdwnk (7.2.8)-h htw)
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Ujdd nhvnwuplthp

1= ou,

> (Ersaam o) |3

o

wpnwhuynmpmbp: Owywhdwy] Jurwupdwt jpipupwlynp Ej

pununphst hp wpdbpp Ywpnn b plnnbly [a ,-,b,-] hunnqwdh Yund
btppht YEwnnud, ud dwypwlbnbphg Uknud: Bpk wyn wpdbpp bbppht

Jwnnud £, wyuw®

" (ZV (z,@,w)+G(z )) 0:

bulj ek oupnpduy wipdtpp npnodwb whpnyph Suypuljtninud k, wyw
4,-p hwunwumbt t  hknbwpup, ax, / 0z ; =0: Uuyhuny, pninp

ntuptpmud’

o

1=l i=] j

‘Lnyh quunqnmpjmbubkph hwdwduwyl, bwb*
ow,

S (Sue a2

:-l i=]

ia%(zw(z)f,.(z,mwpg(z))a_=

0, j=12,..,n:

£=0, j=12,..,n:

Yhpghwjwbwwby, (7.4.3) hwjuwuwpnudp Yphnnibh hknbyuy nkupp®

d

j \i=l

&—(i‘li(z)ﬁ (z.%,%)+G(z,,2,,--

.z,))=

(z,u, w) av, aG(z,,zz, Z,)

=S (o LLER) B,

i=l J
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Yund®

V=— Vi ( - » J=L2,..,n
; dz; z, '’

Uju hwjuwuwpnudbitpp
g, =f;(zu,w), j=12,..n

hujuuwpnudutph htw dvhwupt wijubnuwd b phdtpbughw) juwnh
hEwnwgdh hunjwuwpnidbbp:

Oppbwly 7.4.1 (WEjugqup yJuwpnpp): Ugu ounnud gupdnuwdp wnbnh k
mubkunud hwppnipjwt Ypw: Yupnpgp (P) wjnndtpbiwny (paopdnud £

ypwbpph Gthpwpyk) htwpnwbhh (E) Ghpunpnd L np
wjundtiptwgh swpdnudp uwhdwbwhwlwd k yuudwbh dhvhdw 7

ounuwyhnny, hul hbkwhnwnip Ywpnn joipwpwbymp wwhhb phwply
guujugwd nupnnipim: Mwpqmipjmbt bwdwp  Ehpwnpkbp, np
Juwnugnnutph wpugmpmnihbbkpp hwuwnwnmb i}
hudwyuunwupwiwpup @ b b, a<b: 2Zkwnpnnth Ywrwjwpnip
oupdfwb nupanipymbt £ wyny wwhht hp nuynmpyut Ytjunph b
wpghuikph wnwbgph uYhoh fuquwé @ whimbp: Ujundtpbuwgh
jwrwjwpnuip' Ynpmpjut R ownundhnh phwpnipymibp: Ujuyhuny,
hkwnhnwnth gupddwb hujwuwpmdbbpp jmbkbub hbnbjw) wnbupp®

X, =acos @,

X, =asin@:
buy wyjunubpbbugh swpddwb huyjwuwpmudbbpp juqutyne hwdwp
Yupnn kbp oquyt) whinibuyht wpwgnipjwb pubwdbhg' 6 = b/ R

x, =bcos x;,
x, =bsin x;,
b

Xy =—:

R
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Nputn X5-p Utpbbuwh mnynnpjub Jtjunnph juqius wblpymib
wpghubiph wnwbgph hbwn: Lfwbh np Juwrwyjwpdwb npnpdwb
wnppnypp’ [r, +°°) puqunmpnitp vwhdwbwwl sk, bhpdmstbp tnp
yunwjupnd® @ = r/R, b kipunpbp, np we nuynnipynibip npulwb k,
dwju nymmpymp puguuwfwi: Ujuyhuny, yupnpph junwyjwupdwt
wppnypp  Ypunmith  hkwbjuy  wnbupp® |¢| <1l: Munh jwpdiwb
hujwuwpnudbtpp Yjhbkt

X, =acos @,
X, =asing,
x, =bcos x;,
x, =bsinx,,
b¢ .

Xy =—:
r

U Jownp nhuwpytbp npytu wpwqugnpdnipjub juwn, wjuhtpb
kupunptip, np P -u thnpdnwd t hwpunjnphbiu wpwgq pobty E -hb, huy
E -4 \hnpanud | htwpunnphbiu hkwnwdgl) wyn wwhp (hnyu ntbbbhugng
oqunipinih vinwbiuy):
Yuqutup wju jpunh hhdbwjwbh hujwuwpmdp®

be

maxrn’in(V,acos¢)+V2asin @+V,bcos x; +V,bsin x; +Vs—) =0:
(4 r

Yud*®

m‘:ilxm'in(a(vl cos @+V, sin @) +b(V; cos x; +V, sin x; ) +V; QJ =0
r
Upuinbn @-hg Yuipajwid & huyh wnwghl thwljughdp, huy @ -hg dpuh

ytpght gnudwpbjht: ¥wp sk uwwnmgh), op oywhdw; F L @
Junrwjupmdutpp htwnbjuyt Eu
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—V‘—,sin¢=—2;¢ =sgnV;:
/Vlz +sz Vlz +V22

Ujdd juqukup htwnwgdtph hwjwuwpndutpp®

v, =0,

V, =0,

v, =0,

V,=0

V, =b(V, cos x; -V, sin x,):

cosQP =

Oupnhuw) Ywrujwpnufubkph wnbkuphg kpumd t, np E-h huwwp
oyunhtuy Yuwrujupnulp hwunwunnmb t (@ =const), huy P-h

oyunhuuy Yuwrwjuwpnudp punjuguwd bt jhukme wp b dwju
htwpuynphtu  Yupmy wunynbbphg: Ujughuny, shuywd Jkhp
thpwnpby thup, np pninp phuwplynn  dmblghwhbpp wbwp
pajwljwbwywh nnnply hbkh,  jurwjwpnuwip wbpinhuwn 3t b
punhwimp pbypmy ykup jwpnn junub) owpddwt hwjwuwpnidbtph
ndwt gnmpjub dwuhb: Uju pipmpmibbtpp Jupkh b 4tpugul,

nhvwplytiny punugnnutph uvinpunkghwbbph unp uiu:

Uwhdwbind 7.4.1. E jwunugnnh u() Junp wn Yunp dpuqpuyht
unpuntghw wijuwbmd th (G,a) qnugp, npunty O -h [0,+°°)
dudwbwywhwwwsh npht 0=7,<f, <---<f, <--- wpnhmd t
Yippwynp Ynuunuljdwb Ytwnbkp ymbkgnn 2, Ybwbkpny, huy a-b
wpnwyuwnitpmud t, npp jpipuwpwbymp 4 YEwhh b Z(‘k) duquyhta
nhppht hudwywwnwupwbnipjut dte t nhnwd [tk,tk +|) Uhpwljuypnid
npngqwd sunhbih #* (7) $milghw: Unyb Yepy, P wuqugnnh w(-)
Juinp we Yunp Spugpuyhtt unpuwnbtghw wijuwbmd tu (J,b) qnuqp,
npunkn J-u [0, +°°) dundwbwluwhwwnywdh nplt
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0= <t/<---<t; <--- wpnhn Lk Ybpguynp Ymuwlwb Yhunkp
smbkgny #,  Yhwkpnd, huy  b-t wpnuwyuwwnfbpmd b npp
Jnipupwbiymp t; Ytwmht b 2 ( 1, ) dwquyht  nhppht
hudwywnuwupwimpyut Jdtp t punud wh (t) sumhbjh  pnmiblyghw,
npngjus [17,%,,) Uhguluypnuf: hbpblighw) jawnbph wupphp

nuutph hudwp hujuuwpulsrmpju gnnipjuh ptinpbdubp phpud
kb [ 24])-nud:
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2U4EL4U0

Oquuugnpdynn wbkpuhtbtph b hwujugmpmbbbkph  JEpwpbpjuy
nwpwjupdmpynibbbphg unuwhbne byuwnwyny phpkp Uh pwth
hpdtwjul vwhdwbinmdbkp b wppymbpukp (nku [12],[24]):

FRLUCr 2UrureErnNhesnhruLEr

Uwhdwbnul: Spywd X puqumpjub  juwpquynpyws qnygkph
Rc XxX tupwpuqUumpmbp  wijuwbnud &b phbwp

hwpwpbkpnipinilr. Gph ( X, y)E R, wyw wumd &b, np x wwppp
phtwp hwpwpbpmpjub dkg £y wimpph htw b bpwbwlynud tu xRy :
Ltpjuwjughktp hwpwpkpmipniutph vh puih hwnlnipjnibitp.

» R hwpuwpbpmpmbb wijwimd &b »EfEpupy, tpk
guujugwd x€ X hwdwp xRx:

» R hwpwpbpmpmbt wiwinud th hwlwntdbpupy,
Lpt xRy -hg htmbml k, np x # y:

» R hwpwpbpmpmbb wijwimd b wpuZuppl, bpk
xRy -hg htwviunwd t yRx :

» R bhwpupbpmipmbb whjwbmd b hwfwupubunphl,
kpt xRy, yRx-hghtwbnwl t,np x=Yy:

» R bhwpuwpbpmpmbb winjwinwd &b wpwbghnpy, tph
xRy , yRz -hg himumud t, np xRz :

Uwhdwbmyd: R hwpwpbpmpimbbt wijwbnud &b pay
fupqui/npnipym b, tptk uyh ntPitipuhy, hwjwuhdbnphy b wpubqhnhy
hwpwpbpmpymt t: R bwpwpipmpmibt wijuwbmd &b fupum
jwpquunpmpyml, tpt  uwyb  bhuljunbdiipuhy b wpwbghunhy
hwpwpbpmpymtt k' R hwpwpbpmpmbt  whjwbnd kb
hudwpdtpmpnih, tpt ujgh npbdkpuhy, uhdbwnphy b wpwbqhwnhy
hwpwpbpmipmbt & X puqumpmbt whjubnwd bb jhnihd fJud
géuylbinpkl jupquynpywé R Yupquynpmpjudp, bpt gubjwugwus
kpynt’ x, y€ X Yhubkph hwdwp wknh mh jud xRy , jud yRx:
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2UPELE SUrUONPPANPLLEL

X puqunipjut ipwpuqunipymbitph § puqunipnibt whdwbnd kb
payut 0 -hwupwhwhy, jud upquubu o -hwbpwhwphy, tpt

1. Sutjugwd EC X,EeS u FcX,FeES hudup
E\FeS
2. Swbfjwugws hwplkh pyny E, CX,E €S;i=12,..

puqunipnibbiph hundwp® UE, €S:
i=1

3. XeS§:
Puqumpymbubkph YEpwpbpjuy hwjunth
ENF =(EUF)\(E\F)\(F\E) wnbympiniihg hknnud &, np 0 -
hwipwhwohyp thwl £ twb hwoybih hwudwb bjuwndwdp, wyuhtpl,
tpt E, CX,E€5;i=12,.., wyqu[)E€S: (X,S) quyq
i=1

whquwbnd kb jwiplp  vwpwémpmb, pwy EcC X,E€S
puquUmpnmibubpp’ sunhlyh puqunipinmibbbp:

bpujwb wrwigph Ypw Yhuwpug dhgwlupbpny ([a,b) wnkuph)
Sijwd O -hwipwhuwphdu wijwbnud tu popéywl o -hwbpwhwopy
2kpunnipjundp wyjugnigynuf t, np wyb Yuwpmbwlmd t bwb hpwlwh
wnwhgph pninp hipybu pug, wybhytu ) hul puqunipimubbpp:

(X ) ) sunhbih nwpwdnipjul Jpw npnpjwd hpwfwbwpdtp f (x)
Inibjghwt mbwwiumd G gurghlyh pniblghw, tipt gujugus popbjub
puqunipjut twjiwuwyunybpp swhbih b, wjuhbpl, popbput gumbjugud
B puqunmpjul hudwp' £ (B)e s

Zunwbwlwiwght ywth (X S ) swhbijh nwpwdnipjul Ypw whywbnd
th § o -hwipwhwoth Ypw npnpud puqunpjub ﬂ(E ) Inuyghuby,
Ept unb pwjwpwpnud £ hEnbjw) wywydwbbbphb.
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1. /J(E)ZO gubjugwd E € S hundwp:
2. gmijugws EC X, EeSWFCX, FES,ENF=0
puqUnipjnibiiph hwdwp® /I(EU F) = /I(E) +#(F):
3. u(2)=0, u(x)=1:
(X,S) suhbjh wwpwdmpjwt Jpw npnpqus f (x) hpwywiupdtp
Pniyghwtt whjubmd th wwpq Pmuyghw, Lptk ugh Jupth k
ubkpluywmghty
f(x)= Zl:aila (x)
wkupny, npunbn Ze (x) -u E; puqunipjul puinipuigphy $nrtiyghwt b
xE, (x)_ l,xE E‘,
0,xg E,:

NMwupq $muyghuyh hbubkgpuy pun hujwbwiwbwhh #  yahh
uwhdwbymy k htnbjuy Ykpy*

[ f(x)dn= _"Zla.-ﬂ(Ef):
(X,S) sunhbjh nwpwsnpjub Jpw npnpjwd hpwywbwpdtp f (x)
Iniuyghwt wijuinmd tu phwbgplp pnibyghw pun 4 yunhh, Lpk
gnymipjnit muh wuwpq f, (x) $niuyghwmikiph dhghtinud pmbipudtinnuy
hwynppulwlnipjnily, npp qguiquipund £ f (x) $muyghuyhti pun @
sunthh, wjuhuph wjbyhuh hwgnpyujwbnipniy, np*
lim ||f,(x)-f. (x)|d,u =0,

R,m—)ee

fu(x)-f(x)|2¢€}=0

huyuhuht b np thuh £>0 phyp: Punkgplih pnruyghuyh hnbgpuip
punn ywithh vwhdwbynwd £ npytiu’ I f (x)dﬂ = 11_21_ I f, (x)dﬂ:

lim g
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(X S ) suthkh mwpwdmpjub Jpw npnojwd vwhdwbuhwl yurhbih
dntuljghwmbiipp hnntgpbih b pun gubjugus hujwbwlwbught ywthh:
(X S ) surthbijh nwpwdnipjul Ypw npnpjwd huwjubwubwghb ywhb
whjuimd tb phufpbun swh, tpt gnympnt mukh X, x,,...,.x, € X b

PPy Pys P 20,i=12,...,m; Zpi =1 pibp wybkuy, np
i=l

gubjugwd EC X,E€ § puqunpjut hudwp®

/‘(E)= Z p:-

ix;€E

Puwnkqpuyp pun ghuyptinn suwhh Jipudynud k gnudwph’

[r(xdu=3 f(x)p::
(X ) ) ) (Y .T) Juthbh nnwpwémpnibbbph wpnwppuy wiwinud

Ll (X XY,SXT) gqnugp, npuitin X XY -p X b Y puqumpejmbbbph
ntjupunjut wprnwunpuib k huy S XT -b dhhdw) 6 -hwbpwhwhyp,
npp  wwpmbwynd t EXF,E€S,Fe€T  wkuph pnonp
nunublmbbbpp:

Yhgmp (X S ) b ( Y ,T) swthtijh nwpwdnipmiibtph Jpw wpdwd tu
hudwyuunuupwbwpup £ b v hujuwbwjuwbught suhtp: 2 b v
suhbph  wpwnuwppuy wjuitmd o uyb ( MUX V) swthp, npp
pujupupnd £t hbwnlyub ywpfwbph. gubjugudy EC X, E€S U
Fc X, FeS hudup (uxv)(ExF)=u(E)v(F): Uju ytpght
yujdwbny ( HX V) swthp npnoynud b dhwpdbpnptu: Uybhwywn b, np
( ,uxv) sunhp inybybu huwbwlwbught s k:
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Ploplf 8.1 (Souphbp): thgmp H(x,y) Pmibyghwb htnnkqphih t
( XxY,Sx T) sunhbh  wwpwdmpjubt  Jpw  pun (/l xv)
hujwbwlwtiwghl ywhh: Ujg nhypmd, htwnbyw) jEpy vwhdwbywus

f(R)=[H(xy)dv v  g(y)=[H(xy)u

Inmuyghwmitpp htnnkiqpkih th b
IH(x,y)d(,uxv) = If(x)d,u = Ig (y)dv:
Thunwplkbp (R, B ) swhbjh nwpwsnipnip, npnbkn R -p hpwyub
nunhnt k huy B-u' popbpwb puqumpmbbbtph o -hwtpwhwhyp:
(R , B) -h Jypw npndwd guwbjwgwd hwywbwliwbught 4 swhh
hunfwip Yupkjh & juemgt) ppuywbwpdtp F (x) dmulghw®
F(x) = p((—ee, x)):

F (x) dnbghwb pujwpupnd b hknbyuy wupwbbbpht'

F(x’)SF(x’), bt x' < x”

F(x)=F (x+0),

F(—°°)=0, F(+°°)=l:

Wu wuydwbbbkpht panjwpwpnn mpmpwpwbymp $ncbjghw whyfwbnud
th puppuiinl $niblghw: Khown t bwb hwwunupd yhannudp. Swbjugud
F(x) pwphnfwb $mulghuyht Yupbh t hunfwyunwuhwbbglby

hujwbwlwbuht 4 yw (R, B) ywhbjh nwpwdnippub Jpuw
u([a.b))=F (b)-F (a):
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hgmp F(x)-p pwphnfunb $mbghw kb f(x)-p [2,b] hunnush
Jpw npnpdws npbt whpbphunn Pmblghw b Jbpgukup [a,b]
huwnywsh npuk npnhnud*

a=x<x<..<x,=b:
Uju  wpnhiwh jnipwpubynip  [x_,x] hwunjwdnwd  plwnpkip
Juuguluh & Yhwn b juqubip

"3 FENF(5)~F(xa)]

i=1

gnuiwpp:  bpp miax(x, -x,)—0, wu gouiwpbbpp, whlup

upnhdwb knubwlhg b Ykwnbphg, dqunul b npnpwlhh vwhdwh, npp
Yopymd bt Ohdwb-Unppumbuh ( Riemann-Steltjes) puwnkgpuy b
Lowbwyymu®

j.f(x)dF(x):

Pilnplkd 8.2 (2k1h (Helly)): Pupludwl dmulghwbiiph guujugud wikpe
hwonpnujwbinipjnibhg Yupbkjh t pbwpl) Eipwhwenpnujwbnypnth,
npp gplipt wikbinptp gniquuhininud t nplk pupfudwb $niiyghwgh:

Plaply 83 (2bjh (Helly)): thgnp  f(x)-p wipiphwn t [a,b]
bwwnjwdh Jpw b puphiwh pnibyghwitph F (x), F, (x),...,F,l (x),...

hwgnppujwbnpnibip hudwpjuw wftimpbp qoiqguipnnd £t F o(x)
pugfudwl pniijghwyhte: Ujn nbypnud®

nmjf )dF, (x)=

n—yoo

f(x)dF (x):
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